Annexure – H 2

Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in UttarPradesh (State/UT), as per following details:

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *		m Dimensio the Site (in			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/Rural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capitai requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. In Lakhs)	Draw of Lots/Bidding		
1	Within Nagar Panchayat Limit of Lalgopalganj Nindaura (On National Highway 30 or National Highway 731A)	PRAYAGRAJ	Regular	153	SC	CFS	30	30	900	0	0	Draw of lot	0	3
2	Between KM stone 152 and 159 on National Highway 30 (Lucknow to Prayagraj road)	PRATAPGARH	Regular	159	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
3	Within Municipal limit of Anpara, not on State Highway/ National Highway	SONBHADRA	Regular	250	SC	CFS	20	20	400	0	0	Draw of lot	0	3
4	Between KM stone 220 and 223 on National Highway 75E	SONBHADRA	Regular	220	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
5	Between KM Stone 106 and 112 on State Highway 5A, on Right hand side while going from Varanasi to Shaktinagar	SONBHADRA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
6	Swaran jayanti Chowk to Chandi Tiraha on left hand side while going towards Hinduwari, within Municipal limit of Robertsganj, not on State Highway	SONBHADRA	Regular	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
7	Within Municipal Limit of Obra , not on National Highway	SONBHADRA	Regular	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
8	Between KM stone 215 and 217 on National Highway 31	PRATAPGARH	Regular	161	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
9	Between KM stone 27 and 37 on National Highway 330, on Left hand side while moving from Prayagraj to Pratapgarh	PRATAPGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
10	Between KM Stone 110 and 140 on National Highway 35	CHITRAKOOT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
11	Between KM Stone 26 and 33 on State Highway 71	BANDA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
12	Between KM stone 48 and 63 on National Highway 35	BANDA	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
13	Within 3 KM from Patel chowk (Patel nagar Tiraha) towards Baskhari on State Highway 30	AMBEDKAR NAGAR	Regular	121	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
14	Between KM Stone 33 and 50 on State Highway 102	PRAYAGRAJ	Regular	111	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
15	Between KM Stone 31 and 33 of old ODR (Other District Road), on Karari to Beniram Katra Road (New State Highway 171)	KAUSHAMBI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
16	Between KM Stone 94 and 101 on State Highway 5A	SONBHADRA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
17	Between KM Stone 70 and 73 on National Highway 731 A	KAUSHAMBI	Regular	152	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
18	Between KM Stone 0 and 2 on Peepalgaon Kaushambi Road via Prayagraj Airport, Within Municipal Limit of Prayagraj	PRAYAGRAJ	Regular	152	SC	CFS	20	20	400	0	0	Draw of lot	0	3
19	Between KM Stone 73 and 76 on National Highway 731 A	KAUSHAMBI	Regular	152	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
20	Between km stone 152 and 156 on National Highway 731 on Right Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	151	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
21	Between km stone 144 and 148 on National Highway 731 on Left Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	182	SC	CFS	35	35	1225	0	0	Draw of lot	0	3

22	Between KM stone 50 and 62 on National Highway 35, on Left Hand Side while moving from Varanasi to Mirzapur	MIRZAPUR	Regular	193	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
23	Between KM stone 98 and 108 on National Highway 135, on Left Hand Side while moving from Mirzapur to Rewa	MIRZAPUR	Regular	162	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
24	Between KM Stone 45 and 48 on National Highway 35, on Right Hand Side while moving from Varanasi to Mirzapur	MIRZAPUR	Regular	212	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
25	Between KM Stone 250 and 270 on National Highway 35	PRAYAGRAJ	Regular	194	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
26	rignway 55 Between Sultanpur Bus Station and Amhat Chauraha via district hospital while moving from Sultanpur Bus Station to Amhat Chauraha, Within Municipal Limit of Sultanpur, Not on National Highway and	SULTANPUR	Regular	104	sc	CFS	20	20	400	0	0	Draw of lot	0	3
27	State Highway Within 3 km from main gate of Uchha Prathmik Vidyalaya Parasiya Koorah, Barhaj, Towards Barhaj Tehsil, On NH 227A Ram	DEORIA	Regular	151	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
28	Janki Marg Between intersection of Shahu Chowk road and Tikulia Pathkauli link road intersection on NH 727 AA	KUSHINAGAR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
29	Within 4 km from main gate of Samudayik Swasthaya Kendra Lar, Towards Kundauli, On NH 227A Ram Janki Marg	DEORIA	Regular	154	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
30	Within 3 KMs on either side from main gate of Baba Raghev Das Medical College on Medical College road, Within Municipal limit of Gorakhpur	GORAKHPUR	Regular	151	SC	CFS	20	20	400	0	0	Draw of lot	0	3
31	Within 2 km from either side of main gate of Shaheed Raja Hari Prasad Mall Rajkeeya Homeopathic Medical College & Hospital, Badhalganj on NH 227A Ram Janki Marg	GORAKHPUR	Regular	151	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
32	Between Km Stone 127 and 137, LHS on NH- 27 from Lucknow to Gopalganj	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
33	Between KM stone 88 and 95, LHS on NH-27 from Lucknow to Gopalganj	AYODHYA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
34	Between Km Stone No 119 and 125 on NH 330, Ayodhya - Sultanpur Road	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
35	Within 2 km on either side from main gate of 220 KV Sub Station Grid Sohawal, Within municipal limit of Sohawal	AYODHYA	Regular	100	SC SC	CFS	20	20	400	0	0	Draw of lot	0	3
36	Between Km Stone Number No 506 and 513 on NH-730 Balrampur Siddharthanagar Tamkuhiraj Road	MAHARAJGANJ	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
37	Between KM Stone 90 and 95 on NH-28 , Kakrahwa-Basti Road Between KM Stone no 10 and 14 on NH-	BASTI BASTI	Regular	160	SC SC	CFS	35	35	1225	0	0	Draw of lot Draw of lot	0	3
38	727G, Harraiya-Babhnan road		Regular							0				
39	Within 3 km from main gate of Prathmik Vidyalaya Puraina, Towards Salempur, LHS while going from Gorakhpur to Salempur, On NH 727A Gorakhpur Salempur Road	DEORIA	Regular	151	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
40	Between Gandhi Chowk, Kasia and Main gate of Tehsil office Padrauna on NH 727, Kasia-Padrauna-Chhitanuni road	KUSHINAGAR	Regular	166	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
41	BETWEEN KM STONE NO.32 and 41 ON SH- 75, Dumariyaganj-Itwa-Dhebrua road	SIDDHARTH NAGAR	Regular	100	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
42	BETWEEN KM STONE N0.45 and 51 ON NH- 28,Kakrahwa -Basti road Between Km Stone 317 and 322, RHS on NH-	SIDDHARTH NAGAR KUSHINAGAR	Regular	386	SC SC	CFS	35	35	1225	0	0	Draw of lot Draw of lot	0	3
43	27 from Lucknow to Gopalganj Between Maharana Pratap chowk (Bawali	KUSHINAGAR	Regular	150	SC	050	35	0.5	1005	0	0	6 (1)	0	3
	chowk), Padrauna and main gate of Primary Vidyalaya Mewla Nagri on NH 727, Kasia- Padrauna-Chhitanuni road		Regular	150		CFS		35	1225			Draw of lot	5	
45 46	Between KM Stone 13 and 20 on SH-79, Deoria-Kasia road Within 3 km from main gate of Ayushman	DEORIA	Regular Regular	120	SC SC	CFS	35	35	1225 1225	0	0	Draw of lot Draw of lot	0	3
	Bharat Arogya Kendra Parsiya Mishra, Towards Sonughat, On NH 727A Gorakhpur - Salempur Road													
47	Within 4 km from main gate of Samudayik Swasthaya Kendra Lar, Towards Mehrauna, On NH 227A Ram Janki Marg	DEORIA	Regular	153	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
48	Within 2 KM from Ramlila Maidaan (Gandhi Nagar Tiraha) Towards Moti Nagar on SH 58, Within Municipal Limit of Unnao	UNNAO	Regular	122	SC	CFS	30	30	900	0	0	Draw of lot	0	3
49	Between KM stone no. 1410 and 1420 on NH-27, LHS while going from Jhansi to Kanpur	JHANSI	Regular	500	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
50	From MP Border and KM stone no. 1373 on NH-27, RHS, while going from Shivpuri to Jhansi	JHANSI	Regular	400	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
51	Between Elite Crossing and District Hospital Via Govind Chauraha, Within Municipal Limts of Jhansi	JHANSI	Regular	150	SC	CFS	20	20	400	0	0	Draw of lot	0	3
52	Between KM stone no. 1432 and 1442 on NH-27, LHS while going from Jhansi to Kanpur	JHANSI	Regular	500	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
53	Between KM STONE no. 128 and 138 on SH- 40, (TISTI- RASULABAD ROAD)	KANPUR DEHAT	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
54	Between KM STONE no. 416 and 418 ON NH19, LHS while going from BARAJORE TOLL TOWARDS AURAIYA	KANPUR DEHAT	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
55	Between KM stone no. 1376 to 1380 on NH- 27, RHS, while going from Shivpuri to Jhansi	JHANSI	Regular	500	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
56	Between KM STONE no. 1560 and 1570 ON NH27, RHS WHILE going FROM JHANSI TO KANPUR	KANPUR DEHAT	Regular	160	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
57	Atal Chowk to Laxmi Gate Via Ganesh Chauraha on Gwalior Road, Within muncipal limits of Jhansi	JHANSI	Regular	425	SC	CFS	20	20	400	0	0	Draw of lot	0	3
58	Between KM stone 34 and 38 on RHS while going from Jhansi to Lalitpur on NH44	JHANSI	Regular	475	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
59	Within 13 KMs from Deeh Chauraha on NH- 31, RHS while going from Unnao to Raebareli	UNNAO	Regular	154	SC	CFS	35	35	1225	0	0	Draw of lot	0	3

60	Within 6 KM from intersection of SH-170 and Kishunpur Road while going from Vijaipur to Rakshpalpur on SH-170	FATEHPUR	Regular	110	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
61	Vijalpur to kaksipalpur on si-170 BETWEEN KM STONE 46 AND 50 ON NH34 (OLD NH 86), LHS WHILE GOING FROM GHATAMPUR CHAURAHA TOWARDS HAMIRPUR	KANPUR NAGAR	Regular	270	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
62	BETWEEN KM STONE 19 AND 25 ON LHS OF NH-27 WHILE GOING FROM LUCKNOW TO AYODHYA	BARABANKI	REGULAR	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
63	BETWEEN KM STONE 47 AND 58 ON LHS OF NH-27, WHILE GOING FROM LUCKNOW TO AYODHYA	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
64	BETWEEN KM STONE 470 AND 475 ON NH- 30 ,LUCKNOW SITAPUR ROAD	LUCKNOW	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
65	BETWEEN KM STONE 87 AND 92 ON NH- 727H,LAHARPUR BISWAN ROAD	SITAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
66	BETWEEN KM STONE 10 AND 20 ON NH- 927, WHILE GOING FROM BARABANKI TO BAHRAICH	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
67	WITHIN 7 KMS FROM DURJAN GHAT TIRAHA ON SH-155 TOWARDS TARABGANJ ON COLONELGANJ TO NAWABGANJ ROAD	GONDA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
68	BETWEEN KM STONE NO. 157 AND 173 ON SH-13 , HAIDERGARH TO BACHRAWAN ROAD	RAEBARELI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
69	WITHIN 9 KMS FROM NABINAGAR TIRAHA ON SH-140 TOWARDS BHADFAR ON LAHARPUR TO BHADFAR ROAD	SITAPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
70	JANKIPURAM EXTENSION, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	171	SC	CFS	20	20	400	0	Ō	Draw of lot	0	3
71	ON JAIL ROAD , WITH IN MUNICIPAL LIMITS OF RAEBARELI	RAEBARELI	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
72	GONDA CITY, WITHIN MUNICIPAL LIMITS, NOT ON NH OR SH	GONDA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
73	BETWEEN KM STONE 287 AND 297 ON NH- 730 ,BAHRAICH TO BALRAMPUR ROAD	SHRAVASTI	REGULAR	154	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
74	BETWEEN KM STONE 59 AND 67 ON LHS OF NH-27, WHILE GOING FROM LUCKNOW TO AYODHYA	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
75	BETWEEN KM STONE NO 180 AND 185 OF OLD SH1A (NOW NH330), ON GONDA TO BALRAMPUR ROAD	GONDA	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
76	WITHIN OS KMS FROM ENTRY GATE OF GOVERNMENT INDUSTRIAL TRAINING INSTITUTE BILGRAM (I.T.I BILGRAM) TOWARDS KANNAUJ ON NH-330D	HARDOI	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
77	BETWEEN BADGAON POLICE CHOWKI TO BANJARA DHABA ON NH-330 ,GONDA TO AYODHYA ROAD	GONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
78	BETWEEN KM STONE 314 AND 324 ON NH- 730 ,BAHRAICH TO BALRAMPUR ROAD	BALRAMPUR	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
79	WITHIN 10 KM FROM MAIN GATE OF SINGHANIA EDUCATIONAL INSTITUTE ON LHS TOWARDS LUCKNOW ON NH-30	SITAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
80	BETWEEN KM STONE 22 AND 25 ON NH-27 WHILE GOING FROM LUCKNOW TO KANPUR RIGHT HAND SIDE	LUCKNOW	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
81	BETWEEN KM STONE 47 AND 54 ON RHS OF NH-27, WHILE GOING FROM LUCKNOW TO AYODHYA	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
82	BETWEEN KM STONE 324 AND 334 ON NH- 730, BALRAMPUR TO BARHNI ROAD	BALRAMPUR	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
83	BETWEEN KM STONE 86 AND 100 ON NH- 927 ,BARABNKI - BAHRAICH-RUPAIDIAH ROAD	BAHRAICH	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
84	Between Alinagar Tiraha to intersection Point of Old GT road and NH-19 on old GT Road	CHANDAULI	Regular	105	SC	CFS	20	20	400	0	0	Draw of lot	0	3
85	Within 3 km from Pandeypur chauraha towards Azamgarh on Varanasi-Azamgarh road .	VARANASI	Regular	153	ST	CFS	20	20	400	0	0	Draw of lot	0	3
1471	BETWEEN KM STONE NO. 29 AND 32 ON NH123 DHOLPUR - UNCHA NAGLA ROAD	AGRA	Regular	240	SC	CFS	35	35	1225	0	Ō	Draw of Lots	0	3
1472	BETWEEN KM STONE NO. 35 AND 38 ON NH123 DHOLPUR - UNCHA NAGLA ROAD	AGRA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1473	BETWEEN KM STONE NO. 26 AND 34 ON NH 21 LHS FROM AGRA TO JAIPUR	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1474	BETWEEN KM STONE NO. 37 AND 39 ON SH 83 RHS FROM KARHAL TO MAINPURI	MAINPURI	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1475	BETWEEN KM STONE NO. 31 AND 33 ON SH 31 TUNDLA - ETAH ROAD	ETAH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1476	BETWEEN KM STONE NO. 85 AND 88 ON SH 122 AWAGADH - JALESAR ROAD	ETAH	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1477	BETWEEN KM STONE NO. 69 AND 77 ON NH 234 ETAWAH - KANNAUJ ROAD	ETAWAH	Regular	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1478	WITHIN MUNICIPAL LIMITS OF BIDHUNA TOWN ON NH 234 BHARTHANA - KANNAUJ ROAD	AURAIYA	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1479	BETWEEN KM STONE NO. 339 AND 343 ON NH 19 RHS FROM DELHI TO KANPUR	ETAWAH	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1480	WITHIN MUNICIPAL LIMITS OF DIBIYAPUR ON DIBIYAPUR - PHAPHUD ROAD	AURAIYA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1481	BETWEEN KM STONE NO. 271 AND 274 ON SH 21 BELA - AURAIYA ROAD	AURAIYA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1482	BETWEEN KM STONE NO. 317 AND 320 ON NH 34 ALIGARH- KANPUR ROAD	KANNAUJ	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1483	BETWEEN KM STONE NO. 566 AND 570 ON NH 730 C BISALPUR- BEWAR ROAD	FARRUKHABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1484	BETWEEN KM STONE NO. 242 AND 245 ON NH-19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

1485	BETWEEN KM STONE NO. 242 AND 252 ON	FIROZABAD	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1486	NH-19 RHS FROM DELHI TO KANPUR WITHIN 2 KM FROM POLICE CHOWKI	KANSHI RAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1487	KACHALA TOWARDS SORON ON NH-530B BAREILY - MATHURA ROAD BETWEEN DISTRICT COURT KASGANJ AND	NAGAR KANSHI RAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	KHAND VIKAS ADHIKARI OFFICE KASGANJ ON NH 530B FROM BAREILY TO MATHURA	NAGAR												
1488	BETWEEN KM STONE NO. 56 AND 61 ON SH 142 KOSI FARAH ROAD	MATHURA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1489	BETWEEN KIRTI MANDIR BARSANA AND KOSIKALAN TIRAHA ON SH 142 KOSI FARAH	MATHURA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1490	ROAD BETWEEN KM STONE NO. 238 AND 241 ON NH 530B BAREILLY - MATHURA ROAD	MATHURA	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1491	BETWEEN KM STONE NO. 217 AND 220 ON NH 530B BAREILLY - MATHURA ROAD	HATHRAS	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1492	BETWEEN KM STONE NO. 139 AND 143 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	204	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1493	BETWEEN KM STONE NO. 183 AND 186 ON NH 509 MORADABAD- AGRA ROAD	HATHRAS	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1494	BETWEEN KM STONE NO. 189 AND 192 ON NH19 LHS FROM DELHI TO KANPUR	AGRA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1495	BETWEEN KM STONE NO. 51 AND 54 ON SH 83 FROM KARHAL TO MAINPURI	MAINPURI	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1496	BETWEEN KM STONE NO. 16 AND 18 ON SH 85 ETAH - SHIKOHABAD ROAD	ETAH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1497	WITHIN 4 KM FROM MAHARAJA TEJ SINGH CHAURAHA TOWARDS KUSUMARA ON SH 141 MAINPURI- KUSUMARA ROAD	MAINPURI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1498	BETWEEN KM STONE NO. 227 AND 231 ON NH-19 RHS FROM DELHI TO KANPUR	FIROZABAD	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1499	BETWEEN KM STONE NO. 125 AND 128 ON NH 234 RHS BELA - KANNAUJ ROAD	KANNAUJ	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1500	BETWEEN KM STONE NO. 50 AND 53 ON SH 37 ON LHS FROM BAREILLY TOWARDS KICHHA	BAREILLY	Regular	116	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1501	BETWEEN KM STONE NO. 323 AND 329 ON NH 30 ON RHS FROM PILIBHIT TOWARDS BARFIILY	BAREILLY	Regular	186	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1502	BAREILLY BETWEEN KM STONE NO. 36 AND 40 ON NH 9 AT RHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1503	BETWEEN KM STONE NO. 57 AND 61 ON SH 125 TOWARDS SAIFNI	RAMPUR	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1504	BETWEEN KM STONE NO. 203 AND 207 ON NH 530 AT RHS FROM RAMPUR TOWARDS	RAMPUR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1505	BAREILLY BETWEEN KM STONE NO. 207 AND 209 ON NH 530 AT LHS FROM RAMPUR TOWARDS	RAMPUR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1506	BAREILLY BETWEEN KM STONE NO. 71 AND 75 ON SH 144 TOWARDS BAJPUR	RAMPUR	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1507	BETWEEN KM STONE NO. 38 AND 41 ON SH 144 TOWARDS SWAR	RAMPUR	Regular	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1508	BETWEEN KM STONE NO 2 AND 5 ON SH 125 TOWARDS AONLA	BAREILLY	Regular	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1509	WITHIN 4 KM FROM DWARIKESH SUGAR INDUSTRIES LTD ON LHS TOWARDS SHAHJAHANPUR ON NH30	BAREILLY	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1510	BETWEEN KM STONE NO 85 AND 90 ON NH 730A TOWARDS PURANPUR	PILIBHIT	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1511	WITHIN 3 KM FROM INTERSECTION OF SH 101 AND NH 731 TOWARDS NIGHASAN ON	LAKHIMPUR KHERI	Regular	126	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1512	SH 101 WITHIN 2KM ON EITHER SIDE OF SHRI PARASNATH INSTITUTE OF EDUCATION AND TECHNOLOGY ON MORADABAD THAKURDWARA ROAD NH-734 (OLD SH-41)	MORADABAD	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1513	BETWEEN KM STONE NO. 29 AND 35 ON NH-734	BIJNOR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1514	WITHIN MUNICIPAL LIMITS OF AMROHA, BETWEEN LAKDA CHAURAHA AND TRANSPORT NAGAR CHAURAHA ON SH -77	AMROHA	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1515	WITHIN MUNICIPAL LIMITS OF AMROHA IN VILLAGE - MEERA SARAI ON RING ROAD	AMROHA	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1516	AMROHA ON NEW NAJIBABAD BYPASS (NH) ON LHS FROM HARIDWAR TOWARDS KOTWALI	BIJNOR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1517	WITHIN MUNICIPAL LIMITS OF MORADABAD BETWEEN SONAKPUR YOJNA, MORADABAD AND MAHIQLA YOJNA OF AWAS VIKAS - CONNECTING DELHI ROAD TO KANTH ROAD (ON 24 METER WIDE ROAD)	MORADABAD	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1518	BETWEEN KM STONE NO. 117 AND 124 ON NH 530B (OLD SH 33)	BUDAUN	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1519	BETWEEN DHELA RIVER BRIDGE AND INDIAN AROMATIC, SIDHAWALI ON MORADABAD THAKURDWARA ROAD NH-734 (OLD SH-41)	MORADABAD	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1520	BETWEEN KM STONE NO. 146 AND 149 ON BIJNOR BADAUN ROAD SH-51	AMROHA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1521	BETWEEN KM STONE NO. 167 AND 173 ON BIJNOR BADAUN ROAD SH-51	BIJNOR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1522	BETWEEN KM STONE NO. 166 AND 175 RHS FROM GUNNORE TOWARDS BUDAUN ON	BUDAUN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1523	SH-18. BETWEEN KM STONE NO. 2 AND 5 ON NEHTOR NOORPUR ROAD SH-77	BIJNOR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1524	BETWEEN KM STONE NO. 27 AND 36 ON BUDAUN BILSI ROAD SH-51	BUDAUN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

1525	BETWEEN KM STONE NO. 117 AND 120 ON	BIJNOR	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1526	PANIPAT KHATIMA MARG SH-12 BETWEEN KM STONE NO. 69 AND 72 ON	BUDAUN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1527	SH43 BETWEEN KM STONE NO. 93 AND 98 ON	BUDAUN	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1528	BUDAUN CHANDAUSI ROAD ON SH43 BETWEEN KM STONE NO. 58 AND 61 ON SH	SAMBHAL	Regular	115	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1529	148 WITHIN 3 KM OF BHAILA DEGREE	SAHARANPUR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	COLLEGE,BHAILA ON DEOBAND TO BADGAON ROAD (SH 167) WHILE MOVING TOWARDS BADGAON													
1530	WITHIN 3 KM FROM 810 CETC TRAINING AREA PURKAZI TOWARDS LAKSAR ON PURKAZI - LAKSAR ROAD	MUZAFFARNAGAR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1531	WITHIN MUNICIPAL LIMITS SHAMLI ON SHAMLI KUDANA ROAD	SHAMLI	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1532	WITHIN 4 KM OF BAJAJ HINDUSTAN SUGAR MILL THANABHAWAN ON RHS ON NH-709B	SHAMLI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1533	(DELHI - SAHARANPUR ROAD) WHILE MOVING TOWARDS SHAMLI WITHIN MUNICIPAL LIMITS OF DEOBAND	SAHARANPUR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1535	ON RAILWAY ROAD WITHIN 4 KM FROM BIKANO FOOD COURT	MUZAFFARNAGAR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	(NEAR RAMPUR TIRAHA) ON RHS ON OLD NH-58 (NEW NH-334) WHILE MOVING TOWARD ROORKEE													
1535	WITHIN 3 KM FROM MAPLES ACADEMY, JARODAJUTT ON SH-59 ON LHS WHILE MOVING TOWARDS SAHARANPUR	SAHARANPUR	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1536	WITHIN 3 KM FROM SOFIYA INTERNATIONAL SCHOOL, NAGAL ON SH59 LHS TOWARDS MUZAFFARNAGAR	SAHARANPUR	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1537	LHS TOWARDS MUZAFFARNAGAR BETWEEN KM STONE 5 TO 8 ON NH-709 B (DELHI - SHAMLI - SAHARANPUR ROAD)	BAGHPAT	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1538	BETWEEN KM STONE 35 AND 41 ON NH- 334B (MEERUT - SONIPAT ROAD)	BAGHPAT	Regular	150	SC	CFS	35	35	1225	0	Ō	Draw of Lots	0	3
1539	WITHIN 4 KM OF SHREE VINAYAK COLLEGE OF EDUCATION, MAWIKALA TOWARDS LONI	BAGHPAT	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1540	ON NH709B (DELHI SHAMLI SAHARANPUR ROAD) BETWEEN KM STONE 26 TO 29 ON NH-709B	BAGHPAT	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	(DELHI - SHAMLI - SAHARANPUR ROAD)		-											
1541	BETWEEN KM STONE 17 TO 19 ON NH-334B (MEERUT - SONIPAT ROAD)	BAGHPAT	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1542	BETWEEN KM STONE 55 TO 60 TOWARDS HARIDWAR ON OLD NH-58 (NEW NH-334) ON LHS	MEERUT	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1543	BETWEEN KM STONE 60 TO 62 TOWARDS HARIDWAR ON OLD NH-58 (NEW NH-334) ON RHS	MEERUT	Regular	180	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1544	BETWEEN U.P GATE AND CISF MOD ON NH9	GHAZIABAD	Regular	250	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
86	Between KM stone 135 and 140 on National Highway 30 (Lucknow to Prayagraj road)	PRATAPGARH	Regular	159	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
87	Between Km stone 146 and 152 on National Highway 30 (Lucknow to Prayagraj road)	PRATAPGARH	Regular	159	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
88	Between KM stone 14 and 21 on National Highway 330, on Right Hand Side while moving from Prayagraj to Pratapgarh	PRAYAGRAJ	Regular	153	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
89	Within Nagar Panchayat limit of Mau Aima, Not on National Highway and State Highway	PRAYAGRAJ	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
90	Between KM Stone 48 and 53 on State Highway 110	PRATAPGARH	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
91	Between KM stone 179 and 184 on National Highway 30 (Lucknow to Prayagraj road)	PRAYAGRAJ	Regular	159	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
92	Between KM stone 1 and 9 on National Highway 731A	PRATAPGARH	Regular	153	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
93	Within Nagar Panchayat limit of kunda, Not on National Highway and State Highway	PRATAPGARH	Regular	101	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
94	Between KM stone 140 and 146 on National Highway 30 (Lucknow to Prayagraj road)	PRATAPGARH	Regular	180	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
95	Between KM stone 656 and 662 on National Highway 19, on Left Hand Side while moving	PRAYAGRAJ	Regular	153	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
96	from Kanpur to Varanasi Between KM stone 14 and 19 on National Highway 731A	PRATAPGARH	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
97	Between KM stone 652 and 660 on National Highway 19, on Right Hand Side while	PRAYAGRAJ	Regular	153	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
98	moving from Kanpur to Varanasi Between KM stone 7 and 14 on National Highway 330, on Right Hand Side While	PRAYAGRAJ	Regular	153	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
99	moving from Prayagraj to Pratapgarh Between KM stone 26 and 31 on National Highway 731A	PRATAPGARH	Regular	153	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
100	Between KM stone 649 and 656 on National Highway 19, on Left Hand Side While moving	PRAYAGRAJ	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
101	from Kanpur to Varanasi Between KM stone 159 and 166 on National Highway 31(Rae bareli to Jaunpur road)	PRATAPGARH	Regular	153	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
102	Between KM stone 179 and 184 on National Highway 31 (Rae bareli to Jaunpur road)	PRATAPGARH	Regular	153	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
103	Phaphamau within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	170	OPEN	СС	30	30	900	32	12	BIDDING	30	5
104	Between KM stone 668 and 676 on National Highway 19, on Right Hand Side While	PRAYAGRAJ	Regular	180	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
105	moving from Kanpur to Varanasi Between KM stone 14 and 21 on National Highway 330, on Left Hand Side While	PRAYAGRAJ	Regular	152	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
106	moving from Prayagraj to Pratapgarh Between KM stone 673 and 680 on National Highway 19, on Left Hand Side While moving	PRAYAGRAJ	Regular	154	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
107	from Kanpur to Varanasi Between KM stone 7 and 14 on National	PRAYAGRAJ	Regular	170	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
	Highway 330, on Left Hand Side While moving from Prayagraj to Pratapgarh													

108	Between KM stone 174 and 179 on National Highway 30 (Lucknow to Prayagraj road)	PRAYAGRAJ	Regular	165	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
109	Between KM stone 169 and 174 on National Highway 30 (Lucknow to Prayagraj road)	PRAYAGRAJ	Regular	153	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
110	Between KM stone 152 and 159 on National Highway 31(Rae bareli to Jaunpur road)	PRATAPGARH	Regular	153	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
111	Between KM stone 166 and 172 on National Highway 31(Rae bareli to Jaunpur road)	PRATAPGARH	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
112	Between KM stone 662 and 671 on National Highway 19, on Left Hand Side While moving	PRAYAGRAJ	Regular	170	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
113	from Kanpur to Varanasi Between KM Stone 87 and 91 on State Highway 5A, on left hand side while going	SONBHADRA	Regular	270	OBC	CC	35	35	1225	32	12	BIDDING	30	4
114	from Varanasi to Saktinagar Between KM Stone 60 and 62 on State Highway 154	SONBHADRA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
115	Between KM Stone 212 and 214 on National Highway 75E	SONBHADRA	Regular	390	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
116	Within Municipal limit of Ghorawal, not on State Highway	SONBHADRA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
117	Between KM Stone 51 and 60 on State Highway 5A, on Right hand side while going	SONBHADRA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
118	from Varanasi to Shaktinagar Between KM Stone 60 and 75 on State Highway 5A, on left hand side while going	SONBHADRA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
119	from Varanasi to Shakti Nagar Between KM Stone 80 and 90 on State	SONBHADRA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
120	Highway 154 Within 8 KM from Pannuganj police station	SONBHADRA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
121	towards Robertsganj on State Highway 154 Between KM Stone 85 and 91 on State	SONBHADRA	Develop	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
	Highway 97		Regular											
122	Between KM Stone 110 and 112 on State Highway 5A, on left hand side while going from Varanasi to Saktinagar	SONBHADRA	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
123	Between KM stone 300 and 302 on National Highway 75E	SONBHADRA	Regular	380	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
124	Between KM stone 298 and 300 on National Highway 75E, on Right hand side while going from Singrauli to Wyndhamganj	SONBHADRA	Regular	280	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
125	Between KM Stone 371 and 385 on State Highway 5	SONBHADRA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
126	Within 8 KM from Pannuganj police station towards Khaliyari on State Highway 154	SONBHADRA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
127	Between KM Stone 34 and 50 on State Highway 5A, on Right hand side while going from Varanasi to Shaktinagar	SONBHADRA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
128	Between KM stone 280 and 298 on National Highway 75E	SONBHADRA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
129	Between KM stone 223 and 230 on National Highway 75E, on Right hand side while going from Singrauli to Renukut	SONBHADRA	Regular	300	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
130	Between Auri more, Anpara to UP-MP border on State Highway-5A	SONBHADRA	Regular	350	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
131	Swaran jayanti Chowk to Chandi Tiraha on Right hand side while going towards Hinduwari, within Municipal limit of	SONBHADRA	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
132	Robertsganj, not on State Highway Between KM Stone 106 and 110 on State Highway 5A, on left hand side while going	SONBHADRA	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
133	from Varanasi to Saktinagar Between KM Stone 214 and 220 on National Highway 75E	SONBHADRA	Regular	290	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
134	Between KM Stone 91 and 94 on State Highway 5A, on left hand side while going from Varanasi to Saktinagar	SONBHADRA	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
135	Between KM Stone 240 and 260 on National Highway 75E	SONBHADRA	Regular	240	0000000	DC	35	35	1225	32	95	Draw of lot	15	4
136	Between KM stone 231 and 239 on National Highway 75E	SONBHADRA	Regular	200	OBC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
137	Between KM Stone 34 and 50 on State Highway 5A, on left hand side while going	SONBHADRA	Regular	100	SC PH OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
138	from Varanasi to Shakti Nagar Between KM Stone 55 and 60 on State	SONBHADRA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
139	Highway 154 Between KM stone 20 and 30 on State	SONBHADRA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
140	Highway 154 Between Ghantaghar chauraha and Rajapal Chauraha on Court road within Pratapgarh	PRATAPGARH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
141	Municipal limit Within Municipal Limit of Dhakwa not on National Highway and State Highway	PRATAPGARH	Regular	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
142	Ramapur on Kohadaur-Patti Road within Kohdaur municipal area, not on National	PRATAPGARH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
143	Highway and State Highway On Katra Mandhata road within municipal limit of Katra mediniganj	PRATAPGARH	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
144	Between SP office and Vikas Bhavan on Katra road within pratapgarh Municipal limit	PRATAPGARH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
145	Between KM stone 1 and 10 on National Highway 931	PRATAPGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
146	Highway 931 Between KM stone 94 and 96 on State Highway 128(Delhupur Raniganj Patti	PRATAPGARH	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
147	Akbarpur highway) Mahuli within Municipal limit of Pratapgarh (Not on National Highway and State	PRATAPGARH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
148	Highway) Between KM stone 200 and 214 on National	PRATAPGARH	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
149	Highway 31 Between KM stone 49 and 53 on State	PRATAPGARH	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
	Highway 128(Delhupur Raniganj Patti Akbarpur highway)		-											
150	Right hand Side on new 4 lane by-pass of Pratapgarh city of National Highway 330 while moving from Pratapgarh city to Sonava on new by-pass	PRATAPGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
151	Between KM stone 36 and 38 on Right hand side on National Highway 330 while moving	PRATAPGARH	Regular	163	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5

152	Left hand Side on new 4 lane by-pass of Pratapgarh city of National Highway 330 while moving from Pratapgarh city to	PRATAPGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
153	Sonava on new by-pass Between KM stone 27 and 35 on National Highway 330, on Right hand side while	PRATAPGARH	Regular	163	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
154	moving from Prayagraj to Pratapgarh Between KM stone 75 and 80 on State Highway 128 (Delhupur Raniganj Patti	PRATAPGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
155	Akbarpur highway) Between KM stone 185 and 192 on National	PRATAPGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
156	Highway 31 Between KM stone 88 and 95 on National	CHITRAKOOT	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
157	Highway 35 Between KM Stone 32 and 48 on National	BANDA	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
158	Highway 35 Between KM Stone 90 and 98 on State	BANDA	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of lot	15	4
159	Highway 71 Between KM stone 23 and 32 on National	BANDA	Regular	154	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
160	Highway 35 Between KM Stone 33 and 50 on State	BANDA	Regular	110	OPEN PH	DC	35	35	1225	32	75	Draw of lot	15	5
161	Highway 134 Between KM Stone 103 and 114 on State	BANDA	Regular	154	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
162	Highway 71 Between KM stone 81 and 88 on National	CHITRAKOOT	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
163	Highway 35 Between KM Stone 20 and 33 on State	BANDA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
163	Highway 134 Between KM Stone 114 and 117 on State	BANDA	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
165	Highway 71 Between KM Stone 53 and 57 of MDR 11B (BANDA	Regular	196	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
105	New State Highway 113), on Left hand side while going from Banda to Kalinjer	BANDA	Regular	190	OBC	DC	22	35	1225	32	/5	DIAW OF IOU	15	4
166	Between KM stone 95 and 101 on National Highway 35	CHITRAKOOT	Regular	168	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
167	Between KM stone 283 and 301 on State Highway 13	BANDA	Regular	144	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
168	Between KM stone 1 and 6 on National Highway 731 AG (Rajapur to Bodipokhari	CHITRAKOOT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
169	Road) Within Nagar Panchayat Limit of Manikpur	CHITRAKOOT	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
	on Manikpur to Karwi Road													
170	Between KM Stone 52 and 66 on State Highway 92	BANDA	Regular	132	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
171	Between KM Stone 75 and 88 on State Highway 92	CHITRAKOOT	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
172	Between KM stone 64 and 76 on National Highway 35	BANDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
173	Between KM Stone 35 and 53 of MDR 11B (New State Highway 113), on Right hand side while going from Banda to Kalinjer	BANDA	Regular	117	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
174	Between KM stone 115 and 130 on National Highway 731 A	CHITRAKOOT	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
175	Between KM stone 47 and 73 of old State Highway 11 (New National Highway 135 BG) (Land should fall in Uttar Pradesh state only	CHITRAKOOT	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
176	Between KM Stone 20 and 28 on National Highway 335	BANDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
177	Between KM Stone 33 and 43 on State Highway 71	BANDA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
178	Between KM stone 100 and 110 on National Highway 731 A	CHITRAKOOT	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
179	Between KM stone 156 and 172 on National Highway 35	CHITRAKOOT	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
180	Between KM stone 50 and 56 on State Highway 134	BANDA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
181	Between KM stone 06 and 14 on National Highway 731 AG (Rajapur to Bodipokhari	CHITRAKOOT	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
182	Road) Between Maharana pratap chauraha and	BANDA	Regular	171	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
183	Mawai bypass chauraha on Chilla Road within municipal limit of Banda Between KM Stone 6 and 15 on State	BANDA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
183	Highway 92 Between KM stone 146 and 156 on National	CHITRAKOOT	Regular	100	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
	Highway 35		-			CFS								
185	Between KM Stone 43 and 65 on State Highway 71	BANDA	Regular	100	SC		35	35	1225	0	0	Draw of lot	0	3
186	Between KM stone 15 and 23 on National Highway 35	BANDA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
187	Between KM Stone 01 and 08 on National Highway 335	BANDA	Regular	152	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
188	Between KM Stone 40 and 52 on State Highway 92	BANDA	Regular	121	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
189	On State Highway 30A, Within 5 KMs towards Maya from the Intersection of Basti Azamgarh Road (National Highway 28) and State Highway 30A	AMBEDKAR NAGAR	Regular	168	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
190	Between KM Stone 15 and 26 on State Highway 92	BANDA	Regular	121	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
191	Within 5 KMs from Chaudhary Hanuman Prasad Krishak PG College Towards Baskhari	AMBEDKAR NAGAR	Regular	127	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
192	on State Highway 30 Between KM Stone 1 and 7 on State Highway 128	AMBEDKAR NAGAR	Regular	117	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
193	Between KM Stone 13 and 17 on State Highway 128	AMBEDKAR NAGAR	Regular	117	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
194	Between KM stone 125 and 135 on National Highway 28, on Right Hand Side while going	AMBEDKAR NAGAR	Regular	168	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
195	from Basti to Azamgarh Between KM stone 125 and 132 on National Highway 28, on Left Hand Side while going	AMBEDKAR NAGAR	Regular	168	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
196	from Basti to Azamgarh Between KM stone 1 and 6 on National Highway 128	AMBEDKAR NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
197	Between KM stone 131 and 137 on National	AMBEDKAR	Regular	152	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
	Highway 135A	NAGAR												

198	Between KM stone 135 and 144 on National Highway 28, on Left Hand Side while going	AMBEDKAR NAGAR	Regular	168	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
199	from Basti to Azamgarh Within Municipal Limit of Jalalpur not on National Highway and State Highway	AMBEDKAR NAGAR	Regular	111	SC	CFS	20	20	400	0	0	Draw of lot	0	3
200	From Pahitipur Chauraha (Shahjadpur) towards National Highway128 (On Old Tanda Banda Road) within Municipal limit of Akbarpur	AMBEDKAR NAGAR	Regular	121	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
201	Between KM stone 135 and 150 on National Highway 28, on Right Hand Side while going	AMBEDKAR NAGAR	Regular	168	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
202	from Basti to Azamgarh Within Municipal Limit of Ashrafpur Kichhauchha not on National Highway and	AMBEDKAR NAGAR	Regular	103	OBC	DC	20	20	400	32	55	Draw of lot	15	4
203	State Highway Within 4 KMs from Mahamaya college of	AMBEDKAR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	Agricultural and engineering technology College Gate towards Ayodhya on National Highway 135A	NAGAR												
204	Between KM stone 144 and 151 on National Highway 135A	AMBEDKAR NAGAR	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
205	Between KM stone 25 and 33 on National Highway 128	AMBEDKAR NAGAR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
206	Within municipal limit of Iltifatganj not on National Highway and State Highway	AMBEDKAR NAGAR	Regular	110	OBC	DC	20	20	400	32	55	Draw of lot	15	4
207	On State Highway 30, Within 6 KMs towards Baskhari from the intersection of National Highway 128 (Akbarpur Bypass) and State Highway 30	AMBEDKAR NAGAR	Regular	127	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
208	Between KM stone 144 and 160 on National Highway 28, on Left Hand Side while going from Basti to Azamgarh	AMBEDKAR NAGAR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
209	Within Municipal Limit of Tanda not on National Highway and State Highway	AMBEDKAR NAGAR	Regular	106	OPEN CC 2	DC	20	20	400	32	55	Draw of lot	15	5
210	Between KM Stone 50 and 70 on State Highway 102	PRAYAGRAJ	Regular	104	OBC CC 1	DC	35	35	1225	32	75	Draw of lot	15	4
211	Between KM stone 6 and 14 on National Highway 128	AMBEDKAR NAGAR	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
212	Between KM Stone 70 and 85 on State Highway 102	PRAYAGRAJ	Regular	101	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
213	Between KM stone 34 and 40 on National Highway 128	AMBEDKAR NAGAR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
214	Between Myohall chauraha and Mishra Bhawan chauraha via Patrika chauraha, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	252	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
215	Between Khuldabad Chauraha and Chungi chauraha on old GT Road, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
216	Between Swami Vivekanand Chauraha and Eklavaya Chauraha on Purushottam das tandon marg, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	155	OBC	DC	20	20	400	32	75	Draw of lot	15	4
217	Between KM Stone 173 and 182 on National Highway 35	PRAYAGRAJ	Regular	248	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
218	Between KM Stone 191 and 197 on National Highway 35	PRAYAGRAJ	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
219	Within 3 KM from Mama bhanja talab chauraha on FCI road, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	154	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
220	From Katghar Chauraha to Gol Park Chowk via Balughat Chauraha on Balughat road, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	186	OBC	DC	20	20	400	32	75	Draw of lot	15	4
221	Between Balson Chauraha and Intersection of Lowther road with old GT road on Lowther road , within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	155	SC	CFS	20	20	400	0	0	Draw of lot	0	3
222	Between Preetam Nagar Chauraha and Tarapore Dwar while moving on old GT road and Purushotam Das Tandon Marg, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	186	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
223	Between KM Stone 21 and 36 on National Highway 30, on Right Hand Side while going From Prayagraj to Rewa	PRAYAGRAJ	Regular	254	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
224	Between Labour chowk and Maa Alopi chowk on Matiyara road, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	155	OBC	DC	20	20	400	32	75	Draw of lot	15	4
225	Between KM Stone 21 and 36 on National Highway 30, on Left Hand Side while going	PRAYAGRAJ	Regular	336	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
226	from Prayagraj to Rewa Between KM stone 44 and 56 on National Highway 135C	PRAYAGRAJ	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
227	Between Khuldabad Chauraha to Karbala chauraha on old GT Road, within Municipal	PRAYAGRAJ	Regular	186	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
228	limit of Prayagraj Between KM Stone 85 and 96, on State Highway 102	PRAYAGRAJ	Regular	103	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
229	Between KM Stone 35 To Koraon chauraha on National Highway 135C	PRAYAGRAJ	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
230	Between KM Stone 182 and 191 on National Highway 35	PRAYAGRAJ	Regular	248	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
231	Between Km stone 39 To Chakghat (UP-MP Border) on National Highway 30, on Left Hand Side while moving From Naribari Chauraha to Chakghat	PRAYAGRAJ	Regular	387	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
232	Chaurana to Chakghat Between KM stone 39 To Chakghat (UP- MP Border) on National Highway 30, on Right hand side while Moving From Naribari Chauraha to Chakghat	PRAYAGRAJ	Regular	179	OBC	CC	35	35	1225	32	12	BIDDING	30	4
233	Between Khuldabad Chauraha to Pahalwan chauraha on Noorullah Road, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	155	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
234	Between KM Stone 9 and 17 on National Highway 30, on Right hand side while going	PRAYAGRAJ	Regular	150	50.011	CFS	35	35	1225	0	0	Draw of lot	0	3
235	from Prayagraj to Rewa Between KM Stone 9 and 17 on National Highway 30, on left hand side while going from Prayagraj to Rewa	PRAYAGRAJ	Regular	182	SC PH OBC PH	DC	35	35	1225	32	95	Draw of lot	15	4
236	Between KM Stone 170 and 172 on State Highway 106, on Left Hand Side while moving from Kokhraj to Prayagraj	KAUSHAMBI	Regular	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5

237	Between KM Stone No 175 and 178 on State Highway 106, on Left Hand Side while	KAUSHAMBI	Regular	150	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
238	moving from Kokhraj to Prayagraj Between KM Stone No 86 and 88 on	KAUSHAMBI	Regular	159	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
239	National Highway 731 A Between KM Stone No 29 and 31 on State	KAUSHAMBI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
240	Highway 95 Between KM Stone 52 and 54 on National	KAUSHAMBI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
	Highway 731 A, on Right Hand Side while Moving from Kokhraj to Rajapur													
241	Within 1 KM from IIIT Chauraha towards Peepalgaon on Jhalwa-Peepalgaon- Kaushambi Road, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	152	OPEN	CC	20	20	400	32	12	BIDDING	30	5
242	Between KM Stone 4 and 6 of old ODR (Other District Road), on Manjhanpur- Tedi mod- Shahjadpur road (New State Highway 171)	KAUSHAMBI	Regular	107	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
243	Between KM Stone 162 and 168 on State Highway 106, on Right Hand Side while moving from Kokhraj to Prayagraj	KAUSHAMBI	Regular	132	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
244	Between KM Stone No 26 and 28 on State Highway 95	KAUSHAMBI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
245	Between KM Stone 612 and 615 on National Highway 19, on Right Hand Side while moving from Kanpur to Prayagraj	KAUSHAMBI	Regular	267	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
246	Between KM Stone 17 and 20 of old ODR (Other District Road), on Osa Chauraha to Karari Chauraha road (New State Highway 171)	KAUSHAMBI	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
247	Between KM Stone 602 and 605 on National Highway 19, on Right Hand Side while moving from Kanpur to Prayagraj	KAUSHAMBI	Regular	267	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
248	Between KM Stone 175 and 179 on State Highway 106, on Right Hand Side while Moving from Kokhraj to Prayagraj	KAUSHAMBI	Regular	121	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
249	Between KM Stone 623 and 626 on National Highway 19, on Right Hand Side while moving from Kanpur to Prayagraj	KAUSHAMBI	Regular	267	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
250	moving from Kanpur to Prayagraj Between KM Stone 21 and 23 on State Highway 95	KAUSHAMBI	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
251	Between KM Stone 180 and 183 on State Highway 106	PRAYAGRAJ	Regular	243	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
252	Betweeen KM stone 0 and 5 on State Highway 95	PRAYAGRAJ	Regular	101	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
253	Between KM Stone 61 and 65 on National Highway 731A, on Right Hand Side while	KAUSHAMBI	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
254	Moving from Kokhraj to Rajapur Between KM Stone 7 and 9 of old ODR (Other District Road), on Sarai Akil to Mahila	KAUSHAMBI	Regular	101	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
255	Ghat Road (New State Highway 171) Between KM stone 133 and 137 on National Highway 731, on Right Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	182	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
256	Between KM stone 3 and 8 on State Highway 110	AMETHI	Regular	107	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
257	Between KM stone 35 and 37 on State Highway 110	AMETHI	Regular	107	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
258	Between KM stone 46 and 51 on National Highway 931	AMETHI	Regular	152	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
259	Between KM stone 35 and 38 on National Highway 931	AMETHI	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
260	Between KM stone 38 and 42 on National Highway 931	AMETHI	Regular	191	OPEN PH	DC	35	35	1225	32	95	Draw of lot	15	5
261	Between KM stone 122 and 125 on National Highway 731, on Left Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	181	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
262	Between KM stone 127 and 130 on National Highway 731, on Right Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
263	Between KM stone 47 and 52 on National Highway 931A	AMETHI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
264	Between KM stone 51 and 57 on National Highway 931	AMETHI	Regular	152	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
265	Between KM stone 98 and 101 on National Highway 128	AMETHI	Regular	152	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
266	Within KM stone 133 and 138 on National Highway 128	AMETHI	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
267	Between KM stone 133 and 138 on National Highway 731, on Left Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	182	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
268	Between KM stone 144 and 148 on National Highway 731, on Right Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	182	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
269	Between KM stone 152 and 156 on National Highway 731, on Left Hand Side while moving from Sultanpur to Lucknow	AMETHI	Regular	151	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
270	Between KM Stone 45 and 50 on National Highway 35, on Left Hand Side while moving from Varanasi to Mirzapur	MIRZAPUR	Regular	212	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
271	Witinin Municipal limit of Chunar, not on National Highway and State Highway	MIRZAPUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
272	Between KM Stone 80 and 98 on National Highway 135, on Right hand Side while moving from Mirzapur to Rewa	MIRZAPUR	Regular	162	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
273	Between KM Stone 50 and 62 on National Highway 35, on Right hand Side while moving from Varanasi to Mirzapur	MIRZAPUR	Regular	193	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
274	Between KM Stone 27 and 35 on National Highway 35, on Left hand Side while moving from Varanasi to Mirzapur	MIRZAPUR	Regular	212	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
275	From Shastri Bridge to Imambada Tiraha on Imambada Road within municipal limit of Mirzapur	MIRZAPUR	Regular	106	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
276	Between KM Stone 98 and 108 on National Highway 135, on Right hand Side while moving from Mirzapur to Rewa	MIRZAPUR	Regular	162	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
277	Between KM Stone 135 and 140 on National Highway 135, on Right hand Side while moving from Mirzapur to Rewa	MIRZAPUR	Regular	318	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
278	Between Km stone 287 and 291 on National Highway 35	MIRZAPUR	Regular	160	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
279	Between KM Stone 1 and 4 on State Highway 5A, on Left Hand Side while moving	MIRZAPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	from Varanasi to Robertsganj	1	I	1	I	I	I	L	L	1		1	I	

Interm Variana to Roomstraging Interaction Int	bt 15 ot 0 ot 15 ot 30 ot 15 ot 15	5 3 4 5 4 5 4 3 5 4 3 5 4 3 5 4 3 5 4 5 4 5 4 5 4 5 3 5 4 5 3 5 4 5 3 5 4 5 3 5 3 5 4 5 3 5 3 5 3 5 3 5 5 5 5 5 <td< th=""></td<>
128. Between MA Store 15 and 21 on National Indiging from Varianatis to Marcaur MIRZAPUR Regular 212 OPEN DC 35 35 1225 32 95 Draw of to moding from Varianatis to Marcaur 128. Between MS Store B1 and Store National memory from Marcaur to Reva memory from Marcaur memory from Marcaur to Reva memory from Marcaur memory from Marcaur to Reva memory from Marcaur memory from Marcaur to Reva memory from Marcaur to Rever memory from Marcaur	ot 0 ot 15 ot 0 ot 15	3 4 5 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 5 4 5 4 5 4 5 3 4 5
128. Between MM Stone 20 and 80 and 81 while moning from Mirzapur 10 kew MBIZAPUR Regular 162 3C CT 35 1225 0 0 Drew of lo moning from Mirzapur 10 kew 128 Between MS stone 11 and 25 on Mirzapur moning from Mirzapur 10 kew MBIZAPUR Regular 232 OPC DC 35 35 1225 32 95 Drew of lo more of l	bt 15 ot 15 ot 15 ot 15 ot 0 ot 15 ot 15 ot 15 ot 15 ot 15 ot 15 ot 30 ot 15	4 5 4 3 5 4 3 5 4 3 5 4 3 5 4 5 4 5 4 5 4 5 4 5 3 4 5 3 4 5 3
284 Between MM Sone 21 and 22 on National Involute from Varianal to Mirzapur MIRZAPUR Pegular 232 OBC DC 35 35 1225 32 95 Draw of lo proved flow 286 Between MM sone and 9 on National Inglivery 125A. MIRZAPUR Regular 154 OPEN DC 35 35 1225 32 95 Draw of lo prove of lo proved flow 287 Between MM sone 7 and 10 on SH97 MIRZAPUR Regular 159 OPEN DC 35 135 1225 32 75 Draw of lo prove of lo 288 Between MM sone 7 and 10 on SH97 MIRZAPUR Regular 159 OBC DC 35 135 1225 0 0 Draw of lo prove of lo 288 Between MM sone 7 and 13 on State Highway 74 MIRZAPUR Regular 165 OPEN DC 35 1225 32 75 Draw of lo prove of lo 298 Between M Stone 7 and 7 on State Highway 76, on Retained and MIRZAPUR Regular 114 OBC DC 35 1225 <	ot 15 ot 15 ot 15 ot 15 ot 15 ot 15 ot 0 ot 15 ot 0 ot 15 ot 0 ot 15	5 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 5 4 5 4 5 4 5 3 4 5 3 4 5
285 Between MA stone 5 and 9 on National Highway 136A MIRZAPUR Regular 154 OPEN DC 35 35 1225 32 95 Draw of lo Draw of lo 286 Between MA stone 7 and 10 on 5H 97 MIRZAPUR Regular 159 OPEN DC 35 35 1225 32 75 Draw of lo 287 Between MA stone 7 and 10 on 5H 97 MIRZAPUR Regular 159 OPEN DC 35 35 1225 32 95 Draw of lo 288 Between MA stone 7 and 17 on State Highway Xo. MIRZAPUR Regular 100 SC CfS 35 125 1225 0 0 Draw of lo 289 Between MA stone 27 and 37 on State Highway Xo. MIRZAPUR Regular 1165 OPEN DC 35 35 1225 32 75 Draw of lo 290 Between MA stone 21 and 32 on State Highway Xo. MIRZAPUR Regular 114 OBC DC 35 35 1225 32 75	ot 15 ot 15 ot 0 ot 15 ot 15 ot 15 ot 15 ot 30 ot 15	- 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 4 5 4 5 4 5 4 5 3 4 5
286 Between KM stone 7 and 10 on SH97 MIRZAPUR Regular 159 OPEN DC 35 35 1225 32 75 Draw of lo 287 Between KM stone 21 and 297 on National Influence 37 and 37 on State MIRZAPUR Regular 159 OBC DC 35 35 1225 32 95 Draw of lo 288 Between KM stone 27 and 37 on State MIRZAPUR Regular 100 SC CFS 35 125 1225 32 0 D Draw of lo 288 Between KM stone 27 and 37 on State MIRZAPUR Regular 165 CPEN DC 35 1225 32 0 D Draw of lo 280 Between KM stone 12 and 25 on State Inform Variansito Incheritagei) MIRZAPUR Regular 114 OBC 25 35 1225 32 75 Draw of lo 291 Between KM stone 23 and 35 on State Highway 5, on fight Hand 554 while moving from Variansito Incheritagei) MIRZAPUR Regular 116 SC CFS 35 12	bt 15 ot 0 ot 15 ot 15 ot 15 ot 0 ot 30 ot 15	4 3 5 4 3 5 4 3 5 4 5 4 5 4 5 4 5 4 5 4 5 3 4 5 3 5
Highway 35 Highway 5 Highway 5 Highway 5 Highway 7 MIRZAPUR Regular 100 SC Cf5 35 35 1225 0 0 Draw of lo 288 Between KM store 21 and 12 on State Highway 5A, on left hand side while moving from Varanals to Robertsgani MIRZAPUR Regular 165 OPEN DC 35 35 1225 32 75 Draw of lo 280 Between KM store 21 and 27 on State Highway 5A, ong Ht and Side while moving from Varanas to Robertsgani MIRZAPUR Regular 232 OPEN DC 35 35 1225 32 95 Draw of lo 290 Between KM stone 31 and 364 while moving from Varanas to Robertsgani, moving from Varanas to Robertsgani, MIRZAPUR Regular 114 OBC 35 35 1225 32 75 Draw of lo 191 Between KM stone 33 and 35 on State Highway 5, on EH thand Side while moving from Varanas to Robertsgani, MIRZAPUR Regular 116 SC CF 35 125 32 12 12 BIDIONS 1929 Bet	ot 0 ot 15 ot 15 ot 15 ot 0 ot 30 ot 15	3 5 5 4 3 5 5 4 5 5 4 5 3 4 5 5 3
288 Between KM stone 27 and 37 on State Highway 74 MIRZAPUR Regular 100 SC CF5 35 35 1225 0 0 Draw of lo 289 Between KM stone 7 and 15 on State Highway 5A, on left hand side while moving from Varsaults In Dobuttagani Highway 5A, on left hand side while moving from Varsaulta In Dobuttagani Highway 5A, on left hand side while moving from Varsaulta In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Dobuttagani Highway 5A, on left hand side while moving from Varsault In Mirzapur MIRZAPUR Regular 116 SC CF5 35 35 1225 32 12 12 Draw of lo 293 Between KM stone 102 and 105 on National Highway 15 MIRZAPUR Regular 116 OPEN DC 35 1225 32 75 Draw of lo	ot 15 ot 15 ot 15 ot 0 ot 30 ot 15	5 5 4 3 5 5 5 4 5 5 3 4 5 5 3 4 5 5
Highway SA, on left hand side while moving from Varnasi to RobertsganMIRZAPURRegular232OPENDC353512253295Draw of Io provide291Between MS tone 13 and 20 on National Highway SA, on Right Hand Side while moving from Varanasi to MirzapuriMIRZAPURRegular11408CDC353512253275Draw of Io provide291Between MS tone 135 nd 120 on State Highway SA, on Right Hand Side while moving from Varanasi to MirzapuriMIRZAPURRegular116SCCFS3535122500Draw of Io provide292Between MS tone 325 and 335 on State Highway SA, on Right Hand Side while moving from Varanasi to MirzapuriMIRZAPURRegular116SCCFS3535122500Draw of Io provide293Between KM tone 325 and 335 on State Highway SA, on Right Hand Side while moving Highway SA, on State MIRZAPURRegular212OPENCC353512253212BIDING294Between KM tone 12 and 135 on National Highway SA, on State MIRZAPURRegular116OPENDC353512253212BIDING295Between KM tone 02 and 105 on National Highway SAMIRZAPURRegular116OPENDC353512253212BIDING296Between KM tone 03 and 40 on National Highway SAMIRZAPURRegular116OPENDC3535<	ot 15 ot 15 ot 0 ot 30 ot 15 ot 15 ot 0 ot 15	5 5 5 5 5 4 5 5 4 5 3 4 5 5 4 5 5 4 5 5 4 5 5 5 5
290 Between KM stone 21 and 27 on National Highway S3, on Right Hand Side while moving from Varianasis to Mirzapur MIRZAPUR Regular 232 OPEN DC 35 35 1225 32 95 Draw of lo Praw of lo 291 Between KM stone 15 and 20 on State Highway S4, on Right Hand Side while moving from Varianasi to Nobertgani. MIRZAPUR Regular 114 OBC DC 35 35 1225 32 75 Draw of lo Praw of lo 292 Between KM stone 40 and 45 on National Highway 5 MIRZAPUR Regular 116 SC CFS 35 35 1225 0 0 Draw of lo 293 Between KM stone 40 and 45 on National Highway 5 MIRZAPUR Regular 116 OPEN CC 35 35 1225 32 12 BIDDING 294 Between KM stone 10 and 45 on National Highway 5. MIRZAPUR Regular 116 OPEN DC 35 35 1225 32 75 Draw of lo 295 Between KM stone 102 and 105 on National Highway 5. MIRZAPUR Regular	ot 15 ot 0 ot 30 ot 15 ot 15 ot 0 ot 15	4 3 5 5 5 4 5 3 4 5 3 4 5
291Between KM stone 15 and 20 on State moving from Varanasi to Robertsgani.MIRZAPURRegular114OBCDC353512253275Draw of lo292Between KM stone 325 and 335 on State Highway 55MIRZAPURRegular116SCCFS3535122500Draw of lo293Between KM stone 40 and 45 on National Highway 55MIRZAPURRegular212OPENCC353512253212BIDDING294Between KM stone 317 and 325 on StateMIRZAPURRegular116OPENDC353512253275Draw of lo295Between KM stone 102 and 105 on National Highway 5MIRZAPURRegular116OPENDC353512253212BIDDING296Between KM stone 310 and 350 on StateMIRZAPURRegular116OPENDC353512253212BIDDING297Between KM stone 330 and 340 on National Highway 5MIRZAPURRegular116OPENDC353512253275Draw of lo298Between KM stone 333 and 40 on National Highway 5MIRZAPURRegular116OBCDC3535122500Draw of lo299Between KM stone 333 and 340 on State Highway 5MIRZAPURRegular116OBCDC353512253275Draw of lo299 </td <td>ot 0 30 30 ot 15 30 30 ot 15 ot 15 ot 15 ot 15 ot 15 ot 15 ot 15</td> <td>3 5 5 4 5 3 4 5 3 4 5</td>	ot 0 30 30 ot 15 30 30 ot 15	3 5 5 4 5 3 4 5 3 4 5
Highway 5MCMCMCMCMCMCMCMCMCMCMCMCMC293Between KM Stone 40 and 45 on National Highway 35, on Left Hand Side while more from Variansi to MirzapurMIRZAPURRegular212OPENCC353512253212BIDDING294Between KM stone 317 and 325 on State Highway 35MIRZAPURRegular116OPENDC353512253275Draw of Io295Between KM stone 102 and 105 on National Highway 13SCMIRZAPURRegular151OBCCC353512253212BIDDING296Between KM stone 40 and 350 on State Highway 13SCMIRZAPURRegular116OPENDC353512253275Draw of Io297Between KM Stone 340 and 350 on State Highway 5MIRZAPURRegular212SCCFS353512253275Draw of Io298Between KM Stone 33 and 40 on National Highway 5MIRZAPURRegular116OBCDC353512253275Draw of Io298Between KM Stone 125 and 135 on National Highway 35MIRZAPURRegular116OBCDC353512253275Draw of Io298Between KM Stone 125 and 136 on National Highway 35MIRZAPURRegular116OBCDC353512253275Draw of	30 5t 15 30 5t 30 5t 15 5t 0 5t 15 5t 15 5t 15 5t 15	5 5 4 5 3 4 5 3 4 5
Highway 35, on Left Hand Side while moving from Varansi to MirzapurMIRZAPURRegular116OPENDC353512253275Draw of log294Between KM stone 137 and 325 on State Highway 5MIRZAPURRegular116OPENDC353512253275Draw of log295Between KM stone 102 and 105 on National Highway 135CMIRZAPURRegular151OBCCC353512253212BIDDING296Between KM stone 340 and 350 on State Highway 55, on Left Hand Side while moving from Varanasi to MirzapurMIRZAPURRegular116OPENDC353512253275Draw of log297Between KM stone 35 and 40 on National Highway 55, on Left Hand Side while moving from Varanasi to MirzapurMIRZAPURRegular212SCCFS3535122500Draw of log298Between KM Stone 35 and 40 on State Highway 5, on Left Hand Side while moving from Varanasi to MirzapurMIRZAPURRegular116OBCDC353512253275Draw of log298Between KM Stone 125 and 136 on State Highway 5, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular116OBCDC353512253275Draw of log299Between KM Stone 125 and 136 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular116OPEN <td< td=""><td>ot 15 30 30 ot 15 ot 0 ot 15 ot 15 ot 15</td><td>5 4 5 3 4 5 4 5 5</td></td<>	ot 15 30 30 ot 15 ot 0 ot 15 ot 15 ot 15	5 4 5 3 4 5 4 5 5
294Between KM stone 317 and 325 on State Highway 5MIRZAPURRegular116OPENDC353512253275Draw of Io295Between KM stone 102 and 105 on National Highway 135CMIRZAPURRegular151OBCCC353512253212BIDDING296Between KM stone 340 and 350 on State Highway 5MIRZAPURRegular116OPENDC353512253275Draw of Io297Between KM Stone 35 and 40 on National Highway 5MIRZAPURRegular212SCCFS3535122500Draw of Io298Between KM stone 125 and 136 on National Highway 5MIRZAPURRegular116OBCDC353512253275Draw of Io298Between KM stone 125 and 136 on National Highway 5MIRZAPURRegular116OBCDC353512253275Draw of Io298Between KM stone 125 and 136 on National Highway 5MIRZAPURRegular116OBCDC353512253275Draw of Io298Between KM stone 67 and 69 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318OPEN C1DC353512253295Draw of Io300Between KM stone 67 and 69 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRe	30 ot 15 ot 0 ot 15 ot 15 ot 15	4 5 3 4 5
Highway 13CHighway 13CMRZAPURRegular116OPENDC353512253275Draw of log296Between KM stone 340 and 350 on State Highway 35, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular116OPENDC3535122500Draw of log297Between KM Stone 35 and 40 on National Highway 35, on Left Hand Side while moving from MirzapurMIRZAPURRegular212SCCFS3535122500Draw of log298Between KM stone 335 and 340 on State Highway 5, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular116OBCDC353512253275Draw of log298Between KM stone 135 and 340 on State Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318OPEN CC 1DC353512253295Draw of log298Between KM stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular156OPENDC353512253295Draw of log301Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318SCCFS3535122500Draw of log301Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to R	ot 15 ot 0 ot 15 ot 15 ot 15	5 3 4 5
Highway 5MRZAPURRegular212SCCFS3535122500Draw of lo297Between KM stone 35 and 40 on National Highway 35, on Left Hand Side while moving from Varanasi to MirzapurMIRZAPURRegular212SCCFS3535122500Draw of lo298Between KM stone 335 and 340 on State Highway 5MIRZAPURRegular116OBCDC353512253275Draw of lo299Between KM stone 125 and 135 on National moving from Mirzapur to RewaMIRZAPURRegular318OPEN CC1DC353512253295Draw of lo300Between KM stone 153 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular156OPENDC353512253295Draw of lo301Between KM stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318SCCFS3535122500Draw of lo301Between KM stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318SCCFS3535122500Draw of lo	ot 0 ot 15 ot 15	3 4 5
Highway 35, on Left Hand Side while moving from Varaasi to MirzapurMIRZAPURRegular116OBCDC353512253275Draw of log298Between KM Stone 335 and 340 on State Highway 5MIRZAPURRegular116OBCDC353512253275Draw of log299Between KM Stone 125 and 135 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318OPEN C1DC353512253295Draw of log300Between KM stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular138SCCFS3535122500Draw of log301Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318SCCFS3535122500Draw of log	ot 15 ot 15	4
298Between KM stone 335 and 340 on State Highway 5MIRZAPURRegular116OBCDC353512253275Draw of Io299Between KM Stone 125 and 135 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318OPEN CC 1DC353512253295Draw of Io300Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular156OPENDC353512253295Draw of Io301Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318SCCFS3535122500Draw of Io	ot 15	5
299Between KM Stone 125 and 135 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318OPEN CC 1DC35351253295Draw of log300Between KM Stone 67 and 69 on National Highway 135CMIRZAPURRegular156OPENDC35351253295Draw of log301Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to RewaMIRZAPURRegular318SCCFS353512500Draw of log		
300 Between KM stone 67 and 69 on National Highway 135C MIRZAPUR Regular 156 OPEN DC 35 35 125 32 95 Draw of lo 301 Between KM Stone 135 and 140 on National Highway 135, on Left Hand Side while moving from Mirzapur to Rewa MIRZAPUR Regular 318 SC CFS 35 125 32 95 Draw of lo	ot 15	5
Highway 135, on Left Hand Side while moving from Mirzapur to Rewa		1
	ot O	3
302 Between KM stone 18 and 24 on State MIRZAPUR Regular 114 OBC DC 35 35 1225 32 75 Draw of lo Highway 74 Highway	ot 15	4
303 Between KM Stone 16 and 21 on National Highway 35, on Left Hand Side while moving from Varanasi to Mirzapur MIRZAPUR Regular 232 OPEN DC 35 35 1225 32 95 Draw of lo	ot 15	5
304 Between KM stone 686 and 691 on National Highway 19, on Left Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 235 OPEN DC 35 35 1225 32 95 Draw of lo	ot 15	5
305 Between KM Stone 238 and 250 on National Highway 35 PRAYAGRAJ Regular 194 SC CFS 35 125 0 0 Draw of lo	ot O	3
306 Between KM Stone 688 and 691 on National Highway 19, on Right Hand Side while going from Kanpur to Varnasi PRAYAGRAJ Regular 246 OBC CC 35 35 125 32 12 BIDDING	30	4
307 Between KM Stone 692 and 695 on National Highway 19, on Left Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 202 OPEN CC 35 35 1225 32 12 BIDDING	30	5
Between KM Stone 692 and 700 on National Highway 19, on Right Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 152 OPEN CC 2 DC 35 125 32 95 Draw of lo	ot 15	5
309 Between KM store 710 and 721 on National Highway 19, on Right Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 184 OBC CC 1 DC 35 35 1225 32 95 Draw of lo	ot 15	4
100 Hours and public Ovariansis PRAYAGRAJ Regular 160 SC CC 1 CFS 35 125 0 0 Draw of lo 310 Between Sita Ram Singh Inter College and Golden Jublee Gate of IFCO, Phulpur, on National Highway 319D PRAYAGRAJ Regular 160 SC CC 1 CFS 35 125 0 0 Draw of lo	ot O	3
Storal rightway 3190 PRAYAGRAJ Regular 129 OPEN DC 35 35 1225 32 75 Draw of log Draw of log	ot 15	5
312 Within 3KM From Andawa Chauraha towards Sahson Chauraha on Left Hand Side while moving from Andawa Chauraha towards Sahson Chauraha via Bholasingh Hospital, within Municipal limit of Prayagraj PRAYAGRAJ Regular 154 OPEN DC 20 400 32 75 Draw of lo	ot 15	5
313 Within 6 KM from Andawa Chauraha towards Varanasi on Right Hand side while moving from Andawa Chauraha towards Varanasi via Sarai Inayat, within municipal PRAYAGRAJ Regular 225 OBC DC 20 400 32 75 Draw of log Draw of log	ot 15	4
Imit of Prayagraj PRAYAGRAJ Regular 103 SC CFS 35 125 0 0 Draw of lo Highway 102 Highway 102 Line	ot 0	3
315 Naini with in Municipal limit of Prayagraj City PRAYAGRAJ Regular 234 OPEN DC 20 400 32 75 Draw of lo not on National Highway and State Highway	ot 15	5
316 Between Golden Jublee Gate of IFFCO PRAYAGRAJ Regular 160 OPEN DC 35 35 1225 32 95 Draw of lo	ot 15	5
(Phulpur), on National Highway 319D PRAYAGRAJ Regular 154 OBC DC 20 400 32 75 Draw of log Draw of log Draw of log Draw of log 317 Within 3 KM From Andawa Chauraha towards Sahson Chauraha on Right Hand Side while moving from Andawa Chauraha towards Sahson Chauraha via Bholasingh Hospital, within Municipal limit of Prayagraj Regular 154 OBC DC 20 400 32 75 Draw of log	ot 15	4
318 Between KM stone 721 and 726 on National Highway 19, on Right Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 184 OPEN DC 35 35 125 32 95 Draw of lo	ot 15	5
319 Between KM stone 696 and 710 on National Highway 19, on Left Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 151 SC CFS 35 35 1225 0 0 Draw of lo		3
320 Between KM stone 710 and 721 on National Highway 19, on Left Hand Side while going from Kanpur to Varanasi PRAYAGRAJ Regular 202 OPEN DC 35 35 1225 32 95 Draw of lo	ot 15	5

321	Between KM stone 721 and 726 on National Highway 19, on Left Hand Side while going	PRAYAGRAJ	Regular	202	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
322	from Kanpur to Varanasi Within Nagar Panchayat Limit of Phulphur not on National Highway and State highway	PRAYAGRAJ	Regular	103	OPEN CC 1	DC	20	20	400	32	55	Draw of lot	15	5
323	Between KM Stone 15 and 25 on State Highway 123	PRAYAGRAJ	Regular	103	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
324	Between Maharishi Vidya Mandir public school (Sherdeeh,Jhunsi) and Police Chawki New Jhunsi via UPSRTC workshop on Maharishi Vidya Mandir public school to Police Chawki New Jhunsi road , within municipal limit of Prayagraj	PRAYAGRAJ	Regular	151	OBC	DC	20	20	400	32	75	Draw of lot	15	4
325	Within 6 KM from Andawa Chauraha towards Varanasi on Left Hand side while moving from Andawa Chauraha towards Varanasi via Sarai Inayat, within municipal limit of Prayagraj	PRAYAGRAJ	Regular	163	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
326	Between KM stone 228 and 231 on National Highway 35 within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	234	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
327	Between KM stone 221 and 228 on National Highway 35 within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	234	OBC	DC	30	30	900	32	75	Draw of lot	15	4
328	Within 4 KM from Sahson Chauraha towards Andawa chauraha, on Sahson chauraha to Andawa chauraha road via G. Singh Law College, within Municipal limit of Prayagraj	PRAYAGRAJ	Regular	154	SC	CFS	20	20	400	0	0	Draw of lot	0	3
329	Between KM Stone 234 and 240 on State Highway 106	PRAYAGRAJ	Regular	129	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
330	Between KM stone 92 and 108 on National Highway 731, on Right Hand Side while moving from Sultanpur to Lucknow	SULTANPUR	Regular	274	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
331	Between KM stone 62 and 76 on National Highway 128	SULTANPUR	Regular	151	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
332	Between KM Stone No 14 and 16 on Karari Shahpur Road within Nagar Panchayat of Paschim Sharrira	KAUSHAMBI	Regular	100	ST	CFS	20	20	400	0	0	Draw of lot	0	3
333	Between KM Stone 163 and 170 on National Highway 731, on Right Hand Side while moving from Lucknow to Varanasi	SULTANPUR	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
334	Between KM Stone 170 and 178 on National Highway 731, on Right Hand Side while moving from Lucknow to Varanasi	SULTANPUR	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
335	Between KM Stone 149 and 156 on National Highway 731, on Left Hand Side while moving from Lucknow to Varanasi	SULTANPUR	Regular	164	OBC PH	DC	35	35	1225	32	95	Draw of lot	15	4
336	Between KM Stone 163 and 170 on National Highway 731, on Left Hand Side while moving from Lucknow to Varanasi	SULTANPUR	Regular	164	SC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
337	Between KM stone 95 and 108 on National Highway 731, on Left Hand Side while moving from Sultanpur to Lucknow	SULTANPUR	Regular	274	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
338	Between KM stone 41 and 52 on National Highway 128	SULTANPUR	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
339	Between KM stone 84 and 86 on National Highway 330	SULTANPUR	Regular	167	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
340	Within Nagar Panchayat limit of Lambhua ,not on National Highway and State Highway	SULTANPUR	Regular	115	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
341	Between KM stone 128 and 131 on State Highway 9	SULTANPUR	Regular	104	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
342	Between KM Stone 64 and 69 on National Highway 330	SULTANPUR	Regular	274	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
343 344	Between KM stone 62 and 64 on National Highway 330 Between KM stone 158 and 160 on State	SULTANPUR	Regular	200	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
344	Highway 34 Between KM Stone 156 and 163 on National	SULTANPUR	Regular Regular	164	SC	DC CFS	35	35	1225 1225	32 0	75 0	Draw of lot Draw of lot	15 0	5
346	Highway 731, on Left Hand Side while moving from Lucknow to Varanasi Between KM Stone 175 and 179 on State	SULTANPUR	Regular	114	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
340	Highway 34 Between Chanda Police Station and	SULTANPUR	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
	intersection of National Highway 731 and old National Highway 56 via kothra market on Old National Highway 56													
348	Between KM Stone 156 and 163 on National Highway 731, on Right Hand Side while moving from Lucknow to Varanasi	SULTANPUR	Regular	164	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
349	Between KM stone 86 and 96 on National Highway 330	SULTANPUR	Regular	167	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
350	BETWEEN KM STONE N0.27 and 29, LHS on NH-28, Kakrahwa -Basti road	SIDDHARTH NAGAR	Regular	323	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
351	Between KM stone 237 and 243, LHS on NH- 27 from Lucknow to Gopalganj	SANT KABIR NAGAR SIDDHARTH	Regular	150	Open	DC DC	35	35	1225	32	95 55	Draw of lot	15	5
352	Between siddharth chowk and Swami Vivekanand chowk via Union Bank of India,Tetari Bazar, Within Municipal Limit of Siddharthnagar	SIDDHARTH NAGAR	Regular		Open		20	20	400	32		Draw of lot	15	5
353	Between Km Stone No 12 and 18 on NH24, LHS from Sonauli to Gorakhpur	MAHARAJGANJ	Regular	168	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
354	Between Km Stone Number 19 and 24 on NH24, Sonauli - Gorakhpur road	MAHARAJGANJ	Regular	168	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
355	Between Shyam Deurawa Chauaraha and Partawal Chauraha, LHS from Gorakhpur to Partawal on NH 727BB	MAHARAJGANJ	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
356	Between KM stone 267 and 275, LHS on NH- 27 from Lucknow to Gopalganj	GORAKHPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
357	Between Nausad Tiraha and Main gate of Shiva Temple, Ekla Bazar, on Gorakhpur - Varanasi road, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	200	Open	DC	20	20	400	32	75	Draw of lot	15	5
358	Between KM stone 215 and 220, LHS on NH- 27 from Lucknow to Gopalganj	SANT KABIR NAGAR	Regular	158	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
359	Between Km stone no. 20 and 25 on SH 88 Nandaur-Bansi Road	SANT KABIR NAGAR	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
360	Between Km Stone Number 25 and 30 on NH24, Sonauli - Gorakhpur road	MAHARAJGANJ	Regular	168	Open PH	DC	35	35	1225	32	95	Draw of lot	15	5
	·				1		1	1	1		1	1		<u>і </u>

361	Between Km Stone 283 and 285, RHS on NH-	GORAKHPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
362	27 from Lucknow to Gopalganj Within 2 kms from Vijay Chowk, Within	GORAKHPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of lot	15	5
363	municipal limit of Gorakhpur Between Sikariganj Tiraha and main gate of	GORAKHPUR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	New Public Collegiate, Harduttpur on NH- 227 A, Ram Janki Marg				-									_
364	Between Padelyganj chauraha and Azad Chowk Police Chowki, On Gorakhpur Lucknow road, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	180	Open	DC	20	20	400	32	75	Draw of lot	15	5
365	Between KM Stone no 306 and 312, RHS on NH-27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	180	OBC	CC	35	35	1225	32	12	Bidding	30	4
366	Within 5 kms from Amar Ujala Tiraha towards Sahara Estate Via Taramandal road	GORAKHPUR	Regular	150	Open	CC	20	20	400	32	12	Bidding	30	5
367	Within municipal limit of Gorakhpur Within 3 kms from intersection of Kusmi- Pipraich road and Kasia-Gorakhpur road, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of lot	15	5
368	Within 8 KM from from Composite Uchha Prathmik Vidyalaya Mahuapar, Towards Gola on NH227A, Ram Janki Marg	GORAKHPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
369	Within 6 KMs from Motiram Adda Chauraha towards Chauri Chaura on NH 727A, Gorakhpur - Salempur road	GORAKHPUR	Regular	191	OBC	СС	35	35	1225	32	12	Bidding	30	4
370	Within 2 KM from Rajghat Police Chauki Towards Barafkhana Road, On Barafkhana Road, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	160	Open	DC	20	20	400	32	75	Draw of lot	15	5
371	Between KM stone 71 and 80, RHS on NH-27 from Lucknow to Gopalganj	AYODHYA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
372	Between KM stone 247 and 252, RHS on NH- 27 from Lucknow to Gopalganj	GORAKHPUR	Regular	336	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
373	Between KM Stone 402 and 408 on SH 26, Basti- Utraula Road	BASTI	Regular	120	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
374	Basti- Utraula Road Between KM stone 237 and 243, RHS on NH- 27 from Lucknow to Gopalganj	SANT KABIR NAGAR	Regular	336	Open	DC	35	35	1225	32	95	Draw of lot	15	5
375	From Kauwa Bagh Police Chowki to Padri Bazaar Police Chowki LHS on Jail bypass	GORAKHPUR	Regular	180	Open	СС	20	20	400	32	12	Bidding	30	5
376	road, Within municipal limit of Gorakhpur Between KM Stone no 302 and 306, LHS on	KUSHINAGAR	Regular	358	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
377	NH-27 from Lucknow to Gopalganj Between KM stone 108 and 121, LHS on NH-	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
378	27 from Lucknow to Gopalganj From Kauwa Bagh Police Chowki to Padri	GORAKHPUR	Regular	180	Open	DC	20	20	400	32	75	Draw of lot	15	5
379	Bazaar Police Chowki RHS on Jail bypass road, Within municipal limit of Gorakhpur Between Padri-bazar Police chowki and	GORAKHPUR	-	150	Open	DC	20	20	400	32	75	Draw of lot	15	5
375	Khajanchi Chauraha via Fatima Hospital Bye- Pass Road, , Within municipal limit of Gorakhpur	GONANIPON	Regular	130	Open	be	20	20	400	32		Diaw of lot	13	L.
380	Between KM stone 71 and 80, LHS on NH-27 from Lucknow to Gopalganj	AYODHYA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
381	Between Km Stone no 102 and 108, LHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
382	Within 6 kms of Asuran Chauraha towards Pipraich via Padari Bazar, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	210	Open	DC	20	20	400	32	75	Draw of lot	15	5
383	Between Asuran Chowk and Mohaddipur Police Chowki via Bichhiya, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	190	Open	DC	20	20	400	32	75	Draw of lot	15	5
384	Between Km Stone no 102 and 108, RHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
385	Between Km Stone no 125 and 132 on NH 330, Ayodhya - Sultanpur Road	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
386	Between Bhagat Chauraha and Alam Chowk via Oxford Public School, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	230	Open	DC	20	20	400	32	75	Draw of lot	15	5
387	Between KM Stone no 6 and 10 on NH- 727G, Harraiya-Babhnan road	BASTI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
388	Between Gurung Tiraha to Intersection of Deoira Bypass via Madan Mohan Malvia Engineering College, within municipal Limit of Gorakhpur	GORAKHPUR	Regular	200	Open	CC	20	20	400	32	12	Bidding	30	5
389	Within 1 km from Azad Chowk, Within municipal limit of Gorakhpur	GORAKHPUR	Regular	180	Open	DC	20	20	400	32	75	Draw of lot	15	5
390	Between KM Stone 152 and 162, LHS on NH- 27 from Lucknow to Gopalganj	BASTI	Regular	175	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
391	Between Km Stone no 66 and 82, RHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
392	Between Main Gate of AlIMS Gorakhpur and Main gate of Airport, on Kasia Gorakhpur Road, Within Municipal Limit of Gorakhpur	GORAKHPUR	Regular	190	Open	DC	20	20	400	32	75	Draw of lot	15	5
393	Between Nausad Tiraha and entry point of Kaalesar Bridge on Nausad - Kalesar road (Old NH-28), Within municipal limit of Gorakhpur	GORAKHPUR	Regular	179	Open	DC	20	20	400	32	75	Draw of lot	15	5
394	From Main Gate of DM residence to Main Gate of District Jail Deoria on NH-727A Gorakhpur- Salempur Road	DEORIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
395	Between Tedhi Bazar Chauraha and Lata Mangeshkar Chowk Via Birla Dharamshala, Within Municipal limit of Ayodhya	AYODHYA	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
396	Between main gate of Panchayat Bhawan Tahirpur Barauli and main gate of Composite School Jarahi, on RHS while going from Faizabad to Akbarpur on NH-135A,	AYODHYA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
397	Faizabad-Akbarpur road Within 5 KM Either side from main gate of Aadarsh Prathmik Vidyalaya Belhar Kalan towards Belharkalan to Rudhauli on SH160,	SANT KABIR NAGAR	Regular	104	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
398	Medhawal - Rudhauli - Dumariyaganj road Between KM Stone 41 and 48 On SH- 111, Naurangia-Hata-Rudrapur road	DEORIA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
399	Between boundary of UPPCL bill payment Office and boundary of Sukanya Bharat Gas Agency Showroom on Saket Nagar Road, Within Municipal Limit of Deoria	DEORIA	Regular	120	SC	CFS	20	20	400	0	0	Draw of lot	0	3

400	Between Km Stone Number 17 and 20, RHS	MAHARAJGANJ	Regular	163	Open	DC	35	35	1225	32	95	Draw of lot	15	5
101	on NH730s Maharajganj-Thuthibari Road		-	170					1005		05	P (1)		
401	Between Km Stone Number 24 and 30, On NH730s Maharajganj-Thuthibari road	MAHARAJGANJ	Regular	179	Open	DC	35	35	1225	32	95	Draw of lot	15	5
402	Between Km Stone 55 and 61 On SH- 111, Naurangia-Hata-Rudrapur road	DEORIA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
403	Between main gate of Primary School Pura and main gate of Panchayat Bhawan Tahirpur Barauli, on NH-135A, Faizabad- Akbarpur road	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
404	Between Km Stone Number 40 and 52 on NH24, Sonauli - Gorakhpur road	MAHARAJGANJ	Regular	155	Open	DC	35	35	1225	32	95	Draw of lot	15	5
405	Between Km Stone Number 475 and 480 on NH-730 Balrampur Siddharthanagar	MAHARAJGANJ	Regular	162	Open	DC	35	35	1225	32	95	Draw of lot	15	5
406	Tamkuhiraj Road Between Km Stone Number 1 and 6 on SH 129 Pharenda Kolhui Lotan Road	MAHARAJGANJ	Regular	168	OBC	DC	30	30	900	32	75	Draw of lot	15	4
407	Between Km Stone Number 39 and 46 on SH 129 Pharenda Kolhui Lotan Road	MAHARAJGANJ	Regular	142	Open	DC	35	35	1225	32	75	Draw of lot	15	5
408	Between Km Stone Number 82 and 87, On NH 328 Basti Campierganj Partawal Road	MAHARAJGANJ	Regular	153	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
409	Between Km stone no. 23 and 28 on NH 328A, Sant Kabir Nagar -Ambedkar Nagar road	SANT KABIR NAGAR	Regular	164	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
410	Between Basahiya Banbeerpur Chauraha and main gate of Dudahi Block Hospital on NH730, Balrampur-Siddharthnagar - Tamkuhiraj road	KUSHINAGAR	Regular	169	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
411	Between KM stone 267 and 275, RHS on NH- 27 from Lucknow to Gopalganj	GORAKHPUR	Regular	158	Open	CC	35	35	1225	32	12	Bidding	30	5
412	Between KM Stone 418 and 423 on SH 26, Basti- Utraula Road	BASTI	Regular	120	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
413	Between Km Stone Number 72 and 81, On NH 328 Basti Campierganj Partawal Road	MAHARAJGANJ	Regular	158	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
414	Between Km Stone Number 28 and 34 on SH 129 Pharenda Kolhui Lotan Road	MAHARAJGANJ	Regular	150	Open	DC	35	35	1225	32	75	Draw of lot	15	5
415	Within 12 km from main gate of English Medium Primary School Paina, Barhaj, Towards Kundauli, On NH 227A Ram Janki Marg	DEORIA	Regular	161	Open	DC	35	35	1225	32	95	Draw of lot	15	5
416	Between Km Stone No 1 and 10 on NH24, RHS from Sonauli to Gorakhpur	MAHARAJGANJ	Regular	246	OBC	СС	35	35	1225	32	12	Bidding	30	4
417	Between Km Stone No 520 and 524 on NH- 730 Balrampur Siddharthanagar Tamkuhiraj Road	MAHARAJGANJ	Regular	152	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
418	Between main gate of Panchayat Bhawan Sarairasi and main gate of Primary School Pura, on LHS while going from Faizabad to Akbarpur on NH-13SA, Faizabad-Akbarpur road	AYODHYA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
419	Between Mahobara Chauraha and Booth No 4 Darshannagar via Dashrathkund, Within Municipal limit of Ayodhya	AYODHYA	Regular	100	Open	DC	20	20	400	32	55	Draw of lot	15	5
420	Between Km Stone No 1 and 10 on NH24, LHS from Sonauli to Gorakhpur	MAHARAJGANJ	Regular	246	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
421	Between KM stone 5 and 14 on SH-30A , Maya -Tanda Road	AYODHYA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
422	Between KM Stone 48 and 55 On SH- 111, Naurangia-Hata-Rudrapur road	DEORIA	Regular	100	Open	DC	35	35	1225	32	75	Draw of lot	15	5
423	Within 2 KMs on either sides from main gate of Jakhira Police Station on SH-112 Kaptanganj-Siswa-Nichlaul road	MAHARAJGANJ	Regular	110	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
424	Deokali Chauraha to Jalpa Chauraha Via Saketpuri on saketpuri Ayodhya Road, Within Municipal limit of Ayodhya	AYODHYA	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
425	Within 3 km from main gate of Prathmik Vidyalaya Puraina, Towards Salempur, RHS while going from Gorakhpur to Salempur, On NH 727A Gorakhpur Salempur Road	DEORIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
426	Between main gate of Panchayat Bhawan Sarairasi and main gate of Primary School Pura, on RHS while going from Faizabad to Akbarpur on NH-13SA, Faizabad-Akbarpur road	AYODHYA	Regular	151	Open	DC	35	35	1225	32	95	Draw of lot	15	5
427	Between KM Stone no 306 and 312, LHS on NH-27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	358	Open	СС	35	35	1225	32	12	Bidding	30	5
428	Between KM Stone no 293 and 298, RHS on NH-27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
429	Between main gate of Bhavadiya Public Shool Ranopalli and Tedi Bazar Chauraha Via Mohbra Bazar, Within Municipal limit of Ayodhya	AYODHYA	Regular	100	Open	CC	20	20	400	32	12	Bidding	30	5
430	Ayodhya Between KM stone 95 and 106 RHS, on NH- 27 from Lucknow to Gopalganj	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
431	Within 2 km from main gate of Police Station (Circle Office) Rudhauli towards Rudhauli town. Within Municipal limit of Rudhauli	AYODHYA	Regular	100	Open	сс	20	20	400	32	12	Bidding	30	5
432	Within 6 KMs from main gate of N.A. Public School Jhanga Bazar towards Kaptanganj, on SH-111, Kaptanganj-Naurangiya-Rudrapur road	KUSHINAGAR	Regular	111	OBC	CC	35	35	1225	32	12	Bidding	30	4
433	From Main Gate Shahdatganj Police Station to Rikabganj Chauraha, via Vikas Bhawan Main Gate on Shadatganj Ayodhya Road (Ram Path) Within Municipal limit of Ayodhya	AYODHYA	Regular	100	Open	DC	20	20	400	32	55	Draw of lot	15	5
434	From Kushwaha Gate to Deoria Ramlakshan intersection Road on Saraswati Sishu Mandir Road, Within Municipal Limit of Deoria	DEORIA	Regular	120	SC PH	CFS	20	20	400	0	0	Draw of lot	0	3
435	From Adarsh chauraha to Intersection of SH 111 via Rudrapur Bus Stand Within	DEORIA	Regular	120		DC	20	20	400	32	55	Draw of lot	15	4
436	Municipal Limit of Rudrapur Town Between Km Stone no 92 and 102, LHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	OBC PH Open	DC	35	35	1225	32	95	Draw of lot	15	5
437	Between Main Gate FCI Godown and Intersection of Mau Shivala Road on	AYODHYA	Regular	100	Open	DC	20	20	400	32	55	Draw of lot	15	5
	Intersection of Widu Stilvala K0a0 ON													

Availage Availage Constrained Constrained <thconstrained< th=""> <thc< th=""><th>95 0 12 95 95 0 95 75 75 12 0 0</th><th>Draw of lot Draw of lot</th><th>15 0 30 15 15 0 15</th><th>4 3 5 5 4 3</th></thc<></thconstrained<>	95 0 12 95 95 0 95 75 75 12 0 0	Draw of lot	15 0 30 15 15 0 15	4 3 5 5 4 3
No.dl M1227A. Rounds Urva Baizr, on NH227A. Round - Contagener, Sam and Marga B. MAHARAGANI MAHARAGANI Regular 151 SC CFS 35 1225 0 440 Between KM Store Namber 30 and 38, on NH24, Snull - Contagener and Example Aller Parts Michael Sam and Marga Sam and Marga MAHARAGANI Regular 168 Open CC 35 35 1225 32 441 Composite Partsmit Valgards Makiana, Bathaligan, Towards bachalgang, on NH GOBAMIPUR Regular 151 Open DC 35 35 1225 32 442 Within 3 km one there side of main gate of Adarba Shafe Marga DEORIA Regular 151 OBC DC 35 35 1225 32 443 Between M Store A2 and 450 N NH- 227 Korn Lacknow IG cop/Bark GOBAMIPUR Regular 150 Open DC 35 35 1225 32 444 Between M Store A2 and 450 N NH- 28 Katahwa Skati road SIDDHARTH Regular 150 Open DC 35 35 1225 32 444 Between M Store N3 and 45 On NH- 28 Katahwa Skati road	12 95 95 0 95 75 75 12 0	Bidding Draw of lot Draw of lot Draw of lot Draw of lot Draw of lot	30 15 15 0	5
N124, Sonual: Construction C S S 1225 S2 441 Kaniya ken NH 29 E GORAKHPUR Regular 151 Open DC 35 35 1225 32 442 Within 4 km from nearest boundary of Adards Pathmix More Barban Kellsan and an maget of SB Bark Start Barban elber stee of Mange 1227A Rami, subi Marg DEORIA Regular 151 OBC DC 35 35 1225 32 442 Wetneen KM Stone RN 41 and 45 ON NH- ZRAKarbane sharin rout. DEORIAR PUR Regular 323 SC CfS 35 1225 32 443 Patromix More RN 41 and 45 ON NH- ZRAKarbane sharin rout. SIDDHARTH Regular 110 Open DC 35 35 1225 32 444 Between KM Stone RN 38 and 45 on 31-L9 SIDDHARTH Regular 110 Open	12 95 95 0 95 75 75 12 0	Bidding Draw of lot Draw of lot Draw of lot Draw of lot Draw of lot	30 15 15 0	5
Kauriya on NU 26 E C C C C C C C C 441 With Am from nearest boundary of Composite Prathink Vdyalaya Mujana, Bathinghin, Towards Bathilapin, on NH 227A Ram Janki Marg GORAKHPUR Regular 151 Open DC 35 35 1225 32 442 Within Sam on ether side of main gate of Adarsh Prathink Vdyalaya Kowa, Bashaj, On NU 227A Ram Janki Marg DOCDIA Regular 151 OBC DC 35 35 1225 0 443 ZH from Usknow to Copagani GORAKHPUR Regular 323 SC CFS 35 1225 0 444 Between KM Stone N0.41 and 45 ON NH- Skari Basharia Starch on SH-230 towards Moham and Ishin form maig ate of SI Bank Skari Basharia Starch on SH-230 towards Moham Area SIDOHARTH NAGAR Regular 110 Open DC 35 35 1225 32 445 Withwebhkhohr road SIDOHARTH NAGAR Regular 110 Open DC 35 35 1225 32 446 Between KM Stone No S8 and 389 on SH Zabatargut webhkhohr road SIDOHARTH NA	95 95 0 95 75 75 12 0	Draw of lot Draw of lot Draw of lot Draw of lot Draw of lot Draw of lot	15 15 15 0	5
Back Description Composite Partimik Vidyalaya, Bugana,	95 0 95 75 75 12 0	Draw of lot Draw of lot Draw of lot Draw of lot	15 0	4
Adarsh Pratinik Vidyalya Kotwa, Barhaj, On HY 227A ram Jaky, UIS on NH- 27 from Lucknow to Gopalgani GORAK(HPUR GORAK(HPUR 27 from Lucknow to Gopalgani) GORAK(HPUR GORAK(HPUR 27 from Lucknow to Gopalgani) SODMARTH NAGAR Regular 323 SC CFS 35 1225 0 444 Between KM Stone X0.41 and 45 ON NH- 28,Kakrahwa-Bastiro ad SIDDHARTH NAGAR Regular 150 Open DC 35 35 1225 32 445 Sikura bashari Barthan Sharha Marg Mohara on kohul utan Mohara Marg SIDDHARTH NAGAR Regular 110 Open DC 35 35 1225 32 446 Between KM Stone no SH and 45 on SH-159 Banis-Itwa-Bishkohar road SIDDHARTH NAGAR Regular 105 OBC CC 35 35 1225 32 447 Between KM Stone no S4 and 20 NH-28, Kakrahwa -Bastir road SIDDHARTH NAGAR Regular 105 OBC CC 35 35 1225 0 448 Between KM Stone no S4 and 20 NH-28, Kakrahwa -Bastir road SIDDHARTH NAGAR Regular 150 OPEN CC 1 DC 35 1225 32 <	0 95 75 12 0	Draw of lot Draw of lot Draw of lot	0	
443 Between KM stone 247 and 252, UIS on NH- 27 from Lucknow to Gopalgan) GOBAGH/PUR Regular 323 SC CFS 35 35 1225 0 444 Between KM Stone NA 1 and 45 ON NH- 28,Kakrahwa -Basti road SIDDHARTH NAGAR Regular 150 Open DC 35 35 1225 32 445 Within 3 km from main gate of SB Bank Sikkin Bakharia Banch on SH-129 towards Mohana on kollui Liotan Mohana Marg SIDDHARTH NAGAR Regular 110 Open DC 35 35 1225 32 446 Between KM Stone Na SB and 45 on SH-159, Bans-Itwa-Bishkohar road SIDDHARTH NAGAR Regular 100 Open DC 35 35 1225 32 447 Between KM Stone no S4 and 52 ON NH-28, C (Basti Utrau) Road SIDDHARTH NAGAR Regular 105 OBC CC 35 35 1225 32 447 Between KM Stone no S4 and 62 ON NH-28, Kakrahwa -Basti road SIDDHARTH NAGAR Regular 150 OBC CC 35 35 1225 32 448 Between KM Stone no S4 and 7 ON NH-28, Kakrahwa -Basti road SIDDHARTH NAGAR Regular 150 <	95 75 75 12 0	Draw of lot Draw of lot		3
28,Kakrahwa-Basti roadNAGARCCCCCC445Skrini Skhvira Bankri Bahvira Bankri Bahvira Bankri Bahvira Bankri Bahvira Bankri Bahvira Bankri Bahvira Bankri RodSIDDHARTH NAGARRegular110OpenDC3535122532446Between KM Store No 38 and 45 on SH-159 Stinbhart roadSIDDHARTH NAGARRegular110OpenDC3535122532447Between KM Store no 38 and 389 on SH 26, Basti- Utraula RoadSIDDHARTH NAGARRegular105OBCCC3535122532448Between KM Store no 54 and 62 ON NH-28, XFArabwa-Basti roadSIDDHARTH NAGARRegular150SCCF353512250449Between KM store 106 and 121, RHS on NH- 27 from Luchow to GopaganjAVODHYARegular150OPEN CC 1DC3535122532450Between KM Store no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular358OBCDC3535122532451Between KM Store no 14 and 21 On NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Store no 14 and 21 On NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Store no 12 and 22 ON SH-75, Dumariyaganj-twa-Dhebrua roadSIDDHARTH NAGAR <t< td=""><td>75 75 12 0</td><td>Draw of lot</td><td>15</td><td></td></t<>	75 75 12 0	Draw of lot	15	
Sikari Bakharia Branch on SH-129 towards Mohana on kolhui Lotan Mohana Marg Mohana on kolhui Lotan Mohana Marg Bansi-Itwa-Bishkohar roadNAGARRegular110OpenDC3535122532446Between KM Stone No 38 and 45 on SH-159, Bansi-Itwa-Bishkohar roadSIDDHARTH NAGARRegular105OBCCC3535122532447Between KM Stone No 380 and 389 on SH Z6, Basti- Utraule RoadSIDDHARTH NAGARRegular105OBCCC3535122532448Between KM Stone no 54 and 62 ON NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150SCCFS353512250449Between KM stone 106 and 121, RHS on NH- 27 from Lucknow to GopalgarjAYODHYARegular150OPEN CC1DC3535122532450Between KM Stone no 14 and 7 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532 <t< td=""><td>75 12 0</td><td></td><td></td><td>5</td></t<>	75 12 0			5
446Between KM Stone No 380 and 45 on SH-159, Bansi-Itwa-Bishkohar roadSIDDHARTH NAGARRegular110OpenDC3535122532447Between KM Stone no 380 and 389 on SH Stati- Utruala RoadSIDDHARTH NAGARRegular105OBCCC3535122532448Between KM Stone no 54 and 62 ON NH-28, Kakrahwa -Basti roadSIDDHARTH NAGARRegular150SCCFS353512250449Between KM stone 106 and 121, RHS on NH- 27 from Lucknow to GopaganjAYODHYARegular150OPEN CC 1DC3535122532450Between KM Stone no 5 and 7 on NH-28, Kakrahwa -Basti roadSIDDHARTH NAGARRegular358OBCDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa -Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa -Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Stone no 14 and 418 ON NH- 730,Balrampur- Siddharthnagar - Tarmkuhraj roadSIDDHARTH NAGARRegular100OpenDC3535122532453Between KM Stone no 12 and 22 ON SH-75, Durmariyaganj-Itwa-Detorua roadSIDDHARTH NAGARRegular100OpenDC3535122532454 <td< td=""><td>12 0</td><td>Draw of lot</td><td>15</td><td>5</td></td<>	12 0	Draw of lot	15	5
26, Basti- Utraula RoadNAGARImage: Constraint of the constraint of t	0	1	15	5
Kakrahwa-Basti roadNAGARA449Between KM stone 106 and 121, RHS on NH- 27 from Lucknow to GopaganiAYODHYARegular150OPEN CC 1DC3535122532450Between KM Stone no S and 7 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular358OBCDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532452Between KM Stone no 414 and 418 ON NH- 730,Bairampur- Siddharthmagar - Tamkuhiraj roadSIDDHARTH NAGARRegular150OpenDC353512250453Between KM Stone no 12 and 22 ON SH-75, Dumariyaganj-Itwa-Dhebrua roadSIDDHARTH NAGARRegular100OpenDC3535122532454Between KM Stone store form Padrauna to Kaptainganj on NH-730, Siddharthnagar - Tamkuhiraj roadKUSHINAGARRegular150OBCDC3535122532455Between KM Stone store form Padrauna to Kaptainganj on NH-730, Siddharthnagar - Tamkuhiraj roadKUSHINAGARRegular100OpenDC3535122532456Between KM Stone no 12 ON SH-75, Store form Within Municipal limit of AyodhyaAYODHYARegular100OpenDC3535122532456Between KM Stone no 2 and 12 ON SH-75, Store form Within Municipal limit of Ayodhya <td></td> <td>Bidding</td> <td>30</td> <td>4</td>		Bidding	30	4
27 from Lucknow to GopalganjCCCCCCCC450Between KM Stone no 5 and 7 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular358OBCDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532452Between KM Stone no 414 and 418 ON NH- 730,Balrampur-Siddharthmagar - Tamkuhiraj roadSIDDHARTH NAGARRegular150SCCFS353512250453Between KM Stone no 12 and 22 ON SH-75, Durmariyaganj-tuw-Dhebrua roadSIDDHARTH NAGARRegular100OpenDC3535122532454Between Km Stone 555 and 566 from Scharthnagar - Tamkuhiraj roadKUSHINAGARRegular150OBCDC3535122532455Between Chauraha to Chowk Ghantaghar Via Tomb of Bahu Begum, Within Municipal limit of AyodhyaAYODHYARegular100OpenDC202040032456Between no no 12 01 20 NSH-75, SIDDHARTHSIDDHARTH Regular100OpenDC3535122532	05	Draw of lot	0	3
450Between KM Stone no 5 and 7 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular358OBCDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532451Between KM Stone no 14 and 27 on NH-28, Kakrahwa-Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532452Between KM Stone no 14 and 418 ON NH- roadSIDDHARTH NAGARRegular150SCCFS353512250453Between KM Stone no 12 and 22 ON SH-75, Dumariyaganj-Itwa-Dhebrua roadSIDDHARTH NAGARRegular100OpenDC3535122532454Between Km Stone 555 and 566 from Padrauna to Kaptainganj on NH-730, Siddharthnagar - Tamkuhiraj roadKUSHINAGAR AryODHYARegular100OpenDC3535122532455Between Arm Stone 555 and 566 from Within Municipal limit of AyodhyaAYODHYARegular100OpenDC202040032456Between Kis Stone no 12 ON SH-75, SHOHARTHSIDDHARTH Regular100OpenDC3535122532	95	Draw of lot	15	5
451Between KM Stone no 14 and 27 on NH-28, Kakrahwa -Basti roadSIDDHARTH NAGARRegular150OpenDC3535122532452Between KM Stone no 414 and 418 ON NH- 730,Bairampur - Siddharthmagar - Tamkuhiraj roadSIDDHARTH NAGARRegular150SCCFS353512250453Between KM Stone no 21 and 22 ON SH-75, Dumariyaganj-Itwa Dhebrua roadSIDDHARTH NAGARRegular100OpenDC3535122532454Between KM Stone 555 and 566 from Padrauna to Kaptainganj on NH-730, Siddharthnagar - Tamkuhiraj roadKUSHINAGARRegular150OBCDC3535122532455Between Agrace Chauraha to Chowk Ghantapar Via Tombo flahu Begum, Within Municipal limit of AyodhyaAYODHYARegular100OpenDC202040032456Between Ng Stone 0 2 and 12 ON SH-75, SIDDHARTHSIDDHARTH Regular100OpenDC3535122532	95	Draw of lot	15	4
452Between KM Stone no 414 and 418 ON NH- 730,Balrampur-Siddharthnagar - Tamkuhiraj roadSIDDHARTH NAGARRegular Regular150SCCFS353512250453Between KM Stone no 12 and 22 ON SH-75, Dumariyaganj-Itwa-Dhebrua roadSIDDHARTH NAGARRegular100OpenDC3535122532454Between KM Stone 555 and 566 from Padrauna to Kaptaingan on NH-730, Siddharthnagar - Tamkuhiraj roadKUSHINAGARRegular150OBCDC3535122532454Between KM Stone 555 and 566 from Padrauna to Kaptaingan on NH-730, Siddharthnagar - Tamkuhiraj roadKUSHINAGARRegular150OBCDC3535122532455Between Agrasen Chauraha to Chowk Ghantaghar Via Tomb of Bahu Begum, Within Municipal limit of AyodhyaAYODHYARegular100OpenDC202040032456Between Ng Stone o 2 and 12 ON SH-75, SIDDHARTHRegular100OpenDC3535122532	95	Draw of lot	15	5
453 Between KM Stone no 12 and 22 ON SH-75, Dumariyaganj-Itwa-Dhebrua road SIDDHARTH NAGAR Regular 100 Open DC 35 35 1225 32 454 Between KM Stone s55 and 566 from Padrauna to Kaptainganj on NH-730, Siddharthnagar - Tamkuhraj road KUSHINAGAR Regular 150 OBC DC 35 35 1225 32 455 Between Agrassen Chauraha to Chowk Ghantaghar Via Tomb of Bahu Begum, Within Municipal limit of Ayodhya AYODHYA Regular 100 Open DC 20 20 400 32 456 Between Ng stone no 2 and 12 ON SH-75, SIDDHARTH Regular 100 Open DC 35 35 1225 32	0	Draw of lot	0	3
Padrauna to Kaptainganj on NH-730, Siddharthnagar - Tamkuhiraj road AvoDHYA Regular 100 Open DC 20 20 400 32 455 Between Agrassen Chauraha to Chowk Ghantaghar Via Tomb of Bahu Begum, Within Municipal limit of Ayodhya AYODHYA Regular 100 Open DC 20 20 400 32 456 Between KM Stone no 2 and 12 ON SH-75, SIDDHARTH Regular 100 Open DC 35 35 1225 32	75	Draw of lot	15	5
455 Between Agrasen Chauraha to Chowk Ghantaghar Via Tomb of Bahu Begum, Within Municipal limit of Ayodhya AYODHYA Regular 100 Open DC 20 20 400 32 456 Between KM Stone no 2 and 12 ON SH-75, SIDDHARTH Regular 100 Open DC 35 35 1225 32	95	Draw of lot	15	4
456 Between KM Stone no 2 and 12 ON SH-75, SIDDHARTH Regular 100 Open DC 35 35 1225 32	55	Draw of lot	15	5
Dumariyaganj-Itwa-Dhebrua road NAGAR	75	Draw of lot	15	5
457 Between KM Stone no 298 and 302, LHS on NH-27 from Lucknow to Gopaiganj KUSHINAGAR Regular 358 SC CC 1 CFS 35 35 1225 0	0	Draw of lot	0	3
458 Between KM Stone no 298 and 302, RHS on NH-27 from Lucknow to Gopalganj KUSHINAGAR Regular 180 OBC CC 1 DC 35 35 1225 32	95	Draw of lot	15	4
459 Between KM Stone no 9 and 19 on SH-159, Bansi-Itwa-Bishkohar road SIDDHARTH NAGAR Regular 100 Open DC 35 35 1225 32	75	Draw of lot	15	5
460 Between KM Stone no 32 and 38 on SH-159, Bansi-Itwa-Bishkohar road SIDDHARTH NAGAR Regular 110 Open PH DC 35 35 1225 32	75	Draw of lot	15	5
461 Within 3 KMs from main gate of Dev Preet Degree College Towards Hata, on SH-111, VUSHINAGAR Regular 111 SC CFS 35 35 1225 0	0	Draw of lot	0	3
Kaptanganj-Naurangiya-Rudrapur road MAHARAJGANJ Regular 158 OBC DC 35 122 32 462 Between Km Stone Number 90 and 96, On NH 328 Basti Campierganj Partawal Road MAHARAJGANJ Regular 158 OBC DC 35 35 1225 32	95	Draw of lot	15	4
463 Between KM Stone no 24 and 32 ON SH-75, Dumariyaganj-ltwa-Dhebrua road SIDDHARTH NAGAR Regular 100 Open DC 35 35 1225 32	75	Draw of lot	15	5
464 Between Km Stone Number 481and 488 on NH-730 Balrampur Siddharthanagar MAHARAJGANJ Regular 158 OBC DC 35 35 1225 32	95	Draw of lot	15	4
Tamkuhiraj Road Tamkuhiraj Road DEORIA Regular 120 SC CFS 20 400 0 465 From Intersection of NH727A to intersection of Deoria-Kasia road on Kasia Byepass, DEORIA Regular 120 SC CFS 20 20 400 0	0	Draw of lot	0	3
Within Municipal Limit of Deoria KUSHINAGAR Regular 150 Open DC 35 35 1225 32 466 NH-27 from Lucknow to Gopalganj KUSHINAGAR Regular 150 Open DC 35 35 1225 32	95	Draw of lot	15	5
467 On Bansi- Dumariyaganj road, Within municipal limit of Dumariyaganj SIDDHARTH NAGAR Regular 110 Open DC 20 20 400 32	55	Draw of lot	15	5
468 Between Km Stone 121 and 137, RHS on NH- 27 from Lucknow to Gopalganj AYODHYA Regular 150 Open DC 35 35 1225 32	95	Draw of lot	15	5
469 Between KM Stone no 30 and 37 ON NH-28, Kakrahwa -Basti road SIDDHARTH NAGAR Regular 150 OBC DC 35 35 1225 32	95	Draw of lot	15	4
470 From Khajuha Chauraha to Main Gate of Dugdhdeshwar Nath Baba Temple via Satasi Inter College Within Municipal limit of DEORIA Regular 120 SC CFS 20 20 400 0	0	Draw of lot	0	3
Rudrapur MAHARAJGANJ Regular 179 Open DC 35 35 1225 32 471 Within 6 Kms from Shaheed Vijay Chowk Thutibari Towards Maharajganj, On NH730s MAHARAJGANJ Regular 179 Open DC 35 35 1225 32	95	Draw of lot	15	5
472 Between Km Stone Number 63 and 68 on NH24, Sonauli - Gorakhpur road GORAKHPUR Regular 237 OPEN CC 1 DC 35 35 1225 32	95	Draw of lot	15	5
473 Between Km Stone Number 461 and 464 on NH-730 Balrampur Siddharthanagar Tamkuhiraj Road GORAKHPUR Regular 158 OBC DC 35 35 1225 32	95	Draw of lot	15	4
474 Between KM Stone no 78 and 90 on NH-28 , Kakrahwa-Basti Road BASTI Regular 160 SC CFS 35 35 1225 0	0	Draw of lot	0	3
475 Between main gate of St. John's kingdom KUSHINAGAR Regular 120 Open CC 20 20 400 32 School and main gate of Dr. Ram Manohar Lohia giris Intermediate college Khadda , on Kushinagate of Dr. Ram Manohar Imit of Khadda 120 Open CC 20 400 32 Imit of Khadda Jankutwa road, Within Municipal Imit of Khadda	12	Bidding	30	5
476 Within 6 km from main gate of Kaveri Devi Mahila Mahavidyalaya Gayghat, Towards Kaparwar Ghat, On NH 227 A Ram janki Marg GORAKHPUR Regular 151 OBC DC 35 35 1225 32		<u> </u>	1	L !
477 Between KM Stone 66 and 77 on NH-28 , Kakrahwa-Basti Road BASTI Regular 165 Open DC 35 35 1225 32	95	Draw of lot	15	4

478	Between Gorakhpur Bypass Over Bridge and Belipar Police Station, LHS while going from	GORAKHPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
479	Gorakhpur to Varanasi on NH-24 Within 2 KM from main gate of Udit Narayan	KUSHINAGAR	Regular	105	SC	CFS	20	20	400	0	0	Draw of lot	0	3
	Post Graduate College Padrauna towards Khirkia, on Dhanha Padrauna Khirkiya Road, Within Municipal limit of Padrauna													
480	Between KM Stone 44 and 54 on NH-227A ,Ram Janki Marg	BASTI	Regular	162	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
481	From Gopalpur Chinni mill road and NH- 227A intersection to main gate of B.D. Memorial Academy Parnai On NH-227A,	GORAKHPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
482	Ram Janki Marg Within 4 KM on either side from Belipar Thana main gate on NH24, Varanasi	GORAKHPUR	Regular	160	Open	DC	35	35	1225	32	95	Draw of lot	15	5
483	Gorakhpur road Within 3 KM from main gate of Ramkola Police station towards Kasia on Kasia- Ramkola Raod, Within Municipal limit of	KUSHINAGAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
484	Ramkola On Kaptanganj-Tinich Road, Within	BASTI	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
485	Municipal Limit of Kaptanganj Between KM Stone no 5 and 13 on SH-79,	DEORIA	Regular	120	Open	DC	35	35	1225	32	75	Draw of lot	15	5
486	Deoria-Kasia road Between KM Stone no 419 and 429 ON NH-	SIDDHARTH	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
487	730,Balrampur- Siddharthnagar - Tamkuhiraj road Between KM Stone no 279 and 283, LHS on	NAGAR GORAKHPUR	Regular	240	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
488	NH-27 from Lucknow to Gopalganj Between KM Stone no 396 and 400 on SH	BASTI	-	110		CFS				0	0	Draw of lot	0	3
	26, Basti- Utraula Road		Regular		SC		35	35	1225					
489	Between KM Stone no 144 and 148, RHS on NH-27 from Lucknow to Gopalganj	BASTI	Regular	175	Open	сс	35	35	1225	32	12	Bidding	30	5
490	Between KM Stone no 144 and 148, LHS on NH-27 from Lucknow to Gopalganj	BASTI	Regular	175	Open	DC	35	35	1225	32	95	Draw of lot	15	5
491	Between Km Stone no 132 and 140 on NH 330, Ayodhya - Sultanpur Road	AYODHYA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
492	Between KM Stone no 88 and 95, RHS on NH 27 from Lucknow to Gopalganj	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
493	Between Km Stone No 112 and 119 on NH 330, Ayodhya - Sultanpur Road	AYODHYA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
494	Between Km Stone no 66 and 82, LHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
495	Between KM stone 95 and 106, LHS on NH- 27 from Lucknow to Gopalganj	AYODHYA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
496	Within 7 KM from Uruwa Chowk towards Uruwa Gola Bazar Road on NH227A,Ram Janki Marg	GORAKHPUR	Regular	160	Open	DC	35	35	1225	32	95	Draw of lot	15	5
497	From Indian Oil Baitalpur Depot Entry Gate to Gauribazar Crossing on NH 727A, Gorakhpur- Salempur Road	DEORIA	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
498	Between Km stone no. 70 and 80 and NH 227A, Ram Janki Marg	SANT KABIR NAGAR	Regular	250	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
499	2 KM from Kisan Chowk Kaptainganj towards bodarwar,on pipraich Kaptanganj road, Within Municipal limit of Kaptanganj	KUSHINAGAR	Regular	115	OPEN CC 1	DC	20	20	400	32	55	Draw of lot	15	5
500	On Lar-Salempur Bypass Road, Within Lar Municipal limit	DEORIA	Regular	111	Open	DC	20	20	400	32	55	Draw of lot	15	5
501	Within 3 KM from Deokali Chauraha towards Akbarpur on NH-135A, Faizabad-Akbarpur road	AYODHYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
502	Between Km Stone no 82 and 92, RHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
503	Between KM Stone no 173 and 178, RHS on NH-27 from Lucknow to Gopalganj	BASTI	Regular	175	Open	СС	35	35	1225	32	12	Bidding	30	5
504	Within 4 Kms from main gate of Deoria Distirict Jail towards Salempur on NH-727A Gorakhpur - Salempur road	DEORIA	Regular	150	Open	сс	35	35	1225	32	12	Bidding	30	5
505	Between main gate of RTO office Deoria and Indian Oil Baitalpur Depot Entry Gate on NH- 727A Gorakhpur - Salempur road	DEORIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
506	On Mahughat - Amari Road, Within municipal limit of Harraiya	BASTI	Regular	105	OBC	DC	20	20	400	32	55	Draw of lot	15	4
507	From Karmaini Ghat Police Chowki main gate to KSVM school Main Gate, On NH 328 Basti Campierganj Partawal Road	GORAKHPUR	Regular	158	Open	DC	35	35	1225	32	95	Draw of lot	15	5
508	Between Km Stone no 82 and 92, LHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
509	Between KM stone no. 5 and 18 on NH- 328A, Sant Kabir Nagar -Ambedkar Nagar road	SANT KABIR NAGAR	Regular	165	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
510	Between KM Stone 152 and 162, RHS on NH-27 from Lucknow to Gopalganj	BASTI	Regular	175	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
511	Between main gate of Panchayat Bhawan Tahirpur Barauli to main gate of Composite School Jarahi, on LHS while going from Faizabad to Akbarpur on NH-135A, Faizabad-Akbarpur road	AYODHYA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
512	Between Km Stone no 92 and 102, RHS on NH 330A Raebareily to Ayodhya Road	AYODHYA	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
513	Between KM stone 220 and 226, LHS on NH- 27 from Lucknow to Gopalganj	SANT KABIR NAGAR	Regular	158	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
514	Between KM stone 226 and 233 on NH-27 from Lucknow to Gopalganj	SANT KABIR NAGAR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
515	Between KM Stone no 346 and 352, LHS on NH-27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	358	Open	СС	35	35	1225	32	12	Bidding	30	5
516	Between Km Stone 356 and 361, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
517	Between KM Stone 181 and 190, RHS on NH-27 from Lucknow to Gopalganj	BASTI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
518	Between main gate of fire station, Rudhauli, Barijot and main gate of Mahesh Pratap Intermediate College, Dadwa Tiwari, Mahuar on SH-160, Radhauli-Bakhira Road	BASTI	Regular	100	Open	DC	35	35	1225	32	75	Draw of lot	15	5

519	Between Km Stone Number 72 and 75 on	GORAKHPUR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
520	NH24, Sonauli - Gorakhpur road Within 2 KMs on either Sides from main gate	MAHARAJGANJ	Regular	112	Open	DC	35	35	1225	32	75	Draw of lot	15	5
	of Smt Gilasi Devi Kanya Inter College (Balhikhor), On Nichlaul Siswa Road, on SH- 112 Kaptanganj-Siswa-Nichlaul road												-	_
521	Between KM Stone 23 and 27 on SH-161, Basti-Mahadewa-Mahuli Road	BASTI	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
522	Between Km Stone 547 and 555 from Padrauna to Kaptainganj on NH-730 , Siddh edhanaran Tasladharlanard	KUSHINAGAR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
523	Siddharthnagar - Tamkuhiraj road Between KM Stone 24 and 35 on NH-227A ,Ram Janki Marg	BASTI	Regular	161	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
524	Between Km Stone Number 2 and 8, On NH730s Maharajganj-Thuthibari Road	MAHARAJGANJ	Regular	158	OBC	CC	35	35	1225	32	12	Bidding	30	4
525	Between KM Stone 29 and 37 on SH-160,	BASTI	Regular	100	Open	DC	35	35	1225	32	75	Draw of lot	15	5
526	Rudhauli-Dumariyanganj Road Between Company Bagh Chouraha and main	BASTI	Regular	100	Open	DC	20	20	400	32	55	Draw of lot	15	5
	gate of Distt.Hospital Basti via Basti Bus Stand, Within Municipal Limit of Basti													
527	Between Hadiya Chauraha and Pandey Bazar Chauraha, Within Municipal Limit of Basti	BASTI	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
528	Between main gate of Civil court , Kasia to main gate of Primary School Banwari Tola, Sirsia Khohiya on SH-79, Kasia -Deaoria	KUSHINAGAR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
529	Road. Between KM Stone 13 and 17 on SH-161, Basti-Mahadewa-Mahuli Road	BASTI	Regular	104	Open	DC	35	35	1225	32	75	Draw of lot	15	5
530	Within 5 KM on either side from main gate of Dudahi Block Hospital on NH730,	KUSHINAGAR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
	Balarampur-Siddharthnagar - Tamkuhiraj road	005		48-		24		-			05		4 -	
531	BETWEEN KM STONE N0.395 and 410 ON NH-730,Balrampur- Siddharthnagar - Tamkuhiraj road	SIDDHARTH NAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
532	Within 5 kms from Naurangia Chuaraha towards Pakadiyar Bazar via Sirsia Khurd on	KUSHINAGAR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
533	SH-111, Kaptainganj - Naurangia Road Between KM Stone 205 and 214, RHS on NH-27 from Lucknow to Gopalganj	BASTI	Regular	170	Open	DC	35	35	1225	32	95	Draw of lot	15	5
534	Between Subhash Fauwara Tiraha and Roadways Tiraha on Malviya Road, Within	BASTI	Regular	100	Open	DC	20	20	400	32	55	Draw of lot	15	5
535	Municipal Limit of Basti Between Km stone no. 22 and 36 on NH 328 Basti-Campierganj -Partawal Road	SANT KABIR NAGAR	Regular	156	00000	DC	35	35	1225	32	95	Draw of lot	15	4
536	Between Km stone no. 28 and 33 on NH 328A, Sant Kabir Nagar -Ambedkar Nagar	SANT KABIR NAGAR	Regular	164	OBC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
537	road Within 4 KMs either side from main gate of Gyanoday Inter College Belwaniya, on NH 727, Kasia-Padrauna-Chhitanuni road	KUSHINAGAR	Regular	216	SC PH Open	DC	35	35	1225	32	95	Draw of lot	15	5
538	Between Gorakhpur Bypass Over Bridge to Belipar Police Station, RHS while going from	GORAKHPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
539	Gorakhpur to Varanasi on NH-24 Between Km stone no. 33 and 45 on NH 328A, Sant Kabir Nagar -Ambedkar Nagar	SANT KABIR NAGAR	Regular	156	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
540	road Between Km stone no. 40 and 56 on NH 328 Basti-Campierganj -Partawal Road	SANT KABIR NAGAR	Regular	164	Open	DC	35	35	1225	32	95	Draw of lot	15	5
541	Between Km stone no. 58 and 68 on NH 227A, Ram Janki Marg	SANT KABIR NAGAR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
542	Within 4 km on either side from main gate of State Bank Of India Mahuli on SH161,	SANT KABIR NAGAR	Regular	105	Open	DC	35	35	1225	32	75	Draw of lot	15	5
543	Basti-Mahadewa -Mahuli road On Babhnan-Gaur Road, within municipal limit of Babhnan, Dist- Basti	BASTI	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
544	Between KM Stone 408 to 414 on SH 26,	BASTI	Regular	120	Open	DC	35	35	1225	32	75	Draw of lot	15	5
545	Basti- Utraula Road Between Km stone no. 80 and 85 on NH	SANT KABIR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
546	227A, Ram Janki Marg Between KM Stone no 302 and 306, RHS on	NAGAR KUSHINAGAR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
547	NH-27 from Lucknow to Gopalganj BETWEEN KM STONE N0.37 and 41 ON NH-	SIDDHARTH	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
548	28, Kakrahwa - Basti road Between Kaudiram Panchayat Bhawan main	GORAKHPUR	-	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
	gate and Kaudiram Maida Factory main gate on NH24, Gorakhapur - Varanasi Road		Regular											
549	Between Km stone no. 15 and 22 on NH 328 On NH 328 Basti-Campierganj -Partawal Road	SANT KABIR NAGAR	Regular	156	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
550	BETWEEN KM STONE No 1 and 9 on SH-159 , Bansi-Itwa-Bishkohar road	SIDDHARTH NAGAR	Regular	105	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
551	BETWEEN KM STONE No 15 and 17 ON SH- 88, On Bansi - khalilabad road	SIDDHARTH NAGAR	Regular	150	Open	DC	35	35	1225	32	75	Draw of lot	15	5
552	Within 2 KM of RamLila Maidan Dwar towards Kusmuhi, on Pipraich - Kusmuhi road, Within Municipal limit of Pipraich	GORAKHPUR	Regular	150	Open	DC	20	20	400	32	75	Draw of lot	15	5
553	From Niyanwa Chaurah to Jalpa Chauraha on Shadatganj Ayodhya Marg (Ram Path),	AYODHYA	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
554	Within Municipal limit of Ayodhya From main gate of BSNL GM Office to main gate of Hanuman Mandir, Within Municipal Limit of Deoria	DEORIA	Regular	120	SC	CFS	20	20	400	0	0	Draw of lot	0	3
555	From Chakiyan Chauraha to Lahilpar- Sonughat Road intersection, Within	DEORIA	Regular	120	Open	CC	20	20	400	32	12	Bidding	30	5
556	Municipal Limit of Deoria From Intersection of NH727A to Katarari Chauraha on Deoria-Rudrapur Road, Within Municipal Limit of Deoria	DEORIA	Regular	120	Open	DC	20	20	400	32	55	Draw of lot	15	5
557	Municipal Limit of Deoria Between main gate of Yash Pakka Limited and main gate of Panchayat Bhawan Sarairasi on NH-135A, Faizabad-Akbarpur	AYODHYA	Regular	160	Open	DC	35	35	1225	32	95	Draw of lot	15	5
558	road From Intersection of Deoria-Kasia road to intersection of Deoria-Bhikhampur road on	DEORIA	Regular	120	OBC CC 1	CC	20	20	400	32	12	Bidding	30	4
	Deoria Byepass, Within Municipal Limit of Deoria													

559	Within 5 KMs from main gate of Gazipur Intermediate College, Tamkuhiraj toward UP-Bihar border, On NH 7278, Tamkuhi - Salempur road	KUSHINAGAR	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
560	Between KM Stone no 316 and 321, LHS on NH-27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	513	Open PH	DC	35	35	1225	32	95	Draw of lot	15	5
561	Within 4 KM from Gauri Bazar crossing towards Chauri Chaura, RHS while going from Deoria to Gorakhpur on NH 727A, Gorakhpur Salempur Road.	DEORIA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
562	Between KM Stone 352 and 357, LHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	513	Open	DC	35	35	1225	32	95	Draw of lot	15	5
563	Between KM Stone 20 and 28 on SH-79, Deoria-Kasia road	DEORIA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
564	Between Km Stone 362 and 366, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
565	Between Km Stone Number 527 and 533 on NH 730 Balrampur Siddharthanagar Tamkuhiraj Road	MAHARAJGANJ	Regular	158	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
566	Between KM Stone 279 and 283, RHS on NH-27 from Lucknow to Gopalganj	GORAKHPUR	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
567	Between Km Stone Number 491and 500 on NH-730 Balrampur Siddharthanagar Tamkuhiraj Road	MAHARAJGANJ	Regular	158	Open	DC	35	35	1225	32	95	Draw of lot	15	5
568	Within 6 KM from intersection of NH 727 A (Gauri Bazar crossing) towards Hata on SH- 111, Naurangia - Hata- Rudrapur Road.	DEORIA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
569	BETWEEN KM STONE No 28 and 30 on SH- 159, Bansi-Itwa-Bishkohar road	SIDDHARTH NAGAR	Regular	105	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
570	Between KM Stone 326 and 336, LHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	513	Open	DC	35	35	1225	32	95	Draw of lot	15	5
571	Between Km Stone Number 20 and 25 on SH 129 Pharenda Kolhui Lotan Road	MAHARAJGANJ	Regular	105	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
572	On Bypass Road, Within Barhaj Municipal Limit	DEORIA	Regular	101	SC	CFS	20	20	400	0	0	Draw of lot	0	3
573	Between KM Stone 10 and 14 on NH-328, Basti-Campierganj-Partawal Road	BASTI	Regular	156	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
574	Between Km Stone 341 and 346, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
575	Between Km Stone 335 and 340, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
576	Between KM Stone 0 and 14 on NH-227A, Ram Janki Marg	BASTI	Regular	166	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
577	Between KM Stone 178 and 188, LHS on NH- 27 from Lucknow to Gopalganj	BASTI	Regular	185	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
578	Between Km Stone 351 and 356, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
579	Between Km Stone 346 and 351, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
580	Between KM Stone 188 and 199, LHS on NH- 27 from Lucknow to Gopalganj	BASTI	Regular	185	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
581	Between KM Stone 109 and 120 on NH-28 , Kakrahwa-Basti Road	BASTI	Regular	172	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
582	Between KM Stone 336 and 346, LHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	513	Open	DC	35	35	1225	32	95	Draw of lot	15	5
583	Between KM Stone 200 and 204, LHS on NH- 27 from Lucknow to Gopalganj	BASTI	Regular	150	Open	DC	35	35	1225	32	95	Draw of lot	15	5
584	BETWEEN KM STONE N0.7 and 14 on NH-28, Kakrahwa -Basti road	SIDDHARTH NAGAR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
585	Between Km Stone 330 and 335, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
586	Between Km Stone Number 13 and 19 on SH 129 Pharenda Kolhui Lotan Road	MAHARAJGANJ	Regular	100	Open	DC	35	35	1225	32	75	Draw of lot	15	5
587	On Moor Ghat-Dubaula Road, Within Municipal Limit of Ganeshpur	BASTI	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
588	Within 3 km from main gate of Ayushman Bharat Arogya Kendra Parsiya Mishra, Towards Khukhundu, On NH 727A Gorakhpur - Salempur Road	DEORIA	Regular	151	Open	сс	35	35	1225	32	12	Bidding	30	5
589	Between Km Stone 325 and 330, RHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	465	Open	DC	35	35	1225	32	95	Draw of lot	15	5
590	Between KM stone 215 and 226, RHS on NH- 27 from Lucknow to Gopalganj	SANT KABIR NAGAR	Regular	513	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
591	Between KM Stone 100 and 108 on NH-28 , Kakrahwa-Basti Road	BASTI	Regular	172	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
592	Between KM Stone no 362 and Bihar Border on NH-27, LHS while moving from Lucknow to Gopalganj	KUSHINAGAR	Regular	513	Open	DC	35	35	1225	32	95	Draw of lot	15	5
593	Between KM Stone 357 and 361, LHS on NH- 27 from Lucknow to Gopalganj	KUSHINAGAR	Regular	513	Open	DC	35	35	1225	32	95	Draw of lot	15	5
594	On Jakhlaun Station Road, Within Municipal Limit of Pali	LALITPUR	Regular	112	SC	CFS	20	20	400	0	0	Draw of lot	0	3
595	Within Municipal Limit of Charkhari on MDR 15B Within Municipal Limit of Kalni Not on	MAHOBA	Regular	116	OBC	DC	20	20	400	32	55	Draw of lot	15	4
596	Within Municipal Limit of Kalpi, Not on National Highway/ State Highway	JALAUN	Regular	115	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
597	Between KM stone 112 and 118 on NH44, LHS while going from Jhansi to Sagar	LALITPUR	Regular	285	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
598	Between KM stone no. 115 and 121 on NH44, RHS while going from Jhansi to Sagar	LALITPUR	Regular	362	OBC	cc	35	35	1225	32	12	Bidding	30	4
599	Between KM stone 24 and 34 on NH44, LHS	JHANSI	Regular	267	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	while going from Jhansi to Lalitpur													
600	while going from Jhansi to Lalitpur Atal chowk to Jeevanshah Tiraha Via BKD chauraha, Within muncipal limits of Jhansi Between KM stone no. 1265 (UP142) and	JHANSI JHANSI	Regular Regular	202	OPEN OPEN	DC CC	20	20 35	400	32	75	Draw of lot Bidding	15 30	5

602	Within 2 KM from MP Border on NH-34 (Old NH-86), Mahoba to Chhatarpur Road	МАНОВА	Regular	315	OBC	сс	35	35	1225	32	12	Bidding	30	4
603	Between KM stone 10 and 30 on NH44, RHS while going from Jhansi to Lalitpur	JHANSI	Regular	475	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
604	Between KM stone 36 and 46 on NH-39, RHS while going from Jhansi to Chattarpur	JHANSI	Regular	176	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
605	Between KM stone no. 127 and 130 on NH44, RHS while going from Jhansi to Sagar	LALITPUR	Regular	362	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
606	Between Ramlila Maidaan and Deeh Chauraha on Unnao - RaeBareli Road, Within	UNNAO	Regular	102	OBC	DC	30	30	900	32	55	Draw of lot	15	4
607	Municipal Limits of Unnao Between KM Stone No. 1 and 24 on NH44, LHS while going from Jhansi to Lalitpur	JHANSI	Regular	267	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
608	Between KM stone 86 and Ganga bridge on NH335, LHS while going from Fatehpur to	FATEHPUR	Regular	165	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
609	Lucknow Between KM stone no. 560 and 574 on NH19, RHS while going from Kanpur to	FATEHPUR	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
610	Prayagraj Between KM stone No. 106 and 112 on NH44, LHS while going from Jhansi to Sagar	LALITPUR	Regular	260	OBC CC 1	CC	35	35	1225	32	12	Bidding	30	4
611	Between KM stone 45 and 55 on SH 42, Hamirpur - Rath Road	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
612	BETWEEN KM STONE NO. 30 AND 35 ON NH-34 (OLD NH-86), LHS WHILE GOING FROM NAUBASTA TO HAMIRPUR	KANPUR NAGAR	Regular	230	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
613	Between KM stone no. 6 and 8 on SH-46, (BHOGNIPUR- MOOSANAGAR ROAD)	KANPUR DEHAT	Regular	108	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
614	On Shuklaganj - Unnao Road, Within Munipal Limits of Ganga Ghat	UNNAO	Regular	105	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
615	Between Bundelkhand University Main Gate and Rani Laxmi Bai Park Tiraha on Medical Road, Within Municipal Limits of Jhansi	JHANSI	Regular	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
616	Between KM stone no. 530 and 545 on NH19, RHS while going from Kanpur to Pravagraj	FATEHPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
617	Between KM Stone No. 5 and 12 on SH-68 (Chaubepur- Shivli Road)	KANPUR NAGAR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
618	Between KM Stone no. 70 and 75 on NH27 (Old NH25), RHS while going from Lucknow to Kanpur	UNNAO	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
619	Between KM stone no. 1442 and 1452 on NH-27, LHS while going from Jhansi to	JHANSI	Regular	500	OPEN	CC	35	35	1225	32	12	Bidding	30	5
620	Kanpur Between Maharaja Agrasen Chowk and MP Border on Bhagwantpura Road, Within	JHANSI	Regular	440	OBC	DC	20	20	400	32	75	Draw of lot	15	4
621	municipal limits of Jhansi Between KM stone no. 43 and 54 on NH44, RHS while going from Jhansi to Sagar	LALITPUR	Regular	265	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
622	Between KM stone no. 1387 and 1390 on NH-27 (Gwalior-Kanpur bye pass road) , LHS	JHANSI	Regular	400	OPEN	CC	35	35	1225	32	12	Bidding	30	5
623	while going from Gwalior to Kanpur Between KM stone 1 and 11 on NH-34 (Old NH-86), Mahoba to Chhatarpur Road	МАНОВА	Regular	248	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
624	Upto 3 KM from Azad Marg Chauraha towards Marhala Chauraha on SH-58	UNNAO	Regular	102	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
625	Between Km stone 16 and 32 on NH-39, LHS while going from Jhansi to Chattarpur	JHANSI	Regular	235	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
626	Between KM Stone no. 433 and 437 on NH19, LHS while going from BARAJORE TOLL TOWARDS AURAIYA	KANPUR DEHAT	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
627	From MP Border to KM stone no. 1373 on NH-27, LHS while going from Shivpuri to Jhansi	JHANSI	Regular	400	OPEN	СС	35	35	1225	32	12	Bidding	30	5
628	Between KM stone No. 70 to MP Border on NH-39, LHS while going from Jhansi to	JHANSI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
629	Chattarpur Between Kishaura and Rasulabad On SH- 114, Jhinjhak To Rasulabad Road	KANPUR DEHAT	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
630	Karrahi, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	170	SC	CFS	20	20	400	0	0	Draw of lot	0	3
631	BETWEEN KM STONE NO. 1544 AND 1554 ON NH27, LHS WHILE GOING FROM JHANSI TO KANPUR	KANPUR DEHAT	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
632	Between KM stone No. 391 and 396 on SH- 21, RHS while going from Mohana to Orai	JALAUN	Regular	364	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
633	Between KM Stone no. 40 and 48 on NH27 (Old NH25),LHS While going from Lucknow to Kanpur	UNNAO	Regular	182	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
634	Within 20 KM from Beeghapur Police Station towards Raebareli on NH 31, LHS while going from Unnao to Raebareli	UNNAO	Regular	154	SC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
635	Between KM Stone 1500 and 1509 on NH- 27, LHS while going from Jhansi to Kanpur	JALAUN	Regular	220	OBC PH	DC	35	35	1225	32	95	Draw of lot	15	4
636	On Akbarpur-Rura Road, Within Municipal Limits of Akbarpur	KANPUR DEHAT	Regular	107	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
637 638	On Akbarpur-Rura Road, Within Municipal Limits of Rura Between KM stone 57 and 65 on NH-39, RHS	KANPUR DEHAT	Regular	104 176	OPEN OBC	DC DC	20 35	20 35	400	32	55 95	Draw of lot Draw of lot	15 15	5
638	Between KM stone 57 and 65 on NH-39, KHS while going from Jhansi to Chattarpur Between KM Stone No. 36 and 40 on NH	FATEHPUR	Regular Regular	1/6	SC	CFS	35	35	1225	0	0	Draw of lot	0	4
	335, LHS while going from Banda to Fatehpur		-											
640	On Unnao Bala ji Road, Between Ganesh Chauraha and intersection of NH27 - Unnao Bala Ji Road, Within Municipal Limits of Jhansi	JHANSI	Regular	425	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
641	Between KM stone No. 78 and 86 on NH335, LHS while going From Fatehpur to Lucknow	FATEHPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
642	Between Km stone no. 36 and 50 on NH-39, LHS while going from Jhansi to Chattarpur	JHANSI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
643	Between Govind Chauraha and Kacheri Chauraha via Christian Hospital, Within Municinal Limits of Ibansi	JHANSI	Regular	150	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1	Municipal Limits of Jhansi	1	1		1	1		I	I			I	1	iI

644	BETWEEN KM STONE NO. 488 AND 498 ON NH-19, RHS WHILE going from Kanpur to	KANPUR NAGAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
645	Prayagraj Between Kurecha Gaon Road - SH131 intersection and MP Border on SH 131	JHANSI	Regular	226	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
646	Between KM stone 48 and 60 on NH27, LHS While going from Lucknow to Kanpur	UNNAO	Regular	176	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
647	Between Ram Gopal Chauraha and Meherban Singh Ka Purva Police Chowki on Meherban Singh Purva Road, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	165	OBC	DC	20	20	400	32	75	Draw of lot	15	4
648	Between KM stone 122 and 133 on NH-339, Panwari-Kulpahar Road	MAHOBA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
649	Within Municipal Limits of Khaga, not on National Highway/ State Highway	FATEHPUR	Regular	110	OPEN CC 1	DC	20	20	400	32	55	Draw of lot	15	5
650	Between KM Stone No. 386 and 388 on NH- 34, LHS while going from Kanpur to Kannauj	KANPUR NAGAR	Regular	265	OBC	СС	35	35	1225	32	12	Bidding	30	4
651	Between Naveen Galla Mandi and Narayan Bagh Tiraha on Narayan Bagh Road, Within	JHANSI	Regular	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
652	Municipal Limits of Jhansi Between Km Stone No. 500 and 508 on NH- 19, RHS while going from Kanpur to Prayagraj	KANPUR NAGAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
653	Between Basant Vihar Chauraha and NH34 - Kadepur Marg Intersection on NH 34 (Old NH 86), RHS while going from Kanpur to Hamirpur, Within Municipal Limit of Kanpur	KANPUR NAGAR	Regular	180	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
654	Between Km Stone 60 and 70 on NH27, RHS While going from Lucknow to Kanpur	UNNAO	Regular	176	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
655	Between KM stone No. 1420 and 1426 on NH-27, LHS while going from Jhansi to Kanpur	JHANSI	Regular	500	OPEN	CC	35	35	1225	32	12	Bidding	30	5
656	Within Muncipal Limits of Moth (Not on National Highway/ State Highway)	JHANSI	Regular	140	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
657	Upto 3 KM from Marhala chauraha towards Azad Marg Chauraha, on SH-58	UNNAO	Regular	101	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
658	Between KM Stone no. 52 and 58 on NH 34 (Old NH 86), RHS while going from Chatamour, Chauraba towards Hamirour,	KANPUR NAGAR	Regular	310	OBC CC 1	CC	35	35	1225	32	12	Bidding	30	4
659	Ghatampur Chauraha towards Hamirpur Between KM Stone no. 40 and 48 on NH27, RHS while going from Lucknow to Kanpur	UNNAO	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
660	Barra 6, Within Municipal limits of Kanpur (Not on National Highway)	KANPUR NAGAR	Regular	170	OPEN PH	DC	20	20	400	32	75	Draw of lot	15	5
661	Between Naveen Galla Mandi Main Gate and NH34 - MDR82C Intersection on NH-34 (Old NH86), LHS while going from Kanpur To	KANPUR NAGAR	Regular	300	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
662	Ghatampur Between KM Stone no. 58 and Yamuna River Bridge on NH 34 (Old NH 86), LHS while going from Ghatampur Chauraha towards Hamirpur	KANPUR NAGAR	Regular	250	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
663	Between KM STONE no. 41 and 43 on SH-68, SHIVLI-RASULABAD ROAD	KANPUR DEHAT	Regular	107	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
664	Between KM stone no. 1452 and 1462 on NH-27, LHS while going from Jhansi to Kanpur	JHANSI	Regular	500	OBC	СС	35	35	1225	32	12	Bidding	30	4
665	Between KM stone 545 and 560 on NH-19, RHS while going from Kanpur to Prayagraj	FATEHPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
666	Between KM stone no. 1426 and 1430 on NH-27, LHS while going from Jhansi to Kanpur	JHANSI	Regular	500	OPEN	СС	35	35	1225	32	12	Bidding	30	5
667	Within 3KM from Ghatampur Chauraha (NH34-SH46 Intersection) on NH34 (Old NH 86), LHS while going from Ghatampur Chauraha towards Hamirpur	KANPUR NAGAR	Regular	255	OPEN	СС	35	35	1225	32	12	Bidding	30	5
668	Between KM stone no. 1380 and 1387 on NH-27, RHS while going from Shivpuri to Jhansi	JHANSI	Regular	490	OPEN	СС	35	35	1225	32	12	Bidding	30	5
669	Between St. Marys School, Gursarai and Dr. Ram Manohar Lohiya Girls College on SH 42, Garautha - Gursarai Road	JHANSI	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
670	Between KM Stone 70 and 90 on SH-40	UNNAO	Regular	109	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
671	Between La Militaire Academy (K Block Kidwai Nagar) and Swami Padmanabh Mandir on Padmanabhan Mandir Road (80ft Road), Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	165	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
672	Between KM STONE no. 1564 AND 1578 ON NH27, LHS WHILE going FROM JHANSI TO KANPUR	KANPUR DEHAT	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
673	Between KM stone no. 1267(UP144) and 1270(UP147) on NH-44, LHS while going from Gwalior to Jhansi	JHANSI	Regular	565	OBC	СС	35	35	1225	32	12	Bidding	30	4
674	Within 3KM from MP Border towards Banpur on SH132, Tikamgarh-Banpur Road	LALITPUR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
675	Between KM STONE no. 1554 AND 1564 ON NH27, LHS WHILE going FROM JHANSI TO KANPUR	KANPUR DEHAT	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
676	Between KM STONE no. 439 and 448 on NH19, RHS while going from KANPUR TO BARAJORE TOLL PLAZA	KANPUR DEHAT	Regular	160	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
677	On Akbarpur to Mati Road, Between NH19 intersection at Akbarpur and DM Office, Mati	KANPUR DEHAT	Regular	102	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
678	Between KM stone no. 142 and 148 on SH- 40, Rasulabad-Bela Road	KANPUR DEHAT	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
679	Between KM stone no. 133 and 147 on NH- 339, Kulpahar - Mahoba Road	МАНОВА	Regular	178	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
680	Between KM stone no. 1400 and 1410 on NH-27, LHS while going from Jhansi to Kanpur	JHANSI	Regular	500	OBC	СС	35	35	1225	32	12	Bidding	30	4
681	Within 13 KM from Deeh Chauraha towards Raebareli on NH 31, LHS while going from Unnao to Raebareli	UNNAO	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
682	Between KM Stone 420 and 424 on NH-34, RHS while going from Kanpur to Kannauj	KANPUR NAGAR	Regular	225	OPEN	CC	35	35	1225	32	12	Bidding	30	5

683	BETWEEN KM STONE NO. 24 AND 30 ON NH-34 (OLD NH-86), RHS WHILE GOING FROM NAUBASTA TO HAMIRPUR	KANPUR NAGAR	Regular	260	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
684	On Patel Chowk to Ahrauli Shekh Road, Within Municipal limit of Pukhrayan	KANPUR DEHAT	Regular	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
685	Between Naveen Galla Mandi Main Gate and NH34 - MDR82C intersection on NH-34 (Old NH-86), RHS While going from Kanpur	KANPUR NAGAR	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
686	to Ghatampur Within Municipal limits of Konch	JALAUN	Regular	150	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
687	Between Km Stone no. 31 and 40 on NH-27, RHS While going from Lucknow to Kanpur	UNNAO	Regular	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
688	BETWEEN KM STONE NO. 40 AND 50 ON NH 335, LHS WHILE GOING FROM BANDA	FATEHPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
689	TO FATEHPUR Between KM Stone No. 24 and 30 on NH-34 (Old NH-86), LHS while going from Naubasta	KANPUR NAGAR	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
690	to Hamirpur Between Chaubepur and Bithoor on SH-166	KANPUR NAGAR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
691	Between Shree Laxmi Narayan Mandir and Jhansi Railway Station via Hotel Lemon Tree, Wikika Muraisael Linea of Ibeaci	JHANSI	Regular	150	OBC	СС	20	20	400	32	12	Bidding	30	4
692	Within Municipal Limts of Jhansi Between KM stone 510 and 526 on NH19, RHS While going From Kanpur to Prayagraj	FATEHPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
693	Between KM stone no. 86 and Ganga Bridge on NH335, RHS while going From Fatehpur	FATEHPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
694	to Lucknow Between KM Stone 39 and 49 on SH-46	KANPUR NAGAR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
695	(GHATAMPUR- JAHANABAD ROAD) Between KM STONE 21 and 36 ON SH46,	KANPUR NAGAR	Regular	115	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
696	Moosanagar to Ghatampur Road Between Parmanand Chowk and Jhalkari Bai	МАНОВА	Regular	130	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
	chowk on Charkhari Bypass Road, Mahoba		-											
697 698	Gwaltoli, Within Municipal limits of Kanpur Within Muncipal limits of Gursarai (Not on	KANPUR NAGAR JHANSI	Regular Regular	325	SC OBC	CFS DC	20	20	400	0	0 55	Draw of lot Draw of lot	0	3
	National Highway/ State Highway)		-											
699	Between KM stone no. 1376 and 1380 on NH-27, LHS while going from Shivpuri to Jhansi	JHANSI	Regular	400	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
700	Between KM Stone No. 396 and 398 on NH- 34, LHS while going from Kanpur to Kannauj	KANPUR NAGAR	Regular	265	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
701	Between KM stone 530 and 541 on NH19, LHS while going from Kanpur to Prayagraj	FATEHPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
702	Between KM stone 98 and 101 on SH-131, Mauranipur-Tikamgarh Road	JHANSI	Regular	226	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
703	Between KM Stone No. 120 and 122 on SH- 40	KANPUR NAGAR	Regular	155	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
704	Between KM Stone 505 and 508 on NH-19, LHS while going from Kanpur To Prayagraj	KANPUR NAGAR	Regular	270	OPEN	CC	35	35	1225	32	12	Bidding	30	5
705	BETWEEN INTERSECTION OF NH34 - MDR82C AND BIDHNU THANA ON NH-34, LHS WHILE GOING FROM KANPUR TO	KANPUR NAGAR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
706	GHATAMPUR Fazalganj, Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	170	OBC	DC	20	20	400	32	75	Draw of lot	15	4
707	Between KM stone 11 and 21 on NH-34 (Old NH-86), Mahoba to Chhatarpur Road	MAHOBA	Regular	248	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
708	Between SH170-SH71 intersection at Gazipur to SH170-NH335 intersection at Bahua on SH-170	FATEHPUR	Regular	110	OPEN CC 2	DC	35	35	1225	32	75	Draw of lot	15	5
709	On Bangarmau-Sandila Road, Within Municipal Limits of Bangarmau	UNNAO	Regular	107	OBC CC 1	DC	20	20	400	32	55	Draw of lot	15	4
710	Between KM stone 122 and 131 on NH-34 (Old NH-86), Khanna Toll Plaza to Kabrai	МАНОВА	Regular	272	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
711	BETWEEN KM STONE NO. 50 AND 60 ON NH335, LHS WHILE GOING FROM BANDA TO	FATEHPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
712	FATEHPUR Bithoor Within Municipal Limits	KANPUR NAGAR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
713	Between KM Stone 374 and 376 on NH34,	KANPUR NAGAR	Regular	225	OBC	СС	35	35	1225	32	12	Bidding	30	4
714	RHS while going from Kanpur to Kannauj Between KM stone no. 109 and 115 on	LALITPUR	Regular	362	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
715	NH44, RHS while going from Jhansi to Sagar On Bindki Byepass Road, Within Municipal	FATEHPUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
716	limits of Bindki Between Shri Ram Chowk and Namak Factory Chauraha (Yashoda Nagar) on 80	KANPUR NAGAR	Regular	165	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
717	Feet Road, Within Municipal limits of Kanpur Between KM stone no. 8 and 16 on NH-39, RHS while going from Jhansi to Chattarpur	JHANSI	Regular	176	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
718	Between KM stone 84 and 90 on NH-339	МАНОВА	Regular	357	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
719	(Old NH-76), Jhansi- Harpalpur Road On Road connecting NH339 and NH34 (Old NH86) via Police Line, Within Municipal	МАНОВА	Regular	104	SC	CFS	20	20	400	0	0	Draw of lot	0	3
720	Limits of Mahoba BETWEEN KM STONE NO. 484 AND 488 ON NH-19, RHS WHILE going from Kanpur to	KANPUR NAGAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
721	VIT-13, KH3 WHILE going Holin Kalipul (O Prayagra) WITHIN 3 KM FROM GHATAMPUR CHAURAHA (NH34-SH46 INTERSECTION) ON NH34 (OLD NH 86), RHS WHILE going FROM GHATAMPUR CHAURAHA TOWARDS	KANPUR NAGAR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
722	HAMIRPUR Between KM stone no. 86 and 93 on NH44,	LALITPUR	Regular	265	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
723	RHS while going from Jhansi to Sagar BETWEEN KM STONE NO. 50 AND 60 ON NH335, RHS WHILE GOING FROM BANDA	FATEHPUR	Regular	165	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
724	TO FATEHPUR On old Sagar Road, from Kelgawan Chauraha	LALITPUR	Regular	146	OBC	DC	20	20	400	32	55	Draw of lot	15	4
	to Old Sagar Road-NH44 Intersection , Within Municipal Limits of Lalitpur													

Image: Problem Sector 2000 (1999) Image: Problem Sector 2000 (1990) Image: Problem Sector 2000 (1990)<	15	5
InInitial particular price of the sector of th		
Image biolog mergene biolog Image biolog mergene biolog Image biolog mergene biolog Image biolog mergene biolog Image biolog mergene Image biolog mergen	30	5
Image Result of the start of a weak of the start of	15	4
III <th< td=""><td>0</td><td>3</td></th<>	0	3
Image: 1 and the state st	30	5
Image of the same is the same is same is a same i	15	5
No. Rescue intercontrol difference States MARPI REGAR Nagler LS S' O' D' D'< D'< D'< D' D' <thd'< th=""> <thd'< th=""> D'</thd'<></thd'<>	15	4
Image: Notation and Acade Section 2014 Apple Acade Section 2014	0	3
Instructure Construction Construction </td <td>15</td> <td>5</td>	15	5
Big Los Max boards notary to be any second secon	30	5
17.100 18.0000 4 (Masse Naka Packa Statistics) Networks of Machine Naka Packa Statistics Name Name <td>15</td> <td>4</td>	15	4
1717 Sciences, Distribution of Grand Nuclei Machines, Distribution of Grand	0	3
7131 Reducer ML force ML 3 and ML Boder sub-line ML for ML STEP ML STE	15	5
1000 Information and Status Ray Bis Ont Instruction and Bis Order (Social Action Science) Anouna Model Action and Science Sci	15	5
130 Elify Weight widd widd widd widd widd widd widd wid	30	4
741 Between M store, no. 13 and 12 on NMAL DE Marcel Disk DLITPUR Pegdar 280 SC 075 135 135 1225 0 0 Dow of lit 742 Between M store, No Mage and Disk LAITPUR Pegdar A00 0P44 Bc 155 15 125 2.2 86 Dow of lit 743 Between M Store, No Taud Ka ne Ni 4A, R schelle gifter M. and to Stard LAITPUR Pegdar 2.6 0DC 15 35 1225 32 86 Dow of lit 744 Between M Store, No Taud Ka ne Ni 4A, R schelle gifter M. and to Stard LAITPUR Pegdar 152 0PC 15 15 1225 32 85 Dow of lit 745 Method Ta More No Sala and Store ong from Java to Sala and Store Parageria Massala and Store No Sala and Store Parageria Node Sala 160 0PC 15 15 1225 32 85 Dow of lit 740 Between M Store No Sala and Store Parageria Massala Sala Pegdar 160 0PC 15 15 125 32 <td>30</td> <td>5</td>	30	5
1044. L16 whele gind from Amine 10 sequel10 <th< td=""><td>0</td><td>3</td></th<>	0	3
If it wilds own from wilds to serve it. It wilds town from wilds to serve it. It wilds to serve it	15	5
Image: Solution on NH-31 Structure Unitation (IMS NM) Image: Control (IMS NM) Image: Contro (IMS NM) Image: Control (IMS NM) <td>15</td> <td>4</td>	15	4
746 Between KM store KM st	15	5
746 Yahoda Nagar, Between Gopi Nagar, Tinaha (Intersection 30) for 4: 60 (Fer took) and Saink Chauraha on 60 feet road), within Maricigal limits of Kanpur NAMPUR NAGAR Regular 165 OBC DC 20 20 400 32 75 Draw of lot 747 Between KM doon on 14 and 122 on NH- NAMPUR LIMIts of Kanpur MAHOBA Regular 160 OPEN DC 35 35 1225 32 95 Draw of lot 748 BETWEEN M STORE No. 548 AND 488 ON NH-39, LINS WHLE Gopi (ROM NANUE) TO Prayagai KANPUR NAGAR Regular 170 OPEN CC 1 DC 35 35 1225 32 95 Draw of lot 749 BETWEEN M STORE NO. STORE NASHING NANUE TO Prayagai KANPUR NAGAR Regular 165 OBC CC 35 35 1225 32 12 Bidding 750 BETWEEN M STORE NO. STORE NASHING NANUE TO Prayagai KANPUR NAGAR Regular 165 OBC CF 35 35 1225 32 12 Bidding 751 On Rank-KAyapup Rad, Rog Retween Kayawapur Halky Corising and Pank Calup <t< td=""><td>0</td><td>3</td></t<>	0	3
747 Between MA done no. 114 and 122 on NH- 1339, Pawari-Kuplaha Road MANOBA Regular 160 OPEN DC 35 35 1225 32 95 Draw of lot 748 BETWEEN KM STONE no. 484 AND 488 ON NH-13, LIS WHILE gaing FROM KANPUR TO Pringing CONK NO. 321 AND 332 ON NH-34, LIS WHILE gaing FROM KANPUR TO Pringing CONK NO. 321 AND 332 ON NH-34, LIS WHILE GONG FROM KANPUR TO EXMANUI KANPUR NAGAR Regular 126 06C CC 35 35 1225 32 12 Bidding 779 RETWEEN IFM ECONG FROM KANPUR TO EXMANUI KANPUR NAGAR Regular 165 SC CFS 20 20 400 0 0 Draw of lot 770 RETWEEN IFM ECONG FROM KANPUR TO EXMANUI KANPUR NAGAR Regular 155 OPEN DC 20 400 0 0 Draw of lot 775 DEVICENT IF MERO STATION AND RAMA Municipal limits of Kanpur KANPUR NAGAR Regular 155 OPEN DC 20 400 32 75 Draw of lot 775 WHIM Municipal limits of Kanpur KANPUR NAGAR Regular 160 OPEN CC 30 30 900 32	15	4
Inst-10, LHS WHIEE going FROM KANPUR TO KANPUR NAGAR Regular 265 OBC CC 35 35 1225 32 12 Bidding 749 NF-34, LHS WHIEE GOING FROM KANPUR TO KANPUR NAGAR Regular 265 OBC CC 35 35 1225 32 12 Bidding 750 BETKENIT METROS TATION AND RAMA KANPUR NAGAR Regular 165 SC CFS 20 400 0 0 Draw of lot 751 On Panki-Kalyangur Road, Between Kalyangur Raidy Crossing and Panki Canal, WHIN Municipal limits of Kanpur KANPUR NAGAR Regular 155 OPEN DCC 30 30 30 32 75 Draw of lot 752 NH34 (ON HBB), LHS WHIM Municipal Imits of Kanpur KANPUR NAGAR Regular 160 DBC DC 20 400 32 75 Draw of lot 753 Swam Jayant Whim (Not on National Imits of Kanpur KANPUR NAGAR Regular 160 DBC CF 35 1225 0 0 Draw of lot	15	5
749 BETWEEN MS TONE NO. 391 AND 393 OM NI-34, LHS WHIE GOM RAM LANPUR KANPUR NAGAR Regular 265 OBC CC 35 35 1225 32 12 Bidding 750 BETWEEN IM STONE NO. 391 AND RAMA DEVI CHAURAH ON OLD GT ENDA, Within Municipal limits of Kanpur KANPUR NAGAR Regular 165 SC CFS 20 400 0 0 Draw of lot 751 OnerAd-Sulynopur Railway Crossing and Pank Canal, Within Municipal limits of Kanpur KANPUR NAGAR Regular 185 OPEN DC 20 400 32 75 Draw of lot 752 Within Municipal limits of Kanpur KANPUR NAGAR Regular 180 OPEN CC 30 30 900 32 12 Bidding 753 Sward Nothe Road, Between NHSA (Od MHS6), LHS while going from NabaSta Chaurah on NHSA (Od MHS6), LHS while going from NHSA (Od MHS6), HS while going from NHSA (Od MHS6), HS while going from NabaSta Chaurah on NHSA (Od MHS6), HS while going from NHSA (Od MHS6), HS while going from NhSA (SAN NHSA (Non National Highway), Within Municipal limits of Kanpur	15	5
750BETWEEN IT METRO STATION AND RAMA DEVIAUAR AND RAMA DE RAMA Municipal limits of KanpurKANPUR NAGARRegular165SCCFS202040000DDraw of lot751On Panki-Kalyanpur Rada, Between Kalyanpur Ralway Crossing and Panki Canal, Within Municipal limits of KanpurKANPUR NAGARRegular155OPENDC20204003275Draw of lot752Within S MK from Naubasta Chauraha on Naubasta for Loruraha on Naubasta for KanpurKANPUR NAGARRegular180OPENCC30309003212Bidding753Swam Jayant Vihar (Nd on National Highway), Within Municipal limits of KanpurKANPUR NAGARRegular160OBCDC20204003275Draw of lot754Between KM stone no. 118 and 122 on NH- 34 (Did N 166, LIST of KanpurKANPUR NAGARRegular170OPENDC20204003275Draw of lot755Between KM stone no. 118 and 122 on NH- 34 (Did N 166, LIST of KanpurKANPUR NAGARRegular170OPENDC20204003275Draw of lot756Between KM stone no. 0 and 8 on NH-39, RFIS while going from Jansito G KanpurKANPUR NAGARRegular176OPENDC353512253212Draw of lot757Between KM stone no. 0 and 8 on NH-39, RFIS while going from Jansito G KANPURKANPUR NAGARRegular176OPEN<	30	4
Kalyanpur Railway Crossing and Panki Canal, Within Municipal limits of KanpurKanPUR NAGARRegularIa80OPENCC30309003212Bidding753Within S KM from Naubasta Chauraha on NH34 (Old NH86), LHS while going from Naubasta to chatarpur, limits of KanpurKANPUR NAGARRegular180OPENCC30309003212Bidding753Swam Jayanti Vhar (Not on National limits of KanpurKANPUR NAGARRegular160OBCDC20204003275Draw of lot754Between KM stone no. 118 and 122 on NH- 34 (Old NH-86), Khanna Toll Piza to KabraiMAHOBARegular272SCCFS35351225000Draw of lot755Juhi Kalan (Not on National lightway), Within Municipal limits of KanpurMAHOBARegular170OPENCC3535122500Draw of lot756Between KM stone no. 0 and son NH-39, NH-19, RHS WHILE GOING FROM KANPURMAHOBARegular176OPENCC35351225325Draw of lot757BETWEEN KM STONE no. 456 AND 458 ON NH-19, RHS WHILE GOING FROM KANPURKANPUR NAGARRegular255OPENCC353512253212<	0	3
752Within X from Naubasta Chauraha on NH34 (Old NH86), LHS while going from Naubasta to Ghaurama on Imits of KanpurKANPUR NAGARRegular180OPENCC30309003212Bidding753Swam Jayant Vhar (Not on National Highway), Within Municipal limits of KanpurKANPUR NAGARRegular160OBCDC204003275Draw of lot754Between KM stone no. 118 and 122 on NH- 34 (Old NH-86), Khanna Toll Plaza to KabraiMAHOBARegular272SCCFS35125000Draw of lot755Juhi Kalan (Not on National Highway), Within Municipal limits of KanpurKANPUR NAGARRegular170OPENDC204003275Draw of lot756Between KM stone no. 0 and 8 on NH-39, RHS while going from Jhansi to ChattarpurHANSIRegular176OPENDC353512253295Draw of lot757BETWEEN KM STONE no. 456 AND 458 ON NH-19, RHS WHILE GOING FROM KANPUR TO ETAWAHKANPUR NAGARRegular255OPENCC353512253212Bidding758Within Municipal limit of Jhinjhak on SH14KANPUR DEHATRegular107OBC CC 1DC30309003275Draw of lot759Between KM stone no. 60 and 70 on NH44, LHS while going from Jhansi to SagarLAITPURRegular335SC CC 1CFs35351225000	15	5
753Swarn Jayanti Vihar (Not on National Highway), Within Municipal limits of KanpurKANPUR NAGARRegular1600BCDC20204003275Draw of lot754Between KM stone no. 118 and 122 on Nhr- 34 (016/ NH-86), Khanna Toll Plaza to KahruMAHOBARegular272SCCFS3535122500Draw of lot755Juhi Kalan (Not on National Highway), Within Municipal limits of KanpurKANPUR NAGARRegular170OPENDC20204003275Draw of lot756Between KM stone no. 0 and 8 on NH-39, RHS while going from Jhansi to ChattarpurJHANSIRegular176OPENDC353512253295Draw of lot757BETWEEN KM STONE no. 56 AND 458 ON TO ETAWAHKANPUR NAGARRegular176OPENDC353512253222liding758BETWEEN KM STONE no. 66 and 70 on NH44, LLTPURKANPUR DEHATRegular107OBCC 1DC30309003275Draw of lot759Between KM stone no. 60 and 70 on NH44, LHS while going from Jhansi to SagarLAITPURRegular335SCC 1CFS35351225000Draw of lot	30	5
1434 (Old NH-86), Khanna Toll Plaza to KabraiKANPUR NAGARRegular170OPENDC20204003275Draw of lot755Juhi Kalan (Not on National Highway), Within Municipal limits of KanpurKANPUR NAGARRegular170OPENDC20204003275Draw of lot756Between KM stone no. O and & on NH-39, RHS while going from Jhansi to ChattarpurJHANSIRegular176OPENDC353512253295Draw of lot757BETWEEN KM STONE no. 456 AND 458 ON TO ETAWAHKANPUR NAGARRegular255OPENCC353512253212Bidding758Within Municipal limit of Jhinjhak on SH114KANPUR DEHATRegular107OBC CC1DC30309003275Draw of lot759Between KM stone no. 60 and 70 on NH44, LHS while going from Jhansi to SagarLAILTPURRegular335SC CC1CFS35125000Draw of lot	15	4
Within Municipal limits of KanpurWithin Municipal limits of KanpurManual Regular176OPENDC35351223295Draw of lot757RETWEEN KM STONE no. 656 AND 458 ON NET 19, RHS WHILE GOING FROM KANPUR NE FAWAHKANPUR NAGARRegular255OPENCC35351223212Bidding758Within Municipal limit of Jhinjhak on SH14KANPUR DEHATRegular08C C1DC30309003275Draw of lot759Between KM stone no. 60 and 70 on NH44, LHS while going from Jhansi to SagarLALITPURRegular335SC C1CFS3512500	0	3
RHS while going from Jhansi to ChattarpurCC	15	5
NH-19, RHS WHILE GOING FROM KANPUR TO ETAWAHCC </td <td>15</td> <td>5</td>	15	5
758Within Municipal limit of Jhinjhak on SH114KANPUR DEHATRegular107OBC CC 1DC30309003275Draw of lot759Between KM stone no. 60 and 70 on NH44, LHS while going from Jhansi to SagarLALITPURRegular335SC CC 1CFS353512500Draw of lot	30	5
LHS while going from Jhansi to Sagar	15	4
	0	3
760 Between KM Stone S8 and Yamuna River Bridge On NH34 (Old NH86), RHS while going from Ghatampur Chauraba towards Hamirpur KANPUR NAGAR Regular 250 OPEN PH DC 35 35 125 32 95 Draw of lot	15	5
761 Between KM Stone no. 48 and 60 on NH27, RHS while going from Lucknow to Kanpur UNNAO Regular 160 OBC DC 35 35 1225 32 95 Draw of lot 700 0	15	4
762 On Shivli Road, Within 2 KM from Panki- Kalyanpur Road intersection towards Shivli , Within Municipal limits of Kanpur KANPUR NAGAR Regular 155 OPEN DC 20 20 400 32 75 Draw of lot	15	5
763 Between KM stone no. 570 and 588 on NH19, LHS While going From Kanpur to Prayagraj FATEHPUR Regular 160 SC CFS 35 125 0 0 Draw of lot	0	3

764	Between KM stone No. 86 and 102 on NH	LALITPUR	Regular	260	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
765	44, LHS while going from Jhansi to Sagar BETWEEN KM Stone No. 71 AND 74 ON	FATEHPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
766	NH335 Bypass Between KM STONE no. 439 and 448 ON	KANPUR DEHAT	Regular	157	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
767	NH19, LHS while going from KANPUR TO AURAIYA Between KM stone no. 130 and 133 on NH-	LALITPUR	Regular	310	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
768	44, LHS while going from Jhansi to Sagar On Kalyanpur-Bithoor Road, Within 1 KM	KANPUR NAGAR	-	170	SC	CFS	20	20	400	0	0	Draw of lot	0	3
768	from GT Road intersection point towards Bithoor, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	170	sc	CFS	20	20	400	U	0	Draw of lot	U	3
769	Between KM stone no. 574 and 588 on NH- 19, RHS while going from Kanpur to	FATEHPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
770	Prayagraj Between NH34-NH339 intersection and MP Border on NH-339 (Kaimaha to Nawgaon Road)	MAHOBA	Regular	163	OPEN	СС	35	35	1225	32	12	Bidding	30	5
771	BETWEEN KM STONE NO. 36 AND 40 ON NH 335, RHS WHILE GOING FROM BANDA TO FATEHPUR	FATEHPUR	Regular	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
772	On Jalaun Bypass Road, Between Chungi No.4 and Orai chauraha (Bus stand Jalaun) , Within Municipal Limits of Jalaun	JALAUN	Regular	105	SC	CFS	20	20	400	0	0	Draw of lot	0	3
773	On Sarai Chauraha-Maswanpur Road, Between Maswanpur Chauraha and Sarai Chauraha, Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	155	OBC	DC	20	20	400	32	75	Draw of lot	15	4
774	Between Dayanand Vedic College and Railway Crossing on Ajnari Road, Within Municipal Limits of Orai	JALAUN	Regular	150	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
775	Scheme No. 2, Hanspuram, Awas Vikas Kanpur, Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	170	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
776	Between intersection of NH19 service road - Barra 8 road and Jarauli Phase-1 main marg via Ram Gopal Chauraha, Within Municipal	KANPUR NAGAR	Regular	165	OBC	DC	20	20	400	32	75	Draw of lot	15	4
777	limits of Kanpur Between KM stone no. 78 and 86 on NH335,	FATEHPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
778	RHS while going From Fatehpur to Lucknow From Varni Chauraha towards Deogarh on	LALITPUR	Regular	110	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
779	SH132 (Lalitpur-Deogarh Road), Within Municipal limits of Lalitpur Between Jarib Chowki and Deputy Padav	KANPUR NAGAR	Regular	190	OPEN	CC	20	20	400	32	12	Bidding	30	5
	Chauraha on Kalpi Road, Within Municipal Limits of Kanpur		-											
780	Between KM stone no.133 and MP Border on NH 44, LHS while going from Jhansi to Sagar	LALITPUR	Regular	310	OBC	CC	35	35	1225	32	12	Bidding	30	4
781	Between KM Stone no. 8 and 11 on SH70, Jalaun-Bangra Road	JALAUN	Regular	121	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
782	Between KM stone 50 and 60 on NH-39, LHS while going from Jhansi to Chattarpur	JHANSI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
783	BETWEEN KM STONE NO. 455 AND 460 ON NH-19, LHS WHILE going FROM KANPUR TO ETAWAH	KANPUR NAGAR	Regular	255	OPEN	CC	35	35	1225	32	12	Bidding	30	5
784	Between KM stone no. 55 and 63 on SH 46, Chaudagra-Jahanabad Road	FATEHPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
785	Between KM stone no. 70 and 84 on NH44, LHS while going from Jhansi to Sagar	LALITPUR	Regular	335	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
786	Between KM stone no. 93 and 103 on NH44, RHS while going from Jhansi to Sagar	LALITPUR	Regular	362	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
787	Between KM Stone no. 4 and 14 on NH-35, Kabrai-Banda Road	MAHOBA	Regular	195	OBC	CC	35	35	1225	32	12	Bidding	30	4
788	Between KM stone No.164 and 175 on NH- 34, Mahoba to Kabrai Road	MAHOBA	Regular	332	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
789	Between KM stone no. 0 and 16 on NH-39, LHS while going from Jhansi to Chattarpur	JHANSI	Regular	235	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
790	Between KM stone no. 72 and 80 on NH-34 (Old NH 86)	HAMIRPUR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
791	Between KM Stone No. 1503 and 1505 on NH-27, RHS while going from Jhansi to	JALAUN	Regular	170	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
792	Kanpur Between KM stone No. 124 and 127 on NH 44, LHS while going from Jhansi to Sagar	LALITPUR	Regular	310	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
793	Between Samadhi Puliya and Surya Lawn on Taudakpur Road, Within Municipal limits of	KANPUR NAGAR	Regular	165	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
794	Kanpur On Ait to Konch Road, Within Municipal Limits of Ait	JALAUN	Regular	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
795	BILHAUR WITHIN MUNICIPAL LIMIT	KANPUR NAGAR	Regular	105	OBC	DC	30	30	900	32	55	Draw of lot	15	4
796	Between Vijay Nagar Chauraha and SAIL Tiraha on Kalpi Road, Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	265	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
797	Between Pachwara Toll Plaza and UP-MP integrated check post On NH-39, LHS while going from Nowgaon to Jhansi	MAHOBA	Regular	245	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
798	Between KM stone no. 510 and 526 on NH- 19, LHS while going From Kanpur to Prayagraj	FATEHPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
799	Between KM stone no. 88 and 100 on NH 34 (Old NH 86)	HAMIRPUR	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
800	BETWEEN KM STONE NO. 75 AND 82 ON SH- 38	UNNAO	Regular	107	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
801	On Indira Nagar Road, Between GT Road Intersection and Indra Road Intersection, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	170	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
802	BETWEEN KDMA SCHOOL AND ESCORT WORLD SCHOOL, KESHAVPURAM, Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	160	OBC	DC	20	20	400	32	75	Draw of lot	15	4
803	Between KM Stone No. 36 and 60 ON SH-40	UNNAO	Regular	105	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
804	Between KM Stone No. 114 and 118 on NH- 34 (Old NH-86), Between Khanna Toll Plaza and Kabrai	MAHOBA	Regular	272	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
805	Between KM stone no. 11 and 14 on SH-70, Jalaun-Bangra Road	JALAUN	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
806	Within Municipal limit of Kulpahar on MDR 17B	MAHOBA	Regular	115	OBC	DC	20	20	400	32	55	Draw of lot	15	4

807	Between Rath Chungi Chowk and Parmanand Chowk, Within Municipal Limits	MAHOBA	Regular	118	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
808	of Mahoba Between KM stone no. 70 and 75 on NH27,	UNNAO	Regular	176	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
809	LHS while going from Lucknow to Kanpur Between KM Stone 60 and 70 on NH27, LHS	UNNAO	Regular	182	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
810	While going from Lucknow to Kanpur BETWEEN KM STONE NO. 1570 and 1578	KANPUR DEHAT	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
	ON NH-27, RHS WHILE GOING FROM JHANSI TO KANPUR													
811	Between KM stone no. 73 and MP Border on NH-39, RHS while going from Jhansi to Chattarpur	JHANSI	Regular	176	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
812	Between Police Station Bewar and Police Station Lalpura on SH 42, Hamirpur-Rath Road	HAMIRPUR	Regular	108	SC	CFS	35	35	1225	Ō	0	Draw of lot	0	3
813	Between KM Stone no. 1522 and 1532 on NH-27, RHS while going from Jhansi to Kanpur	JALAUN	Regular	153	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
814	Between KM stone no. 27 and MP Border on SH-70, Jalaun- Bhind Highway	JALAUN	Regular	268	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
815	On Parvati Bagla Road, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	325	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
816	BETWEEN KM STONE NO. 40 AND 50 ON NH 335, RHS WHILE GOING FROM BANDA TO FATEHPUR	FATEHPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
817	Between KM stone no.1380 and 1387 on NH-27, LHS while going from Shivpuri to Jhansi	JHANSI	Regular	380	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
818	Between Zila Parishad and Jamuna Palace, Within Municipal Limits of Orai	JALAUN	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
819	Between Ramadevi Chauraha and SAIL Tiraha on service road of NH-19, RHS while going from Ramadevi Chauraha to SAIL Tiraha, Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	160	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
820	Between Shivpuri Road-Rajendra Agnihotri Road intersection and Gariya Gaon on Rajendra Agnihotri Road, Within Municipal	JHANSI	Regular	250	OBC	DC	20	20	400	32	75	Draw of lot	15	4
821	Limits of Jhansi Bindki Main Chauraha to Bakewar Thana on SH-46A	FATEHPUR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
822	Within 2 km from Bundelkhand Expressway Flyover towards Jalaun on SH-70, Jalaun	JALAUN	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
823	Bangra Road Between KM stone no. 555 and 570 on NH- 19, LHS while going From Kanpur to	FATEHPUR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
824	Prayagraj Between KM stone no. 38 and 42 on NH-44, RHS while going from Jhansi to Lalitpur	JHANSI	Regular	475	OBC	СС	35	35	1225	32	12	Bidding	30	4
825	Within 10 KM from Shivaji Chowk on SH-21, RHS while moving from Orai to Jalaun	JALAUN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
826	Between Zilla Parishad and Konch Bus Stand on Jail Road Orai, Within Municipal limit of	JALAUN	Regular	105	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
827	Orai Between KM stone no. 385 and 391 on SH- 21, RHS While going from Mohana to Orai	JALAUN	Regular	198	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
828	Between Ganga Barrage and Singhpur Chauraha on NH-91 Bypass Road, Within	KANPUR NAGAR	Regular	150	OBC	DC	20	20	400	32	75	Draw of lot	15	4
829	Municipal limits of Kanpur Between KM stone no. 358 and 363 on SH- 21, LHS while going from Orai to Jalaun	JALAUN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
830	Within 4 KM from Betwa River Bridge towards Akbarpur on SH-130, Rath-Kalpi	JALAUN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
831	Road Between KM Stone no. 1530 and 1539 on NH-27, LHS while going from Jhansi to Kannur	JALAUN	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
832	Kanpur Jajmau (Not on National Highway) , Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	170	OBC	DC	20	20	400	32	75	Draw of lot	15	4
833	Between Ghantaghar Chauraha and Konch Bus Stand on Orai-Konch Road, Within Municipal Limit of Orai	JALAUN	Regular	149	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
834	BETWEEN KM STONE NO. 46 AND 50 ON NH-34 (OLD NH 86), RHS WHILE GOING FROM GHATAMPUR CHAURAHA TOWARDS	KANPUR NAGAR	Regular	275		CFS	35	35	1225	0	0	Draw of lot	0	3
835	HAMIRPUR Within 20 KM from Beeghapur Police Station towards Raebareli on NH31, RHS while going	UNNAO	Regular	158	SC PH	DC	35	35	1225	32	95	Draw of lot	15	4
836	from Unnao to Raebareli CHAMANGANJ, BETWEEN BAJARIYA SISAMAU CHAURAHA AND RUPAM CHAURAHA ON NALA ROAD, Within	KANPUR NAGAR	Regular	210	OBC PH OPEN	CC	20	20	400	32	12	Bidding	30	5
837	Municipal Limits of Kanpur Between KM stone no. 147 and 158 on NH-	МАНОВА	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
838	339, Kulpahar to Mahoba Road Within 7 KM from Ramlila Maidaan towards	UNNAO	Regular	116	OBC	DC	30	30	900	32	55	Draw of lot	15	4
839	Marhala Chauraha on SH-58, Within Municipal Limits of Unnao Beween KM stone no. 4 and NH34 - NH35	МАНОВА	Regular	195	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	intersection point on NH-35, Mahoba to Banda Road		-											
840	Between KM stone 60 and 70 on NH-39, LHS while going from Jhansi to Chattarpur	JHANSI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
841	Between KM Stone No. 1491 and 1500 on NH-27, RHS while going from Jhansi to Kanpur	JALAUN	Regular	171	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
842	Binayakpur, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	160	OBC	DC	20	20	400	32	75	Draw of lot	15	4
843	On Kanshiram Colony Road, Between SH38- Kanshiram Colony Road intersection and Unnao Tehsil Main Gate, Within Municipal Limits of Unnao	UNNAO	Regular	102	SC	CFS	20	20	400	0	0	Draw of lot	0	3
844	Between KM stone no. 66 and 72 on NH-34 (Old NH 86)	HAMIRPUR	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
845	Between KM stone no. 340 and 345 on SH- 21, RHS While going from Jalaun to Auraiya	JALAUN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
846	SANIGAWAN (Not on National Highway), Within Municipal limits of Kanpur	KANPUR NAGAR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
	,													

····································	847	Between SH170 - SH71 intersection point and Yamuna River Bridge on SH-71	FATEHPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
Bit Bit <td>848</td> <td>Between KM stone no. 54 and 62 on NH-44,</td> <td>LALITPUR</td> <td>Regular</td> <td>265</td> <td>SC</td> <td>CFS</td> <td>35</td> <td>35</td> <td>1225</td> <td>0</td> <td>0</td> <td>Draw of lot</td> <td>0</td> <td>3</td>	848	Between KM stone no. 54 and 62 on NH-44,	LALITPUR	Regular	265	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
Image: sector	849	Between Ramadevi Chauraha and SAIL Tiraha on service Road of NH-19, LHS while	KANPUR NAGAR	Regular	160	OPEN CC 1	DC	30	30	900	32	75	Draw of lot	15	5
Image Answer of any state in the state in	850	Tiraha, Within Municipal limits of Kanpur Within 1 KM from Nagar Palika Office on	JALAUN	Regular	104	OBC	DC	20	20	400	32	55	Draw of lot	15	4
Image Image Paire Paire <t< td=""><td>851</td><td>(Not On National Highway) Between KM stone no. 80 and 88 on NH-34</td><td>HAMIRPUR</td><td>Regular</td><td>158</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>95</td><td>Draw of lot</td><td>15</td><td>5</td></t<>	851	(Not On National Highway) Between KM stone no. 80 and 88 on NH-34	HAMIRPUR	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
Image: state	852	Between KM Stone no. 1509 and 1518 on	JALAUN	Regular	213	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
NotNormal Normal Normal Normal Normal Normal Normal Normal Normal Normal Normal Normal Normal 	853	Kanpur BETWEEN KM STONE NO. 318 AND 327 on	JALAUN	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
111 <th< td=""><td>854</td><td>JALAUN</td><td>JALAUN</td><td>Regular</td><td>135</td><td>OBC</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>75</td><td>Draw of lot</td><td>15</td><td>4</td></th<>	854	JALAUN	JALAUN	Regular	135	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
Image Market Market Market 	855		JALAUN	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
Image: state of the	856	Kanpur On Road connecting Ait Power House to	JALAUN	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
Math Math Math Math 	857	Within Municipal Limits of Ait BETWEEN KM STONE NO. 52 AND 58 ON NH-34 (OLD NH86), LHS WHILE GOING	KANPUR NAGAR	Regular	310	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
Image: Note: Sector of the	858	HAMIRPUR	JHANSI	Regular	390	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
Network <		NH-27 (Gwalior-Kanpur bye pass road) , LHS while going from Gwalior to Kanpur		-											
IM <td></td> <td>Within Municipal limits of Kanpur</td> <td></td>		Within Municipal limits of Kanpur													
10.11		NH-27 (Gwalior-Kanpur bye pass road) , RHS while going from Gwalior to Kanpur		-									-		
10.1		NH-27, RHS while going from Jhansi to Kanpur		-											
IMMongquants from the sympty constraints of the sympty constraints of sympty		21, LHS While going from Mohana to Orai		-											
Additional elements and modelsAdvanceParkad		Municipal Limit of Rath		-											
Har 2) 168 with garding hand hand handHandberg </td <td></td> <td>Road-LIC road intersection on LIC road, Within Municipal Limits of Fatehpur</td> <td></td>		Road-LIC road intersection on LIC road, Within Municipal Limits of Fatehpur													
III <th< td=""><td>865</td><td>NH-27, LHS while going from Jhansi to</td><td>JALAUN</td><td>Regular</td><td>221</td><td>SC</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td>Draw of lot</td><td>0</td><td>3</td></th<>	865	NH-27, LHS while going from Jhansi to	JALAUN	Regular	221	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
Isinglised Sector WeigIsome and the sector weig<		34 (Old NH 86)		-									Draw of lot		
IMIReteneor Mathemater and Sam Sar AL and MarkerNAMPURRegionNOROPNO<	867	GIRLS HOSTEL VIA KULWANTI HOSPITAL,	KANPUR NAGAR	Regular	185	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
A L45 subjective marker is seried in an interview of the interview o	868	Between KM stone no. 8 and 15 on SH-42,	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
Har2, NES, Wilding or mulantic in the strain of the interminational spectra for mulantic intermination multic intermination	869		LALITPUR	Regular	310	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
B11 Wink 1 and mode Make Larger Layer Mark JALUM Regular 121 OPN DC 15 125 125 125 127 Prover Order 15 15 R17 Between Multic Status mark Mark Mark MAMBPUK Regular 108 OPN C1 DC 15 127 127 127 127 127 Draw of Inter 15 15 15 15 127 128 127 128 127 128 127 128 127 128 127 128 127 128 127 128 127 128 127 128 <td< td=""><td>870</td><td>NH-27, RHS while going from Jhansi to</td><td>JALAUN</td><td>Regular</td><td>171</td><td>SC</td><td>CFS</td><td>35</td><td>35</td><td>1225</td><td>0</td><td>0</td><td>Draw of lot</td><td>0</td><td>3</td></td<>	870	NH-27, RHS while going from Jhansi to	JALAUN	Regular	171	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
Okage Collis of H2, haringur Rath Rod IALAUN Regular IO IO IO IO IO IO IO IO ID ID <thid< th=""> ID <thi< td=""><td>871</td><td>Within 3 km From Bundelkhand Expressway</td><td>JALAUN</td><td>Regular</td><td>121</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>75</td><td>Draw of lot</td><td>15</td><td>5</td></thi<></thid<>	871	Within 3 km From Bundelkhand Expressway	JALAUN	Regular	121	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
Maderigue on SH 20 F	872		HAMIRPUR	Regular	108	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
Interaction point on yill Ay Within Maniford Links of Sameryna (PLP and Makaraan Personer Mark Out Swinger from Oxalian to Makaraan Personer Mark Out Swinger from Oxalian to Makaraan Personer Mark Out Swinger from Oxalian to Makaraan Personer Mark Out Swinger from Personer Mark Out Swinger from Parait Personer Para		Madaripur on SH-130		-											
Image:	874	intersection point on SH134, Within	HAMIRPUR	Regular	110	SC	CFS	30	30	900	0	0	Draw of lot	0	3
Pratap Chow/, With Municipal Lund Pratap Chow/, With Municipal Lund<		(UP142) on NH-44, LHS while going from Gwalior to Jhansi		-									-		
NH-22, RHS while going from Jhansi to NH-22, RHS while going from Jhansi to RHS MarkH-Orai Read, Within Municipal Limits of Rath Municipal Limits of Rath HAMIRPUR Regular 116 OPEN DC 20 400 32 55 Draw of lot 15 5 879 Ford-Marwin Road and Hath-Orai Railwy Within Municipal Limits of Rath JALAUN Regular 100 SC CFS 20 400 0 0 Draw of lot 0 3 880 Within Municipal Limits of Rath JALAUN Regular 110 OBC DC 30 900 32 75 Draw of lot 15 4 880 Within Municipal Limit of Jahanabadon SH- for word forth FATEHPUR Regular 108 OPEN DC 30 900 32 75 Draw of lot 15 5 881 Within 10 km from Interaction of PL forwards Rath on SH-2 (Interpret Rath Regular 108 OPEN DC 35 152 32 75 Draw of lot 15 5 882 Between KM stonen o. 59 and 126 on SH-22 MAMBAB		Pratap Chowk, Within Municipal Limit of Orai													4
878 An Charal bypass foad (foad Connecting Within Municipal Limits of Rath - Name), within Rath - Name),	877	NH-27, RHS while going from Jhansi to	JALAUN	Regular	171	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
879 From Jaiswal Tower to Orai Ballway station, Within Municipal Limit of Orai JALAUN Regular 100 SC CFS 20 400 0 Draw of lot 0 3 880 Within Municipal Limit of Jahanaba on SH- 46 FATEHPUR Regular 110 OBC DC 30 900 32 75 Draw of lot 15 4 841 Within Municipal Limit of Jahanaba on SH-42, Houdelkhand Expression with SH-42, Towards Rath on SH-42, (Haminpur Rath Ragular Regular 108 OPEN DC 35 35 1225 32 75 Draw of lot 15 5 882 Between KM stone no. 69 and 75 on SH-42, Hamipur-Aahn Road HAMIRPUR Regular 108 OPEN DC 35 35 1225 32 75 Draw of lot 15 5 883 Between KM stone no. 69 and 75 on SH-42, Hamipur-Aahn Road HAMIRPUR Regular 171 SC CFS 35 125 32 75 Draw of lot 0 3 35 884 Between KM stone no. 146 and 130 on NH- intersection towards Bangra on SH70 JALAUN Regular <t< td=""><td>878</td><td>On Canal bypass Road (Road Connecting Rath-Panwari Road and Rath-Orai Road),</td><td>HAMIRPUR</td><td>Regular</td><td>116</td><td>OPEN</td><td>DC</td><td>20</td><td>20</td><td>400</td><td>32</td><td>55</td><td>Draw of lot</td><td>15</td><td>5</td></t<>	878	On Canal bypass Road (Road Connecting Rath-Panwari Road and Rath-Orai Road),	HAMIRPUR	Regular	116	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
4646111 <t< td=""><td>879</td><td>From Jaiswal Tower to Orai Railway station,</td><td>JALAUN</td><td>Regular</td><td>100</td><td>SC</td><td>CFS</td><td>20</td><td>20</td><td>400</td><td>0</td><td>0</td><td>Draw of lot</td><td>0</td><td>3</td></t<>	879	From Jaiswal Tower to Orai Railway station,	JALAUN	Regular	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
Bundelkhand Expressional with SH-42 Towards Rath on SH-42 (Hamirpur Rath Road)Cinc <t< td=""><td>880</td><td></td><td>FATEHPUR</td><td>Regular</td><td>110</td><td>OBC</td><td>DC</td><td>30</td><td>30</td><td>900</td><td>32</td><td>75</td><td>Draw of lot</td><td>15</td><td>4</td></t<>	880		FATEHPUR	Regular	110	OBC	DC	30	30	900	32	75	Draw of lot	15	4
B82 Between KM stone no. 69 and 75 on SH-42, Hamirpur-Math Road HAMIRPUR Regular 108 OPEN DC 35 35 1225 32 75 Draw of lot 15 5 883 Between KM stone No. 94 and 104 on NH- 339, Harpalpur-Panwari Road MAHOBA Regular 171 SC CFS 35 125 0 0 Draw of lot 0 3 884 Within 3 KM from Gopalpura Road-SH70 intersection towards Bangra on SH70 JALAUN Regular 275 OBC DC 35 35 1225 32 75 Draw of lot 15 4 885 Between KM stone no. 1521 and 1530 on NH-27, LHS while going from Jhansi to Kanpur JALAUN Regular 160 OPEN DC 35 35 1225 32 95 Draw of lot 15 5 886 Between KM Stone no. 1521 and 1530 on NH-27, LHS while going from Jhansi to Kanpur JALAUN Regular 222 OPEN DC 35 35 1225 32 95 Draw of lot 15 5 <tr< td=""><td>881</td><td>Bundelkhand Expressway with SH-42, Towards Rath on SH-42 (Hamirpur Rath</td><td>HAMIRPUR</td><td>Regular</td><td>108</td><td>OPEN</td><td>DC</td><td>35</td><td>35</td><td>1225</td><td>32</td><td>75</td><td>Draw of lot</td><td>15</td><td>5</td></tr<>	881	Bundelkhand Expressway with SH-42, Towards Rath on SH-42 (Hamirpur Rath	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
339, Harpalpur-Panwari RoadIncl<	882	Between KM stone no. 69 and 75 on SH-42,	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
Intersection towards Bangra on SH70 Index	883	339, Harpalpur-Panwari Road		Regular	171	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
NH-27, LHS while going from Jhansito Incl	884		JALAUN	Regular	275	OBC			35	1225	32		Draw of lot	15	4
886 Between KM Stone no. 1468 and 1474 on NH-27, LIS while going from Jhansi to Kanpur JALAUN Regular 222 OPEN DC 35 35 125 32 95 Draw of lot 15 5 887 SHIVRAJPUR WITHIN MUNICIPAL LIMITS KANPUR NAGAR Regular 155 OBC DC 30 90 32 55 Draw of lot 15 4 888 Between KM stone no. 16 and 32 on NH-39 JHANSI Regular 176 SC CFS 35 125 0 0 Draw of lot 0 3	885	NH-27, LHS while going from Jhansi to	JALAUN	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
887 SHIVRAJPUR WITHIN MUNICIPAL LIMITS KANPUR NAGAR Regular 155 OBC DC 30 30 900 32 55 Draw of lot 15 4 888 Between KM stone no. 16 and 32 on NH-39, JHANSI Regular 176 SC CFS 35 125 0 0 Draw of lot 0 3	886	Between KM Stone no. 1468 and 1474 on NH-27, LHS while going from Jhansi to	JALAUN	Regular	222	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
	887		KANPUR NAGAR	Regular	155	OBC	DC	30	30	900	32	55	Draw of lot	15	4
	888		JHANSI	Regular	176	SC	CFS	35	35	1225	0	0	Draw of lot	0	3

889	Within 10 KM from Sahao Mod towards Auraiya on SH-21, LHS While going from Jalaun to Auraiya	JALAUN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
890	Between Pandheri and Terha on SH-134, Sumerpur-Tindwari-Baberu Road	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
891	NEW Transport Nagar, Panki PHASE-1, Within Municipal Limits of Kanpur	KANPUR NAGAR	Regular	170	OBC	DC	20	20	400	32	75	Draw of lot	15	4
892	Between Elite Crossing and Pahuj River Bridge on Jhansi-Shivpuri Road, Within Municipal Limits of Jhansi	JHANSI	Regular	212	SC	CFS	20	20	400	0	0	Draw of lot	0	3
893	Between KM stone no. 2 and 8 on SH-42, Rath - Hamirpur Road	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
894	Between KM Stone No. 1468 and 1476 on NH-27, RHS while going from Jhansi to Kanpur	JALAUN	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
895	Between KM stone no. 121 and 127 on NH- 44, RHS while going from Jhansi to Sagar	LALITPUR	Regular	362	OBC	CC	35	35	1225	32	12	Bidding	30	4
896	Between MP Border and KM stone no. 1265 (UP142) on NH-44, RHS while going from Gwalior to Jhansi	JHANSI	Regular	545	OPEN	CC	35	35	1225	32	12	Bidding	30	5
897	From Jhalkari Bai Chowk towards Charkhari on MDR 15B, Within Municipal Limits of Mahoba	MAHOBA	Regular	104	SC	CFS	20	20	400	0	0	Draw of lot	0	3
898	Between Shivaji Chowk (Near Jamuna Palace) and Maharana Pratap Chowk ,Within	JALAUN	Regular	203	OBC	DC	20	20	400	32	55	Draw of lot	15	4
899	Municipal Limit of Orai Between KM STONE no. 412 and 420 on NH- 19, RHS while going from BARAJORE TOLL to	KANPUR DEHAT	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
900	AURAIYA Between KM stone no. 383 and 387 on SH- 21, LHS While going from Mohana to Orai	JALAUN	Regular	175	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
901	Between Hathgaon and Chauki Chuaraha on MDR81C, Within Municipal Limit of Hathgaon	FATEHPUR	Regular	110	SC	CFS	20	20	400	0	0	Draw of lot	0	3
902	Between SH170 - Kishunpur Road Intersection and SH170 - Asothar to	FATEHPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
903	Thariyaon Road intersection on SH-170 Between KM stone no. 55 and 60 on SH 42, Hamirpur - Rath Road	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
904	Between Rath Depot Bus Stand and New Galla Mandi, Rath on SH-21, Rath to Panwari	HAMIRPUR	Regular	116	OPEN	DC	30	30	900	32	55	Draw of lot	15	5
905	Road Between KM stone no. 103 and 109 on NH- 44, RHS while going from Jhansi to Sagar	LALITPUR	Regular	362	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
906	Between KM stone no. 1387 and 1390 on NH-27 (Gwalior-Kanpur bye pass road) , RHS	JHANSI	Regular	400	OBC	CC	35	35	1225	32	12	Bidding	30	4
907	while going from Gwalior to Kanpur Between KM stone no. 65 and 73 on NH-39, RHS while going from Jhansi to Chattarpur	JHANSI	Regular	176	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
908	Within 7 KMs from Panwari Tigaila Tiraha while going from Panwari to Rath on SH21	МАНОВА	Regular	152	OPEN CC 2	DC	35	35	1225	32	75	Draw of lot	15	5
909	Between KM stone no. 63 and 75 on SH-46, Chaudagra -Jahanabad Road	FATEHPUR	Regular	110	OBC CC 1	DC	35	35	1225	32	75	Draw of lot	15	4
910	Between KM stone no. 46 and 57 on NH-39, RHS while going from Jhansi to Chattarpur	JHANSI	Regular	176	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
911	Between KM stone no. 5 and 15 on SH-91, LHS while going from Hamirpur to Jolhupur	HAMIRPUR	Regular	109	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
912	Between Rani Laxmibai Tiraha and Kalpi Chauraha, Within Municipal Limits of Hamirpur	HAMIRPUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
913	Between KM stone No. 104 and 114 on NH- 339, Harpalpur-Panwari Road	MAHOBA	Regular	171	OBC	CC	35	35	1225	32	12	Bidding	30	4
914	Between KM Stone No. 403 and 413 on NH- 19, LHS while going from Barajore Toll to Auraiya	KANPUR DEHAT	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
915	Between New Galla Mandi, Rath and Girwar Bus Stand on SH-21, RHS while going from Rath to Panwari	HAMIRPUR	Regular	116	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
916	Between KM stone no. 15 and 25 on SH-42, Hamirpur - Rath Road	HAMIRPUR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
917	Between KM stone no. 34 and 42 on NH44, LHS while going from Jhansi to Lalitpur	JHANSI	Regular	267	OBC	CC	35	35	1225	32	12	Bidding	30	4
918	BETWEEN KM STONE NO. 318 AND 322 ON SH-21, RHS While going from AURAIYA TO	JALAUN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
919	JALAUN Between KM stone no. 45 and 60 on NH-44, LHS while going from Jhansi to Sagar	LALITPUR	Regular	335	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
920	ON IIM ROAD, BETWEEN IIM TIRAHA AND DUBAGGA CHAURAHA, WITHIN MUNICIPAL LIMITS, LUCKNOW	LUCKNOW	REGULAR	186	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
921	ON IIM ROAD, BETWEEN BHITAULI TIRAHA AND IIM TIRAHA, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	186	OBC	DC	20	20	400	32	75	Draw of lot	15	4
922	OF LUCKNOW BETWEEN KM STONE 120 AND 130 ON SH- 13, BARABANKI TO HAIDERGARH ROAD	BARABANKI	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
923	VRINDAVAN YOJANA, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	350	SC	CFS	20	20	400	0	0	Draw of lot	0	3
924	SUSHANT GOLF CITY ,WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	250	OBC	СС	20	20	400	32	12	BIDDING	30	4
925	BETWEEN KM STONE 12 AND 15 ON RHS OF NH-30 WHILE GOING FROM LUCKNOW TO RAEBARELI WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	160	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
926	WITHIN 2 KMS ON GHAILA ROAD FROM INTERSECTION OF IIM ROAD AND GHAILA ROAD	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
927	WITHIN 2 KMS ON SERVICE ROAD OF LUCKNOW-AGRA EXPRESSWAY FROM MOHAN ROAD INTERSECTION	LUCKNOW	REGULAR	150	OBC	DC	30	30	900	32	75	Draw of lot	15	4
928	BETWEEN KM STONE 15 TO 20 ON RHS OF NH-30 WHILE GOING FROM LUCKNOW TO RAEBARELI	LUCKNOW	REGULAR	200	SC	CFS	30	30	900	0	0	Draw of lot	0	3
929	NAEBARELI ON EITHER SIDE OF SERVICE ROAD OF SHAHEED PATH BETWEEN KANPUR ROAD AND RAEBRAELI ROAD.	LUCKNOW	REGULAR	380	OPEN	СС	30	30	900	32	12	BIDDING	30	5
930	WITHIN 2 KMS FROM PAKKA PULL (HARDINGE BRIDGE) ON KURIYA GHAT	LUCKNOW	REGULAR	250	OPEN	CC	20	20	400	32	12	BIDDING	30	5
	ROAD , LUCKNOW	I	1		1				I		1			I

931	BETWEEN PARIVARTAN CHOUK AND DM BUNGLOW ON RANI LAXMI BAI MARG	LUCKNOW	REGULAR	215	OBC	DC	20	20	400	32	75	Draw of lot	15	4
932	LUCKNOW EVERREADY CHOURAHA TO BALAJI MANDIR ON TALKATORA ROAD	LUCKNOW	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of lot	0	3
933	WITHIN 1 KM ON EITHER SIDE OF SHAHEED PATH ON BIJNOR ROAD.	LUCKNOW	REGULAR	255	OPEN	CC	30	30	900	32	12	BIDDING	30	5
934	BETWEEN KM STONE NO 7 AND 18 ON LHS OF NH-27, WHILE MOVING FROM LUCKNOW TO AYODHYA.	LUCKNOW	REGULAR	150	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
935	FROM SEVAI RAILWAY CROSSING ON NILMATHA TO NAGRAM ROAD, WITHIN	LUCKNOW	REGULAR	175		DC	20	20	400	32	75	Draw of lot	15	4
936	MUNICIPAL LIMITS OF LUCKNOW MANSAROVER YOJANA, WITHIN MUNICIPAL LIMIT LUCKNOW	LUCKNOW	REGULAR	180	OBC PH	CFS	20	20	400	0	0	Draw of lot	0	3
937	TRANSPORT NAGAR (NOT ON NATIONAL HIGHWAY), LUCKNOW	LUCKNOW	REGULAR	250	SC PH OPEN	DC	20	20	400	32	75	Draw of lot	15	5
938	WITHIN 03 KMS ON EITHER SIDE OF GATE NO. 2, POLICE HQ SIGNATURE BUILDING	LUCKNOW	REGULAR	300	OPEN	СС	20	20	400	32	12	BIDDING	30	5
939	WITHIN 04 KM FROM MAIN GATE OF BILGRAM TEHSIL OFFICE TOWARDS HARDOI ON NH-330D	HARDOI	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
940	BETWEEN GULACHEEN MANDIR & TEDHIPULIA CHAURAHA ON KURSI ROAD, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	220	OPEN	СС	20	20	400	32	12	BIDDING	30	5
941	ON PARA ROAD, WITHIN 4 KMS FROM INTERSECTION OF PARA ROAD WITH LUCKNOW KANPUR ROAD	LUCKNOW	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of lot	0	3
942	FROM DEVA ROAD INTERSECTION ON TAKROHI ROAD VIA NAUBASTA KALAN, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
943	BETWEEN KM STONE 447 AND 430 ON RHS TOWARDS SITAPUR WHILE GOING FROM	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
944	LUCKNOW ON NH-30 ON SERVICE LANE OF OUTER RING ROAD, WITHIN 2 KM FROM KANPUR ROAD	LUCKNOW	REGULAR	180	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
945	INTERSECTION ON EITHER SIDE JANKIPURAM, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	155	SC	CFS	20	20	400	0	0	Draw of lot	0	3
946	BETWEEN KM STONE 54 AND 60 ON NH- 727H ,BISWAN TO MAHMUDABAD ROAD	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
947	WITHIN 3 KMS FROM PARA POLICE BOOTH ON PARA ROAD	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
948	CHINHAT TIRAHA ON FAIZABAD ROAD TO HEINEMANN CHAURAHA VIA KATHAUTA CHAURAHA, GOMTINAGAR, LUCKNOW	LUCKNOW	REGULAR	280	OPEN CC 1	DC	20	20	400	32	75	Draw of lot	15	5
949	BETWEEN KM STONE 60 AND 65 ON NH- 727H,BISWAN TO MAHUMUDABAD ROAD	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
950	BETWEEN KM STONE 10 AND 14 OF NH-27 WHILE GOING FROM LUCKNOW TO KANPUR	LUCKNOW	REGULAR	210	SC	CFS	30	30	900	0	0	Draw of lot	0	3
951	VISHESH KHAND ON SERVICE ROAD OF SHAHEED PATH GOMTINAGAR LUCKNOW	LUCKNOW	REGULAR	300	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
952	BETWEEN TEDHIPULIA CHAURAHA TO KM STONE 11 ON KURSI ROAD	LUCKNOW	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
953	BETWEEN KM STONE 167 AND 172 ON NH- 330 ,GONDA TO AYODHYA ROAD	GONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
954	BETWEEN KM STONE 14 AND 17 ON LHS OF NH-27 WHILE GOING FROM LUCKNOW TO KANPUR	LUCKNOW	REGULAR	210	SC	CFS	30	30	900	0	0	Draw of lot	0	3
955	HAZARTGANJ CHAURAHA TO CHARBAGH METRO STATION	LUCKNOW	REGULAR	215	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
956	ON DEWA ROAD FROM MATIYARI CHAURAHA TOWARDS DEWA WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	220	OPEN	СС	20	20	400	32	12	BIDDING	30	5
957	WITHIN 2 KMS FROM MADIYAON POLICE STATION, NOT ON NH, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	200	OPEN	CC	20	20	400	32	12	BIDDING	30	5
958	ON SERVICE LANE OF OUTER RING ROAD, WITHIN 2 KM FROM KALLI PASCHIM MAIN ROAD	LUCKNOW	REGULAR	150	OBC CC 1	DC	30	30	900	32	75	Draw of lot	15	4
959	AWADH VIHAR YOJANA, WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	230	SC CC 1	CFS	20	20	400	Ō	Ō	Draw of lot	0	3
960	BETWEEN KM STONE NO.46 AND 50 ON SH- 26 A (NANPARA -SHANKARPUR- LALPUR- FATUHAPUR -HUZURPUR MARG)	SHRAVASTI	REGULAR	107	OPEN PH	DC	35	35	1225	32	75	Draw of lot	15	5
961	BETWEEN KM STONE 65 AND 71 ON NH- 727H ,BISWAN TO MAHUMUDABAD ROAD	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
962	GOMTINAGAR EXTENSION (IN ANY SECTOR) ,LUCKNOW	LUCKNOW	REGULAR	300	OPEN	CC	20	20	400	32	12	BIDDING	30	5
963	ON SERVICE ROAD OF SHAHEED PATH, BETWEEN RAEBARELI ROAD AND SULTANPUR ROAD	LUCKNOW	REGULAR	180	SC	CFS	30	30	900	0	0	Draw of lot	0	3
964	WITHIN 2 KMS FROM HCL GATE NO. 2 TOWARDS IT CITY AMRAWATI	LUCKNOW	REGULAR	170	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
965	BETWEEN KM STONE 155 AND 159 ON NH- 730 ,LAKHIMPUR TO BAHRAICH ROAD	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
966	BETWEEN KM STONE NO 7 AND 18 ON RHS OF NH-27, WHILE MOVING FROM LUCKNOW TO AYODHYA.	LUCKNOW	REGULAR	150	OPEN	DC	30	30	900	32	75	Draw of lot	15	5
967	WITHIN MUNICIPAL LIMITS OF HARDOI NOT ON NATIONAL HIGHWAY	HARDOI	REGULAR	185	OPEN	СС	20	20	400	32	12	BIDDING	30	5
968	BETWEEN KM STONE 14 AND 17 ON RHS OF NH-27 WHILE GOING FROM LUCKNOW TO KANPUR	LUCKNOW	REGULAR	170	SC	CFS	30	30	900	0	0	Draw of lot	0	3
969	WITHIN 04 KM FROM SEMRA CHOURAHA TOWARDS BILGRAM ON NH-330D	HARDOI	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
970	WITHIN MUNICIPAL LIMITS OF GOPAMAU	HARDOI	REGULAR	110	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
971	FROM MADIYAON POLICE STATION ON NH30 TOWARDS SITAPUR WITHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	158	OPEN CC 1	DC	30	30	900	32	75	Draw of lot	15	5
972	NATKUR, WHIN MUNICIPAL LIMITS OF LUCKNOW	LUCKNOW	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lot	0	3

973	BETWEEN KM STONE 114 AND 124, NH-30 .RAEBARELI TO PRAYAGRAJ ROAD	RAEBARELI	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
974	ON ASTI ROAD , WITHIN BAKSHI KA TALAB NAGAR PANCHAYAT LIMITS	LUCKNOW	REGULAR	110	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
975	FROM CIVIL LINES CHAURAHA TOWARDS PARSADEPUR ROAD, WITHIN MUNICIPAL	RAEBARELI	REGULAR	175	OPEN	CC	20	20	400	32	12	BIDDING	30	5
976	LIMITS OF RAEBARELI BETWEEN KM STONE 37 AND 47 ON LHS OF NH-27, WHILE GOING FROM LUCKNOW TO	BARABANKI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
977	AYODHYA BETWEEN MAIN GATE OF TEHSIL NAWABGANJ AND NEW BARABANKI BUS	BARABANKI	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of lot	0	3
978	STAND ON OLD FAIZABAD ROAD WITHIN MUNICIPAL LIMITS OF KACHAUNA PATSHANI, NOT ON NATIONAL HIGHWAY	HARDOI	REGULAR	175	OPEN	CC	20	20	400	32	12	BIDDING	30	5
979	BETWEEN JAHANABAD POLICE STATION AND RAEBARELI BUS STAND , WITHIN	RAEBARELI	REGULAR	180	OPEN	СС	20	20	400	32	12	BIDDING	30	5
980	MUNICIPAL LIMITS OF RAEBARELI IN BETWEEN KM STONE NO 26 AND 34 ON SH-09 ,MANKAPUR TO UTRAULA ROAD	GONDA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
981	WITHIN MUNICIPAL LIMITS OF BISWAN ON SH 30B ,BAHRAICH TO SITAPUR ROAD	SITAPUR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
982	WITHIN MUNICIPAL LIMITS OF SANDI	HARDOI	REGULAR	115	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
983	WITHIN MUNICIPAL LIMITS OF DALMAU NOT ON NATIONAL HIGHWAY AND STATE	RAEBARELI	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
984	HIGHWAY BETWEEN KM STONE NO 1 AND 20 ON SH- 135	SITAPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
985	FROM MAIN GATE OF TEHSIL NAWABGANJ TOWARDS NH-27 ON ASAINI ROAD, WITHIN	BARABANKI	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lot	0	3
986	BARABANKI MUNICIPAL LIMITS WITHIN MUNICIPAL LIMITS OF SANDILA ,NOT ON NATIONAL HIGHWAY	HARDOI	REGULAR	115	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
987	BETWEEN KM STONE NO. 76 AND 86 ON SH139,SIDHAULI MAHMUDABAD ROAD	SITAPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
988	BETWEEN KM STONE 108 AND 118 ON NH- 31, RAEBARELI TO PRATAPGARH ROAD	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
989	BETWEEN KM STONE 118 AND 128 ON NH- 31, RAEBARELI TO PRATAPGARH ROAD	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
990	BETWEEN CIVIL LINE CHAURAHA AND DARIYAPUR CHAURAHA, WITHIN MUNICIPAL LIMITS OF RAEBARELI, NOT ON NATIONAL	RAEBARELI	REGULAR	170	SC	CFS	20	20	400	0	0	Draw of lot	0	3
991	AND STATE HIGHWAY BETWEEN MAIN GATE OF AIIMS AT RAEBARELI AND MORAI KA BAGH	RAEBARELI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
992	CHOURAHA ON SH-13A BETWEEN KM STONE 96 AND 102 ON NH- 727H ,LAHARPUR TO BISWAN ROAD	SITAPUR	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
993	BETWEEN VARUN BEVERAGES LIMITED SANDILA AND SANDILA CHAURAHA ON NH-	HARDOI	REGULAR	250	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
994	731 BAHRAICH ,WITHIN MUNICIPAL LIMITS, NOT ON NATIONAL AND STATE HIGHWAY	BAHRAICH	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
995	BETWEEN KM STONE 19 AND 22 ON SH-127 ,RAMNAGAR TO BHELSAR ROAD	BARABANKI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
996	BETWEEN MANGO PACK HOUSE TO MALIHABAD CHAURAHA ON NH-731	LUCKNOW	REGULAR	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
997	BETWEEN MAIN GATE OF BAKSHI KA TALAAB TEHSIL OFFICE AND JUNCTION OF NH-30 AND OUTER RING ROAD, LUCKNOW	LUCKNOW	REGULAR	105	OPEN CC 1	DC	20	20	400	32	55	Draw of lot	15	5
998	BETWEEN KM STONE NO. 53 AND 55 ON SH172,KURSI MAHMUDABAD ROAD	SITAPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
999	DARIYABAD, WITHIN MUNICIPAL LIMITS OF BARABANKI ,NOT ON NATIONAL AND STATE HIGHWAY	BARABANKI	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1000	BETWEEN KM STONE 196 AND 203 ON LHS OF NH-731 WHILE GOING FROM LUCKNOW	LUCKNOW	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1001	TO SULTANPUR BETWEEN KM STONE 194 AND 204 ON LHS OF OLD SH1A (NOW NH-330B), TOWARDS LUCKNOW ON GONDA TO LUCKNOW ROAD	GONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1002	BETWEEN KM STONE NO. 11 AND 20 ON SH 13A , HAIDERGARH TO MAHARAJGANJ ROAD	RAEBARELI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1003	MIHINPURWA, WITHIN MUNICIPAL LIMITS, NOT ON NATIONAL AND STATE HIGHWAY	BAHRAICH	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1004	BETWEEN KM STONE 38 AND 47 ON RHS OF NH-27, WHILE GOING FROM LUCKNOW TO	BARABANKI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1005	AYODHYA ROAD BETWEEN DUBAGGA CHAURAHA TO MANGO PACK HOUSE MAIN GATE ON NH- 721	LUCKNOW	REGULAR	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1006	731 BETWEEN STONE 25-41 ON SH-38, LALGANJ TO UNCHAHAR ROAD	RAEBARELI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1007	WITHIN 10 KM FROM MAIN GATE OF SINGHANIA EDUCATIONAL INSTITUTE ON LHS TOWARDS SHAHJAHANPUR ON NH-30	SITAPUR	REGULAR	250	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1008	PARSADEPUR WITHIN MUNICIPAL LIMITS OF RAEBARELI ON PARSADEPUR TO AMETHI	RAEBARELI	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	Draw of lot	0	3
1009	ROAD SUBEHA WITHIN MUNICIPAL LIMITS OF SUBEHA NAGAR PANCHAYAT	BARABANKI	REGULAR	110	OPEN CC 2	DC	20	20	400	32	55	Draw of lot	15	5
1010	BACHRAWAN ,WITHIN MUNICIPAL LIMITS TOWARDS BACHRAWAN TO MAHARAJGANJ	RAEBARELI	REGULAR	100	OBC CC 1	DC	20	20	400	32	55	Draw of lot	15	4
1011	ROAD BETWEEN MALIHABAD CHAURAHA AND RAHIMABAD CHAURAHA ON NH731	LUCKNOW	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1012	SITAPUR (WITHIN MUNICIPAL LIMITS) NOT ON NH/SH	SITAPUR	REGULAR	135	SC	CFS	20	20	400	0	0	Draw of lot	0	3
	si anyan			l	l									

1013	WITHIN 3 KMS OF DEGREE COLLEGE CHAURAHA, WITH IN MUNICIPAL LIMITS OF RAEBARELI, NOT ON NATIONAL AND STATE HIGHWAY	RAEBARELI	REGULAR	180	OBC	сс	20	20	400	32	12	BIDDING	30	4
1014	BETWEEN KM STONE 133 AND 145 ON NH- 31, RAEBARELI TO PRATAPGARH ROAD	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1015	BETWEEN KM STONE NO 11 AND 20 ON NH- 330D , SITAPUR TO HARDOI ROAD	SITAPUR	REGULAR	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1016	WITHIN 3 KMS OF LALGANJ BLOCK DEVELOPMENT OFFICE MAIN GATE,WITHIN MUNICIPAL LIMITS OF LALGANJ	RAEBARELI	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
1017	WITHIN MUNICIPAL LIMITS OF LAGANS NOT ON NATIONAL AND STATE HIGHWAY	SITAPUR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1018	BETWEEN KM STONE 44 AND 53 ON RHS OF NH 30 (OLD NH 24B) WHILE GOING FROM	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1019	LUCKNOW TO RAEBARELI BETWEEN KM STONE 464 AND 470 ON NH- 30 ,LUCKNOW TO SITAPUR ROAD	LUCKNOW	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1020	WITHIN MUNICIPAL LIMITS OF MAHMUDABAD NOT ON NATIONAL AND	SITAPUR	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of lot	15	4
1021	STATE HIGHWAY KHAIRABAD ,WITHIN MUNICIPAL LIMITS, NOT ON NATIONAL AND STATE HIGHWAY	SITAPUR	REGULAR	135	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1022	BETWEEN KM STONE 71 AND 81 ON NH-31, RAEBARELI TO LALGANJ ROAD	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1023	PIHANI, WITHIN MUNICIPAL LIMITS	HARDOI	REGULAR	115	OPEN CC 1	DC	20	20	400	32	55	Draw of lot	15	5
1024	BETWEEN KM STONE 128 AND 135 ON NH- 31, RAEBARELI TO PRATAPGARH ROAD	RAEBARELI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1025	BETWEEN KM STONE 364 AND 374 ON NH- 730, BALRAMPUR TO BARHNI ROAD	BALRAMPUR	REGULAR	154	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1026	WITHIN 04 KMS FROM MAIN GATE OF SRI NARAYAN SINGH MAHAVIDYALAY KAKARGHATA , SHAHBAD WHILE MOVING TOWARDS HARDOI ON NH-731	HARDOI	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1027	BETWEEN KM STONE NO 464 AND 453 ON LHS OF NH-30 WHILE GOING FROM	SITAPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1028	LUCKNOW TO SITAPUR BETWEEN KM STONE 374 TO 384 ON NH 730 ,BALRAMPUR TO BARHNI ROAD	BALRAMPUR	REGULAR	153	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1029	BETWEEN KM STONE 1 AND 9 ON NH-927, BARABANKI TO BAHRAICH ROAD	BARABANKI	REGULAR	250	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1030	BETWEEN KM STONE NO 195 AND 210 ON RHS OF OF OLD SH1A (NOW NH330B), WHILE GOING FROM GONDA TO LUCKNOW	GONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1031	BETWEEN KM STONE NO. 10 AND 20 ON NH 931A WHILE GOING FROM SALON TO JAIS	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1032	BETWEEN KM STONE NO 205 AND 215 ON LHS OF OLD SH1A (NOW NH330B), WHILE	GONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1033	GOING FROM GONDA TO LUCKNOW WITHIN 4 KMS ON EITHER SIDE OF MAIN GATE OF DR. BHIM RAO AMBEDKAR	HARDOI	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1034	BHAVAN AT BHARAYAL ON NH 330D BETWEEN KM STONE 100 AND 112 ON NH 927 BAHRAICH TO NANPARA ROAD	GONDA	REGULAR	150	(C)))	CFS	35	35	1225	0	0	Draw of lot	0	3
1035	BETWEEN KM STONE 145 AND 152 ON NH 927 BAHRAICH TO NANPARA ROAD	BAHRAICH	REGULAR	150	SC PH OBC PH	DC	35	35	1225	32	95	Draw of lot	15	4
1036	WITHIN 03 KMS ON EITHER SIDE FROM MAIN GATE OF BALAJI INDANE AGENCY AT PACHKOHRA, ON NH 731 LUCKNOW TO	HARDOI	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1037	HARDOI ROAD WITHIN 4 KMS ON EITHER SIDE FROM MADHYAMIK VIDYALAYA AT NIHASTHA ON NH-31(OLD SH38), LALGANJ TO SEMRI	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1038	ROAD BETWEEN KM STONE 28 AND 38 ON NH727G, DARJIKUWA TO BABHNAN ROAD	GONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1039	BETWEEN KM STONE 43 AND 48 ON NH727G, DARJIKUWA TO BABHNAN ROAD	GONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1040	WITHIN 4 KMS ON EITHER SIDE FROM MAIN GATE OF SJS SCHOOL ON NH-31(OLD SH38) ,	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1041	LALGANJ TO SEMRI ROAD BETWEEN KM STONE 92 AND 100 ON NH- 335, LALGANJ TO FATEHPUR ROAD	RAEBARELI	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1042	BETWEEN KM STONE 2 AND 11 ON NH- 330D , SITAPUR TO HARDOI ROAD	SITAPUR	REGULAR	153	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1043	BETWEEN KM STONE 20 AND 28 ON NH- 330D, SITAPUR-HARDOI ROAD	SITAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1044	BETWEEN KM STONE 220 AND 231 ON LHS OF OLD SH1A (NOW NH330B), WHILE CONSC FROM CONDA TO LUCKNOW	BAHRAICH	REGULAR	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1045	GOING FROM GONDA TO LUCKNOW BETWEEN KM STONE 108 AND 114 ON NH- 30, LUCKNOW TO PRYAGRAJ ROAD.	RAEBARELI	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1046	BETWEEN KM STONE 196 AND 210 ON RHS OF NH-731 WHILE GOING FROM LUCKNOW	LUCKNOW	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1047	TO SULTANPUR ON CANAL ROAD (NH-31), FROM DEGREE COLLEGE CHAURAHA TO RAJGHAT,	RAEBARELI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1048	RAEBARELI WITHIN 05 KMS FROM MAIN GATE OF RN INTERCOLLEGE MADHIYA JAFARPUR	HARDOI	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1049	TOWARDS KANNAUJ ON NH-330D BETWEEN KM STONE 166 AND 176 ON RHS OF NH 731 WHILE GOING FROM	BARABANKI	REGULAR	250	OPEN CC 1	СС	35	35	1225	32	12	BIDDING	30	5
1050	SULTANPUR TO LUCKNOW BETWEEN KM STONE 179 AND 195 ON LHS OF NH-731 WHILE GOING FROM LUCKNOW	BARABANKI	REGULAR	180	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1051	TO SULTANPUR BETWEEN KM STONE 216 AND 226 ON NH	BAHRAICH	REGULAR	250	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1052	730 ,BAHRAICH TO LAKHIMPUR ROAD BETWEEN KM STONE 210 AND 217 ON LHS	LUCKNOW	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	OF NH-731 WHILE GOING FROM LUCKNOW TO SULTANPUR													

1053	BETWEEN KM STONE 44 AND 55 LHS ON OF NH 30 (OLD NH 24B) WHILE GOING FROM	RAEBARELI	REGULAR	250	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
1054	LUCKNOW TO RAEBARELI BETWEEN KM STONE 280 AND 287 ON NH 730 ,BAHRAICH BALRAMPUR ROAD	SHRAVASTI	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1055	BETWEEN KM STONE 73 AND 83 ON RHS OF NH 30 (OLD NH 24B) WHILE GOING FROM LUCKNOW TO RAEBARELI	RAEBARELI	REGULAR	250	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1056	BETWEEN KM STONE 77 AND 83 ON LHS OF NH 30 (OLD NH 24B) WHILE GOING FROM	RAEBARELI	REGULAR	250	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1057	LUCKNOW TO RAEBARELI BETWEEN KM STONE 297 AND 307 ON NH 730,BAHRAICH TO BALRAMPUR ROAD	SHRAVASTI	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1058	BETWEEN KM STONE 81 AND 91, ON NH-31, RAEBARELI TO LALGANJ ROAD	RAEBARELI	REGULAR	155	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
1059	BETWEEN KM STONE 60 AND 67 ON RHS OF NH-27, WHILE GOING FROM LUCKNOW TO	BARABANKI	REGULAR	250	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1060	AYODHYA BETWEEN KM STONE 210 AND 220 ON RHS OF OF OLD SH1A (NOW NH330B), WHILE GOING FROM GONDA TO LUCKNOW ROAD	GONDA	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	Draw of lot	15	5
1061	BETWEEN KM STONE 139 AND 143 ON NH- 27 ,LUCKNOW TO GORAKHPUR ROAD	GONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1062	BETWEEN KM STONE 26 AND 36 ON LHS OF NH-27, WHILE GOING FROM LUCKNOW TO	BARABANKI	REGULAR	250	OBC	CC	35	35	1225	32	12	BIDDING	30	4
1063	AYODHYA BETWEEN KM STONE 21 AND 30 ON NH927, BARABANKI TO BAHRAICH ROAD	BARABANKI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1064	BETWEEN KM STONE 462 AND 447 ON RHS OF NH-30 WHILE GOING FROM LUCKNOW TO SITAPUR	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1065	BETWEEN KM STONE NO 54 TO 60 ON RHS OF NH-27, WHILE GOING FROM LUCKNOW TO AYODHYA	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1066	BETWEEN ATRAULI CHOURAHA AND JUNIOR HIGH SCHOOL BHATPUR, ON SH-137 ,MENDIGAAT - SANDILA-BHATPUR ROAD	HARDOI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1067	WITHIN MUNICIPAL LIMITS OF MALLAWAN ON STATE HIGHWAY	HARDOI	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1068	BETWEEN KM STONE NO. 42 AND 54 ON SH30B ,BAHRAICH TO SITAPUR ROAD	SITAPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1069	BETWEEN KM STONE 30 AND 34 ON NH927, BARABANKI TO BAHRAICH ROAD	BARABANKI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1070	WITHIN 08 KMS FROM BAGHAULI CHAURAHA WHILE MOVING TOWARDS	HARDOI	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1071	SANDILA ON NH-731 BETWEEN KM STONE NO. 146 AND 154 ON SH 13, HAIDERGARH TO BACHRAWAN ROAD	BARABANKI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1072	WITHIN 04 KMS FROM SANDILA CHAURAHA WHILE MOVING TOWARDS LUCKNOW ON NH-731	HARDOI	REGULAR	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1073	WITF/31 WITHIN 04KMS ON RHS OF NH-731 FROM MAIN GATE OF BEHTA GOKUL POLICE STATION WHILE GOING TOWARDS HARDOI ON NH731	HARDOI	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1074	WITHIN 04 KMS FROM SURSA TIRAHA TOWARDS HARDOI ON NH-330D	HARDOI	REGULAR	155	SC	CFS	35	35	1225	Ō	0	Draw of lot	0	3
1075	BETWEEN KM STONE NO. 33 AND 42 ON SH30B ,BAHRAICH TO SITAPUR ROAD	SITAPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1076	WITHIN 10 KMS FROM MAIN GATE OF MAHOLI TEHSIL OFFICE ON LHS TOWARDS LUCKNOW , ON NH-30	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1077	BETWEEN KM STONE NO. 78 AND 88 ON LHS OF SH-21, WHILE GOING FROM	SITAPUR	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1078	HARGAON TO SITAPUR BETWEEN KM STONE NO. 88 AND 98 ON LHS OF SH-21,WHILE MOVING FROM	SITAPUR	REGULAR	105	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1079	HARGAON TO SITAPUR WITHIN 10 KM FROM MAIN GATE OF MAHOLI TEHSIL OFFICE ON LHS TOWARDS	SITAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1080	SHAHJAHANPUR, ON NH-30 WITHIN 10 KM FROM MAIN GATE OF MAHOLI TEHSIL OFFICE ON RHS TOWARDS	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1081	LUCKNOW , ON NH-30 WITHIN 10 KMS FROM COLONELGANJ TIRAHA ON COLONELGANJ TO BAHRAICH ROAD ON SH - 155 TOWARDS HUZOORPUR	GONDA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1082	BETWEEN KM STONE 18 AND 21 ON KURSI ROAD, SH172	BARABANKI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1083	WITHIN 10 KM FROM MAIN GATE OF MAHOLI TEHSIL OFFICE ON RHS TOWARDS	SITAPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1084	SHAHJAHANPUR, ON NH-30 BETWEEN KM STONE 437 AND 425 ON LHS OF NH-30 WHILE GOING FROM LUCKNOW TO SITAPUR	SITAPUR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1085	WITHIN 6 KMS ON EITHER SIDE FROM MAIN GATE OF ALL INDIA RADIO STATION , RAEBARELI ON NH 330A (RAEBARELI TO AYODHYA ROAD)	RAEBARELI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1086	AYODHYA ROAD) BETWEEN KM STONE 354 AND 364 ON NH 730, BALRAMPUR TO BARHNI ROAD	BALRAMPUR	REGULAR	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1087	BETWEEN KM STONE 80 AND 83, WHILE GOING FROM BEHTA TO MATI ON	BARABANKI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1088	LUCKNOW SITAPUR OUTER RING ROAD BETWEEN KM STONE 85 AND 89, WHILE GOING FROM BEHTA TO MATI ON	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1089	LUCKNOW SITAPUR OUTER RING ROAD BETWEEN KM STONE NO 50 AND 63 ON NH- 927 (BARABNKI-BAHRAICH-RUPAIDIAH ROAD)	BAHRAICH	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1090	BETWEEN KM STONE 190 AND 196 ON NH730 ,BAHRAICH TO LAKHIMPUR ROAD	BAHRAICH	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1091	BETWEEN KM STONE 112 AND 125 ON NH927, BAHRAICH TO RUPAIDIHA ROAD	BAHRAICH	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4

1092	BETWEEN KM STONE 125 AND 135 ON NH 927 ,BAHRAICH TO RUPAIDIHA ROAD	BAHRAICH	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1093	, BETWEEN KM STONE 135 AND 145 ON NH 927 ,BAHRAICH TO RUPAIDIHA ROAD	BAHRAICH	REGULAR	250	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
1094	BETWEEN KM STONE 220 AND 231 ON RHS OF OLD SH1A (NOW NH330B), WHILE	GONDA	REGULAR	250	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1095	GOING FROM GONDA TO LUCKNOW BETWEEN KM STONE 166 AND 176 LHS ON NH 731 , LUCKNOW TO SULTANPUR ROAD	BARABANKI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1096	BETWEEN KM STONE 17 AND 25 ON NH727H , FATEHPUR TO DEWA ROAD	BARABANKI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1097	BETWEEN KM STONE 179 AND 195 ON RHS OF NH-731 WHILE GOING FROM LUCKNOW	BARABANKI	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1098	TO SULTANPUR BETWEEN KM STONE 196 AND 206 ON NH 730 BAHRAICH TO LAKHIMPUR ROAD	BAHRAICH	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1099	BETWEEN KM STONE 206 AND 216 ON NH 730 BAHRAICH TO LAKHIMPUR ROAD	BAHRAICH	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1100	BETWEEN KM STONE 210 AND 217 ON RHS OF NH-731 WHILE GOING FROM LUCKNOW	LUCKNOW	REGULAR	210	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1101	TO SULTANPUR BETWEEN KM STONE 22 AND 25 ON LHS OF NH-27 WHILE GOING FROM LUCKNOW TO	LUCKNOW	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1102	KANPUR BETWEEN KM STONE 344 AND 354 ON NH 730, BALRAMPUR TO BARHNI ROAD	BALRAMPUR	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1103	BETWEEN KM STONE 38 AND 41 ON RHS OF NH-30 WHILE GOING FROM LUCKNOW TO	LUCKNOW	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1104	RAEBARELI BETWEEN KM STONE 48 AND 58 ON NH727G ,DARJIKUWA TO BABHNAN ROAD	GONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1105	BETWEEN KM STONE 55 AND 65 ON LHS OF NH 30 (OLD NH 24B) WHILE GOING FROM	RAEBARELI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1106	LUCKNOW TO RAEBARELI BETWEEN KM STONE 65 AND 77 ON LHS OF NH 30 (OLD NH 24B) WHILE GOING FROM	RAEBARELI	REGULAR	250	OBC	СС	35	35	1225	32	12	BIDDING	30	4
1107	LUCKNOW TO RAEBARELI ON APPROACH ROAD OF CHAUDHARY CHARAN SINGH INTERNATIONAL AIRPORT, BETWEEN AIRPORT AND NH 27 (LUCKNOW - KANPUR HIGHWAY)	LUCKNOW	REGULAR	350	OPEN	CC	30	30	900	32	12	BIDDING	30	5
1108	BETWEEN KM STONE 83 AND 98 ON NH-30, RAEBARELI TO PRAYAGRAJ ROAD.	RAEBARELI	REGULAR	185	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
1109	BETWEEN KM STONE 99 AND 106 ON NH- 30, RAEBARELI TO PRAYAGRAJ ROAD.	RAEBARELI	REGULAR	250	OBC CC 1	CC	35	35	1225	32	12	BIDDING	30	4
1110	BETWEEN KM STONE NO 146 AND 156 ON NH-330 ,GONDA TO AYODHYA ROAD	GONDA	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1111	BETWEEN KM STONE 156 AND 166 ON NH330 GONDA TO AYODHYA ROAD	GONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1112	BETWEEN KM STONE 160 AND 165 OF OLD SH1A (NOW NH330), ON GONDA TO BALRAMPUR ROAD	GONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1113	BETWEEN KM STONE 20 AND 30 ON RHS OF NH-27, WHILE GOING FROM LUCKNOW TO	BARABANKI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1114	AYODHYA BETWEEN KM STONE 31 AND 37 ON RHS OF NH-27, WHILE GOING FROM LUCKNOW TO	BARABANKI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1115	AYODHYA WITHIN 10 KM FROM MAIN GATE OF SINGHANIA EDUCATIONAL INSTITUTE ON RHS TOWARDS SHAHJAHANPUR ON NH-30	SITAPUR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1116	BETWEEN KM STONE 453 AND 437 ON LHS OF NH-30 WHILE GOING FROM LUCKNOW TO SITAPUR	SITAPUR	REGULAR	250	OPEN	СС	35	35	1225	32	12	BIDDING	30	5
1117	BETWEEN KM STONE 01 AND 10 ON NH 931A , SALON TO JAIS ROAD	RAEBARELI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1118	WITHIN MUNICIPAL LIMIT OF NASEERABAD ON NH 931 A	RAEBARELI	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1119	WITHIN 04KMS FROM MAIN GATE OF POLICE STATION KACHHAUNA WHILE MOVING TOWARDS HARDOI ON NH-731	HARDOI	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1120	BETWEEN KM STONE 31 AND 41 ON NH- 727H , FATEHPUR TO MEHMOODABAD ROAD	BARABANKI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1121	BETWEEN KM STONE 334 AND 344 ON NH 730, BALRAMPUR TO BARHNI ROAD	BALRAMPUR	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1122	BETWEEN KM STONE 53 AND 63 ON RHS OF NH 30 (OLD NH 248) WHILE GOING FROM	RAEBARELI	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1123	LUCKNOW TO RAEBARELI BETWEEN KM STONE 63 AND 73 ON RHS OF NH 30 (OLD NH 248) WHILE GOING FROM	RAEBARELI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1124	LUCKNOW TO RAEBARELI WITHIN 4 KMS ON EITHER SIDE OF RAGHOPUR CHAURAHA ON SH 137	HARDOI	REGULAR	105	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1125	BETWEEN KM STONE 21 AND 24 ON SH-138	HARDOI	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1126	WITHIN 13 KMS FROM HARGAON CHAURAHA, TOWARDS LAHARPUR, ON SH-	SITAPUR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1127	140, HARGAON TO LAHARPUR ROAD WITHIN 2 KMS FROM AGRA-LUCKNOW EXPRESSWAY EXIT POINT (INTERSECTION ON SH-40) ON LHS, TOWARDS LUCKNOW WHILE GOING TO BUDDHESHWAR CHAURAHA ON MOHAN ROAD	LUCKNOW	REGULAR	333	OBC	СС	35	35	1225	32	12	BIDDING	30	4
1128	WITHIN 2 KM FROM AGRA-LUCKNOW EXPRESSWAY EXIT POINT (INTERSECTION ON SH-40) ON RHS TOWARDS LUCKNOW ON	LUCKNOW	REGULAR	333	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	SH-40, WHILE GOING TO BUDDHESHWAR													
1129		HARDOI	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5

1133 (1) 1134 (1) 1135 (1) 1136 (1)	BETWEEN KM STONE 358 AND 371 ON SH26 ,PILIBHIT TO BASTI ROAD BETWEEN KM STONE NO. 35 AND 39 ON SH 138,BILGRAM TO HULLAPUR ROAD WITHIN 3 KMS FROM COLONELGANJ	BALRAMPUR	REGULAR	100										
1133 6 1134 0 1135 0 1136 0	BETWEEN KM STONE NO. 35 AND 39 ON SH 138,BILGRAM TO HULLAPUR ROAD	HARDON		100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
1134 (c) 1135 (c) 1135 (c) 1136 (c) 1136 (c)		HARDOI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1136	CHOURAHA TOWARDS PARASPUR ON SH- 155 , COLONELGANJ TO NAWABGANJ ROAD	GONDA	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1136	WITHIN 4KMS FROM MAIN GATE OF VAISHNO RESORT (GAUSGANJ) ON SH-137	HARDOI	REGULAR	125		DC	35	35	1225	32	75	Draw of lot	15	4
ſ	WHILE GOING TOWARDS SANDILA WITHIN 4 KMS FROM DEHRAS CHAURAHA TOWARDS NAWABGANJ ON SH-155 , BAHRAICH-HUZOORPUR-COLONELGANJ-	GONDA	REGULAR	100	OBC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
1137	NAWABGANJ ROAD WITHIN 5 KMS FROM RAGADGANJ BAZAR CHAURAHA TOWARDS PARASPUR ON SH- 155 ,BAHRAICH-HUZOORPUR-	GONDA	REGULAR	100	SC PH OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1138	COLONELGANJ-NAWABGANJ ROAD WITHIN 3 KMS FROM JUNCTION OF NH 927 AND SH 127 WHILE GOING FROM	BARABANKI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1139 \	RAMNAGAR TO FATEHPUR ON SH-127 WITIN MUNICIPAL LIMITS OF BILGRAM ON NH 330D	HARDOI	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
	BETWEEN KM STONE 343 AND 347 ON SH 26,PILIBHIT TO BASTI ROAD	BALRAMPUR	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN KM STONE 102 AND 110 ON SH- 13, BARABANKI TO HAIDERGARH ROAD	BARABANKI	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
(WITHIN 4 KMS FROM KATI BAGIYA CHOURAHA, TOWARDS MOHAN ON	LUCKNOW	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1143 B	GOSAIGANJ MOHAN ROAD (SH136) BETWEEN KM STONE 12 AND 21 ON SH-09, UTRAULA MANKAPUR ROAD	BALRAMPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
	BETWEEN KM STONE 34 AND 45 ON SH-127, RAMNAGAR TO BHELSAR ROAD	BARABANKI	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN KM STONE 130 AND 135 ON SH- 13, BARABANKI TO HAIDERGARH ROAD	BARABANKI	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	BETWEEN KM STONE 330 AND 342 ON SH- 26 , PILIBHIT TO BASTI MARG	BALRAMPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
	BETWEEN KM STONE 97 AND 102 ON SH-13, BARABANKI TO HAIDERGARH ROAD	BARABANKI	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN KM STONE NO. 134 AND 143 ON SH-13 , NAYI SADAK TO HAIDERGARH ROAD	BARABANKI	REGULAR	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN KM STONE 184 AND 196 ON SH- 13 , BACHRAWAN TO GURBUXGANJ ROAD	RAEBARELI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
-	BETWEEN KM STONE NO. 176 AND 184 ON SH-13 , BACHRAWAN TO GURBUXGANJ	RAEBARELI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1151	ROAD BETWEEN KM STONE NO. 20 AND 30 ON SH- 13A HAIDERGARH TO MAHARAJGANJ ROAD	RAEBARELI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN STONE 10 AND 25 ON SH-38, LALGANJ TO UNCHAHAR ROAD	RAEBARELI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
,	BETWEEN AGRA EXPRESSWAY END POINT AND KM STONE 23 ON SH-40, LUCKNOW TO MOHAN ROAD	LUCKNOW	REGULAR	110	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
	BETWEEN KM STONE 42 AND 46 ,ON SH-138	HARDOI	REGULAR	115	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1155 1	BETWEEN KM STONE 5 AND 10 , ON SH-29A	HARDOI	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	WIHTHIN 2KMS FROM MALIHABAD CHAURAHA ON MALIHABAD-MALL ROAD	LUCKNOW	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
c E	WITHIN 2 KMS ON EITHER SIDE OF MAIN GATE OF KISAN POST GRADUATE COLLEGE, BAHRAICH ON SH 30-B, SITAPUR TO BAHRAICH ROAD	BAHRAICH	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1158	WITHIN 3 KMS OF BABA FAKKAR DAS CHAURAHA TOWARDS DUMARIYA GANJ ON SH26 ,PILIBHIT TO BASTI MARG	BALRAMPUR	REGULAR	110	OBC CC 1	DC	35	35	1225	32	75	Draw of lot	15	4
8	WITHIN 5 KMS FROM INTERSECTION OF BANI-MOHANLALGANJ ROAD AND LUCKNOW-RAEBARELI ROAD ON BANI- MOHANLALGANJ ROAD	LUCKNOW	REGULAR	108	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1160	WITHIN 5 KMS FROM JUNABGANJ MOD WHILE GOING TOWARDS MOHANLALGANJ ON BANI MOHANLALGANJ ROAD	LUCKNOW	REGULAR	130	OPEN PH	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN KM STONE 57 AND 62 ON SH-30, BAHRAICH TO GONDA ROAD	GONDA	REGULAR	160	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
0	WITHIN 4 KMS ON EITHER SIDE OF MAIN GATE OF PRIMARY SCHOOL LALNAGAR SIPAHIYA ON SH158,TULSIPUR TO SIRSIYA ROAD	BALRAMPUR	REGULAR	103	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1163	BETWEEN KM STONE 1 AND 10 ON SH-157 ,HOZOORPUR TO KAISERGANJ ROAD	BAHRAICH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	BETWEEN KM STONE 15 AND 20 ON SH- 156,BAHRAICH TO MALHIPUR ROAD	SHRAVASTI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	BETWEEN KM STONE 15 AND 25 ON SH-157 , HOZOORPUR TO KAISERGANJ ROAD	BAHRAICH	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1166	BETWEEN KM STONE 20 AND 30 ON SH- 156,BAHRAICH TO MALHIPUR ROAD	SHRAVASTI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
,	BETWEEN KM STONE 25 AND 35 ON SH-157 , HOZOORPUR -KAISERGANJ -PAYAGPUR ROAD	BAHRAICH	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1168 B	BETWEEN KM STONE 30 AND 35 ON SH- 156, BAHRAICH TO MALHIPUR ROAD	SHRAVASTI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
,	BETWEEN KM STONE 35 AND 50 ON SH-157 , HOZOORPUR- KAISERGANJ -PAYAGPUR ROAD	BAHRAICH	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4

1170	ON SH 13-A BETWEEN JAHANABAD POLICE	RAEBARELI	REGULAR	130	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1171	CHAUKI AND TRIPULA CHAURAHA, RAEBARELI WITHIN 4 KMS FROM ASUSARAI PULIA ON	HARDOI	REGULAR	115	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
1172	SH 137 WHILE GOING TOWARDS GAUSGANJ BETWEEN KM STONE 41 AND 51 ON SH-09,	GONDA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1173	MANKAPUR TO NAWABGANJ ROAD BETWEEN KM STONE 15 AND 25 ON SH-155	BAHRAICH	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1174	,BAHRAICH TO HOZOORPUR ROAD BETWEEN KM STONE 5 AND 15 ON SH-155,	BAHRAICH	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1175	BAHRAICH TO HOZOORPUR ROAD BETWEEN KM STONE 20 AND 28 ON STATE	SHRAVASTI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1176	HIGHWAY, BAHRAICH TO BHINGA ROAD BETWEEN KM STONE 14 AND 24 ON SH-30B	BAHRAICH	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1177	,BAHRAICH TO SITAPUR ROAD BETWEEN KM STONE 25 AND 35 ON SH-	BAHRAICH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1178	155. BAHRAICH TO HOZOORPUR ROAD BETWEEN NABIPANAH CHAURAHA AND	LUCKNOW	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1179	MALL TIRAHA ON SH-115 BETWEEN KM STONE 28 AND 36 ON STATE	SHRAVASTI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	HIGHWAY , BAHRAICH TO BHINGA ROAD													
1180	BETWEEN KM STONE 47 AND 50 ON SH172 KURSI ROAD	BARABANKI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1181	BETWEEN KM STONE 5 AND 10 ON SH-96B ,BAHRAICH TO BHINGA ROAD	BAHRAICH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1182	ON APPROACH ROAD OF CHAUDHARY CHARAN SINGH INTERNATIONAL AIRPORT , BETWEEN AIRPORT AND SHAHEED PATH	LUCKNOW	REGULAR	350	OPEN	СС	30	30	900	32	12	BIDDING	30	5
1183	BETWEEN KM STONE 01 AND 08 ON SH-13A, HAIDERGARH TO MAHARAJGANJ ROAD	BARABANKI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1184	BETWEEN KM STONE 30 AND 40 ON SH-13A WHILE MOVING FROM MAHARAJGANJ TO	RAEBARELI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1185	TRIPULA CHAURAHA BETWEEN STONE 1 AND 10 ON SH-38, LALGANJ -UNCHAHAR ROAD	RAEBARELI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1186	IN BETWEEN KM STONE 45 AND 55 ON SH- 30, BAHRAICH TO GONDA ROAD	GONDA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1187	WITHIN 2 KMS FROM MAIN GATE OF AIR FORCE STATION AT MEMAURA , TOWARDS MOHANLALGANJ ON BANI MOHANLALGANJ	LUCKNOW	REGULAR	130	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1188	ROAD WITHIN 4 KMS FROM MAIN GATE OF GRAM PANCHAYAT OFFICE AT PURBAWAN ON SH 137 TOWARDS SANDILA	HARDOI	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1189	WITHIN 5 KMS FROM KHUJAULI CHAURAHA WHILE GOING TOWARDS GOSAIGANJ ON MOHANLALGANJ TO GOSAIGANJ ROAD	LUCKNOW	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1190	WITHIN 5 KMS FROM KHUJAULI CHAURAHA WHILE GOING TOWARDS MOHANLALGANJ ON MOHANLALGANJ TO GOSAIGANJ ROAD	LUCKNOW	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1191	BETWEEN KM STONE 83 AND 93 ON RHS OF SH-21, HARGAON - SITAPUR ROAD	SITAPUR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1192	BETWEEN KM STONE 4 TO 8 ON SH-166	HARDOI	REGULAR	115	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1193	Within 5 Km from intersection of Baithauli- Hafizpur Road and NH 128C towards	AZAMGARH	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1194	Jiyanpur on NH 128C (Azamgarh-Dohrighat Road) Between Km Stone 56 and 68 of old NH 29 on existing NH 31, RHS while moving from	GHAZIPUR	Regular	166	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
1195	Varanasi to Ghazipur Between km stone 72 and 78, while moving	JAUNPUR	Regular	102	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1196	from Allahabad to Shahganj (SH7) Within 8 km from Ballia Mod towards	MAU	Regular	168	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1197	Ratanpura on NH 128B Within Municial Limit of Ghazipur (other than National Highway / State Highway)	GHAZIPUR	Regular	205	OPEN CC 1	DC	20	20	400	32	55	Draw of lot	15	5
1198	Between km stone 60 and 65 on SH87	BHADOHI	Regular	101	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1199	(Gopiganj-Bhadohi Road) Between Km Stone 8 and 20 on SH-69, RHS,while moving from Chandauli to Saidpur	CHANDAULI	Regular	109	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1200	Within Municipal Limit of Chiraiyakot on SH 149 towards Khariyani	MAU	Regular	102	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1201	Between 3 kms and 8 kms on NH 727B from Maniyar Mod towards Sikanderpur	BALLIA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1202	Within 2 KM on either side from main gate of Thana Gaddi police chowki on Jalalpur market to Kerakat road on SH151	JAUNPUR	Regular	113	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1203	Between KM stone 65 and 68 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	101	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1204	Between KM stone 2 and 4 on NH-219,LHS while moving from Dharauli to Chandauli	CHANDAULI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1205	Within 6 Kms from Chandrashekhar Azad Chauraha towards Pakwainar on NH 128 B	BALLIA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1206	Between Alinagar Tiraha and Chakiya Chouraha on SH-120	CHANDAULI	Regular	102	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1207	Between Km stone 1 and 10 on SH 124 (Budhanpur-Didarganj-Bardah Road)	AZAMGARH	Regular	106	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1208	Between KM stone 28 and 32 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	101	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1209	Between KM stone 194 and 202 on NH731,On RHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	162	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
1210	Within 6 Km from intersection of Fariha- Nizamabad Road and SH 34 towards Shahganj on SH 34	AZAMGARH	Regular	129	OBC CC 1	DC	35	35	1225	32	75	Draw of lot	15	4
1211	Within 2 KM from Sujanganj Tiraha, While moving from Sujanganj to Machhlishahar	JAUNPUR	Regular	103	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
	(Jhinguriya-Hariharpur Road)	I	l		I	[l				I		

L 1010	Determine Kristerer 20 and 25 an CU 120	CUANDAULU	De sulta	104			25	25	1005	~		Derver filet		
1212	Between Km stone 30 and 35 on SH-120 while moving from Mughalsarai to chakia	CHANDAULI	Regular	104	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1213	With in 2 km from Parao while moving from parao Crossing to Ramnagar chowk	CHANDAULI	Regular	110	OBC	DC	20	20	400	32	55	Draw of lot	15	4
1214	Within Municipal Limit of Ghosi on Ghosi to Madhuban Road	MAU	Regular	165	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
1215	Within Municipal limits of Mau from TCI tiraha to Balniketan Tiraha on Bandha road	MAU	Regular	149	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
1216	Within Municipal Limit of Ghosi on old NH- 29	MAU	Regular	155	OBC	CC	20	20	400	32	12	Bidding	30	4
1217	Within 4 Km from main gate of Primary School, Rampur towards Chiraiyakot on SH	AZAMGARH	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1218	67 (Azamgarh-Ghazipur Road) Between km stone 12 and 17 of old NH29 on existing NH-31 , lhs while moving from	VARANASI	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1219	varanasi to ghazipur Between patel chowk and IP sigra mall on road connecting patel chowk and IP sigra	VARANASI	Regular	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
1220	mall via Maldhahiya Chauraha Between Km Stone 841 and Bihar Border on NH-19, LHS, while moving from Prayagraj	CHANDAULI	Regular	670	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1221	to Bihar Border On Trilochan Mahadev Bypass road, LHS while moving from Jaunpur to Varanasi on	Jaunpur	Regular	184	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1222	NH-31 Between Chandpur Chauraha and Manduwahdih Chauraha via Industrial estate	VARANASI	Regular	150	OPEN	DC	20	20	400	32	75	Draw of lot	15	5
1223	Between Km Stone 836 and 838 on NH-19, LHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	600	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1224	Border Between Km stone 11 and 15 on NH 135A,	BHADOHI	Regular	170	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1225	RHS while moving from Mirzapur to Jaunpur Within 8 Km from Chiraiya Mode Bairia ,	BALLIA	Regular	212	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1226	towards Ballia on NH 31 Between Km Stone 808 and 810 on NH-19, BUS, while maying from Drayages to Dibas	CHANDAULI	Regular	600	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1227	RHS, while moving from Prayagraj to Bihar Border Between Km Stone 810 and 814 on NH-19,	CHANDAULI	Regular	670	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1228	RHS, while moving from Prayagraj to Bihar Border Within 9 KM From Main Gate of Police	BALLIA	Regular	182	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
	Chauki, Phephna , towards Ballia on NH31		-	670	OPEN		35				95			
1229	Between Km Stone 830 and 833 on NH-19, RHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular			DC		35	1225	32		Draw of lot	15	5
1230	Between KM Stone no 519 and 525 on NH 31, Ghazipur to Manjhi Road	BALLIA	Regular	179	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1231	Between Km Stone 841 and Bihar Border on NH-19, RHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	670	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1232	Between intersection of Basti-Kerma Road with NH128B and Sutrahi Mod on NH128B on LHS of NH128B	MAU	Regular	151	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1233	Between Km Stone 808 and 810 on NH-19, LHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	600	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1234	Between Rath Yatra Chauraha and Modhaila tiraha via Manduwahdih police station	VARANASI	Regular	194	SC PH	CFS	20	20	400	0	0	Draw of lot	0	3
1235	Within Municipal Limit, Jahanaganj (other than National Highway / State Highway)	AZAMGARH	Regular	108	OBC PH	DC	20	20	400	32	55	Draw of lot	15	4
1236	Between KM stone 48 and 50 on NH-135A, LHS while moving from Jaunpur to Bhadohi	JAUNPUR	Regular	189	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1237	Between KM stone 194 and 202 on NH731,On LHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1238	Between km stone 765 AND 774 on NH19, LHS while moving from Prayagraj to Chandauli in District Varanasi	VARANASI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1239	Between Main Gate of Primary School Harahuwa and intersection of Gontha bypass with Old NH29 near Gontha on NH 24, on LHS while moving from Mau to	MAU	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1240	Gorakhpur Between km stone 727 AND 736 on NH19, LHS while moving from Prayagraj to	BHADOHI	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1241	Chandauli Within 8 KM From Main Gate of Police	BALLIA	Regular	198	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1242	Chowki, Korantadih , towards Ballia on NH31 Between Chainage 0 and 15,LHS On ring road Phase-I while moving from Harahua to	VARANASI	Regular	219	OBC	сс	35	35	1225	32	12	Bidding	30	4
1243	Sandaha Between km stone 20 and 27 on SH153	BHADOHI	Regular	101	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1244	(Durgaganj-Gopiganj Road) Within 8 KM From Main Gate of Narhi Police	BALLIA	Regular	198	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1245	Station , towards Ghazipur on NH31 Within 8 KM From Main Gate of Narhi Police	BALLIA	Regular	198	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1246	Station , towards Ballia on NH31 Within 7 KM From Chittu Panday Chauraha,	BALLIA	Regular	212	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1247	Ballia, towards Manjhi on NH31 Between km Stone 290 and 297 on NH-28,	VARANASI	Regular	179	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
	LHS while moving from Azamgarh to Varanasi		-											
1248	Between Main Gate of Sacred Heart International School, Dhanchula and intersection of NH128C with Azmatgarh Bhimbhar Road on NH-128C, while moving from Jiyanpur to Dohrighat	AZAMGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1249	Within 4 km from Main Gate of Prathmik Vidyalay Ahirahuli, Mohammadabad towards Ghazipur on NH 31	GHAZIPUR	Regular	236	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1250	Within 4 kms from main gate of Additional Primary Health Centre, Kharewa towards Phoolpur on SH 34	AZAMGARH	Regular	129	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1251	Within 5 Km from junction of NH-31 and NH 731B on NH-731B, RHS while moving from	JAUNPUR	Regular	161	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1252	Machhalishahar to Janghai Between Km Stone 805 and 807 on NH-19, LHS, while moving from Prayagraj to Bihar	VARANASI	Regular	600	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
	Border													

1253	Within 2 km from Main Gate of Beruka Primary School towards Bhadohi on NH	VARANASI	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1254	731B (Varanasi Bhadohi Road) Within 8 Km from Intersection of NH31 with Haldi Road , towards Manjhi ,on NH 31	BALLIA	Regular	212	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1255	Within 8 Km from Intersection of NH31 with Haldi Road , towards Ballia on NH 31	BALLIA	Regular	212	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1256	Between km stone 226 and 232 on Mungrabadshahpur to Machalisahar road on	JAUNPUR	Regular	163	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1257	NH 31 Between km stone 727 AND 746 on NH19, RHS while moving from Prayagraj to	BHADOHI	Regular	213	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1258	Chandauli Between Km Stone 800 and 803 on NH-19, LHS, while moving from Prayagraj to Bihar	VARANASI	Regular	600	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
1259	Border Between Km stone 232 and 238 on NH 28,RHS while moving from Tanda to	AZAMGARH	Regular	153	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1260	Varanasi With in 5 Km from intersection point of NH- 19 and Ring Road phase 2,Package II,LHS side while moving from chandauli to	CHANDAULI	Regular	235	OPEN PH	DC	35	35	1225	32	95	Draw of lot	15	5
1261	varanasi Between Km Stone 800 and 803 on NH-19, RHS, while moving from Prayagraj to Bihar	VARANASI	Regular	670	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1262	Border Between intersection of Gontha Byepass with Old NH29 near Gontha and intersection of Gontha Bypass on NH128C on Gontha bypass, existing NH24, on RHS while moving from Mau to Gorakhpur	MAU	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1263	Within 8 Km from intersection of Bardah- Martinganj Road and NH 128A towards Azamgarh, RHS while moving from Jaunpur to Azamgarh on NH 128A	AZAMGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1264	Between Km stone 20 and 25 on SH 124 (Budhanpur-Didarganj-Bardah Road)	AZAMGARH	Regular	106	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1265	Between Km Stone 830 and 833 on NH-19, LHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	600	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1266	Between Km stone 22 and 25 on SH1B (Sikanderpur-Maniyar Road), Distt Ballia	BALLIA	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1267	Within 8 Km from intersection of Baithauli- Hafizpur Road and NH 128B towards Mau, LHS while moving from Azamgarh to Mau on NH 128B	AZAMGARH	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1268	Within 2 km from Jalalpur Chauraha towards Jaunpur on NH-31, RHS while moving from Varanasi to Jaunpur	Jaunpur	Regular	184	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1269	Between Km stone 225 and 232 on NH 28,RHS while moving from Tanda to Varanasi	AZAMGARH	Regular	238	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1270	Between Km Stone 68 and 83 of old NH 29 on existing NH 31, RHS while moving from Varanasi to Ghazipur	GHAZIPUR	Regular	162	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1271	Between Km stone 207 and 212 on NH 28, LHS while moving from Tanda to Varanasi	AZAMGARH	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1272	Between km stone 786 and 792 on NH19 RHS while moving from Prayagraj to Varanasi	VARANASI	Regular	151	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1273	Within municipal limit of Mehnagar on SH 149	AZAMGARH	Regular	117	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1274	Within 5 km from Main Gate of Bhavarkol Police Station (either side) on NH-31	GHAZIPUR	Regular	236	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1275	Within Municipal Limit, Bhadohi (other than National Highway / State Highway)	BHADOHI	Regular	102	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
1276	Between Main Gate of Prathmik School Dhekwara to Main Gate of Prathmik School Lakhipur, on LHS on NH24 from Mau to Gorakhpur	MAU	Regular	160	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1277	Between intersection of Mau ByePass with old NH29 road near Baduwagodam upto "Bhaisahiya Pull" on NH24	MAU	Regular	187	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1278	Between KM stone 186 and 194 on NH731,On LHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1279	Jaunpur City Bypass Bypassing Jaunpur on NH 31, LHS while moving from Lucknow to Varanasi	JAUNPUR	Regular	174	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1280	Between Km stone 36 to 38 on SH- 120, While moving from Mugalsarai to Chakia	CHANDAULI	Regular	102	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1281	Between KM stone 186 and 194 on NH731,On RHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	162	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1282	Between km stone 50 and 52 on SH87 (Gopiganj-Bhadohi road)	BHADOHI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1283	Between km stone 248 and 262 on NH-28, RHS while moving from Azamgarh to Varanasi	AZAMGARH	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1284	Between km stone 114 and 117, while moving from Allahabad to Shahganj (SH7)	JAUNPUR	Regular	103	OBC	DC	35	35	1225	32	75	Draw of lot	15	4 c
1285	Within 5 Km from Main Gate of Vibhutinarayan Govt. Inter College Gyanpur towards Bhadohi on SH 87 (Gopiganj Bhadohi Road)	BHADOHI	Regular	109	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1286	On Gaurabadshahpur bypass (NH128A) , LHS while moving from Jaunpur to Azamgarh	JAUNPUR	Regular	159	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1287	Between KM stone 40 and 45 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	111	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1288	BETWEEN KM STONE 781 AND 786 ON NH19 LHS WHILE MOVING FROM PRAYAGRAJ TO VARANASI	VARANASI	Regular	377	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1289	On Gaurabadshahpur bypass(NH128A), RHS while moving from Jaunpur to Azamgarh	JAUNPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1290	Between Thana Kotwali, Muhammadabad Gohana and Purva Madhyamik Vidyalaya, Galibpur on LHS while moving from Azamgarh to Mau on NH 128B	MAU	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1291	Between Km Stone 836 and 838 on NH-19, RHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	670	OBC	CC	35	35	1225	32	12	Bidding	30	4

1292	On Ghosi bypass between Lakhipur to	MAU	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1293	Hadhua, on existing NH 24 Between Km Stone 810 and 814 on NH-19, LHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	600	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1294	Border ON EITHER SIDE FROM MOHANSARAI TO	VARANASI	Regular	210	OPEN	CC	20	20	400	32	12	Bidding	30	5
1295	LAHARTARA CHAURAHA VIA ROHANIA ON OLD GT ROAD Between Km Stone 826 and 830 on NH-19,	CHANDAULI	Regular	670	OBC	CC	35	35	1225	32	12	Bidding	30	4
1296	RHS, while moving from Prayagraj to Bihar Border Between Km Stone 833 and 836 on NH-19,	CHANDAULI	Regular	670	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
	RHS, while moving from Prayagraj to Bihar Border													
1297	On Kopaganj Bypass between Sahroj and Dhekwara, on existing NH24(old NH29)	MAU	Regular	151	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1298	Between Km Stone 814 and 818 on NH-19, LHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	600	OBC	CC	35	35	1225	32	12	Bidding	30	4
1299	Pindra bypass road on NH 31, LHS while moving from Jaunpur to Varanasi	VARANASI	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1300	Between Km Stone 838 and 841 on NH-19, RHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	670	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1301	Border Within 4 km from Main Gate of Mardah Power house towards Ghazipur on LHS while	GHAZIPUR	Regular	174	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1302	moving from Mau to Ghazipur on NH-24 Between Km Stone 818 and 820 on NH-19, LHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	670	OBC	CC	35	35	1225	32	12	Bidding	30	4
1303	Border Between Km Stone 818 and 820 on NH-19, RHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	600	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1304	Border Between Km Stone 805 and 807 on NH-19, RHS, while moving from Prayagraj to Bihar	VARANASI	Regular	670	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1305	Border Between km stone 238 and 245 on Mungrabadshahpur to Jaunpur road on NH	JAUNPUR	Regular	186	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1306	31 Within 3 km from Main Gate of Primary School (English Medium) Gauspur-1,towards	GHAZIPUR	Regular	236	OBC	СС	35	35	1225	32	12	Bidding	30	4
1307	Ballia on NH 31 Between Km Stone 814 and 818 on NH-19, RHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	670	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1308	Border Between km stone 736 AND 742 on NH19, LHS while moving from Prayagraj to	BHADOHI	Regular	154	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
1309	Chandauli Bhagat Singh Tiraha to Chandrashekhar Azad Chauraha (on LHS) within Municipal Limit of	BALLIA	Regular	196	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
1310	Rasra on NH 1288 Bhagat Singh Tiraha to Chandrashekhar Azad Chauraha (on RHS) within Municipal Limit of	BALLIA	Regular	196	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1311	Rasra on NH 1288 Between Km Stone 822 and 826 on NH-19, RHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	670	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1312	Border Between Km Stone 822 and 826 on NH-19, LHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	600	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1313	Border BETWEEN KM STONE 12 AND 17 OF OLD NH29 ON EXISTING NH-31, RHS WHILE MOVING FROM VARANASI TO GHAZIPUR	VARANASI	Regular	230	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1314	Between KM stone 266 and 270 , While moving from to Allahabad to Jaunpur on NH31	JAUNPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1315	Between Km Stone 826 and 830 on NH-19, LHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	600	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1316	Between Km Stone 833 and 836 on NH-19, LHS, while moving from Prayagraj to Bihar Border	CHANDAULI	Regular	600	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1317	Between Km Stone 31 and 42 of old NH 29 on existing NH 31, LHS while moving from Varanasi to Ghazipur	GHAZIPUR	Regular	176	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1318	Between Km Stone 838 and 841 on NH-19, LHS, while moving from Prayagraj to Bihar	CHANDAULI	Regular	600	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1319	Border Within 7 km from Main Gate of Nauli Inter High School towards Ghazipur on NH 124C	GHAZIPUR	Regular	166	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1320	Between km stone 774 AND 781 on NH19, LHS while moving from Prayagraj to	VARANASI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1321	Chandauli Between Thana Kotwali, Muhammadabad Gohana and Purva Madhyamik Vidyalaya, Galibpur on RHS while moving from	MAU	Regular	151	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1322	Azamgarh to Mau on NH 1288 Between Km stone 177 and 187 on NH 28, Either side while moving from Tanda to	AZAMGARH	Regular	157	OPEN CC 1	DC	35	35	1225	32	95	Draw of lot	15	5
1323	Varanasi BETWEEN BHU GATE LANKA TO BHIKHARIPUR ON SUNDARPUR BLW ROAD	VARANASI	Regular	215	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1324	BETWEEN KM STONE 17 AND 22 OF OLD NH29 ON EXISTING NH-31, RHS WHILE	VARANASI	Regular	230	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1325	MOVING FROM VARANASI TO GHAZIPUR Within 5 km from Main Gate of Prathmik Vidyalay Ahirahuli, Mohammadabad	GHAZIPUR	Regular	236	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1326	towards Ballia on NH 31 Between Km stone 205 and 212 on NH 28, RHS while moving from Tanda to Varanasi	AZAMGARH	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1327	With in 5 Km from intersectiom point of NH- 19 and Ring Road phase 2,Package II,RHS side while moving from chandauli to varanasi,Block Chandauli,Tehsil Chandauli	CHANDAULI	Regular	235	OBC	CC	35	35	1225	32	12	Bidding	30	4
1328	Between Km stone 187 and 197 on NH 28, Either Side while moving from Tanda to	AZAMGARH	Regular	157	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1329	Varanasi Between Chainage 0 and intersection of ring road & NH-31, LHS On ring road Phase- II while moving from Rajatalab to Harahua	VARANASI	Regular	201	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1330	II While moving from Kajatalab to Harahua BETWEEN KM STONE 17 TO 22 OF OLD NH29 ON EXISTING NH-31, LHS WHILE MOVING FROM VARANASI TO GHAZIPUR	VARANASI	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1331	Between Km Stone 31 and 42 of old NH 29 on existing NH 31, RHS while moving from Varanasi to Ghazipur	GHAZIPUR	Regular	176	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
· · · · · ·												ı		

1332	Between Km Stone 2 and 8 on SH-69, RHS, while moving from Chandauli to Saidpur	CHANDAULI	Regular	100	ST	CFS	35	35	1225	0	0	Draw of lot	0	3
1333	BETWEEN KM STONE 22 AND 27 OF OLD NH29 ON EXISTING NH-31, LHS WHILE	VARANASI	Regular	153	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1334	MOVING FROM VARANASI TO GHAZIPUR Upto 5 Km from Saidpur tehsil gate on NH- 124 towards Sadat	GHAZIPUR	Regular	236	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1335	Between Km Stone 46 and 51 on SH 98 (Babatpur Chaubepur Road)	VARANASI	Regular	111	OPC PU	DC	35	35	1225	32	75	Draw of lot	15	4
1336	Between Km Stone 1 and 10 on SH 98 (Babatpur Kachhwa Road)	VARANASI	Regular	103	OBC PH SC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
1337	Between Chainage 0 and 15, RHS On ring road Phase-I while moving from Harahua to Sandaha	VARANASI	Regular	282	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1338	Within 6 km from Main Gate of Primary School (English Medium) Gauspur-1, towards Ghazipur on NH 31	GHAZIPUR	Regular	236	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1339	Between km stone 248 and 262 on NH-28, LHS while moving from Azamgarh to	AZAMGARH	Regular	158	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1340	Varanasi BETWEEN KM STONE 22 AND 27 OF OLD NH29 ON EXISTING NH-31, RHS WHILE	VARANASI	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1341	MOVING FROM VARANASI TO GHAZIPUR Between KM stone 210 and 218 on NH731,On LHS while moving from Lucknow	JAUNPUR	Regular	253	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1342	to Varanasi (NH731) Within 6 km from Main Gate of Divine Global school Harpur, Zamania towards	GHAZIPUR	Regular	154	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1343	Saiyadraja on NH 24 Jaunpur City Bypass Bypassing Jaunpur on NH 31 , RHS while moving from Lucknow to	JAUNPUR	Regular	177	OBC	CC	35	35	1225	32	12	Bidding	30	4
1344	Varaasi Between KM stone 97 and 102 on Deogaon to Saidpur Road on SH-124	AZAMGARH	Regular	103	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1345	Between Gajna Chauraha to Khadhar Dagra Tiraha whle moving from Jaunpur to Kerakat	JAUNPUR	Regular	156	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1346	Road on NH 731 (Old SH 36) Between km stone 238 to 248 on NH-28, LHS while moving from Azamgarh to	AZAMGARH	Regular	152	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1347	Varanasi On Mau bypass between BaduaGodam and BhadsaManopur on existing NH24, on RHS	MAU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1348	while moving from Ghazipur to Gorakhpur Within 5 Km from intersection of SH 34 & Saraimeer-Deedarganj Road towards	AZAMGARH	Regular	129	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
1349	Azamgarh on SH 34 Within 5 km from Main Gate of Bharsar Police Chowki towards Ghazipur (either side)	GHAZIPUR	Regular	174	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1350	while moving from Mau to Ghazipur on NH- 24 Between Padao Chowk to Mugalsarai Rail	CHANDAULI	Degular	145	sc	CFS	35	35	1225	0	0	Draw of lot	0	3
	Over Bridge on Old GT Road(SH-120),LHS while moving from Padao to Mugalsarai		Regular											
1351	On Mau bypass between Baduwagodam and BhadsaManopur on existing NH24, on LHS while moving from Ghazipur to Gorakhpur	MAU	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1352	Within 5 km from Alam patti Chauraha towards Jangipur on NH-24	GHAZIPUR	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1353	Within 10 KM From Kunwar Singh Chauraha ,Towards Sukhpura, On NH727B	BALLIA	Regular	165	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1354	Within 2 km on either side from main gate of Prathmik Vidyalaya Badi Harnahiya on Sujanganj to Machhalishahar road on SH 151	JAUNPUR	Regular	112	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1355	Within 3 km from Main Gate of Prathmic Vidyalay Bahalolpur towards Zamania on NH 24	GHAZIPUR	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1356	Within 5 Km from Check Post,Azamgarh towards Fariha on SH 34 (Azamgarh- Shahganj Road)	AZAMGARH	Regular	129	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1357	Between KM Stone no 525 and 530 on NH 31, Ghazipur to Manjhi Road	BALLIA	Regular	196	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1358	Between KM stone 202 and 210 on NH731,On LHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	253	OBC CC 1	DC	35	35	1225	32	95	Draw of lot	15	4
1359	Between km stone 102 and 105, while moving from Allahabad to Shahganj (SH7)	JAUNPUR	Regular	103	SC CC 1	CFS	35	35	1225	Ō	0	Draw of lot	0	3
1360	Between 05 kms and 09 kms from main gate of Ubhaon Police station towards Sikanderpur on NH 727 B ,Distt Ballia	BALLIA	Regular	174	OPEN PH	DC	35	35	1225	32	95	Draw of lot	15	5
1361	Between km stone 56 to 63 on Mungrabadshahpur to Sujanganj road on SH 7	JAUNPUR	Regular	101	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1362	Between km stone 94 to 101 (NH135A), while moving from Jaunpur to Shahganj (NH135A)	JAUNPUR	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1363	Within 5 km from Main Gate of K.J.International Hotel towards Jaunpur, RHS while moving from Varanasi to Jaunpur on	VARANASI	Regular	152	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1364	NH-31 Between KM stone 218 and 224 on NH731,On RHS while moving from Lucknow	JAUNPUR	Regular	253	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1365	to Varanasi (NH731) BETWEEN KM STONE 781 TO 786 ON NH19 RH5 WHILE MOVING FROM PRAYAGRAJ TO	VARANASI	Regular	151	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1366	VARANASI Between KM stone 218 and 224 on NH731,On LHS while moving from Lucknow	JAUNPUR	Regular	253	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1367	to Varanasi (NH731) BETWEEN KM STONE 786 AND 792 ON NH19 LH5 WHILE MOVING FROM	VARANASI	Regular	377	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1368	PRAYAGRAJ TO VARANASI Between Chainage 0 and intersection of ring road & NH-31, RHS On ring road Phase-	VARANASI	Regular	201	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1369	II while moving from Rajatalab to Harahua WITH IN 7 KM FROM INTERSECTION OF RING ROAD AND NH-31 ON VARANASI RING	VARANASI	Regular	155	OBC	CC	35	35	1225	32	12	Bidding	30	4
	ROAD, PHASE-II PACKAGE-2, LHS WHILE MOVING FROM SANDAHA CHAURAHA TOWARDS CHANDAULI													
1370	Within 10 Km from Sukhpura Chauraha, towards Sikandarpur ,on NH 727B	BALLIA	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1371	Between KM stone 32 to 36 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	111	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5

1372	Within 6 km from Main Gate of Divine Global school Harpur, Zamania towards	GHAZIPUR	Regular	154	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1373	Ghazipur on NH 24 Between Km Stone 43 and 48 of old NH 29 on existing NH 31, either side while moving from Varanasi to Ghazipur	GHAZIPUR	Regular	166	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1374	Between Health centre Suriyawan and Main gate if ITI College Bhadohi on NH731B	BHADOHI	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1375	Within Municipal Limit, Jaunpur (other than National Highway / State Highway)	JAUNPUR	Regular	106	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
1376	BETWEEN KM STONE 792 AND 799 ON NH19 RHS WHILE MOVING FROM	VARANASI	Regular	151	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1377	PRAYAGRAJ TO VARANASI Within 2 KM from Main Gate of Saray Lakhansi Police Station on old NH 29	MAU	Regular	176	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1378	towards Ghazipur Between km Stone 283 to 290 on NH-28 , RHS while moving from Azamgarh to	VARANASI	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1379	Varanasi Between KM stone 202 and 210 on NH731,On RHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	253	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1380	Between KM stone 42 and 47 on NH-135A, RHS while moving from Jaunpur to Bhadohi	JAUNPUR	Regular	169	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1381	Within 5 km from Main Gate of K.J.International Hotel towards Jaunpur, LHS while moving from Varanasi to Jaunpur on	VARANASI	Regular	155	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1382	NH-31 Between Km Stone 48 and 56 o of old NH 29 on existing NH 31, either side while moving from Varanasi to Ghazipur	GHAZIPUR	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1383	BETWEEN KM STONE 792 AND 799 ON NH19 LHS WHILE MOVING FROM PRAYAGRAJ TO VARANASI	VARANASI	Regular	377	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1384	Between KM stone 210 and 218 on NH731,On RHS while moving from Lucknow to Varanasi (NH731)	JAUNPUR	Regular	253	OBC	CC	35	35	1225	32	12	Bidding	30	4
1385	Between Km Stone 68 and 80 of old NH 29 on existing NH 31, LHS while moving from Varanasi to Ghazipur	GHAZIPUR	Regular	174	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1386	Between km stone 238 and 248 on NH-28, RHS while moving from Azamgarh to Varanasi	AZAMGARH	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1387	Between Padao and Mugalsarai Rail Over Bridge on Old GT Road(SH-120),RHS while moving from Padao to Mugalsarai	CHANDAULI	Regular	145	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1388	Within 5 km from Main Gate of Bharsar Police Chowki towards Ghazipur on LHS while moving from Mau to Ghazipur on NH- 24	GHAZIPUR	Regular	174	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1389	Within 8 Km from intersection of NH 128B and SH67 towards Mau, RHS while moving from Azamgarh to Mau on NH 128B	AZAMGARH	Regular	151	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1390	Between Km stone 212 and 222 on NH 28, LHS while moving from Tanda to Varanasi	AZAMGARH	Regular	158	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1391	WITHIN 3 KM ON EITHER SIDE FROM SANDAHA CHAURAHA TOWARDS ASHAPUR CHAURAHA ON ASHAPUR ROAD	VARANASI	Regular	168	OBC	CC	20	20	400	32	12	Bidding	30	4
1392	Between km stone 67 and 70 (NH135A), while moving from Mariahu to Jaunpur (NH135A)	JAUNPUR	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1393	Within 2 Km from intersection of NH-128 B with Ratanpura Bhimpura road on Ratanpura to Bhimpura road	MAU	Regular	104	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
1394	Between 09 kms and 13 kms from main gate of Ubhaon Police station towards Sikanderpur on NH 727 B, JDistt Ballia	BALLIA	Regular	174	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1395	Within 5 km from Main Gate of Mahatma Gandhi Shati Smarak Mahavidyalay, Garua Maksoodpur towards Zamania on NH 24	GHAZIPUR	Regular	154	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1396	Between Prasad Tiraha (Kerakat Mod) to Gajana Chauraha while moving from Jaunpur to Kerakat on NH 731 (Old SH 36)	JAUNPUR	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1397	Between Km Stone 8 and 20 on SH-69, LHS,while moving from Chandauli to Saidpur	CHANDAULI	Regular	105	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
1398	Within 5 km from Main Gate of K.J.International Hotel towards Varanasi, LHS while moving from Babatpur to Varanasi	VARANASI	Regular	166	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1399	on NH-31 Between km stone 765 AND 781 on NH19, RH5 while moving from Prayagraj to Chandauli, in District Vacanari	VARANASI	Regular	311	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1400	Chandauli in District-Varanasi Within Municipal Limit, Varanasi City(Not on National/State Highway)	VARANASI	Regular	160	OPEN	CC	20	20	400	32	12	Bidding	30	5
1401	Within 2 Km from Main Gate of Police Chauki, mahula on NH 128C, Distt Azamgarh	AZAMGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1402	Within 5 km from Bhadaura bus stand tiraha towards Bihar border on NH 124C	GHAZIPUR	Regular	166	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1403	Between Km stone 20 and 32 on NH 135A,Either side while moving from Mirzapur to Jaunpur	BHADOHI	Regular	163	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1404	Within 3 km from Main Gate of Matehu Police Chowki towards Ghazipur on LHS while moving from Mau to Ghazipur on NH- 24	GHAZIPUR	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1405	Within 4 km from Main Gate of Mardah Power house towards Ghazipur on RHS while moving from Mau to Ghazipur on NH- 24	GHAZIPUR	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1406	Within 11 kms from Bhagat Singh Tiraha towards Ballia on NH 128 B	BALLIA	Regular	173	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1407	Within 2km on either side from Main Gate of Vedanta International School, Baghidand on NH 128C while moving from Azamgarh to liveneur.	AZAMGARH	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1408	Jiyanpur Between Km Stone 1 and 8 on SH-69, LHS while moving from Chandauli to Saidpur	CHANDAULI	Regular	120	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1409	Within 2 km from intersection of NH128C	MAU	Regular	206	OPEN CC 2	DC	35	35	1225	32	95	Draw of lot	15	5
	and NH24 on Dohrighat to Azamgarh Road on NH 128C													

1411	Within 3 km from intersection of NH128B with Ratanpura-Bhimpura Road, on NH 128B from Mau to Ballia Road	MAU	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1412	Between km stone 101 and 111 (NH135A), while moving from Jaunpur to Shahganj (NH135A)	JAUNPUR	Regular	153	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1413	Between km stone 86 and 94 (NH135A), while moving from Jaunpur to Shahganj	JAUNPUR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1414	(NH135A) Between 11 kms and 22 kms from Bhagat Singh Tiraha towards Ballia on NH 128 B	BALLIA	Regular	173	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1415	Pindra bypass road on NH-31, RHS while moving from Jaunpur to Varanasi	VARANASI	Regular	155	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1416	Between Km stone 215 and 225 on NH 28, RHS while moving from Tanda to Varanasi	AZAMGARH	Regular	158	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1417	Between km stone 4 and 12 on SH153 (Durgaganj-Gopiganj Road)	BHADOHI	Regular	110	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1418	Within 2 km from Main Gate of Bara Police Chowki towards Bihar border on NH 124C	GHAZIPUR	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1419	Within 5 km from Main Gate of Gahmar Police Station towards Ghazipur On NH 124C	GHAZIPUR	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1420	Between 13 kms and 16 kms from main gate of Ubhaon Police station towards	BALLIA	Regular	174	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1421	Sikanderpur on NH 727 B ,Distt Ballia WITH IN 6KM FROM AKHARI BYPASS TO CHUNAR ON SH-74	VARANASI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1422	Upto 4 kms from main gate of Ubhaon Police station towards Turtipar on NH 727B	BALLIA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1423	Within 2 km on either side from main gate of Primary school Bahorapur on Mehnagar to Bindra Bazar road on SH 149	AZAMGARH	Regular	108	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
1424	Between km stone 265 and 270 on NH 28, LHS while moving from Azamgarh to Varanasi	JAUNPUR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1425	Varanasi Between KM stone 51 and 56 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	111	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1426	Upto 05 kms from main gate of Ubhaon Police station towards Sikanderpur on NH 727B	BALLIA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1427	Between 04 km and 06 km on NH 727B towards Belthara Road from intersection of NH 727 B and SH 1B (Sikanderpur-Maniyar Road).	BALLIA	Regular	174	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1428	Within 7 km from Main Gate of Police Station Suhawal towards Reotipur on NH	GHAZIPUR	Regular	166	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1429	124C Between Km stone 167 and 177 on NH 28, Either side while moving from Tanda to Varanasi	AZAMGARH	Regular	157	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1430	Between KM stone 56 and 61 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	111	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1431	Between km stone 265 and 270 on NH 28, RHS while moving from Azamgarh to Varanasi	JAUNPUR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1432	Within 3 km from Main Gate of India Post Office, Kandhrapur on RHS while moving from Azamgarh to Burhanpur on NH-28	AZAMGARH	Regular	155	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1433	Within 4 km from Main Gate of Nauli Inter High School towards Bihar border on NH 124C	GHAZIPUR	Regular	166	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1434	Between intersection of Basti-Kerma Road with NH128B and Sutrahi Mod on NH128B on RHS of NH128B	MAU	Regular	151	SC PH	CFS	35	35	1225	0	0	Draw of lot	0	3
1435	Between intersection of Gontha Byepass Road with NH128C and Primary School , Mahula on NH128C	AZAMGARH	Regular	206	OBC PH	DC	35	35	1225	32	95	Draw of lot	15	4
1436	Within 3 km from Main Gate of India Post Office, Kandhrapur on LHS while moving from Azamgarh to Burhanpur on NH-28	AZAMGARH	Regular	173	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1437	Between KM stone 60 and 65 on NH-135A, RHS while moving from Jaunpur to Bhadohi	JAUNPUR	Regular	189	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1438	Between km Stone 283 and 290 on NH-28 , LHS while moving from Azamgarh to Varanasi	VARANASI	Regular	179	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1439	Between 2 km to 4 KM from Parao Crossing while moving from parao to Ramnagar Chowk	CHANDAULI	Regular	105	SC	CFS	20	20	400	Ō	Ō	Draw of lot	0	3
1440	Within 5 km from Main Gate of K.J.International Hotel towards Varanasi, RHS while moving from Babatpur to Varanasi on NH-31	VARANASI	Regular	199	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1441	Between Km stone 222 and 232 on NH 28, LHS while moving from Tanda to Varanasi	AZAMGARH	Regular	238	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1442	Between Km stone 08 and 10 on SH1B (Sikanderpur-Maniyar Road), Distt Ballia	BALLIA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1443	BETWEEN ASHAPUR CHAURAHA TO KAJAKPURA VIA PANCHKOSHI CHAURAHA	VARANASI	Regular	168	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1444	Within 8 Km from intersection of SH 124 and SH 34 towards Azamgarh on SH 34.	AZAMGARH	Regular	178	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1445	Within 9 Km from intersection of SH 124 to SH 34 towards Shahganj on SH 34	AZAMGARH	Regular	178	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1446	Between main gate of YD South Point School and main gate of Life Line Educational Institute on SH 67 (Azamgarh-Ghazipur Road)	AZAMGARH	Regular	101	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1447	Between KM stone 36 and 40 on SH 1B , Bansdih - Bairia Road	BALLIA	Regular	111	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1448	BETWEEN LAHARTARA CHAURAHA TO AKHRI BYPASS VIA BLW	VARANASI	Regular	156	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1449	Between km stone 193 and 198 While moving from Surapur to Shahganj road (SH34)	JAUNPUR	Regular	101	OPEN CC 1	DC	35	35	1225	32	75	Draw of lot	15	5
1450	Within 5 km from main gate of Purva Madhyamik Vidyalaya, Galibpur towards Mau on LHS while moving from Mau to Azamgarh on NH 1288	MAU	Regular	188	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1451	With in 2 KM from iliya chowk on chakiya iliya road while moving from iliya chowk to	CHANDAULI	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
	Chakiya	l	l	1	L		1					1		

1452	Within Municipal Limit, Budhanpur (other	AZAMGARH	Regular	108	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1453	than National Highway / State Highway) Between Shivpur chungi and B.R. Ambedkar	VARANASI	Regular	165	OPEN	CC	20	20	400	32	12	Bidding	30	5
1454	Chauraha on Central Jail road Within Municipal Limit, Atrauliya (other than	AZAMGARH	Regular	108	OBC	DC	20	20	400	32	55	Draw of lot	15	4
1455	National Highway / State Highway) Within municipal limit of Kerakat on NH 731	JAUNPUR	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1456	Within Municipal Limit, Phoolpur (other than National Highway / State Highway)	AZAMGARH	Regular	108	OPEN	DC	20	20	400	32	55	Draw of lot	15	5
1457	Between km stone 25 and 28 on Babatpur to Jamalapur Road on SH 98A	JAUNPUR	Regular	104	SC CC 1	CFS	35	35	1225	0	0	Draw of lot	0	3
1458	BETWEEN LEHARTARA CHAURAHA AND RAJGHAT RAILWAY UNDER PASS ON OLD GT	VARANASI	Regular	194	OBC CC 1	DC	20	20	400	32	75	Draw of lot	15	4
	ROAD VIA VARANASI CITY RAILWAY STATION													
1459	Within municipal limits of Ballia (other than National Highway / State Highway)	BALLIA	Regular	112	OPEN	CC	20	20	400	32	12	Bidding	30	5
1460	Within 2km from Salahabad Morh towards Belchaura on Salahabad Road	MAU	Regular	105	OPEN PH	DC	20	20	400	32	55	Draw of lot	15	5
1461	Within Municipal Limit, Martinganj (other than National Highway / State Highway)	AZAMGARH	Regular	108	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1462	Within 8 Km from intersection of Bardah- Martinganj Road and NH 128A towards Azamgarh, LHS while moving from Jaunpur to Azamgarh on NH 128A	AZAMGARH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1463	Between Km stone 36 and 39 on SH 124 (Budhanpur-Didarganj-Bardah Road)	AZAMGARH	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of lot	15	5
1464	Between Km Stone 56 and 68 of old NH 29 on existing NH 31, LHS while moving from Varanasi to Ghazinur	GHAZIPUR	Regular	166	OBC	DC	35	35	1225	32	95	Draw of lot	15	4
1465	Varanasi to Ghazipur Within Municipal Limit, Saraimeer (other than National Highway / State Highway)	AZAMGARH	Regular	108	SC	CFS	20	20	400	0	0	Draw of lot	0	3
1466	Within 8 Km from intersection of Gambhirpur-Martinganj Road and NH 128A towards Jaunpur, RHS while moving from	AZAMGARH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1467	Azamgarh to Jaunpur on NH 128A Between km Stone 290 and 297 on NH-28, RHS while moving from Azamgarh to Varanasi	VARANASI	Regular	153	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1468	WITH IN 7 KM FROM INTERSECTION OF RING ROAD AND NH-31 ON VARANASI RING ROAD, PHASE-II PACKAGE-2, RHS WHILE MOVING FROM SANDAHA CHAURAHA TOWARDS CHANDAULI	VARANASI	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of lot	15	5
1469	Between km stone 78 and 89, while moving from Allahabad to Shahganj (SH7)	JAUNPUR	Regular	103	OBC	DC	35	35	1225	32	75	Draw of lot	15	4
1470	Within 8 Km from intersection of Gambhirpur-Martinganj Road and NH 128A towards Jaunpur, LHS while moving from Azamgarh to Jaunpur on NH 128A	AZAMGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lot	0	3
1545	BETWEEN KM STONE NO. 271 AND 273 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1546	WITHIN MUNICIPAL LIMITS OF FIROZABAD	FIROZABAD	Regular	170	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
1547	BETWEEN KM STONE NO. 189 AND 192 ON NH19 RHS FROM DELHI TO KANPUR	AGRA	Regular	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1548	WITHIN MUNICIPAL LIMITS OF SHAMSABAD	AGRA	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1549	WITHIN MUNICIPAL LIMITS OF AGRA FROM POLICE CHAWKI NUNHAI TIRAHA TO ITMAD- UD-DAULA TIRAHA VIA KAUSHAL INDUSTIRES	AGRA	Regular	250	OPEN	CC	20	20	400	32	12	Bidding	30	5
1550	BETWEEN KM STONE NO. 151 AND 162 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1551	BETWEEN KM STONE NO. 219 AND 224 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1552	BETWEEN KM STONE NO. 19 AND 23 ON SH62 AGRA - BAH ROAD	AGRA	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1553	BETWEEN KM STONE NO. 256 AND 260 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	160	SC	CFS	35	35	1225	Ō	0	Draw of Lots	0	3
1554	BETWEEN KM STONE NO. 206 AND 208 ON NH 34 RHS FROM ALIGARH TO KANPUR	ETAH	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1555	WITHIN 5 KM FROM KM STONE NO. 117 TOWARDS AGRA CITY LHS ON NH 44	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1556	BETWEEN KM STONE NO. 7 AND 14 ON SOUTHERN BYPASS ROAD RHS FROM NH 19 TO NH 44	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1557	BETWEEN KM STONE NO. 60 AND 62 ON SH62 AGRA - BAH ROAD	AGRA	Regular	125	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1558	BETWEEN KM STONE NO. 210 AND 215 ON NH 34 ALIGARH - KANPUR ROAD	ETAH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1559	BETWEEN KM STONE NO. 19 AND 24 ON NH 21 RHS FROM AGRA TO JAIPUR	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1560	BETWEEN KM STONE NO. 26 AND 34 ON NH 21 RHS FROM AGRA TO JAIPUR	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1561	BETWEEN KM STONE NO. 66 AND 69 ON NH 321G NIDHAULI - ETAH ROAD	ETAH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1562	BETWEEN KM STONE NO. 163 AND 166 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1563	BETWEEN KM STONE NO.36 TO RAJASTHAN BORDER ON NH 21 RHS FROM AGRA TO	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1564	JAIPUR BETWEEN KM STONE NO. 125 AND 129 LHS ON NH 44 FROM AGRA TO GWALIOR	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1565	BETWEEN KM STONE NO. 4 AND 6 ON SH 121 ETAH - ALIGANJ ROAD	ETAH	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1566	BETWEEN KM STONE NO. 163 AND 171 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
						1								

. 1	BETWEEN KM STONE NO.15 AND 25 ON SOUTHERN BYPASS ROAD LHS FROM NH 19 TO NH 44	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1568	WITHIN MUNICIPAL LIMITS OF AGRA FROM MADIYA KATRA TO LOHA MANDI CHOWK	AGRA	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	BETWEEN KM STONE NO. 57 AND 59 ON SH 122 SADABAD - JALESAR ROAD	ЕТАН	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 26 AND 31 ON SOUTHERN BYPASS ROAD RHS FROM NH 19 TO NH 44	AGRA	Regular	225	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1571	BETWEEN KM STONE NO. 57 AND 61 ON NH 321G JALESAR - NIDHAULI ROAD	ETAH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 69 AND 71 ON SH 83 ON MAINPURI - KURAWALI ROAD	MAINPURI	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	WITHIN 3 KM FROM TARSI TIRAHA TOWARDS PATIYALI ON SH-141 BADAUN - PATIYALI ROAD	KANSHI RAM NAGAR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1574	BETWEEN KM STONE NO. 19 AND 24 ON NH 21 LHS FROM AGRA TO JAIPUR	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 9 AND 14 ON SH- 103 SIRSAGANJ - KISHNI ROAD	MAINPURI	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 51 AND 53 ON SH 31 TUNDLA - ETAH ROAD	ETAH	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 40 TO RAJASTHAN BORDER ON NH 21 LHS FROM AGRA TO JAIPUR	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1578	WITHIN MUNICIPAL LIMITS OF AGRA BETWEEN MADHUNAGAR CHAURAHA AND IRADATNAGAR ON DEVRI ROAD	AGRA	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	BETWEEN KM STONE NO. 348 AND ETAWAH-AURAIYA BORDER ON NH 19 RHS FROM DELHI TO KANPUR	ETAWAH	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 38 AND 44 ON NH 234 BEWAR - ETAWAH ROAD	ETAWAH	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO. 231 AND 234 ON NH509 RHS FROM AGRA TO MORADABAD	AGRA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	BETWEEN KM STONE NO. 7 AND 14 ON SOUTHERN BYPASS ROAD LHS FROM NH 19 TO NH 44	AGRA	Regular	300	OPEN CC 2	СС	35	35	1225	32	12	Bidding	30	5
	BWTWEEN KM STONE NO. 179 AND 181 ON NH 509 MORADABAD- AGRA ROAD	HATHRAS	Regular	170	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO. 100 AND 106 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	240	SC CC 1	CFS	35	35	1225	0	Ō	Draw of Lots	0	3
	BETWEEN KM STONE NO. 7 AND 14 ON NH321G AGRA-JALESAR ROAD	AGRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 0 AND 3 ON NH321G AGRA-JALESAR ROAD	AGRA	Regular	165	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	ON SAIFAI KARHAL BYPASS ROAD RHS WITHIN ETAWAH DISTRICT	ETAWAH	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 153 AND 158 ON SH 40 RASULABAD - BELA ROAD	AURAIYA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 209 AND 212 ON NH19 LHS FROM DELHI TO KANPUR	AGRA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 209 AND 212 ON NH19 RHS FROM DELHI TO KANPUR	AGRA	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 31 AND 36 ON SH- 103 SIRSAGANJ - KISHNI ROAD	MAINPURI	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 220 AND 228 ON NH509 AGRA-MORADABAD ROAD	AGRA	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN POLICE CHOWKI PIWARI AND DR.BHIM RAO AMBEDKAR PARK TIKAMPURA ON NH 530B BAREILY - MATHURA ROAD	KANSHI RAM NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 213 AND 216 ON NH19 LHS FROM DELHI TO KANPUR	AGRA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 12 AND 17 ON SH- 141 SAURIKH - MAINPURI ROAD	MAINPURI	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 221 AND 225 ON NH 530B BAREILLY - MATHURA ROAD	HATHRAS	Regular	190	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN ATAL CHOWK (GOVERDHAN CHAURAHA) AND BHUTESHWAR TIRAHA	MATHURA	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 19 AND 24 ON SH- 141 SAURIKH - MAINPURI ROAD	MAINPURI	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 213 AND 216 ON NH19 RHS FROM DELHI TO KANPUR	AGRA	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 220 AND 224 ON NH19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN MUNICIPAL LIMITS OF AURAIYA CITY ON NH 19 DELHI - KANPUR ROAD	AURAIYA	Regular	150	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO. 108 AND 111 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 220 AND 224 ON NH19 RHS FROM DELHI TO KANPUR	FIROZABAD	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 172 AND 175 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO. 368 AND 375 ON NH 19 LHS FROM DELHI TO KANPUR	AURAIYA	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN MUNICIPAL LIMITS OF HATHRAS FROM POLICE CHOWKI CHAMAR GATE TOWARDS LADPUR ON HATHRAS - LADPUR ROAD	HATHRAS	Regular	130	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO. 252 AND 256 ON NH530B BAREILLY- MATHURA ROAD	MATHURA	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1608	BETWEEN KM STONE NO. 167 AND 171 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

1609	BETWEEN KM STONE NO. 120 AND AURAIYA-KANNAUJ BORDER ON NH234	AURAIYA	Regular	150		DC	35	35	1225	32	95	Draw of Lots	15	4
1610	BHARTHANA - KANNAUJ ROAD WITHIN MUNICIPAL LIMITS OF AJITMAL	AURAIYA	Regular	100	OBC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1611	BETWEEN KM STONE NO. 43 AND 48 ON NH 321G JALESAR - NIDHAULI ROAD	ETAH	Regular	170	SC PH OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1612	BETWEEN KM STONE NO. 206 AND 208 ON NH 34 LHS FROM ALIGARH TO KANPUR	ETAH	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1613	BETWEEN KM STONE NO. 100 AND 103 ON NH 234 BHARTHANA - KANNAUJ ROAD	AURAIYA	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1614	WITHIN MUNICIPAL LIMITS OF MAINPURI BETWEEN BHAWAT CHAURAHA AND CHRISTIAN INTER COLLEGE GIRLS WING ON STATION ROAD	MAINPURI	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1615	BETWEEN KM STONE NO. 246 AND 250 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1616	WITHIN MUNICIPAL LIMITS OF MAINPURI BETWEEN SUDITI GLOBAL SCHOOL AND DEVI ROAD BYPASS TIRAHA ON DEVI BYPASS ROAD	MAINPURI	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1617	BETWEEN KM STONE NO. 360 AND 363 ON NH 19 RHS FROM DELHI TO KANPUR	AURAIYA	Regular	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1618	BETWEEN KM STONE NO. 65 AND 67 ON SH 122 SADABAD - JALESAR ROAD	ETAH	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1619	BETWEEN KM STONE NO. 37 AND 40 ON SH62 AGRA - BAH ROAD	AGRA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1620	BETWEEN KM STONE NO. 293 AND 296 ON NH 19 LHS FROM DELHI TO KANPUR	ETAWAH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1621	BETWEEN KM STONE NO. 54 AND 56 ON SH121 ALIGANJ -KAIMGANJ ROAD	ETAH	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1622	BETWEEN KM STONE NO. 96 AND 110 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	240	OPEN CC 1	СС	35	35	1225	32	12	Bidding	30	5
1623	BETWEEN KM STONE NO. 307 AND 317 ON NH19 LHS FROM DELHI TO KANPUR	ETAWAH	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1624	BETWEEN KM STONE NO. 213 AND 216 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1625	BETWEEN KM STONE NO. 46 AND 52 ON NH 234 BEWAR - ETAWAH ROAD	ETAWAH	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1626	BETWEEN KM STONE NO. 274 AND 285 ON NH 34 LHS FROM ALIGARH TO KANPUR	MAINPURI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1627	BETWEEN KM STONE NO. 20 AND 22 ON SH 29A FATEHGARH - GURSAHAIGANJ ROAD	FARRUKHABAD	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1628	BETWEEN KM STONE NO. 10 AND 14 ON SH 83 RHS FROM ETAWAH TO MAINPURI	ETAWAH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1629	BETWEEN KM STONE NO. 84 AND ETAWAH- AURAIYA BORDER ON NH 234 ETAWAH -	ETAWAH	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1630	KANNAUJ BETWEEN KM STONE NO. 286 AND 295 ON NH-34 RHS FROM ALIGARH TO KANPUR	MAINPURI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1631	BETWEEN KM STONE NO. 385 AND AURAIYA- KANPUR DEHAT BORDER ON NH	AURAIYA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1632	19 RHS FROM DELHI TO KANPUR WITHIN 5 KM FROM FIRE STATION PATIYALI TOWARDS PATIYALI ON SH -141 PATIYALI -	KANSHI RAM NAGAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
1633	ALIGANJ ROAD BETWEEN KM STONE NO. 168 AND 171 ON NH 509 MORADABAD- AGRA ROAD	HATHRAS	Regular	170	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1634	BETWEEN KM STONE NO. 28 AND 32 ON SH62 AGRA - BAH ROAD	AGRA	Regular	140	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1635	BETWEEN KM STONE NO. 544 AND 551 ON NH 730 C BISALPUR- BEWAR ROAD	FARRUKHABAD	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1636	BETWEEN KM STONE NO. 329 AND 334 ON NH 19 RHS FROM DELHI TO KANPUR	ETAWAH	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1637	BETWEEN KM STONE NO. 239 AND 244 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1638	BETWEEN KM STONE NO. 111 AND 113 ON NH234 BHARTHANA - KANNAUJ ROAD	AURAIYA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1639	BETWEEN KM STONE NO. 532 AND 535 ON NH 730 C BISALPUR- BEWAR ROAD	FARRUKHABAD	Regular	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1640	BETWEEN KM STONE NO. 114 AND 118 ON NH234 BHARTHANA - KANNAUJ ROAD	AURAIYA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1641	BETWEEN ETAWAH-AURAIYA DISTRICT BORDER AND KM STONE 360 ON NH 19 LHS	AURAIYA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1642	FROM DELHI TO KANPUR BETWEEN KM STONE NO. 67 AND 71 ON SH62 AGRA - KAUCHARAGHAT ROAD	AGRA	Regular	139	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1643	BETWEEN KM STONE NO. 125 AND 128 ON NH 234 LHS BELA - KANNAUJ ROAD	KANNAUJ	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1644	WITHIN MUNICIPAL LIMITS OF AURAIYA CITY ON SH 21 BELA - AURAIYA ROAD	AURAIYA	Regular	100	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1645	BETWEEN KM STONE NO. 22 AND 26 ON SH- 163 JALALABAD - SHAMSABAD ROAD	FARRUKHABAD	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1646	BETWEEN KM STONE NO. 1 AND 5 ON SOUTHERN BYPASS ROAD LHS FROM NH 19	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1647	TO NH 44 BETWEEN KM STONE NO. 195 AND 201 ON SH 43 BADAUN - FARRUKHABAD ROAD	FARRUKHABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1648	BETWEEN KM STONE NO. 369 AND 373 ON NH 19 RHS FROM DELHI TO KANPUR	AURAIYA	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1649	BETWEEN ETAWAH - AURAIYA DISTRICT BORDER AND KM STONE 359 ON NH 19 RHS	AURAIYA	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1650	FROM DELHI TO KANPUR BETWEEN KM STONE NO. 1 AND 4 ON SH 29A FATEHGARH -GURSAHAIGANJ ROAD	FARRUKHABAD	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
					l	l			I		1		1	

1651	BETWEEN KM STONE NO. 134 AND RAJASTHAN BORDER ON NH 44 LHS FROM	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1652	AGRA TO GWALIOR BETWEEN KM STONE NO. 301 AND 305 ON SH 21 BELA - AURAIYA ROAD	AURAIYA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1653	BETWEEN KM STONE NO. 339 AND 342 ON NH 34 RHS FROM ALIGARH TO KANPUR	KANNAUJ	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1654	BETWEEN KM STONE NO. 234 AND 240 ON NH-19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1655	BETWEEN KM STONE NO. 119 AND 124 ON NH 44 LHS FROM AGRA TO GWALIOR	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1656	BETWEEN KM STONE NO. 339 AND 342 ON NH 34 LHS FROM ALIGARH TO KANPUR	KANNAUJ	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1657	BETWEEN KM STONE NO. 179 AND 182 ON SH 43 BADAUN - FARRUKHABAD ROAD	FARRUKHABAD	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1658	BETWEEN KM STONE NO. 253 AND 258 ON NH19 RHS FROM DELHI TO KANPUR	FIROZABAD	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1659	BETWEEN KM STONE NO. 134 AND RAJASTHAN BORDER ON NH 44 RHS FROM	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1660	AGRA TO GWALIOR BETWEEN KM STONE NO. 99 AND 104 ON SH163 RHS FROM SAURIKH TO AIRWA	KANNAUJ	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1661	KATRA BETWEEN KM STONE NO. 246 AND 250 ON NH-19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1662	BETWEEN KM STONE NO. 305 AND 309 ON NH 34 RHS FROM ALIGARH TO KANPUR	KANNAUJ	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1663	BETWEEN KM STONE NO. 1 AND 4 ON SH141 SAURIKH - RAMNAGAR ROAD	KANNAUJ	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1664	BETWEEN KM STONE NO. 119 AND 124 ON NH 44 RHS FROM AGRA TO GWALIOR	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1665	BETWEEN KM STONE NO. 46 AND 50 ON SH 85 ETAH -SHIKOHABAD ROAD	FIROZABAD	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1666	BETWEEN KM STONE NO. 85 AND 90 ON SH163 CHIBRAMAU - SAURIKH ROAD	KANNAUJ	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1667	BETWEEN KM STONE NO. 234 AND 240 ON NH-19 RHS FROM DELHI TO KANPUR	FIROZABAD	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1668	BETWEEN KM STONE NO. 131 AND 134 ON NH 44 RHS FROM AGRA TO GWALIOR	AGRA	Regular	300	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1669	BETWEEN RADHA SWAMI SATSANG BEAS SORON AND KHAND VIKAS ADHIKARI OFFICE SORON ON NH-530B BAREILY - MATHURA	KANSHI RAM NAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1670	ROAD BETWEEN KM STONE NO. 38 AND 45 ON SH 85 ETAH- SHIKOHABAD ROAD	FIROZABAD	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1671	WITHIN MUNICIPAL LIMITS OF AURAIYA BETWEEN AURAIYA POLICE KOTWALI THANA AND INDIAN OIL POLICE CHOWKI VIA	AURAIYA	Regular	110	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
1672	SUBHASH CHOWK BETWEEN M R DEGREE COLLEGE MAIMRHEE AND ATHAIYA CHAURAHA ON NH-530B BAREILY - MATHURA ROAD	KANSHI RAM NAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1673	BETWEEN KM STONE NO. 4 AND 10 ON MDR 130 (NEW SH 143) SAIYAN -	AGRA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1674	BHARATPUR ROAD WITHIN MUNICIPAL LIMITS OF SHIKOHABAD	FIROZABAD	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1675	BETWEEN KM STONE NO. 2 AND 6 ON SH143 FIROZABAD - FATEHABAD ROAD	FIROZABAD	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1676	WITHIN MUNICIPAL LIMITS OF MOHANPUR	KANSHI RAM NAGAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1677	BETWEEN KM STONE NO. 181 AND 183 ON NH19 LHS FROM DELHI TO KANPUR	AGRA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1678	BETWEEN KM STONE NO. 19 AND 25 ON SH 85 ETAH -SHIKOHABAD ROAD	FIROZABAD	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1679	BETWEEN THANA KOTWALI SORON AND RAJYAKIYA POLYTECHNIQUE SORON ON NH- 530B BAREILY - MATHURA ROAD	KANSHI RAM NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1680	WITHIN MUNICIPAL LIMITS OF SAHAWAR	KANSHI RAM NAGAR	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1681	WITHIN 4 KM FROM DISTRICT COLLECTRATE OFFICE KASGANJ TOWARDS KASGANJ ON NH 530B BAREILY - MATHURA ROAD	KANSHI RAM NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1682	BETWEEN KM STONE NO. 133 AND 137 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	220	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1683	WITHIN MUNCIPAL LIMITS OF AMAPUR	KANSHI RAM NAGAR	Regular	100	OPEN CC 2	DC	20	20	400	32	55	Draw of Lots	15	5
1684	BETWEEN KM STONE NO. 1 AND 5 ON SOUTHERN BYPASS ROAD RHS FROM NH	AGRA	Regular	300	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
1685	19 TO NH 44 BETWEEN END OF KADARGANJ GANGA BRIDGE AND KASGANJ -BADAUN BORDER TOWARDS BADAUN ON SH 141	KANSHI RAM NAGAR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1686	BETWEEN KM STONE NO. 202 AND 205 ON NH19 RHS FROM DELHI TO KANPUR	AGRA	Regular	200	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1687	WITHIN 3 KM FROM KASGANJ-ALIGARH BORDER ON SH105 TOWARDS KASGANJ	KANSHI RAM NAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1688	WITHIN MUNICIPAL LIMITS OF SHAMSABAD	FARRUKHABAD	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1689	WITHIN MUNICIPAL LIMITS OF GANJDUDWARA	KANSHI RAM NAGAR	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1690	WITHIN MUNICIPAL LIMITS OF KAIMGANJ	FARRUKHABAD	Regular	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1691	BETWEEN KM STONE NO. 202 AND 205 ON NH19 LHS FROM DELHI TO KANPUR	AGRA	Regular	205	SC	CFS	30	30	900	0	0	Draw of Lots	0	3

1692	WITHIN MUNICIPAL LIMITS OF AGRA CITY BETWEEN BODLA CHOURAHA AND BHOGIPURA CHOURAHA VIA MARUTI	AGRA	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1693	ESTATE CHOURAHA BETWEEN KM STONE NO. 276 AND 278 ON SH33 MATHURA BHARATPUR ROAD	MATHURA	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1694	BETWEEN KM STONE NO. 192 AND 197 ON	HATHRAS	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1695	NH 34 LHS ALIGARH - KANPUR ROAD BETWEEN KM STONE NO. 195 AND 201 ON	AGRA	Regular	210	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1696	NH19 LHS FROM DELHI TO KANPUR BETWEEN KM STONE NO. 278 AND 280 ON	MATHURA	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1697	SH 33 MATHURA BHARATPUR ROAD BETWEEN KM STONE NO. 26 AND 31 ON	AGRA	Regular	300	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
1000	SOUTHERN BYPASS ROAD LHS FROM NH 19 TO NH 44			100							05		15	
1698	BETWEEN KM STONE NO. 174 AND 178 ON NH 34 LHS FROM ALIGARH TO KANPUR	HATHRAS	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1699	BETWEEN KM STONE NO. 195 AND 201 ON NH19 RHS FROM DELHI TO KANPUR	AGRA	Regular	210	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
1700	BETWEEN CMO OFFICE TIRAHA AND DM OFFICE VIA RAJEEV BHAWAN	MATHURA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1701	BETWEEN KM STONE NO. 114 AND 120 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	240	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1702	BETWEEN KM STONE NO. 184 AND 188 ON NH 34 ALIGARH - KANPUR ROAD	HATHRAS	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1703	BETWEEN KM STONE NO. 51 AND 54 ON SH 142 KOSI FARAH ROAD	MATHURA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1704	FROM END OF THE OLD BRIDGE OVER YAMUNA RIVER AND ETAWAH-BHIND BORDER ON NH-92 ETAWAH- GWALIOR ROAD	ETAWAH	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1705	WITHIN 2 KM FROM RAJASTHAN BORDER TOWARDS MATHURA ON SH 33	MATHURA	Regular	200	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1706	BETWEEN KM STONE NO. 88 AND 91 ON SH62 AGRA - KAUCHARAGHAT ROAD	AGRA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1707	BETWEEN SBI CHAURAHA AND BHARATPUR GATE CHAURAHA	MATHURA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1708	WITHIN MUNICIPAL LIMITS OF SIRSAGANJ	FIROZABAD	Regular	125	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
1709	BETWEEN KM STONE NO. 134 AND 138 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	240	OBC PH	CC	35	35	1225	32	12	Bidding	30	4
1710	WITHIN 2 KM FROM MASANI POLICE STATION TOWARDS NH19	MATHURA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1711	BETWEEN PRIYAKANT JU TEMPLE AND RUKMANI VIHAR GATE VIA RUKMANI VIHAR CHOWK	MATHURA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1712	BETWEEN KM STONE NO. 40 AND 50 ON SH- 103 SIRSAGANJ - KISHNI ROAD	MAINPURI	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1713	BETWEEN KM STONE NO. 3 AND 7 ON SH 83 RHS FROM ETAWAH TO MAINPURI	ETAWAH	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1714	BETWEEN HARYANA BORDER AND KM STONE NO. 98 ON NH19 LHS FROM DELHI	MATHURA	Regular	240	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1715	TO KANPUR BETWEEN PAGAL BABA MANDIR AND KM STONE NO. 9 ON MATHURA-VRINDAWAN ROAD	MATHURA	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
1716	BETWEEN KM STONE NO. 3 AND 7 ON SH 83 LHS FROM ETAWAH TO MAINPURI	ETAWAH	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1717	WITHIN MUNICIPAL LIMITS OF ETAWAH BETWEEN ITI CHAURAHA AND KULDEEP MOTORS MARUTI SUZUKI ARENA VIA SP AWAS	ETAWAH	Regular	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1718	BETWEEN BIRLA MANDIR AND ADHDHA POLICE CHOWKI ON MATHURA- VRINDAWAN ROAD	MATHURA	Regular	170	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1719	BETWEEN HOTEL GOVERDHAN PALACE AND SBI CHAURAHA VIA DHAULIPYAU	MATHURA	Regular	200	OPEN	CC	20	20	400	32	12	Bidding	30	5
1720	BETWEEN KM STONE NO. 72 AND 75 ON SH 142 KOSI FARAH ROAD	MATHURA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1721	BETWEEN KM STONE NO. 30 AND 35 ON SH 83 LHS FROM ETAWAH TO MAINPURI	ETAWAH	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1722	BETWEEN KM STONE NO. 287 AND 298 ON NH-34 LHS FROM ALIGARH TO KANPUR	MAINPURI	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1723	BETWEEN KM STONE NO. 3 AND 6 ON SH 85 ETAH-SHIKOHABAD ROAD	ETAH	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1724	WITHIN 6 KM FROM BIDHUNA TEHSIL OFFICE GATE TOWARDS AIRWA KATRA ON SH 103 BIDHUNA - KISHNI ROAD	AURAIYA	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1725	BETWEEN KM STONE NO. 216 AND 218 ON NH 509 MORADABAD - AGRA ROAD	HATHRAS	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1726	BETWEEN KM STONE NO. 3 AND 12 ON NH 234 BEWAR - ETAWAH	MAINPURI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1727	BETWEEN KM STONE NO. 214 AND 216 ON NH 530B BAREILLY - MATHURA ROAD	HATHRAS	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1728	BETWEEN KM STONE NO. 524 AND 531 ON NH 730 C BISALPUR- BEWAR ROAD	FARRUKHABAD	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1729	BETWEEN KM STONE NO. 175 AND 178 ON NH 509 MORADABAD- AGRA ROAD	HATHRAS	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1730	WITHIN MUNICIPAL LIMITS OF HATHRAS BETWEEN UPSRTC BUS STAND AND SBI	HATHRAS	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1731	MAIN BRANCH BETWEEN KM STONE NO.15 AND 25 ON SOUTHERN BYPASS ROAD RHS FROM NH 19	AGRA	Regular	300	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1732	TO NH 44 WITHIN MUNICIPAL LIMITS OF MAINPURI	MAINPURI	Regular	120	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
	BETWEEN BHAWAT CHAURAHA AND SINDHIYA TIRAHA													

1733	BETWEEN KM STONE NO. 323 AND 328 ON NH 19 LHS FROM DELHI TO KANPUR	ETAWAH	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1734	WITHIN MUNICIPAL LIMITS OF ATSU	AURAIYA	Regular	110	OPEN PH	DC	20	20	400	32	55	Draw of Lots	15	5
1735	BETWEEN KM STONE NO. 14 AND 23 ON NH 234 BEWAR- ETAWAH	MAINPURI	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1736	BETWEEN KM STONE NO. 229 AND 233 ON NH-19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1737	BETWEEN KM STONE NO. 205 AND 208 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1738	BETWEEN KADRI GATE CHAURAHA TO PANCHAL GHAT CHAURAHA ON PANCHAL -	FARRUKHABAD	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1739	GHAT ROAD WITHIN MAINPURI DISTRICT ON NH-19 RHS FROM DELHI TO KANPUR	MAINPURI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1740	BETWEEN KM STONE NO. 30 AND 36 ON SH143 FATEHABAD - SAIYAN ROAD	AGRA	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1741	BETWEEN KM STONE NO. 11 AND 14 ON SH62 AGRA - BAH ROAD	AGRA	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1742	BETWEEN KM STONE NO. 20 AND 23 ON SH104 SHIKOHABAD - BAH ROAD	AGRA	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1743	BETWEEN KM STONE NO. 277 AND 282 ON NH19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1744	WITHIN MAINPURI DISTRICT ON NH-19 LHS FROM DELHI TO KANPUR	MAINPURI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1745	BETWEEN KM STONE NO. 45 AND 52 ON SH62 AGRA - BAH ROAD	AGRA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1746	WITHIN MUNCIPAL LIMIT OF MATHURA	MATHURA	Regular	200	OPEN CC 1	СС	20	20	400	32	12	Bidding	30	5
	CHOWK (GOVERDHAN CHAURAHA) TOWARDS DEENG													
1747	BETWEEN KM STONE NO. 2 AND 7 ON SH 103 SIRSAGANJ - KISHNI ROAD	FIROZABAD	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1748	BETWEEN BEWAR BUS STAND AND MAINPURI -FARRUKHABAD BORDER ON NH 730C BISALPUR- BEWAR ROAD	MAINPURI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1749	WITHIN 3 KM FROM KM STONE NO. 15 ON SH143 FIROZABAD - FATEHABAD ROAD	AGRA	Regular	127	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1750	BETWEEN KM STONE NO. 262 AND 264 ON NH-19 RHS FROM DELHI TO KANPUR	FIROZABAD	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1751	WITHIN MUNICIPAL LIMITS OF AGRA FROM SULTAN GANJ KI PULIYA TO MAHARAJA	AGRA	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1752	AGRASEN SEVA SADAN BETWEEN KM STONE NO. 125 AND 129 ON NH 44 RHS FROM AGRA TO GWALIOR	AGRA	Regular	300	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1753	BETWEEN KM STONE NO. 40 AND 46 ON SH- 141 SAURIKH - MAINPURI ROAD	MAINPURI	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1754	BETWEEN KM STONE NO. 10 AND 20 ON SH 31 TUNDLA - ETAH ROAD	FIROZABAD	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1755	WITHIN 5 KM FROM KM STONE NO. 117 TOWARDS AGRA CITY RHS ON NH 44	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1756	BETWEEN KM STONE NO. 131 AND 134 ON NH 44 LHS FROM AGRA TO GWALIOR	AGRA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1757	WITHIN MUNICIPAL LIMITS OF BAKEWAR	ETAWAH	Regular	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1758	BETWEEN KM STONE NO. 17 AND 20 ON SH 84 SHIKOHABAD - MAINPURI ROAD	FIROZABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1759	BETWEEN KM STONE NO. 7 AND 11 ON NH 21 AGRA - JAIPUR ROAD	AGRA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1760	BETWEEN KM STONE NO. 13 AND 19 ON MDR 130 (NEW SH 143) SAIYAN -	AGRA	Regular	180	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1761	BHARATPUR ROAD BETWEEN POLICE CHOWKI BICHPURI AND ALIGARH BORDER ON SH 80 MATHURA -	MATHURA	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1762	IGLAS ROAD BETWEEN KM STONE NO. 347 AND ETAWAH-AURAIYA BORDER ON NH 19 LHS	ETAWAH	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1763	FROM DELHI TO KANPUR BETWEEN KM STONE NO. 231 AND 234 ON	AGRA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
1764	NH509 LHS FROM AGRA TO MORADABAD BETWEEN KM STONE NO. 185 AND 188 ON	AGRA	Regular	210	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1765	NH19 RHS FROM DELHI TO KANPUR BETWEEN KM STONE NO. 33 AND 35 ON SH	HATHRAS	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1766	122 MATHURA - JALESAR ROAD WITHIN MUNICIPAL LIMITS OF BIDHUNA ON BIDHUNA - RAMGARH ROAD	AURAIYA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1767	BIDHUNA - KAMGARH KOAD BETWEEN KM STONE NO. 15 AND 18 ON NH321G AGRA-JALESAR ROAD	AGRA	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1768	BETWEEN KM STONE NO. 181 AND 183 ON	AGRA	Regular	240	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1769	NH19 RHS FROM DELHI TO KANPUR BETWEEN KM STONE NO. 197 AND 201 ON	HATHRAS	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1770	NH 530B BAREILLY - MATHURA ROAD BETWEEN KM STONE NO. 185 AND 188 ON	AGRA	Regular	240	OPEN	СС	35	35	1225	32	12	Bidding	30	5
1771	NH19 LHS FROM DELHI TO KANPUR WITHIN MUNICIPAL LIMITS OF ACHALDA	AURAIYA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1772	TOWN BETWEEN KM STONE NO. 277 AND 282 ON	FIROZABAD	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1773	NH19 RHS FROM DELHI TO KANPUR BETWEEN KM STONE NO. 16 AND 23 ON SH	MAINPURI	Regular	115	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1774	103 SIRSAGANJ- KISHNI ROAD BETWEEN KM STONE NO. 158 AND 162 ON	MATHURA	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1775	NH19 RHS FROM DELHI TO KANPUR BETWEEN KM STONE NO. 131 AND 133 ON	KANNAUJ	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	NH 234 BELA - KANNAUJ ROAD													

1776	BETWEEN KM STONE NO. 251 AND 258 ON NH-19 LHS FROM DELHI TO KANPUR	FIROZABAD	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1777	BETWEEN KM STONE NO. 151 AND 156 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1778	BETWEEN KM STONE NO. 172 AND 175 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1779	BETWEEN KM STONE NO. 151 AND 154 ON NH 234 LHS FROM BELA TO KANNAUJ	KANNAUJ	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1780	WITHIN 4 KM FROM THANA NASIRPUR TOWARDS BATESHWAR ON SH 104	FIROZABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1781	BETWEEN KM STONE NO. 257 AND 260 ON NH530B BAREILLY-MATHURA ROAD	MATHURA	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1782	BETWEEN KM STONE NO. 31 AND 33 ON SH 84 RHS FROM SHIKOHABAD TO MAINPURI	MAINPURI	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
1783	WITHIN 6 KM FROM PURVA MADHYAMIK VIDHYALAYA MIYAU TOWARDS PATIYALI ON	KANSHI RAM NAGAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
	SH-141 PATIYALI - BADAUN ROAD									-	-			
1784	BETWEEN KM STONE NO. 264 AND 267 ON SH39 AGRA - TANTPUR ROAD	AGRA	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1785	BETWEEN KM STONE NO. 259 AND 262 ON NH 34 ALIGARH - KANPUR ROAD	MAINPURI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1786	BETWEEN KM STONE NO. 47 AND 49 ON SH 83 FROM KARHAL TO MAINPURI	MAINPURI	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1787	BETWEEN KM STONE NO. 7 AND 11 ON SH 84 SHIKOHABAD- MAINPURI ROAD	FIROZABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1788	BETWEEN KM STONE NO. 305 AND 309 ON NH 34 LHS FROM ALIGARH TO KANPUR	KANNAUJ	Regular	195	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1789	BETWEEN KM STONE NO. 241 AND 244 ON NH 34 ALIGARH - KANPUR ROAD	MAINPURI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1790		ETAH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1791	BETWEEN KM STONE NO. 27 AND 30 ON SH 85 ETAH - SHIKOHABAD ROAD	FIROZABAD	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1792 1793	WITHIN MUNICIPAL LIMITS OF MAREHRA TOWN BETWEEN KM STONE NO. 345 AND 350 ON	ETAH	Regular Regular	110	OPEN SC	DC CFS	20 35	20 35	400	32 0	55 0	Draw of Lots Draw of Lots	15 0	5
1793	NH 34 ALIGARH- KANPUR ROAD BETWEEN KM STONE NO. 72 AND 75 ON SH	MAINPURI		120	OPEN		35				75	Draw of Lots		5
	83 MAINPURI - KURAWALI ROAD		Regular			DC		35	1225	32			15	
1795	WITHIN 2 KM FROM ATEPUR ROAD ON SH104 SHIKOHABAD -BATESHWAR ROAD	FIROZABAD	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1796	WITHIN 2 KM FROM SINDHIYA TIRAHA TOWARDS GHIROR ON SH -84	MAINPURI	Regular	105	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1797	BETWEEN KM STONE NO. 122 AND 128 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1798	BETWEEN KM STONE NO. 32 AND 35 ON SH 85 ETAH -SHIKOHABAD ROAD	FIROZABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1799	BETWEEN KM STONE NO. 41 AND 45 ON SH 83 KARHAL - MAINPURI ROAD	MAINPURI	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1800	BETWEEN KM STONE NO. 25 AND 27 ON SH 121 ETAH - ALIGANJ ROAD	ETAH	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1801	BETWEEN KM STONE NO. 12 AND 17 ON NH 21 AGRA - JAIPUR ROAD	AGRA	Regular	220	OBC	CC	35	35	1225	32	12	Bidding	30	4
1802	BETWEEN KM STONE NO. 129 AND 133 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	240	SC	CFS	35	35	1225	Ō	0	Draw of Lots	0	3
1803	WITHIN MUNICIPAL LIMITS OF MAINPURI, FROM BHAWAT CHOURAHA TO MAHARAJA TEJ SINGH CHOURAHA ON SH83 LHS	MAINPURI	Regular	120	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1804	BETWEEN KM STONE NO. 38 AND 40 ON SH 121 JAITHARA TO ALIGANJ ROAD	ETAH	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1805	BETWEEN KM STONE NO. 39 AND 43 ON SH- 163 HAJIYAPUR CHAURAHA - NAWABGANJ ROAD	FARRUKHABAD	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1806	ROAD BETWEEN KM STONE NO. 192 AND 197 ON NH 34 RHS ALIGARH - KANPUR ROAD	HATHRAS	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1807	WITHIN MUNICIPAL LIMITS OF JALESAR	ETAH	Regular	135	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1808	WITHIN 4 KM FROM KAILTHA CHAURAHA TOWARDS PATIYALI ON SH 141 PATIYALI -	ETAH	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1809	ALIGANJ ROAD BETWEEN KM STONE NO. 74 AND 78 ON SH 121 ALIGANJ- FARRUKHABAD ROAD	FARRUKHABAD	Regular	125	0000000	DC	35	35	1225	32	75	Draw of Lots	15	4
1810	BETWEEN KM STONE NO. 209 AND 212 ON NH 530B BAREILLY - MATHURA ROAD	HATHRAS	Regular	170	OBC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
1811	BETWEEN KM STONE NO. 61 AND 65 ON SH 83 RHS FROM MAINPURI TO KURAWALI	MAINPURI	Regular	120	SC PH OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1812	ROAD WITHIN MUNICIPAL LIMITS OF GHIROR WITHIN 2 KM FROM GHIROR POLICE	MAINPURI	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1813	CHOWKI TOWARDS SHIKOHABAD BETWEEN KM STONE NO. 213 AND 215 ON	HATHRAS	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1814	NH 509 MORADABAD - AGRA ROAD	ЕТАН	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1815	TOWARDS MAINPURI ON SH 141 ALIGANJ - MAINPURI ROAD BETWEEN KM STONE NO. 122 AND 125 ON	MATHURA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1816	NH19 RHS FROM DELHI TO KANPUR BETWEEN KM STONE NO. 26 AND 29 ON SH	MAINPURI	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1817	84 SHIKOHABAD - MAINPURI ROAD BETWEEN KM STONE NO. 190 AND 194 ON	HATHRAS	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1818	NH 509 MORADABAD - AGRA ROAD BETWEEN ETAWAH-AURAIYA BORDER AND	AURAIYA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	KM STONE NO. 96 ON NH234 BHARTHANA - KANNAUJ ROAD		~						_					

1819	BETWEEN KM STONE NO. 127 AND 132 ON NH19 RHS FROM DELHI TO KANPUR	MATHURA	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1820	BETWEEN KM STONE NO. 204 AND 206 ON NH 509 MORADABAD - AGRA ROAD	HATHRAS	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1821	BETWEEN KM STONE NO. 356 AND 360 ON NH 34 ALIGARH- KANPUR ROAD	KANNAUJ	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1822	BETWEEN KM STONE 282 AND 285 ON SH 21 BELA - AURAIYA ROAD	AURAIYA	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
1823	WITHIN 4 KM FROM GOVERNMENT PRIMARY SCHOOL (NAGLA BAKSHI) TOWARDS PATIYALI ON SH -141 PATIYALI - ALIGANI ROAD	KANSHI RAM NAGAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1824	BETWEEN KM STONE NO. 268 AND 270 ON SH 33 MATHURA - BHARATPUR ROAD	MATHURA	Regular	170	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
1825	BETWEEN KM STONE NO. 113 AND 118 ON NH19 LHS FROM DELHI TO KANPUR	MATHURA	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1826	BETWEEN KM STONE NO. 207 AND 210 ON NH 509 MORADABAD - AGRA ROAD	HATHRAS	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1827	KM STONE NO. 86 AND 88 ON SH 121 ALIGANJ- FARRUKHABAD ROAD	FARRUKHABAD	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1828	BETWEEN KM STONE NO. 274 AND 276 ON SH 33 MATHURA - BHARATPUR ROAD	MATHURA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1829	BETWEEN KM STONE NO. 202 AND 206 ON NH 530B BAREILLY - MATHURA ROAD	HATHRAS	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1830	WITHIN 7 KM FROM AIRWA KATRA POLICE STATION TOWARDS KISHNI ON SH 103 BIDHUNA - KISHNI ROAD	AURAIYA	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1831	BETWEEN KM STONE NO. 264 AND 273 ON NH-34 RHS FROM ALIGARH TO KANPUR	MAINPURI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1832	BETWEEN KM STONE NO. 222 AND 226 ON NH 34 LHS ALIGARH - KANPUR ROAD	ETAH	Regular	170	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1833	BETWEEN BHUTESWAR TIRAHA AND POLICE CHOWKI BIRLA MANDIR ON MATHURA VRINDAVAN ROAD	MATHURA	Regular	120	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1834	VRINDAVAN ROAD BETWEEN KM STONE NO. 4 AND 7 ON SH 31 TUNDLA - ETAH ROAD	FIROZABAD	Regular	130	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
1835	BETWEEN KM STONE NO. 16 AND 19 ON SH 122 MATHURA - JALESAR ROAD	MATHURA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1836	BETWEEN KM STONE NO. 7 AND 10 ON SH 37 ON LHS FROM BAREILLY TOWARDS	BAREILLY	Regular	173	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1837	KICHHA BETWEEN KM STONE NO. 284 AND 289 ON NH 30 ON LHS TOWARDS SHAHJAHANPUR	BAREILLY	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1838	BETWEEN KM STONE NO. 234 AND 237 ON NH 530 ON LHS FROM RAMPUR TOWARDS BAREILLY	BAREILLY	Regular	179	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1839	BETWEEN KM STONE NO. 41 AND 44 ON SH 37 ON RHS FROM BAREILLY TOWARDS	BAREILLY	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1840	KICHHA BETWEEN KM STONE NO. 234 AND 237 ON NH 530 ON RHS FROM RAMPUR TOWARDS	BAREILLY	Regular	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1841	BAREILLY BETWEEN KM STONE NO. 242 AND 250 ON NH 530 ON RHS FROM RAMPUR TOWARDS	BAREILLY	Regular	188	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1842	SHAHJAHANPUR BETWEEN KM STONE NO 4 AND 11 ON NH 730 TOWARDS PURANPUR	PILIBHIT	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1843	BETWEEN KM STONE NO. 46 AND 49 ON SH 37 ON RHS FROM BAREILLY TOWARDS	BAREILLY	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1844	KICHHA BETWEEN KM STONE NO. 319 AND 321 ON NH 30 ON RHS FROM PILIBHIT TOWARDS	BAREILLY	Regular	210	OPEN	CC	35	35	1225	32	12	Bidding	30	5
1845	BAREILLY BETWEEN KM STONE NO. 223 AND 228 ON NH 530 ON LHS FROM RAMPUR TOWARDS	BAREILLY	Regular	173	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1846	BAREILLY BETWEEN KM STONE NO 41 AND 46 ON NH730 TOWARDS KHUTAR	PILIBHIT	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1847	BETWEEN KM STONE NO. 16 AND 18 ON SH 37 ON LHS FROM BAREILLY TOWARDS	BAREILLY	Regular	159	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1848	KICHHA BETWEEN KM STONE NO. 323 AND 329 ON NH 30 ON LHS FROM PILIBHIT TOWARDS	BAREILLY	Regular	178	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1849	BAREILLY WITHIN 5 KM FROM SATELLITE BUS STAND	BAREILLY	Regular	178	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1850	ON PILIBHIT BYEPASS ROAD WITHIN MUNICIPAL LIMIT OF BAREILLY BETWEEN KM STONE NO. 218 AND 222 ON NH 530 ON RHS FROM RAMPUR TOWARDS	BAREILLY	Regular	186	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1851	BAREILLY BETWEEN KM STONE NO 283 AND 287 ON	PILIBHIT	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1852	NH 30 TOWARDS PILIBHIT BETWEEN BISALPUR CHAURAHA AND HOTEL SOBTI CONTINENTAL WITHIN MUNICIPAL	BAREILLY	Regular	185	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1853	LIMIT OF BAREILLY ON SAU FUTA ROAD BAREILLY WITHIN	BAREILLY	Regular	225	OPEN	СС	20	20	400	32	12	Bidding	30	5
1854	MUNICIPAL LIMIT OF BAREILLY BETWEEN KM STONE NO. 238 AND 250 ON	BAREILLY	Regular	173	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1855	NH 530 ON LHS FROM RAMPUR TOWARDS SHAHJAHANPUR BETWEEN KM STONE NO 264 AND 268 ON	PILIBHIT	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1856	NH 30 TOWARDS PILIBHIT	BAREILLY	Regular	205	OPEN	CC	20	20	400	32	12	Bidding	30	5
1857	MUNICIPAL LIMIT OF BAREILLY BETWEEN CHOWKI CHAURAHA AND HEAD	BAREILLY	Regular	164	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1858	POST OFFICE WITHIN MUNICIPAL LIMIT OF BAREILLY BETWEEN KM STONE NO. 302 AND 312 ON	BAREILLY	Regular	173	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1859	NH 30 ON RHS FROM PILIBHIT TOWARDS BAREILLY WITHIN 5 KM FROM INTERSECTION OF SH	PILIBHIT	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	162 AND NH 731K TOWARDS BILSANDA ON SH 162													

1860	BETWEEN CHOUPLA CHAURAHA AND AYUB KHAN CHAURHA WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	179	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1861	BETWEEN KM STONE NO. 311 AND 321 ON NH 30 ON LHS FROM PILIBHIT TOWARDS	BAREILLY	Regular	163	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1862	BAREILLY BETWEEN TULIKA GARDEN BANQUET HALL AND SHRI SAI LAWN BAREILLY WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	198	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1863	BETWEEN SELECTION POINT TOWER AND STADIUM ROAD DD PURAM WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	220	OPEN	СС	20	20	400	32	12	Bidding	30	5
1864	BETWEEN ASSAM CHAURAHA, PILIBHIT AND GAUHANIA CHAURAHA, PILIBHIT ON NH 731K	PILIBHIT	Regular	185	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1865	WITHIN MUNICIPAL LIMIT OF NAWABGANJ ON NAWABGANJ TO BIJAURIA STATION ROAD (NOT ON NH/SH)	BAREILLY	Regular	138	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1866	BETWEEN AYUB KHAN CHAURAHA AND SATELLITE BUS STATION VIA KALIBARI ROAD WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	167	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1867	BETWEEN EIT PAJAYA CHAURAHA AND MURTI NURSING HOME WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	171	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1868	WITHIN 4 KM FROM NEORIA POLICE STATION ON NH 731K TOWARDS KHATIMA	PILIBHIT	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1869	BETWEEN UP SPINAL INJURIES & REHABILITATION CENTRE AND PHOENIX MALL ON PILIBHIT BYE PASS ROAD WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	174	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
1870	ON DENTAL COLLEGE ROAD WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
1871	BETWEEN KM STONE NO. 23 AND 27 ON NH 9 AT LHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1872	WITHIN 2 KM FROM GOVT POLYTECHNIC CB GANJ ON RHS TOWARDS JHUMKA TIRAHA WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	187	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
1873	BETWEEN KM STONE NO 297 AND 299 ON NH 30 TOWARDS BAREILLY	PILIBHIT	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1874	BETWEEN KM STONE NO. 18 AND 22 ON NH 9 AT LHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1875	BETWEEN KM STONE NO. 32 AND 35 ON NH 9 AT RHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1876	WITHIN 3 KM FROM GOVT POLYTECHNIC CB GANJ ON LHS TOWARDS JHUMKA TIRAHA WITHIN MUNICIPAL LIMIT OF BAREILLY	BAREILLY	Regular	191	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
1877	WITHIN 3 KM FROM KISAN SAHKARI SUGAR MILL LIMITED,POWAYAN TOWARDS KHUTAR ON NH 731	SHAHJAHANPUR	Regular	175	SC	CFS	35	35	1225	0	Ō	Draw of Lots	0	3
1878	BETWEEN KM STONE NO. 203 AND 206 ON NH 530 AT LHS FROM RAMPUR TOWARDS BAREILLY	RAMPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1879	BETWEEN KM STONE NO. 25 AND 28 ON SH 144 TOWARDS RAMPUR	RAMPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1880	BETWEEN KM STONE NO. 38 AND 41 ON NH 9 AT LHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1881	BETWEEN KM STONE NO. 11 AND 14 ON SH 144 TOWARDS RAMPUR	RAMPUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1882	WITHIN 3 KM FROM GOMTI BRIDGE ON SH 93 TOWARDS SHAHJAHANPUR	LAKHIMPUR KHERI	Regular	120	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1883	BETWEEN KM STONE NO 79 AND 82 ON NH 730A TOWARDS PURANPUR	SHAHJAHANPUR	Regular	175	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
1884	BETWEEN KM STONE NO. 16 AND 19 ON NH 9 AT RHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	165	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
1885	BETWEEN KM STONE NO. 67 AND 72 ON SH 125 TOWARDS BILARI	RAMPUR	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1886	WITHIN 3 KM FROM INTERSECTION OF NH 731 AND NH 730 TOWARDS PALIA ON NH 731	SHAHJAHANPUR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1887	BETWEEN KM STONE NO. 32 AND 37 ON NH 9 AT LHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1888	WITHIN MUNICIPAL LIMIT OF MILAK TOWN (NOT ON NH/SH)	RAMPUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1889	BETWEEN KM STONE NO. 49 AND 57 ON SH 144 TOWARDS SWAR	RAMPUR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1890	BETWEEN KM STONE NO. 20 AND 24 ON NH 9 AT RHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1891	WITHIN 3 KM FROM RAJIV CHOWK,POWAYAN TOWARDS KHUTAR ON NH 731	SHAHJAHANPUR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1892	BETWEEN KM STONE NO. 42 AND 48 ON SH 144 TOWARDS SWAR	RAMPUR	Regular	129	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1893	WITHIN MUNICIPAL LIMIT OF TANDA TOWN (NOT ON NH/SH)	RAMPUR	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1894	BETWEEN KM STONE NO. 194 AND 198 ON NH 530 AT RHS FROM RAMPUR TOWARDS BAREILLY	RAMPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1895	BETWEEN KM STONE NO 98 AND 102 ON SH 101 TOWARDS SAMPURNA NAGAR	LAKHIMPUR KHERI	Regular	141	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1896	WITHIN MUNICIPAL LIMIT OF RAMPUR CITY BETWEEN PARIVARTAN CHOWK AND DISTRICT JAIL RAMPUR (NOT ON NH/SH)	RAMPUR	Regular	190	OPEN	CC	20	20	400	32	12	Bidding	30	5
1897	BETWEEN KM STONE NO. 196 AND 202 ON NH 530 AT LHS FROM RAMPUR TOWARDS BAREILLY	RAMPUR	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1898	WITHIN MUNICIPAL LIMIT OF BILASPUR TOWN (NOT ON NH/SH)	RAMPUR	Regular	135	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
1899	WITHIN 3 KM FROM INTERSECTION OF NH 730A AND SH 162 TOWARDS BISALPUR ON SH 162	SHAHJAHANPUR	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	SH 162	1	1	L						1	l	1		L

1901 B N B 1902 B 1	BAREILLY BETWEEN KM STONE NO 185 AND 188 ON													5
B 1902 B 1	NH 9 AT RHS FROM MORADABAD TOWARDS	RAMPUR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BAREILLY BETWEEN KM STONE NO. 66 AND 70 ON SH 144 TOWARDS BAJPUR	RAMPUR	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO. 181 AND 188 ON NH 9 AT LHS FROM MORADABAD TOWARDS	RAMPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1904 V	BAREILLY WITHIN 5 KM FROM INTERSECTION OF NH 730A AND SH 162 TOWARDS KHUTAR ON SH	SHAHJAHANPUR	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1905 B	162 BETWEEN KM STONE NO. 9 AND 17 ON NH 9 AT LHS FROM RAMPUR TOWARDS	RAMPUR	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
R 1906 B	RUDRAPUR BETWEEN KM STONE NO. 58 AND 65 ON SH 144 TOWARDS BAJPUR	RAMPUR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
9	BETWEEN KM STONE NO. 9 AND 15 ON NH 9 AT RHS FROM RAMPUR TOWARDS RUDRAPUR	RAMPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1908 V 7	WITHIN 8 KM FROM INTERSECTION OF NH 731 AND NH 30 TOWARDS SITAPUR ON NH	SHAHJAHANPUR	Regular	165		CFS	35	35	1225	0	0	Draw of Lots	0	3
1909 B N	30 ON RHS BETWEEN KM STONE NO. 208 AND 213 ON NH 530 AT RHS FROM RAMPUR TOWARDS BAREILLY	RAMPUR	Regular	160	SC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
1910 V	WITHIN MUNICIPAL LIMIT OF AONLA TOWN (NOT ON NH/SH)	BAREILLY	Regular	140	OBC PH OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN MUNICIPAL LIMIT OF FARIDPUR TOWN (NOT ON NH/SH)	BAREILLY	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	WITHIN MUNICIPAL LIMIT OF SWAR TOWN (NOT ON SH)	RAMPUR	Regular	145	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	BETWEEN KM STONE NO 20 AND 23 ON SH 93 TOWARDS SHAHJAHANPUR	LAKHIMPUR KHERI	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
S	WITHIN 3 KM FROM BHAMORA POLICE STATION ,BHAMORA ON NH 530 B ON RHS TOWARDS BADAUN	BAREILLY	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1915 V	WITHIN 4 KM FROM GLOBAL LAW COLLEGE BAREILLY TOWARDS BISALPUR ON NH 730B	BAREILLY	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
N	BETWEEN KM STONE NO. 190 AND 195 ON NH 530 AT LHS FROM RAMPUR TOWARDS	RAMPUR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1917 B	BAREILLY BETWEEN KM STONE NO 13 AND 16 ON SH 93 TOWARDS SHAHJAHANPUR	LAKHIMPUR KHERI	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1918 V N	WITHIN 5 KM FROM LOTUS INSTITUTE OF MANAGEMENT ON NH 30 ON RHS	BAREILLY	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1919 V If	TOWARDS BAREILLY WITHIN 3 KM FROM DWARIKESH SUGAR INDUSTRIES LTD ON NH 30 ON RHS TOWARDS BAREILLY	BAREILLY	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1920 B N	BETWEEN KM STONE NO. 254 AND 259 ON NH 30 ON LHS FROM BAREILLY TOWARDS	BAREILLY	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1921 B N	SHAHJAHANPUR BETWEEN KM STONE NO. 258 AND 263 ON NH 30 ON RHS FROM BAREILLY TOWARDS SHAHJAHANPUR	BAREILLY	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1922 V 7	WITHIN 4 KM FROM INTERSECTION OF NH 730A AND NH 30 TOWARDS MOHAMMADI ON NH 730A	LAKHIMPUR KHERI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1923 B N	BETWEEN KM STONE NO. 199 AND 202 ON NH 530 AT RHS FROM RAMPUR TOWARDS BAREILLY	RAMPUR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO 6 AND 10 ON SH 125 TOWARDS AONLA	BAREILLY	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
7	WITHIN 4 KM FROM INTERSECTION OF NH 730B AND NH 731K TOWARDS NIGOHI ON NH 731K	PILIBHIT	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1926 V V	WITHIN 5 KM FROM COMPOSITE SCHOOL , VILLAGE JALALPUR ON NH 30 ON LHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1927 V 7	WITHIN 5 KM FROM INTERSECTON OF NH 730B AND NH 730C TOWARDS KATRA ON NH 730 C	PILIBHIT	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1928 V 7	WITHIN 5 KM FROM INTERSECTION OF NH 730B AND NH 731K TOWARDS PLIBHIT ON NH 731K	PILIBHIT	Regular	179	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1929 B	BETWEEN KM STONE NO 12 AND 19 ON NH730 TOWARDS PURANPUR	PILIBHIT	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE NO 33 AND 40 ON NH730 TOWARDS KHUTAR	PILIBHIT	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1931 V N	WITHIN 3 KM FROM INTERSECTION OF NH730A AND NH 30 TOWARDS	LAKHIMPUR KHERI	Regular	165	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1932 B	SHAHJAHANPUR ON NH 30 BETWEEN KM STONE NO 83 AND 87 ON SH 101 TOWARDS SAMPURNA NAGAR	LAKHIMPUR KHERI	Regular	111	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
	BETWEEN KM STONE NO 59 AND 63 ON NH730 TOWARDS KHUTAR	PILIBHIT	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
C	WITHIN 5 KM FROM GHUNGCHIHAI CHAURAHA,PURANPUR ON NH 730A TOWARDS BANDA	PILIBHIT	Regular	180	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
1935 V V T	WITHIN 5 KM FROM COMPOSITE SCHOOL , VILLAGE JALALPUR ON NH 30 ON RHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO 93 AND 98 ON NH 730A TOWARDS PURANPUR	PILIBHIT	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO 293 AND 295 ON NH 30 TOWARDS BAREILLY	PILIBHIT	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 4 KM FROM BARKHERA POLICE THANA ON NH 731K TOWARDS BISALPUR	PILIBHIT	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	BETWEEN KM STONE NO 33 AND 35 ON SH 93 TOWARDS SHAHJAHANPUR	LAKHIMPUR KHERI	Regular	135	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE NO 300 AND 302 ON NH 30 TOWARDS BAREILLY	PILIBHIT	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 5 KM FROM ITC CHOUPAL SAAGAR,SANDIA MUSTQIL ON NH 731K TOWARDS BISALPUR	PILIBHIT	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

1942	WITHIN 4 KM FROM ASSAM CHAURAHA,PILIBHIT ON NH 731K TOWARDS	PILIBHIT	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1943	BISALPUR BETWEEN KM STONE NO 66 AND 70 ON NH 730 TOWARDS KHUTAR	SHAHJAHANPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1944	BETWEEN KM STONE NO 25 AND 30 ON NH 730A TOWARDS MOHAMMADI	LAKHIMPUR KHERI	Regular	164	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1945	WITHIN MUNICIPAL LIMIT OF PILIBHIT TOWN (NOT ON NH)	PILIBHIT	Regular	195	OPEN	CC	20	20	400	32	12	Bidding	30	5
1946	WITHIN 7 KM FROM GAUHANIA CHAURAHA,PILIBHIT ON NH 731K TOWARDS	PILIBHIT	Regular	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1947	KHATIMA BETWEEN KM STONE NO 73 AND 77 ON NH 730A TOWARDS PURANPUR	SHAHJAHANPUR	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1948	BETWEEN KM STONE NO 47 AND 49 ON SH 93 TOWARDS SHAHJAHANPUR	LAKHIMPUR KHERI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1949	WITHIN MUNICIPAL LIMIT OF MAILANI NAGAR PANCHAYANT (NOT ON NH 731)	LAKHIMPUR KHERI	Regular	143	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1950	WITHIN 3 KM FROM KOTWALI SINDHAULI TOWARDS POWAYAN ON NH 731	SHAHJAHANPUR	Regular	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1951	BETWEEN KM STONE NO 77 AND 81 ON NH 730 TOWARDS LAKHIMPUR KHERI	SHAHJAHANPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1952	BETWEEN KM STONE NO 72 AND 75 ON NH 730 TOWARDS KHUTAR	SHAHJAHANPUR	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1953	BETWEEN KM STONE NO 68 AND 71 ON SH 21 RHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1954	WITHIN 3 KM FROM INTERSECTION OF NH 731 AND SH 162 TOWARDS POWAYAN ON NH 731	SHAHJAHANPUR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1955	BETWEEN KM STONE NO 58 AND 61 ON NH 730A TOWARDS BANDA	SHAHJAHANPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1956	BETWEEN KM STONE NO 53 AND 56 ON NH 730A TOWARDS BANDA	SHAHJAHANPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1957	BETWEEN KM STONE NO 15 AND 18 ON NH 731K TOWARDS BISALPUR	SHAHJAHANPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1958	BETWEEN KM STONE NO 63 AND 65 ON SH 101 TOWARDS PALIA	LAKHIMPUR KHERI	Regular	116	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1959	BETWEEN KM STONE NO. 320 AND 324 ON NH 30 ON LHS TOWARDS SHAHJAHANPUR	SHAHJAHANPUR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1960	WITHIN 3 KM FROM NEHRU INTER COLLEGE, KORAUN KUINYAN TOWARDS SHAHJAHANPUR ON NH 731	SHAHJAHANPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1961	BETWEEN KM STONE NO 67 AND 70 ON SH 101 TOWARDS PALIA	LAKHIMPUR KHERI	Regular	121	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1962	BETWEEN KM STONE NO 296 AND 301 ON NH 30 ON RHS TOWARDS SHAHJAHANPUR	SHAHJAHANPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1963	WITHIN 5 KM FROM INTERSECTION OF SH 90 AND NH 731 TOWARDS PALIA ON NH731	LAKHIMPUR KHERI	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1964	WITHIN 3 KM FROM SHARDA RIVER BRIDGE TOWRADS BHIRA ON NH731	LAKHIMPUR KHERI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1965	BETWEEN KM STONE NO 72 AND 75 ON SH 101 TOWARDS PALIA	LAKHIMPUR KHERI	Regular	112	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1966	WITHIN 3 KM FROM SEHRAMAU SOUTH POLICE STATION ON NH 731 TOWARDS SHAHJAHANPUR	SHAHJAHANPUR	Regular	185	SC	CFS	35	35	1225	0	Ō	Draw of Lots	0	3
1967	WITHIN 4 KM FROM INTERSECTION OF SH 101 AND NH 731 TOWARDS BHIRA ON NH731	LAKHIMPUR KHERI	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1968	BETWEEN KM STONE NO 65 AND 67 ON SH 21 ON LHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1969	WITHIN 3 KM FROM RAJIV CHOWK,POWAYAN TOWARDS NIGOHI ON SH 126	SHAHJAHANPUR	Regular	116	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1970	BETWEEN KM STONE NO 91 AND 95 ON SH 101 TOWARDS SAMPURNA NAGAR	LAKHIMPUR KHERI	Regular	116	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1971	WITHIN 4 KM FROM INTERSECTION OF NH731 AND NH30 TOWARDS SHAHBAD ON	SHAHJAHANPUR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1972	NH 731 BETWEEN KM STONE NO 50 AND 55 ON SH 90 TOWARDS BHIRA	LAKHIMPUR KHERI	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1973	WITHIN 8 KM FROM INTERSECTION OF NH 731 AND NH 30 TOWARDS SITAPUR ON NH	SHAHJAHANPUR	Regular	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1974	30 ON LHS BETWEEN KM STONE NO 58 AND 62 ON SH 90 TOWARDS DUDHWA NATIONAL PARK	LAKHIMPUR KHERI	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1975	BETWEEN KM STONE NO 143 AND 148 ON SH43 TOWARDS FARRUKHABAD	SHAHJAHANPUR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1976	WITHIN 3 KM FROM INTERSECTION OF NH730A AND NH 30 TOWARDS SITAPUR ON	LAKHIMPUR KHERI	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1977	NH 30 BETWEEN KM STONE NO 60 AND 64 ON SH 21 LHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	123	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1978	BETWEEN KM STONE NO 60 AND 64 ON SH 21 RHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1979	BETWEEN KM STONE NO 484 AND 488 ON SH29 TOWARDS JALALABAD	SHAHJAHANPUR	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1980	WITHIN 6 KM FROM HATHOURA CHAURAHA,SHAHJAHANPUR ON SH 93 TOWARDS MOHAMMADI	SHAHJAHANPUR	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1981	BETWEEN KM STONE NO 40 TO 43 ON SH 93 TOWARDS SHAHJAHANPUR	LAKHIMPUR KHERI	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1982	BETWEEN KM STONE NO. 15 AND 20 ON NH 730B TOWARDS BISALPUR	BAREILLY	Regular	165	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
1983	BETWEEN KM STONE NO 37 AND 42 ON NH 730A TOWARDS POWAYAN	LAKHIMPUR KHERI	Regular	181	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
			1		1	l	l	1	1					i]

1984	WITHIN 3 KM FROM INTERSECTION OF NH730C AND NH30 TOWARDS BAREILLY ON NH 30 ON RHS	SHAHJAHANPUR	Regular	165	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
1985	BETWEEN KM STONE NO. 210 AND 213 ON NH 530 AT LHS FROM RAMPUR TOWARDS BARFILLY	RAMPUR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1986	WITHIN 3 KM FROM UCHOLIA GURUDWARA ON LHS TOWARDS SITAPUR ON NH 30	LAKHIMPUR KHERI	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1987	BETWEEN KM STONE NO 18 AND 21 ON NH 730A TOWARDS MOHAMMADI	LAKHIMPUR KHERI	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1988	BETWEEN KM STONE NO 470 AND 474 ON SH29 TOWARDS JALALABAD	SHAHJAHANPUR	Regular	135	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1989	BETWEEN KM STONE NO. 254 AND 257 ON NH 30 ON RHS FROM BAREILLY TOWARDS	BAREILLY	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1990	SHAHJAHANPUR WITHIN 3 KM FROM LRP CHAURAHA ON SH 21 TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	123	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
1991	BETWEEN KM STONE NO 68 AND 71 ON SH 21 LHS TOWARDS SITAPUR	LAKHIMPUR KHERI	Regular	123	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
1992	WITHIN MUNICIPAL LIMIT OF SHAHJAHANPUR BETWEEN RAM LEELA CHAURAHA AND CMO OFFICE SHAHJAHANPUR	SHAHJAHANPUR	Regular	195	OPEN	CC	20	20	400	32	12	Bidding	30	5
1993	WITHIN 4 KM FROM INTERSECTION OF NH 730C AND SH 29 TOWARDS KANTH ON SH 29	SHAHJAHANPUR	Regular	135	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1994	WITHIN MUNICIPAL LIMIT OF TILHAR TOWN (NOT ON NH)	SHAHJAHANPUR	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1995	WITHIN MUNICIPAL LIMIT OF SHAHJAHANPUR BETWEEN MASJID HAZRAT HAMZA AND CITY KART SHOPPING MALL	SHAHJAHANPUR	Regular	190	OBC	CC	20	20	400	32	12	Bidding	30	4
1996	BETWEEN KM STONE NO 25 AND 32 ON NH 731K TOWARDS BISALPUR	SHAHJAHANPUR	Regular	162	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
1997	BETWEEN KM STONE NO 143 AND 150 ON NH 730 TOWARDS BAHRAICH	LAKHIMPUR KHERI	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
1998	BETWEEN KM STONE NO 8 AND 12 ON NH 731K TOWARDS BISALPUR	SHAHJAHANPUR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1999	WITHIN MUNICIPAL LIMIT OF SHAHJAHANPUR BETWEEN MURSALI MASJID AND LAL IMLI CHAURAHA VIA EID GAH	SHAHJAHANPUR	Regular	195	OPEN	CC	20	20	400	32	12	Bidding	30	5
2000	BETWEEN KM STONE NO 2 AND 6 ON NH 731K TOWARDS BISALPUR	SHAHJAHANPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2001	BETWEEN KM STONE NO 312 AND 318 ON NH 30 ON RHS TOWARDS SHAHJAHANPUR	SHAHJAHANPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2002	BETWEEN LRP CHAURAHA AND VEER BABA MANDIR LAKHIMPUR ON NH 730 TOWARDS RAMAPUR	LAKHIMPUR KHERI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2003	BETWEEN KM STONE NO 19 AND 21 ON NH 731K TOWARDS BISALPUR	SHAHJAHANPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2004	BETWEEN KM STONE NO 310 AND 318 ON NH 30 ON LHS TOWARDS SHAHJAHANPUR	SHAHJAHANPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2005	WITHIN 5 KM FROM ROSY PUBLIC SCHOOL, JALALABAD TOWARDS HULLAPUR ON NH 730C	SHAHJAHANPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2006	BETWEEN KM STONE NO 6 AND 10 ON SH 101 TOWARDS DHAKERWA CHAURAHA	LAKHIMPUR KHERI	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2007	BETWEEN KM STONE NO 296 AND 301 ON NH 30 ON LHS TOWARDS SHAHJAHANPUR	SHAHJAHANPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2008	WITHIN 4 KM FROM UPSRTC ROADWAYS WORKSHOP SHAHJAHANPUR TOWARDS POWAYAN ON NH 731	SHAHJAHANPUR	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2009	BETWEEN KM STONE NO 3 AND 7 ON SH 93 TOWARDS MOHAMMADI	LAKHIMPUR KHERI	Regular	125	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
2010	WITHIN 4 KM FROM KATRA BUS STAND ON NH 730C TOWARDS JALALABAD	SHAHJAHANPUR	Regular	180	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
2011	WITHIN 4 KM FROM INTERSECTION OF NH730C AND SH 126 TOWARDS JALALABAD ON NH 730C	SHAHJAHANPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2012	WITHIN 4 KM FROM THANA MADNAPUR TOWARDS KATRA ON NH 730C	SHAHJAHANPUR	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2013	WITHIN 4 KM FROM INTERSECTION OF NH 730C AND SH 29 TOWARDS KATRA ON NH 730C	SHAHJAHANPUR	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2014	WITHIN 3 KM ON EITHER SIDE OF SHRI BALAJI MANDIR AT VILLAGE CHOURASI ON NH 730C	SHAHJAHANPUR	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2015	BETWEEN KM STONE NO 20 AND 23 ON SH 90 TOWARDS BHIRA	LAKHIMPUR KHERI	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2016	WITHIN 4 KM FROM THANA ALLAHGANJ TOWARDS JALALABAD ON NH 730C	SHAHJAHANPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2017	WITHIN 4 KM FROM KASRAK HALT RAILWAY CROSSING TOWARDS KHUDAGANJ ON NH 730C	SHAHJAHANPUR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2018	WITHIN 4 KM FROM THANA ALLAHGANJ TOWARDS HULLAPUR ON NH 730C	SHAHJAHANPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2019	BETWEEN KM STONE NO 39 AND 42 ON SH 101 TOWARDS NIGHASAN	LAKHIMPUR KHERI	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2020	WITHIN 6 KM FROM NAVODIT PUBLIC INTER COLLEGE ON KATRA KHUDAGANJ ROAD TOWARDS KATRA ON NH 730C	SHAHJAHANPUR	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2021	BETWEEN KM STONE NO 157 AND 162 ON SH43 TOWARDS FARRUKHABAD	SHAHJAHANPUR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2022	BETWEEN KM STONE NO 475 AND 480 ON SH29 TOWARDS JALALABAD	SHAHJAHANPUR	Regular	133	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2023	BETWEEN KM STONE NO 150 AND 154 ON SH 43 TOWARDS FARRUKHABAD	SHAHJAHANPUR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2024	BETWEEN KM STONE NO 26 AND 30 ON SH 101 TOWARDS DHAKERWA CHAURAHA	LAKHIMPUR KHERI	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2025	WITHIN 5 KM FROM INTERSECTION OF NH 731K AND SH 126 TOWARDS POWAYAN ON SH 126	SHAHJAHANPUR	Regular	113	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

Draw of Lots	15 0 15 15 15 15	4 3 5 5
Draw of Lots Draw of Lots Draw of Lots	15	5
Draw of Lots Draw of Lots	15	
Draw of Lots		5
Draw of Lots		
		5
Draw of Lots		4
	15	
		3
Draw of Lots	15	5
Draw of Lots	15	4
Draw of Lots	15	5
Draw of Lots	0	3
Draw of Lots	15	5
Draw of Lots	15	4
Draw of Lots	15	5
Draw of Lots	15	5
Draw of Lots	0	3
Bidding	30	4
Draw of Lots	15	5
Draw of Lots	15	5
Draw of Lots	0	3
Draw of Lots	15	4
Draw of Lots	15	5
Draw of Lots	15	5
Draw of Lots	15	4
Draw of Lots	0	3
Draw of Lots	15	5
		5
		4
Draw of Lots	15	5
Draw of Lots	15	5
Draw of Lots	15	4
Draw of Lots	0	3
Bidding	30	5
Draw of Lots	15	4
Draw of Lots	15	5
Draw of Lots	15	5
Draw of Lots	0	3
Draw of Lots	15	4
	Draw of LotsDraw of Lots <td>Draw of Lots15Draw of Lots15Draw of Lots15Draw of Lots0Draw of Lots15Draw of Lots1</td>	Draw of Lots15Draw of Lots15Draw of Lots15Draw of Lots0Draw of Lots15Draw of Lots1

2066	VILLAGE ABDULLAHPUR DAHANA ON SH 76	BIJNOR	Regular	145	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2067	VILLAGE CHACHU NAGAL ON SAMBHAL GAWAN ROAD SH 148	SAMBHAL	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2068	BETWEEN OLD KM STONE NO. 173 AND 176 ON NH 09 ON LHS FROM MORADABAD	MORADABAD	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2069	TOWARDS RAMPUR WITHIN MUNICIPAL LIMITS OF BIJNOR ON BIJNOR BADAUN ROAD SH-51	BUNOR	Regular	115	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2070	BETWEEN KM STONE NO. 35 AND 37 ON LHS FROM MORADABAD TOWARDS	SAMBHAL	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2071	ALIGARH ON NH 509 VILLAGE MOHAMMADPUR BHAGVANDAS	MORADABAD	Regular	130	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2072	ON UMRI-KANTH ROAD SH-145 WITHIN MUNICIPAL LIMITS OF NOORPUR	BIJNOR	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2073	BETWEEN KM STONE NO. 93 AND 96 ON NH 509	SAMBHAL	Regular	182	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2074	BETWEEN KM STONE NO. 102 AND 104 ON LHS FROM SAMBHAL TOWARDS HASANPUR	SAMBHAL	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2075	ON SH 51 WITHIN MUNICIPAL LIMITS OF SAMBHAL ON SAMBHAL CHANDAUSI ROAD	SAMBHAL	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2076	BETWEEN KM STONE NO. 132 AND 137 ON RHS FROM GHAZIABAD TOWARDS ETAH ON	ALIGARH	Regular	250	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2077	NH 34 BETWEEN KM STONE NO. 108 AND 113 ON BIJNOR BADAUN ROAD SH-51	AMROHA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2078	BETWEEN KM STONE NO. 105 AND 107 ON RHS FROM SAMBHAL TOWARDS HASANPUR	SAMBHAL	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2079	ON SH 51 BETWEEN KM STONE NO. 46 AND 50 ON	ALIGARH	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2080	RHS FROM TAPPAL TOWARDS ALIGARH ON NH 334D WITHIN 3KM FROM TARA DEVI PUBLIC	BIJNOR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	SCHOOL ON RHS FROM KIRATPUR TOWARDS NAJIBABAD ON NH-119 (NEW NH 34)		-											
2081	34) WITHIN MUNICIPAL LIMITS OF DHAMPUR	BIJNOR	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2082	BETWEEN OLD KM STONE NO. 162 AND 171 ON NH-09 ON RHS FROM MORADABAD TOWARDS RAMPUR	MORADABAD	Regular	240	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2083	WITHIN 4KM FROM MPS GLOBAL SCHOOL ON RHS FROM BIJNOR TOWARDS KOTWALI	BUNOR	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
2084	ON NEW NH -709AD BETWEEN KM STONE NO. 84 AND 88 RHS FROM MORADABAD TOWARDS ALIGARH ON	SAMBHAL	Regular	190	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2085	NH 509 BETWEEN KM STONE NO. 79 AND 82 ON CHANDAUSI BUDAUN ROAD SH-43	BUDAUN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2086	WITHIN MUNICIPAL LIMITS OF NAUGAWAN SADAT	AMROHA	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2087	BETWEEN KM STONE NO. 62 AND 65 ON RHS FROM TAPPAL TOWARDS ALIGARH ON	ALIGARH	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2088	NH 334D WITH IN MUNICIPAL LIMITS OF CHANDAUSI ON CHANDAUSI BADAUN ROAD SH 43	SAMBHAL	Regular	115	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2089	BETWEEN KM STONE NO. 10 AND 12 ON MORADABAD-KANTH ROAD SH-49	MORADABAD	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2090	WITHIN 6 KM FROM POLICE CHOWKI CHANDI DEVI, THANA KOTWALI DEHAT	BIJNOR	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2091	TOWARDS DHAMPUR ON NH-734 WITHIN MUNICIPAL LIMITS OF AMROHA ON AMROHA DHANAURA ROAD SH145	AMROHA	Regular	115	SC	CFS	20	20	400	Ō	Ō	Draw of Lots	0	3
2092	BETWEEN KM STONE NO. 50 AND 52 ON SH- 43	BUDAUN	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2093	VILLAGE MUVARIKPUR KALAN ON BIJNOR - BUDAUN ROAD SH 51	AMROHA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2094	BETWEEN KM STONE NO. 68 AND 70 ON RHS FROM TAPPAL TOWARDS ALIGARH ON	ALIGARH	Regular	240	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2095	NH 334D WITHIN MUNICIPAL LIMITS OF HALDAUR	BIJNOR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2096	WITHIN MUNICIPAL LIMITS OF MORADABAD BETWEEN DAS SARAY POLICE CHOWKI AND GAGAN BRIDGE ON MORADABAD - CHANDAUSI ROAD	MORADABAD	Regular	250	OPEN	CC	30	30	900	32	12	Bidding	30	5
2097	WITHIN MUNICIPAL LIMITS OF ALIGARH WITHIN 2 KMS FROM RANGE HILLS PUBLIC SCHOOL ON ALIGARH KANPUR ROAD (OLD	ALIGARH	Regular	160	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
2098	GT ROAD) WITHIN MUNICIPAL LIMITS OF ALIGARH BETWEEN QUARSI CHAURAHA AND DPS PUBLIC SCHOOL ON RAMGHAT ROAD	ALIGARH	Regular	300	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2099	BETWEEN KM STONE NO. 122 AND 127 ON LHS FROM GHAZIABAD TOWARDS ETAH ON	ALIGARH	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2100	NH 34 WITHIN MUNICIPAL LIMITS OF ALIGARH WITHIN 3 KMS FROM SASNI GATE	ALIGARH	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2101	CHAURAHA TOWARDS MATHURA ON SH 80 BETWEEN KM STONE NO. 127 AND 132 ON	AMROHA	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2101	BUNOR BADAUN ROAD SH-51 WITHIN MUNICIPAL LIMITS OF MORADABAD	MORADABAD	Regular	230	OBC	СС	20	20	400	32	12	Bidding	30	4
2102	BETWEEN PHILLIP MEMORIAL METHODIST CHURCH, PILL KOTHI AND PHOTON HOSPITAL ON MORADABAD-KANTH ROAD SH-49		110B0101	230		~~~	20	10	.00	52		Brading		
2103	WITHIN MUNICIPAL LIMITS OF ALIGARH - BETWEEN DEHLI GATE CHAURAHA AND BLUE BIRD SENIOR SECONDARY SCHOOL ON GULAR ROAD	ALIGARH	Regular	230	OPEN	CC	20	20	400	32	12	Bidding	30	5
2104	GULAR ROAD WITHIN MUNICIPAL LIMITS OF KHAIR	ALIGARH	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2105	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN CENTRE POINT AND KELA NAGAR	ALIGARH	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	CHAURAHA ON MARIS ROAD		I											i

2106	WITHIN MUNICIPAL LIMITS OF ALIGARH - BETWEEN BARAHDWARI CHAURAHA AND MASOODABAD CHAURAHA ON SHIVPURI ROAD	ALIGARH	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2107	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN QUARSI CHAURAHA AND HOTEL ABHA REGENCY ON RAMGHAT ROAD	ALIGARH	Regular	240	OPEN	СС	20	20	400	32	12	Bidding	30	5
2108	WITHIN 5 KM FROM MUJHARIYA THANA CHOWK TOWARDS KACHLA ON SH109	BUDAUN	Regular	115	CONU	CFS	35	35	1225	0	0	Draw of Lots	0	3
2109	BETWEEN KM STONE NO. 22 AND 24 ON RHS FROM MORADABAD TOWARDS SAMBHAL SH 148	SAMBHAL	Regular	115	SC PH OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
2110	WITHIN MUNICIPAL LIMITS OF BUNOR, BETWEEN ST. MARY'S SCHOOL CHAURAHA AND DECENT PUBLIC SCHOOL ON RING ROAD	BIJNOR	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2111	BETWEEN KM STONE NO. 72 AND 76 ON CHANDAUSI - BUDAUN ROAD SH-43	BUDAUN	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2112	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN SOOTMILL CHAURAHA AND NADA PUL ON KHAIR BYPASS ROAD	ALIGARH	Regular	180	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2113	BETWEEN KM STONE NO. 116 AND 118 ON BIJNOR BADAUN ROAD SH-51	AMROHA	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2114	WITHIN MUNICIPAL LIMITS OF BIJNOR, BETWEEN JUDGEE CHOWK AND BIJNOR NAGAR PALIKA OFFICE TIRAHA ON KUNDAN HOSPITAL ROAD, BIJNOR	BIJNOR	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2115	BETWEEN KM STONE NO. 147 AND 152 ON LHS FROM GHAZIABAD TOWARDS ETAH ON NH 34	ALIGARH	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2116	NH 34 WITHIN MUNICIPAL LIMITS OF MORADABAD, BETWEEN DELHI ROAD INTERSECTION TO SELECT HOSPITAL ON LAKRI-FAZALPUR ROAD (MINI BYPASS)	MORADABAD	Regular	220	OBC	сс	20	20	400	32	12	Bidding	30	4
2117	WITHIN MUNICIPAL LIMITS OF NAGINA, FROM BSNL TELEPHONE EXCHANGE NAGINA TOWARDS RAIPUR (ON NAGINA - RAIPUR ROAD)	BUNOR	Regular	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2118	BETWEEN KM STONE NO. 39 AND 42 ON LHS FROM TAPPAL TOWARDS ALIGARH ON NH 334D	ALIGARH	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2119	WI 3340 WITHIN 2 KM FROM PHOTON HOSPITAL TOWARDS THAKURDWARA ON MORADABAD THAKURDWARA ROAD NH 734 (OLD SH 41)	MORADABAD	Regular	250	OPEN	сс	35	35	1225	32	12	Bidding	30	5
2120	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN PT. DEENDAYAL UPADHYAYA JOINT HOSPITAL AND GALAXY TOWER APARTMENT VIA KAVERI ROYAL APARTMENT	ALIGARH	Regular	220	OPEN	сс	20	20	400	32	12	Bidding	30	5
2121	DETWEEN DHARAMVEER SINGH MEMORIAL DEGREE COLLEGE, SULTANPUR DOST AND AHILVABAI HOLKAR COLLEGE OF SCIENCE AND TECHNOLGOS, BHARTAWALA ON MORADABAD THAKURDWARA ROAD NH- 734 (OLD SH-41)	MORADABAD	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2122	WITHIN MUNICIPAL LIMITS OF ATROLI, ON ATROLI PALI MUKIMPUR ROAD	ALIGARH	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2123	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN SOOT MILL CHAURAHA AND QILA ROAD FLYOVER ON BARAULA BYEPASS ROAD	ALIGARH	Regular	160	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
2124	ON NEW NAJIBABAD BYPASS ON LHS FROM NAJIBABAD TOWARDS KOTDWAR ON NEW NH 534	BUNOR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2125	BETWEEN KM STONE NO. 163 AND 167 ON NEHTOR - DHAMPUR ROAD SH-12	BIJNOR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2126	BETWEEN KM STONE NO. 151 AND 154 ON LHS FROM GUNNAUR TOWARDS	SAMBHAL	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2127	SAHASWAN SH 18 BETWEEN KM STONE NO. 46 AND 52 ON LHS FROM SEOHARA TOWARDS DHAMPUR	BIJNOR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2128	ON SH-49 BETWEEN KM STONE NO. 154 AND 160 ON LHS FROM GHAZIABAD TOWARDS ETAH ON	ALIGARH	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2129	NH 34 BETWEEN KM STONE NO. 38 AND 40 ON RHS FROM NOORPUR TOWARDS	BUNOR	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2130	MORADABAD ON SH-76 BETWEEN KM STONE NO. 59 AND 64 ON RHS FROM NOORPUR TOWARDS SEOHARA	BUNOR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2131	ON SH-147 BETWEEN NEW KM STONE NO. 109 AND 111 ON LHS FROM GAJRAULA TOWARDS	AMROHA	Regular	240	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2132	JOYA ON NH-09 BETWEEN KM STONE NO. 64 AND 66 ON NH	SAMBHAL	Regular	270	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2133	509 WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN SOOTMILL CHAURAHA AND DUBEY KA PADAO CHAURAHA ON G. T. ROAD	ALIGARH	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2134	ON NEW KIRATPUR BYPASS ON NH 119 (NEW NH 34)	BIJNOR	Regular	175	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
2135	BETWEEN KM STONE NO. 60 AND 62 ON SH- 76	MORADABAD	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2136	BETWEEN KM STONE NO. 155 AND 160 ON RHS FROM GHAZIABAD TOWARDS ETAH ON NH 34	ALIGARH	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2137	BETWEEN KM STONE NO. 63 AND 65 ON SAMBHAL ANOOPSHAHAR ROAD SH 148	SAMBHAL	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2138	VILLAGE ROOPPUR TANDOLA ON KANTH- THAKURDWARA ROAD SH-145	MORADABAD	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2139	BETWEEN KM STONE NO. 132 AND 137 ON BUDAUN FARRUKHABAD ROAD SH43	BUDAUN	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2140	BETWEEN KM STONE NO. 196 AND 206 ON BIJNOR BADAUN ROAD SH-51	BUNOR	Regular	108	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2141	BETWEEN KM STONE NO. 178 AND 188 ON BIJNOR BADAUN ROAD SH-51	BIJNOR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

2142	BETWEEN KM STONE NO. 150 AND 154 ON BIJNOR BADAUN ROAD SH -51	AMROHA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2143	BETWEEN KM STONE NO. 2 AND 7 ON RHS FROM BIJNOR TOWARDS NOORPUR ON SH-	BUNOR	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2144	76 BETWEEN KM STONE NO. 62 AND 64 ON BEHJOI ISALMANAGAR ROAD SH 51	SAMBHAL	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2145	BETWEEN KM STONE NO. 1 AND 5 ON DHANAURA AMROHA ROAD SH-145	AMROHA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2146	BETWEEN KM STONE NO. 53 AND 57 ON SH 148	SAMBHAL	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2147	BETWEEN KM STONE NO. 10 AND 15 LHS FROM MORADABAD TOWARDS SAMBHAL ON SH148	MORADABAD	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2148	BETWEEN KM STONE NO. 67 AND 69 ON LHS FROM TAPPAL TOWARDS ALIGARH ON NH 334D	ALIGARH	Regular	225	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2149	WITHIN 2 KMS FROM RK PUBLIC SCHOOL TOWARDS BADAUN ON SH 18	BUDAUN	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2150	WITHIN MUNICIPAL LIMITS OF MORADABAD, ON ROAD CONNECTION KANTH ROAD AND DELIH ROAD VIA SONAKPUR RAILWAY OVER BRIDGE, GAUTAM BUDDHA PARK AND AVAS VIKAS PARISHAD OFFICE	MORADABAD	Regular	200	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2151	BETWEEN KM STONE NO. 94 AND 98 RHS FROM SAMBHAL TOWARDS HASANPUR ON SH 51	SAMBHAL	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2152	BETWEEN KM STONE NO. 38 AND 40 ON ALIGARH MATHURA ROAD SH 80	ALIGARH	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2153	BETWEEN KM STONE NO. 132 AND 137 ON LHS FROM GHAZIABAD TOWARDS ETAH ON NH 34	ALIGARH	Regular	250	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2154	BETWEEN KM STONE NO. 70 AND 75 ON LHS FROM SAMBHAL TOWARDS HASANPUR ON SH 51	SAMBHAL	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2155	WITHIN MUNICIPAL LIMITS OF UJHANI, BETWEEN NAVEEN MANDI AND ADS CINEPLEX	BUDAUN	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2156	WITHIN 3KM FROM HIMALYAN PUBLIC INTER COLLEGE ON RHS FROM NAJIBABAD TOWARDS KIRATPUR ON NH-119 (NEW NH 34)	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2157	BETWEEN NEW KM STONE NO. 138 AND 142 ON RHS FROM JOYA TOWARDS MORADABAD ON NH-09	AMROHA	Regular	280	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2158	BETWEEN KM STONE NO. 77 AND 82 ON SAMBHAL BEHJOI ROAD SH 51	SAMBHAL	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2159	WITHIN MUNICIPAL LIMITS OF NAJIBABAD, FROM PUKAR CINEMA HALL TOWARDS KOTDWAR ON NH-119 (NEW NH 534)	BIJNOR	Regular	170	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
2160	WITHIN MUNICIPAL LIMITS OF ISLAMNAGAR, ON ISLAMNAGAR - SEHASWAN ROAD	BUDAUN	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2161	BETWEEN KM STONE NO. 43 AND 48 ON NOORPUR AMROHA ROAD SH-77	AMROHA	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2162	BETWEEN KM STONE NO. 114 AND 119 ON LHS FROM GHAZIABAD TOWARDS ETAH ON NH 34	ALIGARH	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2163	WITHIN 3 KM FROM RAJKIYA BALIKA INTER COLLEGE DEHARPUR KALAN TOWARD BUDAUN ON SH126	BUDAUN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2164	WITHIN MUNICIPAL LIMITS OF CHANDPUR ON BIJNOR BADAUN ROAD, SH 51	BIJNOR	Regular	105	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2165	ON KANTH - THAKURDWARA ROAD SH 145, BETWEEN SH-49 AND RISHI BAL MAHAVIDYALAYA, KANTH	MORADABAD	Regular	135	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2166	BETWEEN KM STONE NO. 122 AND 127 ON RHS FROM GHAZIABAD TOWARDS ETAH ON NH 34	ALIGARH	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2167	BETWEEN KM STONE 97 AND 103 ON RHS FROM BRIJGHAT TOWARDS GAJRAULA ON NH 09	AMROHA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2168	ON NEW NAJIBABAD BYPASS (NH) ON RHS FROM HARIDWAR TOWARDS KOTWALI	BIJNOR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2169	VILLAGE DAULATPUR TIGRI AH. ON KANTH- THAKURDWARA ROAD SH-145	MORADABAD	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2170	BETWEEN PRATHMIK SWASTHYA KENDRA TAHARPUR AND GRAM PANCHAYAT SACHIVALAYA SAHARA KALAN ON ALIGARH MATHURA ROAD SH 80	ALIGARH	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2171	BETWEEN KM STONE NO. 142 AND 145 ON NH 509	ALIGARH	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2172	BETWEEN KM STONE NO. 15 AND 17 ON RHS FROM MORADABAD TOWARDS SAMBHAL SH148	MORADABAD	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2173	WITHIN 3 KM ON EITHER SIDE OF UCHCH PRATHMIK VIDYALAY, PRATHVIPUR GAWDI ON SEOHARA THAKURDWARA ROAD SH147	MORADABAD	Regular	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2174	BETWEEN KM STONE NO. 70 AND 74 ON NH 509	SAMBHAL	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2175	WITHIN MUNICIPAL LIMITS OF ALIGARH, WITHIN 3 KMS FROM DEPARTMENT OF WILDLIFE SCIENCES ALIGARH MUSLIM UNIVERSITY TOWARDS BARAULI ON ALIGARH BYPASS ROAD (BARAULA BYPASS)	ALIGARH	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2176	WITHIN MUNICIPAL LIMITS OF AMROHA, WITHIN 1 KM FROM ST. MARY'S CONVENT SR. SECONDARY SCHOOL TOWARDS JABDA ON AMROHA-JABDA ROAD	AMROHA	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2177	WITHIN 7 KM FROM NIRMALA GOKUL SINGH YADAV SARASWATI VIDHYA MANDIR INTER COLLEGE MAIN GATE TOWARDS KOTDWAR ON NAJIBABAD - KOTDWAR ROAD NH 119 (NEW NH 534)	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2178	BETWEEN KM STONE NO. 49 AND 51 ON NOORPUR AMROHA ROAD SH-77	AMROHA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

2179	WITHIN MUNICIPAL LIMITS OF ALIGARH, WITHIN 3 KMS FROM ETAH CHUNGI CHAURAHA TOWARDS MATHURA - ALIGARH BYPASS ROAD	ALIGARH	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2180	WITHIN MUNICIPAL LIMITS OF AMROHA ,VILLAGE -GULADIYA ON RING ROAD	AMROHA	Regular	115	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2181	BETWEEN KM STONE NO. 56 AND 60 ON NOORPUR AMROHA ROAD SH-77	AMROHA	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2182	VILLAGE KADRABAD ON GUNNAUR- SAHASWAN ROAD SH 18	SAMBHAL	Regular	115	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
2183	BETWEEN VEERANGNA RANI AVANTI BAI LODHI TIRAHA AND PATEL CHOWK RHS FROM BAREILLY TOWARDS UJHANI ON BUDAUN BYPASS	BUDAUN	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2184	BETWEEN KM STONE NO. 16 AND 18 ON ALIGARH MATHURA ROAD SH 80	ALIGARH	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2185	BETWEEN KM STONE NO. 176 AND 178 ON LHS FROM GUNNAUR TOWARDS BUDAUN	BUDAUN	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2186	ON SH-18 WITHIN 7 KM FROM VKIT COLLEGE MAIN GATE TOWARDS NAGINA ON NH- 709AD	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2187	WITHIN MUNICIPAL LIMITS OF AMROHA ,VILLAGE- HUSAINPUR NI MALIKHEDA ON JOYA BYPASS ROAD (SHAHRI MARG)	AMROHA	Regular	115	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2188	ON NEW NAJIBABAD BYPASS ON RHS FROM NAJIBABAD TOWARDS KOTDWAR ON NEW	BIJNOR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2189	NH 534 BETWEEN KM STONE NO. 6 AND 8 ON ALIGARH MATHURA ROAD SH 80	ALIGARH	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2190	WITHIN MUNICIPAL LIMITS OF ALIGARH, WITHIN 2 KM FROM JAIL ROAD TIRAHA ON	ALIGARH	Regular	220	OPEN	СС	20	20	400	32	12	Bidding	30	5
2191	ITI ROAD BETWEEN KM STONE NO. 9 AND 15 ON SH- 76	BIJNOR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2192	WITHIN MUNICIPAL LIMITS OF BIJNOR, BETWEEN MANDAWAR CHAURAHA ON RING ROAD AND RING ROAD CROSSING ON	BIJNOR	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2193	BAIRRAGE ROAD BETWEEN KM STONE NO. 12 AND 14 ON ALIGARH MATHURA ROAD SH 80	ALIGARH	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2194	BETWEEN SHAKTI CHOWK (MAHARANA PRATAP CHOWK) AND POLICE CHOWKI HANUMAT PEDDA ON BIJNOR NAJIBABAD	BIJNOR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2195	ROAD, NH 119(NEW NH 34) WITHIN MUNICIPAL LIMITS OF IGLAS	ALIGARH	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2196	BETWEEN OLD KM STONE NO. 151 AND 161 ON NH-09 ON RHS FROM MORADABAD TOWARDS RAMPUR	MORADABAD	Regular	240	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
2197	BETWEEN KM STONE NO. 90 AND 92 ON NH 509	SAMBHAL	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2198	WITHIN 2.5 KM FROM MARUTI SUZUKI NEXA SHOWROOM ON BIJNOR NAJIBABAD ROAD ON LHS TOWARDS NAJIBABAD, NH 119 (NEW NH 34)	BIJNOR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2199	WITHIN 3 KM FROM KAILSA CHAURAHA IN AMROHA TOWN TOWARDS KAILSA ON AMROHA KAILSA PAKBARA ROAD SH 78	AMROHA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2200	BETWEEN KM STONE NO. 30 AND 34 ON BIJNOR NOORPUR ROAD SH-76	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2201	WITHIN MUNICIPAL LIMITS OF MORADABAD, BETWEEN BACK GATE OF MANDI STHAL MORADABAD AND LAKRI FAZALPUR ROAD VIA RAJKIYA SWACHHKAR AASHRAM PADDHATI VIDYALAYA MORADABAD	MORADABAD	Regular	220	OBC	СС	20	20	400	32	12	Bidding	30	4
2202	BETWEEN KM STONE NO. 143 AND 146 ON LHS FROM GHAZIABAD TOWARDS ETAH ON NH 34	ALIGARH	Regular	250	SC	CFS	35	35	1225	Ō	Ō	Draw of Lots	0	3
2203	WITHIN 4KM FROM VINAYAK COLLEGE ON LHS FROM BIJNOR TOWARDS KOTWALI ON	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2204	NEW NH -709AD WITHIN 4KM FROM PRATHMIK VIDHYALAY MEERPUR BEGA ON RHS FROM NAIIBABAD TOWARDS HARIDWAR ON NH 34	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2205	BETWEEN VEERANGNA RANI AVANTI BAI LODHI TIRAHA AND PATEL CHOWK LHS FROM BAREILLY TOWARDS UJHANI ON BUDAUN BYPASS	BUDAUN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2206	WITHIN MUNCIPAL LIMITS OF JATTARI ON NH 334 D	ALIGARH	Regular	230	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
2207	WITHIN MUNICIPAL LIMITS OF NEHTOR	BIJNOR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2208	BETWEEN KM STONE NO. 164 AND 166 ON NH 509	ALIGARH	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2209	BETWEEN ARYABHATTA INTERNATIONAL SCHOOL, MORADABAD AND PHOTON HOSPITAL ON MORADABAD THAKURDWARA ROAD NH-734 (OLD SH-41)	MORADABAD	Regular	190	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
2210	BETWEEN POLICE CHOWKI JALALPUR, THANA-DILARI (ON OLD SH-41) AND INDIAN AROMATIC, SIDHAWALI ON MORADABAD THAKURDWARA ROAD NH734 (OLD SH-41)	MORADABAD	Regular	170	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
2211	BETWEEN KM STONE NO. 51 AND 53 ON NH 509	SAMBHAL	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2212	WITHIN 2 KM FROM BUDAUN MEDICAL COLLEGE (CENTER GATE) ON RHS FROM BUDAUN TOWARDS UJHANI, NH 530B (OLD SH 33)	BUDAUN	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2213	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN WISDOM PUBLIC SCHOOL AND SANGWAN CITY MAIN GATE LEFT HAND SIDE ON SANGWAN CITY ROAD	ALIGARH	Regular	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2214	BETWEEN KM STONE NO. 146 AND 152 ON NH509	ALIGARH	Regular	240	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2215	BETWEEN KM STONE NO. 31 AND 34 ON RHS FROM TAPPAL TOWARDS ALIGARH ON NH 334D	ALIGARH	Regular	200	SC	CFS	35	35	1225	0	Ō	Draw of Lots	0	3
	ND 334U	I	1		l	l	<u> </u>	I	I	<u> </u>		I		l

2216	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN KISHANPUR TIRAHA AND MARRIS ROAD CHAURAHA ON LAXMIBAI MARG	ALIGARH	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2217	WITHIN MUNICIPAL LIMITS OF ALIGARH, WITHIN 2 KMS FROM OZONE CITY GATE NO. 2 LEFT HAND SIDE TOWARDS DHANIPUR ON OZONE CITY ROAD	ALIGARH	Regular	220	OBC	СС	20	20	400	32	12	Bidding	30	4
2218	BETWEEN KM STONE NO. 47 AND 49 ON NH 509	SAMBHAL	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2219	BETWEEN KM STONE NO. 70 AND 75 ON LHS FROM TAPPAL TOWARDS ALIGARH ON	ALIGARH	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2220	NH 334D BETWEEN KM STONE NO. 54 AND 57 ON SH- 43	BUDAUN	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2221	BETWEEN NEW KM STONE NO. 138 AND 144 ON LHS FROM JOYA TOWARDS	AMROHA	Regular	240	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2222	MORADABAD ON NH-09 BETWEEN OLD KM STONE NO. 162 AND 171 ON NH-09 ON LHS FROM MORADABAD	MORADABAD	Regular	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
2223	TOWARDS RAMPUR BTWEEN KM STONE NO. 79 AND 82 ON BAREILLY - BUDAUN ROAD NH 530B (OLD SH	BUDAUN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2224	33) BETWEEN PANCHAYAT BHAVAN VILLAGE	MORADABAD	Regular	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2225	SAHUPUR AND SH- 76 ON UMRI-KANTH- THAKUDWARA SH-145 WITHIN MUNICIPAL LIMITS OF KAKRALA, ON	BUDAUN	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2226	BUDAUN - KAKRALA ROAD WITHIN MUNICIPAL LIMITS OF ALIGARH,	ALIGARH	Regular	200	OPEN	CC	30	30	900	32	12	Bidding	30	5
	BETWEEN DEHLI GATE CHAURAHA AND NADA PUL ON ALIGARH KHAIR ROAD													
2227	BEWEEN KM STONE 85 TO 91 LHS FROM BAREILLY TOWARDS BUDAUN ON NH 530B (OLD SH 33)	BUDAUN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2228	BETWEEN NEW KM STONE NO.114 AND 117 ON LHS FROM GAJRAULA TOWARDS JOYA	AMROHA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2229	ON NH-09 WITHIN MUNICIPAL LIMITS OF MORADABAD, BETWEEN ROAD TRANSPORT OFFICE, MORADABAD AND SELECT HOSPITAL ON LAKRI FAZALPUR ROAD	MORADABAD	Regular	230	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2230	WITHIN MUNICIPAL LIMITS OF MORADABAD, BETWEEN HANUMAN MOORTI TIRAHA AND KOHINOOR TIRAHA ON PANDIT NAGLA BYPASS ROAD	MORADABAD	Regular	220	OPEN	СС	30	30	900	32	12	Bidding	30	5
2231	BETWEEN NEW KM STONE NO. 95 AND 104 ON LHS FROM BRIJGHAT TOWARDS GAJRAULA ON NH-09	AMROHA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2232	BETWEEN KM STONE NO. 138 AND 141 ON NH509	ALIGARH	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2233	WITHIN 4KM FROM PRATHMIK VIDHYALAY GUNIYAPUR FROM NAJIBABAD TOWARDS DHAMPUR ON NH 734	BIJNOR	Regular	160	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2234	BETWEEN KM STONE NO. 58 AND 61 LHS FROM MORADABAD TOWARDS ALIGARH ON NH 509	SAMBHAL	Regular	170	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
2235	BETWEEN NEW KM STONE NO. 126 AND 128 ON LHS FROM GAJRAULA TOWARDS JOYA ON NH-09	AMROHA	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2236	WITHIN MUNICIPAL LIMITS OF ALIGARH, BETWEEN BARAHDWARI CHAURAHA AND DEHLI GATE CHAURAHA ON UDAYSINGH JAIN ROAD	ALIGARH	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2237	BETWEEN OLD KM STONE NO. 151 AND 161 ON NH-09 ON LHS FROM MORADABAD TOWARDS RAMPUR	MORADABAD	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2238	WITHIN 2.5 KM FROM MARUTI SUZUKI NEXA SHOWROOM ON BIJNOR NAJIBABAD ROAD ON RHS TOWARDS NAJIBABAD, NH 119 (NEW NH 34)	BIJNOR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2239	BETWEEN KM STONE NO. 32 AND 37 ON NOORPUR AMROHA ROAD SH-77	BIJNOR	Regular	105	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2240	BETWEEN KM STONE NO. 10 AND 12 ON MORADABAD CHANDAUSI ROAD NH-509	MORADABAD	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2241	BETWEEN KM STONE NO. 7 AND 9 ON MORADABAD CHANDAUSI ROAD NH-509	MORADABAD	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2242	WITHIN MUNICIPAL LIMITS OF ATROLI, ON RAMGHAT ROAD	ALIGARH	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2243	BETWEEN KM STONE NO. 41 AND 46 ON LHS FROM NOORPUR TOWARDS MORADABAD ON SH-76	BIJNOR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2244	MURADABAD UN SH-76 WITHIN MUNICIPAL LIMITS OF MORADABAD, BETWEEN MAHARANA PRATAP CHOWK AND CHAUDHARY CHARAN SINGH CHOWK ON DELHI ROAD	MORADABAD	Regular	250	OPEN	cc	20	20	400	32	12	Bidding	30	5
2245	BETWEEN KM STONE NO. 7 AND 10 ON RHS FROM BUDAUN TOWARDS BILSI ON SH51	BUDAUN	Regular	115	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2246	BETWEEN NEW KM STONE NO. 131 AND 134 ON RHS FROM JOYA TOWARDS	AMROHA	Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2247	MORADABAD ON NH-09 WITHIN 2 KMS OF SANSKRITI INTERNATIONAL SCHOOL SHAMLI ON NH709AD (MUZAFFARNAGAR SHAMLI ROAD)	SHAMLI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2248	ROAD) UPTO 7 KM FROM BIT POLICE CHOWKI ON RHS TOWARDS MEERAPUR ON NH709AD	MUZAFFARNAGAR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2249	(BIJNOR MEERAPUR ROAD) WITHIN MUNICIPAL LIMITS DEOBAND WITHIN 2 KM FROM URDU DARWAZA ON	SAHARANPUR	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2250	DEOBAND BADGAON ROAD WITHIN 2 KM FROM SUGAR MILL KAKRALA ON MORNA BHOPA ROAD (SH12)	MUZAFFARNAGAR	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2251	WITHIN MUNICIPAL LIMIT OF AMINAGAR SARAI ON MDR 159 W	BAGHPAT	Regular	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 3 KM FROM ELECTRIC SUB STATION	SHAMLI	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2252	PANJEETH ON PANIPAT SHAMLI ROAD (NH709AD)													

2254	WITHIN 2KM FROM RAJKIYA KANYA INTER COLLEGE, TIKROUL TEHSIL RAMPUR	SAHARANPUR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2255	MANIHARAN ON GANGOH- NANAUTA ROAD (SH-167) BETWEEN CISF MOD INDRAPURAM AND	GHAZIABAD	Regular	350	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	BUDH CHOWK VASUNDHARA VIA MOHANNAGAR LINK ROAD													
2256	WITHIN MUNICIPAL LIMITS KANDHLA (NOT ON NH)	SHAMLI	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2257	WITHIN 5 KM FROM YAMUNA BRIDGE ON GANGOH KARNAL ROAD (SH-167) TOWARDS GANGOH	SAHARANPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2258	WITHIN 4 KM FROM RAMPUR MANIHARAN POLICE CHOWKI ON NH-709B WHILE MOVING TOWARDS NANAUTA	SAHARANPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2259	CROSSING REPUBLIK (EXCEPT ON SHAHBERI- ABES COLLEGE ROAD)	GHAZIABAD	Regular	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2260	WITHIN MUNICIPAL LIMITS RAMPUR MANIHARAN, (NOT ON NH)	SAHARANPUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2261	WITHIN 4 KM FROM JAMIYA TIBIYA COLLEGE ON RHS ON MUZAFFARNAGAR SAHARANPUR ROAD SH59 WHILE MOVING TOWARDS SAHARANPUR	SAHARANPUR	Regular	125	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2262	WITHIN MUNICIPAL LIMITS OF SHAMLI FROM VIJAY CHOWK TOWARDS KAIRANA ON NH709AD	SHAMLI	Regular	185	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
2263	UPTO 4 KM FROM SHAMLI AGRO CHEMICALS, SHAMLI ON NH709AD WHILE	SHAMLI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2264	MOVING TOWARDS KAIRANA FROM EPE INTERCHANGE ON NH9 TO MASURI CANAL BRIDGE ON NH9 LHS	GHAZIABAD	Regular	175	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2265	UPTO 4 KM FROM RAMPUR EDUCATION COMPLEX, RAMPUR MANIHARAN ON NH709B WHILE MOVING TOWARDS	SAHARANPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2266	SAHARANPUR WITHIN 3 KM OF B.S.M. SCHOOL SHAMLI ON NH709A WHILE MOVING TOWARDS KARNAL	SHAMLI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2267	WITHIN 3 KM FROM KRISHNA VIDHYA MANDIR HIGH SCHOOL, KABDOT ON	SHAMLI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2268	NH709A (MEERUT SHAMLI ROAD) WITHIN 2KM OF VIJAY NAGAR POLICE STATION, GHAZIABAD	GHAZIABAD	Regular	240	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2269	UPTO 2 KM FROM CHAURA VILLAGE ROAD INTERSECTION ON NH709B(NANAUTA RAMPURMANIHARAN ROAD) ON RHS WHILE	SAHARANPUR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2270	MOVING TOWARDS SHAMLI WITHIN 4 KM FROM HARYANA BORDER ON RHS ON NH-709A (MEERUT KARNAL ROAD) WHILE MOVING TOWARDS JHINJHANA	SHAMLI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2271	WITHIN 5KM FROM U.P UTTARAKHAND BORDER ON NH334 (OLD NH58) ON RHS	MUZAFFARNAGAR	Regular	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
2272	WHILE MOVING TOWARDS DELHI BETWEEN KM 10 TO 12 ON KHURJA PAHASU ROAD (SH-63)	BULANDSHAHR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2273	ON HINDI BHAWAN SERVICE ROAD, LOHIANAGAR	GHAZIABAD	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2274	UPTO 4 KM FROM GANGA AMRIT MULTISPECIALITY HOSPITAL ON NH 709B (DELHI SAHARANPUR ROAD) TOWARDS SAHARANPUR	SHAMLI	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2275	ON NEW SHAMLI BYPASS ON LHS WHILE MOVING TOWARDS KAIRANA FROM TEHSIL OFFICE SHAMLI	SHAMLI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2276	BETWEEN KM STONE 21 TO 24 ON NH-709B (DELHI - SHAMLI - SAHARANPUR ROAD)	BAGHPAT	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2277	ON MAHARANA PRATAP MARG, BETWEEN KAVINAGAR POWER HOUSE AND SANJAY NAGAR RAILWAY OVERBRIDGE	GHAZIABAD	Regular	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2278	ON NEW SHAMLI BYPASS ON RHS WHILE MOVING TOWARDS KAIRANA FROM TEHSIL OFFICE SHAMLI	SHAMLI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2279	WITHIN 2 KMS FROM UP PARIVAHAN NIGAM BUS STATION, JALALABAD ON NH709B ON RHS WHILE MOVING TOWARDS SAHARANPUR	SHAMLI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2280	WITHIN 2 KILOMETERS OF RAMALA THANA TOWARDS SHAMLI ON NH709B (DELHI SHAMLI SHAHRANPUR ROAD) ON RHS	BAGHPAT	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2281	BETWEEN KM STONE 11 TO 13 ON NH-334B (MEERUT - SONIPAT ROAD)	MEERUT	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2282	UP TO 2 KMS FROM BIDOLI GANGOH MARG ON NH709A (JHINJHANA KARNAL ROAD) ON	SHAMLI	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2283	LHS TOWARDS JHINJHANA FROM KM STONE 50 TO 55 ON OLD NH 9 DELHI MORADABAD ROAD LHS	HAPUR	Regular	190	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
2284	WITHIN 3 KM FROM RAILWAY STATION KHANDRAWALI ON LHS ON NH-709B WHILE	SHAMLI	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2285	MOVING TOWARDS KANDHLA WITHIN MUNICIPAL LIMIT OF DAURALA ON SARDHANA - MAWANA ROAD	MEERUT	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2286	WITHIN HAPUR CITY MUNICIPAL LIMITS (EXCEPT ON OLD DELHI-GARH ROAD AND OLD MEERUT-BULANDSHAHAR ROAD)	HAPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2287	WITHIN MUNICIPAL LIMIT OF RATAUL	BAGHPAT	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2288	BETWEEN KM STONE 9 TO 12 ON NH-709B (DELHI - SHAMLI - SAHARANPUR ROAD) ON	BAGHPAT	Regular	170	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
2289	RHS WITHIN MUNICIPAL LIMIT OF SARDHANA ON DAURALA ROAD	MEERUT	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2290	WITHIN 2 KILOMETERS OF GORIPUR MODE TOWARDS RASTRA VANDANA CHOWK ON LHS OF NH709B (DELHI - SHAMLI -	BAGHPAT	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2291	SAHARANPUR ROAD) FROM LALKUAN NE3 UNDERPASS TO DASNA POLICE THANA ON NH9 ON RHS	GHAZIABAD	Regular	220	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
					L	l							1	

International model model model Image	5 5
Image Image <th< td=""><td>5 5</td></th<>	5 5
12.10 12.00 <th< td=""><td>5 4</td></th<>	5 4
TOP Control and Control and Annual Annu	3
1217 MAILS & MAILS & MAILS & MAILS & MAULE Media Media Model Media Model	5 5
1200 MATHER LANDON LIMIT OF MATHER OF MATHER OF MATHER MATHER 100 COC Eff 30 400 31 F5 Exceed Land 1 1719 REAL MARK ALTON	5 5
1309 REMOVABURGATION AND ALL A	5 4
Non-orthold block Market in the park	3
INTERF. NUMBER NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME NAME	5 5
Image: Note of Amelity is used of a standard of Amelity is a standard of Amelity is used of Amelity is a standard of Amelit	
BAMUTOR BAMUTOR MARKED LINEOU CC CC <	
Image:	
INTERSECTION ON CLUMENTARY TRADE TO ANALOSS AND AND CLUE CONV. Image of the second of th	
Image: Inclusion Display Image:	
Image: Construct on the sector of Net Market Strike Stri	5 5
Image: Note of the set of the se	5 4
Image:	5 5
IFROM MHIS SPRASS DIREPSCITION DOTINGT MEERUT Regular 1700 OPE PA ICI	3
2310 WTHING 64 MGT KATWARN COLLEG OF EDECAMPS MEERUT Regular 170 OPEN DC 35 35 1225 32 95 Draw of Lots 1 2310 NH 7030 (MEGUT SAMMUT MERUT Regular 150 OPEN DC 30 30 900 32 75 Draw of Lots 1 2311 BETWERN MSTORE 64 TO 70 ON DUD NH MEERUT Regular 150 OPEN DC 30 30 900 32 75 Draw of Lots 1 2313 BETWERN MSTORE 64 TO 70 ON DUD NH MEERUT Regular 170 OBC DC 35 35 1225 32 Draw of Lots 0 2313 WTHING MUNCHARMERUNG NAMURAR DUD NIL NAMUR MAPUR Regular 130 OPEN DC 35 35 1225 32 Draw of Lots 1 2314 FROM MANTGREAK LIMPTS MAPUR Regular 130 OPEN DC 35 1225 32 D Draw of Lots	5 4
Image: SR (NEW VH-334) Image: SR (NEW VH-334) <thimage: (new="" sr="" th="" vh-334)<=""> Image: SR (NEW VH-334)<!--</td--><td>5 5</td></thimage:>	5 5
FROM NH9 BYPASS INFERSECTION DUSTRICTFROM SWITHIN HAPURRegular110SCCFS202040000Draw of Lots02313WITHIN PLIKHUA MUNCIPAL LIMITS (EXCEPT ON NH9 AND PLIKHUA BHOJPUR (EXCEPT ON NH9 AND PLIKHUA BHOJPUR 	5 5
Image: Inclusion of the second of t	5 4
2314 FROM KM STONE 81 TO 83 ON NH9 (DELHI TO MORADABAD) ON LHS HAPUR Regular 190 OPEN DC 35 35 1225 32 95 Draw of Lots 1 2315 FROM KM STONE 81 TO 83 ON NH9 (DELHI TO MORADABAD) ON LHS HAPUR Regular 150 OPEN DC 35 35 1225 32 95 Draw of Lots 1 2316 FROM KM STONE 81 TO 83 ON NH9 (DELHI (GARHMUKTESHWAR-MEERUT ROAD) HAPUR Regular 150 OPEN DC 35 35 1225 32 95 Draw of Lots 1 2316 BETWEEN MOHAN NACAR SIGNAL AND HINDAN CHOWK ROAD GHAZIABAD Regular 150 OBC DC 20 400 32 75 Draw of Lots 1 2317 CHAKKAR TO VASUNDHARA ROAD INTERSECTION, GHAZIABAD GHAZIABAD Regular 220 SC CFS 20 400 0 0 Draw of Lots 0 2318 WTIM 2 XM FROM VPUG GUEST HOUSE BRIGHAT TOWARDS GARI-STYANA HAPUR Regular 230 OPEN CC 35 1225 32 12 Bidding 3 <td>3</td>	3
(GARHMUKTESHWAR-MEERUT ROAD)CC </td <td>5 5</td>	5 5
HINDAN CHOWK ROADHINDAN CHOWK ROADHINDAN CHOWK ROADHINDAN CHOWK ROADImage: Constraint of the state of the sta	5 5
CHAKKAR TO VASUNDHARA ROADCIC	5 4
BRUGHAT TOWARDS GARH-SYNANA CHAUPLA ON NH9 OND LHSIncl	
MORADABAD ROAD) ON NH9 RHSMAPURRegular140OPENDC353512253275Draw of Lots12320ON GARH BYPASS INTERSECTION ON NH9 UPTO GARH BYPASS INTERSECTION ON NH9 UPTO HAPUR DIST BORDER VIA SALARPURHAPURRegular140OPENDC353512253275Draw of Lots12321BETWEEN BHOPURA ON DELHI GHAZIABAD BORDER AND HINDON CHOWK GHAZIABADGHAZIABADRegular200OBCDC20204003275Draw of Lots12322UP GATE TO MOHANNAGAR METRO STATION VIA DABUR ON MADAN MOHAN MADAD MADAN MOHAN MADAD MADAN MOHANGHAZIABADRegular270SCCFS2040000Draw of Lots0	
GARH BYPASS INTERSECTION ON NH9 UPTO HAPUR DIST BORDER VIA SALARPUR GAZIABAD Regular 200 OBC DC 20 400 32 75 Draw of Lots 1 2321 BETWEEN BHOPURA ON DELHI GHAZIABAD BORDER AND HINDON CHOWK GHAZIABAD GHAZIABAD Regular 200 OBC DC 20 400 32 75 Draw of Lots 1 2322 UP GATE TO MOHANNAGAR METRO STATION VIA DABUR ON MADAN MOHAN MALVIYA ROAD GHAZIABAD Regular 270 SC CFS 20 400 0 0 Draw of Lots 0	
BORDER AND HINDON CHOWK GHAZIABAD General Control General Co	5 5
STATION VIA DABUR ON MADAN MOHAN MALVIYA ROAD	5 4
2323 BETWEEN SHAHEED STHAL METRO STATION AND DELHI BORDER ON GT ROAD GHAZIABAD Regular 250 OPEN CC 1 .DC 20 400 32 75 Draw of Lots 1	
2324 BETWEEN ABES COLLEGE AND SHABERI, ON CROSSING REPUBLIK ROAD WITHIN GHAZIABAD DIST BORDER GHAZIABAD Regular 350 OBC DC 20 400 32 75 Draw of Lots 1 0200 FOLL CULTURE DEPUTION DEPUTION DEPUTION CHURADAD 200 000 32 75 Draw of Lots 1	
2325 FROM CHITRAGUPT PARK TOWARDS GHAZIABAD Regular 250 OPEN CC 20 20 400 32 12 Bidding 3 MAHAGUN SAROVAR PORTICO HOTEL, VAISHALI, ON GAUTAM PALVI ROAD	0 5
2326 MADHUBAN BAPUDHAM/SADARPUR, GHAZIABAD GHAZIABAD Regular 200 SC CFS 20 400 0 Draw of Lots 0	3
2327 BETWEEN ROHAN MOTORS MARUTI SHOW ROOM AND FAWARA CHOWK ON PATEL MARG, GHAZIABAD GHAZIABAD Regular 210 OPEN DC 20 400 32 75 Draw of Lots 1	5 5
2328 FROM EPE INTERCHANGE ON NH9 TO MASURI CANAL BRIDGE ON NH9 RHS GHAZIABAD Regular 150 OBC DC 35 35 125 32 95 Draw of Lots 1	5 4
2329 BETWEEN MANOHARI VIDYA MANDIR AND GHAZIABAD Regular 260 OPEN DC 20 400 32 75 Draw of Lots 1 HANUMAN MANDIR CHAUPLA, GHAZIABAD	5 5

2330	BETWEEN SHAHEED STHAL METRO STATION AND LALKUAN UNDERPASS BUS STOP ON	GHAZIABAD	Regular	350	OPEN	сс	20	20	400	32	12	Bidding	30	5
2331	GT ROAD WITHIN MUNICIPAL LIMITS OF	HAPUR	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
2551	GARHMUKTESHWAR BETWEEN HOTEL SKYLARK ON GARH MUKTESHWAR NH9 BYPASS AND COMMUNITY HEALTH CENTRE GARHMUKTESHWAR		in Central	100	50001		20	20	400	0	5	Draw of Lots	0	5
2332	BETWEEN TIGRI GOL CHAKKAR AND NE3 INTERSECTION ON TAJ HIGHWAY (GREATER NOIDA WEST ROAD)	GHAZIABAD	Regular	160	OBC CC 1	DC	20	20	400	32	75	Draw of Lots	15	4
2333	WITHIN MUNICIPAL LIMITS OF GHAZIABAD IN VILLAGE CHHIJARSI	GHAZIABAD	Regular	270	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2334	ON HAPUR KITHORE ROAD (SH118) FROM HAPUR BYPASS INTERSECTION UPTO HAPUR DIST BORDER	HAPUR	Regular	125	OPEN PH	DC	35	35	1225	32	75	Draw of Lots	15	5
2335	GOVINDPURAM, GHAZIABAD	GHAZIABAD	Regular	220	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2336	BETWEEN DASNA FLYOVER (RAILWAY OVERBRIDGE) AND THAKURDWARA TIRAHA HAPUR MOD, GHAZIABAD	GHAZIABAD	Regular	180	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2337	WITHIN MUNICIPAL LIMITS OF HAPUR BETWEEN RAJKEEYA IAS/PCS COACHING	HAPUR	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2338	NIZAMPUR AND TEHSIL CHAURAHA BETWEEN MAHAMAYA STADIUM AND NH9 INTERSECTION, PRATAP VIHAR ROAD	GHAZIABAD	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2339	WITHIN KHODA MUNICIPAL LIMITS, KHODA, GHAZIABAD	GHAZIABAD	Regular	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2340	BETWEEN TEHSIL CHAURAHA HAPUR AND NH9 UNDERPASS ON OLD HAPUR- BULANDHSHAR ROAD	HAPUR	Regular	180	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2341	FROM HAPUR DEHAT THANA, TATARPUR TOWARDS MEERUT ON NH334 BYPASS UPTO HAPUR DIST BORDER	HAPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2342	BETWEEN ABHAY KHAND-NE3 JUNCTION AND INDRAPURAM PUBLIC SCHOOL NYAY KHAND -1, VIA BINSAR APARTMENTS INDIRAPURAM	GHAZIABAD	Regular	325	OPEN	СС	20	20	400	32	12	Bidding	30	5
2343	SIDDHARTH VIHAR, GHAZIABAD	GHAZIABAD	Regular	210	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2344	FROM KM STONE 75 TO 80 ON NH9(NEW	HAPUR	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2345	BYPASS) ON LHS FROM LALKUAN NE3 UNDERPASS TOWARDS DASNA POLICE THANA ON NH9 ON LHS	GHAZIABAD	Regular	220	OPEN	CC	30	30	900	32	12	Bidding	30	5
2346	FROM LONI UPSRTC BUS DEPOT TO PAVI PUSTA BUS STOP TRI-JUNCTION ON LONI	GHAZIABAD	Regular	160	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
2347	BAGHPAT ROAD LHS BETWEEN NH9 INTERSECTION AND INDIRA ENCLAVE ON PUSTA ROAD, GHAZIABAD	GHAZIABAD	Regular	200	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2348	WITHIN MUNICIPAL LIMITS OF MUZAFFARNGAR FROM MEENAKSHI	MUZAFFARNAGAR	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2349	CHOWK TO RANA CHOWK ON MEERUT ROAD WITHIN 2 KM FROM KISAN PG COLLEGE	HAPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	SIMBHAOLI TOWARDS SIKHERA ON SIMBHAOLI- BABUGARH ROAD ON LHS													
2350	FROM TAJ HIGHWAY INTERSECTION ON NH9 TO LALKUAN UNDER PASS ON NH9	GHAZIABAD	Regular	250	OBC	CC	30	30	900	32	12	Bidding	30	4
2351	FROM PAVI PUSTA BUS STOP TRI-JUNCTION TO TRONICA CITY POLICE STATION ON LONI BAGHPAT ROAD NH 709B ON RHS.	GHAZIABAD	Regular	310	OPEN	СС	30	30	900	32	12	Bidding	30	5
2352	MANDOLA VIHAR AWAS VIKAS YOJANA, LONI	GHAZIABAD	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2353	WITHIN 2 KM OF BAJAJ SUGAR MILL,BUDHANA ON BHUDHANA-KHATAULI ROAD	MUZAFFARNAGAR	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2354	BETWEEN BABUGARH POLICE STATION AND KUCHESAR ROAD CHAUPALA ON NH9	HAPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2355	FROM GANGNAHAR POLICE CHOWKI MURADNAGAR TOWARDS MODINAGAR UPTO GHAZIABAD DIST BORDER RHS (SH117)	GHAZIABAD	Regular	180	OPEN	СС	35	35	1225	32	12	Bidding	30	5
2356	FROM SHAHEED STHAL METRO STATION TO EASTERN PERIPHERAL EWAY INTERSECTION ON DELHI MEERUT ROAD ON LHS	GHAZIABAD	Regular	200	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2357	BETWEEN KM STONE 65 TO 70 ON NH 709AD	MUZAFFARNAGAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2358	FROM LALKUAN NE-3 UNDERPASS TOWARDS BULANDHSHAHR ON NH334C UPTO GHAZIABAD DIST BORDER	GHAZIABAD	Regular	250	OBC	СС	35	35	1225	32	12	Bidding	30	4
2359	BETWEEN CHHAJARSI TOLL PLAZA ON NH9 AND SARASWATI INSTITUTE OF MEDICAL	HAPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2360	SCIENCE FROM CHHAJARSI TOLL PLAZA ON NH9 TOWARDS MASURI GANGA CANAL ON NH9	HAPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2361	WITHIN HAPUR DIST WITHIN 2 KM FROM FROM LONI- GHAZIABAD TIRAHA TOWARDS BANTHALA	GHAZIABAD	Regular	210	OBC	СС	20	20	400	32	12	Bidding	30	4
2362	FLYOVER BETWEEN KM STONE 18 TO 23 ON OLD SH12A(NEW NH 709AD) ON LHS TOWARDS	MUZAFFARNAGAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2363	JANSATH ON RAJNAGAR EXTENSION ROAD (BETWEEN GT ROAD INTERSECTION AND MEERUT	GHAZIABAD	Regular	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
2364	ROAD INTERSECTION) FROM AMBEDKAR STATUE CHAURAHA GARHMUKTESHWAR TO SHREE VISHAL HOSPITAL, GARHMUKTEHSWAR ON SIYANA	HAPUR	Regular	180	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2365	ROAD FROM GOPAL HOSPITAL, LONI TO LONI- GHAZIABAD TIRAHA ON DELHI-	GHAZIABAD	Regular	220	OBC	СС	20	20	400	32	12	Bidding	30	4
2366	SAHARANPUR ROAD ON RHS BETWEEN KM STONE 18 TO 23 ON OLD SH12A(NEW NH 709AD) ON RHS TOWARDS	MUZAFFARNAGAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2367	JANSATH WAVE CITY, GHAZIABAD	GHAZIABAD	Regular	300	OPEN	CC	20	20	400	32	12	Bidding	30	5
2368	ADITYA WORLD CITY, GHAZIABAD	GHAZIABAD	Regular	300	OPEN	CC	20	20	400	32	12	Bidding	30	5
								I						

2369	WITHIN 2 KM FROM SAHARA NURSING	GHAZIABAD	Regular	220	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	HOME, PAVI SADAKPUR TOWARDS SARAD CITY VIA PAVI PUSTA BUS STOP ON DELHI- BAGHPAT ROAD		0											
2370	FROM KM STONE 65 TO 70 ON NH9 (NEW BABUGARH BYPASS) ON LHS	HAPUR	Regular	250	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2371	WITHIN 2 KM OF DAV DEGREE COLLEGE, BUDHANA ON KANDHALA-BUDHANA ROAD	MUZAFFARNAGAR	Regular	140	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2372	FROM SHAHEED STHAL METRO STATION TO EASTERN PERIPHERAL EWAY INTERSECTION ON DELHI MEERUT ROAD ON RHS	GHAZIABAD	Regular	220	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2373	BETWEEN HR INSTITUTE OF TECHNOLOGY COLLEGE AND NILAYA GREENS ROAD JUNCTION, ON SHAHPUR ROAD, MORTA (VIA SANSKRITI ASHRAM)	GHAZIABAD	Regular	200	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
2374	FROM KM STONE 73 TO 75 TOWARDS GARHMUKTESHWAR ON RHS ON NH-9 (NEW BYPASS)	HAPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2375	WITHIN MUNICIPAL LIMITS OF MUZAFFARNAGAR ON CIRCULAR ROAD	MUZAFFARNAGAR	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2376	FROM EASTERN PERIPHERAL EWAY INTERSECTION ON DELHI MEERUT ROAD TO GANGNAHAR POLICE CHOWKI, MURADNAGAR ON RHS (SH117)	GHAZIABAD	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2377	BHATTA NO 5 ROAD RAJNAGAR EXTENSION	GHAZIABAD	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2378	WITHIN MUNICIPAL LIMITS OF MUZAFFARNAGAR BETWEEN DISTRICT HOSPITAL AND CENTRAL WAREHOUSE CORPORATION GODOWN ON SH 59	MUZAFFARNAGAR	Regular	120	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2379	BETWEEN KM STONE 8 TO 12 ON LHS ON SH-59	MUZAFFARNAGAR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2380	ON SHAHEED NAYAK KRISHAN KUMAR MARG, BETWEEN HOTEL DIAMOND PALACE AND NE3 INTERSECTION (VIA DIAMOND	GHAZIABAD	Regular	250	OBC	CC	20	20	400	32	12	Bidding	30	4
2381	FLYOVER) BETWEEN TRANSPORT NAGAR MUZAFFARNAGAR AND GRAND PLAZA MALL MUZAFFARNAGAR ON BHOPA ROAD	MUZAFFARNAGAR	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2382	FROM GANGNAHAR POLICE CHOWKI MURADNAGAR TOWARDS MODINAGAR UPTO GHAZIABAD DIST BORDER LHS (SH117)	GHAZIABAD	Regular	180	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
2383	BETWEEN KM STONE 31 AND 36 ON LHS ON NH-34 MEERUT TO MAWANA ROAD	MEERUT	Regular	155	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2384	FROM PWD GUEST HOUSE, BRIJGHAT TO BRIJGHAT TOLL GATE ON NH9 RHS	HAPUR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2385	WITHIN 2KM OF A2Z SOCIETY, MUZAFFARNAGAR ON MAHARAJA AGRASEN MARG	MUZAFFARNAGAR	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2386	BETWEEN KM STONE 120 TO 125 ON LHS ON OLD NH 58 (NEW NH 334) TOWARDS ROORKEE	MUZAFFARNAGAR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2387	SAUR URJA MARG ON KAUSHAMBI TO VASUNDHARA LINK ROAD	GHAZIABAD	Regular	220	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2388	ON SECTOR-18 IN YAMUNA INDUSTRIAL EXPRESSWAY DEVELOPMENT AUTHORITY, GAUTAM BUDDH NAGAR	GAUTAM BUDH NAGAR	Regular	370	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2389	FROM VILLAGE BAGHRA TO VILLAGE TITAVI ON NH-709AD ON LHS TOWARDS MUZAFFARNAGAR	MUZAFFARNAGAR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2390	BETWEEN KM STONE 120 TO 125 ON RHS ON OLD NH 58 (NEW NH 334) TOWARDS ROORKEE	MUZAFFARNAGAR	Regular	200	OPEN	СС	35	35	1225	32	12	Bidding	30	5
2391	SAHIBABAD INDUSTRIAL AREA	GHAZIABAD	Regular	200	OBC	CC	20	20	400	32	12	Bidding	30	4
2392	BETWEEN KM STONE 24 TO 29 ON OLD SH12A (NEW NH 709AD)	MUZAFFARNAGAR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2393	ON SECTOR-22D IN YAMUNA INDUSTRIAL EXPRESSWAY DEVELOPMENT AUTHORITY, GAUTAM BUDDH NAGAR	GAUTAM BUDH NAGAR	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2394	BETWEEN KM STONE 77 TO 86 ON RHS ON SH 116	MUZAFFARNAGAR	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2395	NASIRPUR ROAD CONNECTING GANDHI COLONY,MUZAFFARNAGAR TO OLD NH 58(NEW NH 334)	MUZAFFARNAGAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2396	FROM VILLAGE BAGHRA TO VILLAGE TITAVI ON NH-709AD ON RHS TOWARDS MUZAFFARNAGAR	MUZAFFARNAGAR	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
2397	SECTOR-XU-1 GREATER NOIDA	GAUTAM BUDH NAGAR	Regular	175	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2398	WITHIN 2 KM OF BINDALS PAPER MILLS LIMITED ON BHOPA ROAD, MUZAFFARNAGAR	MUZAFFARNAGAR	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2399	BETWEEN KM STONE 107 TO 115 RHS ON OLD NH 58 (NEW NH 334) TOWARDS ROORKEE	MUZAFFARNAGAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2400	BETWEEN KM STONE 6 TO 11 ON RHS ON OLD SH12A(NEW NH 709AD) TOWARDS JANSATH	MUZAFFARNAGAR	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2401	WITHIN 2 KM OF JANSATH BUS STAND MUZAFFARNAGAR TOWARDS JANSATH ON MUZAFFARNAGAR JANSATH ROAD	MUZAFFARNAGAR	Regular	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2402	WITHIN MUNICIPAL LIMITS OF SARSAWA (NOT ON NH)	SAHARANPUR	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2403	BETWEEN KM STONE 95 TO 102 LHS ON OLD NH 58 (NEW NH 334) TOWARDS ROORKEE	MUZAFFARNAGAR	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2404	BETWEEN KM STONE 116 - 119 ON OLD NH 58 (NEW NH 334) TOWARDS ROORKEE	MUZAFFARNAGAR	Regular	200	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2405	WITHIN 6 KMS OF RANA CHOWK ON LHS TOWARDS SHAMLI ON NH 709 AD	MUZAFFARNAGAR	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2406	BETWEEN SAINT MOMINA SCHOOL, JAINPUR & ST.MARY'S CONVENT SCHOOL,GULAOTHI ON NH 334 ON RHS	BULANDSHAHR	Regular	170	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2407	WITHIN 2 KM OF SHAMLI BUS STAND, MUZAFFARNAGAR ON SHAMLI ROAD	MUZAFFARNAGAR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
I		1		1	1	1	1	1	1	<u> </u>		1	1	

2408	BETWEEN KM STONE 78 TO 83 ON NH 709AD(PANIPAT-KHATIMA MARG)	MUZAFFARNAGAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2409	BETWEEN KM STONE NO 178 AND 183 ON SH-57 ON LHS TOWARDS GANDEVAR FROM	SAHARANPUR	Regular	110		DC	35	35	1225	32	75	Draw of Lots	15	4
2410	SAHARANPUR WITHIN MODINAGAR MUNICIPAL LIMITS	GHAZIABAD	Regular	130	OBC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
2411	EXCEPT ON MURADNAGAR-MEERUT ROAD	GAUTAM BUDH	Regular	600	SC PH OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2412	SECTOR- 159 NOIDA	NAGAR GAUTAM BUDH	Regular	300	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2413	BETWEEN KM STONE 34 TO 39 LHS ON OLD	NAGAR MUZAFFARNAGAR	Regular	210	OBC	CC	35	35	1225	32	12	Bidding	30	4
2414	SH 82(NEW NH 709 A) SECTOR- 143 B NOIDA	GAUTAM BUDH	Regular	325	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2415	BETWEEN KM STONE NO 80 TO 85 ON NH	NAGAR SAHARANPUR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2416	344 SECTOR- 105 NOIDA	GAUTAM BUDH	Regular	425	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2417	BETWEEN KM STONE 95 TO 102 RHS ON OLD NH 58 (NEW NH 334)TOWARDS	NAGAR MUZAFFARNAGAR	Regular	220	OBC	СС	35	35	1225	32	12	Bidding	30	4
2418	ROORKEE SECTOR- 108 NOIDA ALONG NOIDA-	GAUTAM BUDH	Regular	625	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2419	GREATER NOIDA EXPRESSWAY SERVICE LANE BETWEEN KM STONE NO 76 TO 79 ON NH	NAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2420	344 ON RHS WHILE MOVING TOWARDS AMBALA BETWEEN KM STONE 56 TO 61 LHS ON NH	MUZAFFARNAGAR	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	709 AD TOWARDS MUZAFFARNAGAR SECTOR- 122 NOIDA		-											5
2421		GAUTAM BUDH NAGAR	Regular	725	OPEN	DC	20	20	400	32	75	Draw of Lots	15	-
2422	BETWEEN KM STONE 107 TO 115 LHS ON OLD NH 58 (NEW NH 334) TOWARDS ROORKEE	MUZAFFARNAGAR	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
2423	WITHIN 2KM OF MAHAVEER CHOWK, MUZAFFARNAGAR ON ARYA SAMAJ ROAD	MUZAFFARNAGAR	Regular	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2424	BETWEEN KM STONE NO 30 TO 36 ON NH 344 ON LHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2425	SECTOR- 47 NOIDA	GAUTAM BUDH NAGAR	Regular	750	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2426	SECTOR- 50 NOIDA	GAUTAM BUDH NAGAR	Regular	725	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2427	SECTOR- 155 NOIDA	GAUTAM BUDH NAGAR	Regular	300	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2428	BETWEEN KM STONE NO 37 TO 43 ON NH 344 ON LHS WHILE MOVING TOWARDS	SAHARANPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2429	AMBALA SECTOR- 72 NOIDA	GAUTAM BUDH NAGAR	Regular	725	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2430	SECTOR 69 NOIDA, ON FNG EXPRESSWAY	GAUTAM BUDH NAGAR	Regular	700	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2431	SECTOR-43, NOIDA	GAUTAM BUDH NAGAR	Regular	550	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2432	BETWEEN KM STONE NO 30 TO 36 ON NH 344 ON RHS WHILE MOVING TOWARDS	SAHARANPUR	Regular	170	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
2433	AMBALA BETWEEN VILLAGE BAGHRA AND VILLAGE PINNA ON NH 709 AD	MUZAFFARNAGAR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2434	BETWEEN KM STONE NO 57 TO 62 ON NH 344 ON LHS WHILE MOVING TOWARDS	SAHARANPUR	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
2435	AMBALA ON SECTOR-19 IN GAUR CITY IN YAMUNA	GAUTAM BUDH	Regular	300	OBC	CC	20	20	400	32	12	Bidding	30	4
	INDUSTRIAL EXPRESSWAY DEVELOPMENT AUTHORITY, GAUTAM BUDDH NAGAR	NAGAR												
2436	SECTOR- 63 , NOIDA	GAUTAM BUDH NAGAR	Regular	725	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2437	BETWEEN KM STONE 20 AND 22 ON SH 167 TOWARDS DEOBAND	SAHARANPUR	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2438	SECTOR- 88, NOIDA	GAUTAM BUDH NAGAR	Regular	550	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2439	ON SECTOR-28 IN YAMUNA INDUSTRIAL EXPRESSWAY DEVELOPMENT AUTHORITY,	GAUTAM BUDH NAGAR	Regular	370	OBC	CC	20	20	400	32	12	Bidding	30	4
2440	GAUTAM BUDDH NAGAR ON SECTOR-20 IN YAMUNA INDUSTRIAL EXPRESSWAY DEVELOPMENT AUTHORITY,	GAUTAM BUDH NAGAR	Regular	220	OPEN	СС	20	20	400	32	12	Bidding	30	5
2441	GAUTAM BUDDH NAGAR SECTOR- THETA-2 GREATER NOIDA	GAUTAM BUDH NAGAR	Regular	425	OPEN	CC	20	20	400	32	12	Bidding	30	5
2442	WITHIN MUNICIPAL LIMITS OF SAHARANPUR WITHIN 1KM OF SARASWATI	SAHARANPUR	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2443	VIHAR GIRLS SCHOOL ON DELHI ROAD WITHIN MUNICIPAL LIMITS OF NAKUR	SAHARANPUR	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2444	SECTOR-20 GREATER NOIDA	GAUTAM BUDH NAGAR	Regular	425	OPEN	CC	20	20	400	32	12	Bidding	30	5
2445	BETWEEN KM STONE NO 178 AND 183 ON SH-57 ON RHS TOWARDS GANDEVAR FROM	SAHARANPUR	Regular	110	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2446	SAHARANPUR BETWEEN KM STONE 121 AND 124 ON	SAHARANPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2447	NH709B ON RHS TOWARDS NANAUTA BETWEEN KM STONE NO 71 TO 75 ON NH	SAHARANPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2448	344 ON LHS WHILE MOVING TOWARDS AMBALA SECTOR-ECHOTECH-1 EXTENSION GREATER	GAUTAM BUDH	Regular	220	OPEN	CC	20	20	400	32	12	Bidding	30	5
2449	NOIDA SECTOR-MU-1 GREATER NOIDA	NAGAR GAUTAM BUDH	Regular	425	OPEN	CC	20	20	400	32	12	Bidding	30	5
		NAGAR	~									~		

2450	BETWEEN KM STONE NO 71 TO 75 ON NH 344 ON RHS WHILE MOVING TOWARDS	SAHARANPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2451	AMBALA WITHIN MUNICIPAL LIMITS OF SAHARANPUR BETWEEN PUL KHUMRAN AND PHC HALALPUR ON CHILKANA ROAD	SAHARANPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2452	WITHIN MUNICIPAL LIMITS OF SULTANPUR	SAHARANPUR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2453	CHILKANA BETWEEN KM STONE NO 76 TO 79 ON NH 344 ON LHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2454	BETWEEN KM STONE NO 45 TO 55 ON NH 344 ON RHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2455	WITHIN MUNICIPAL LIMITS OF CHHUTMALPUR NOT ON NH	SAHARANPUR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2456	BETWEEN KM STONE NO 65 TO 68 ON NH 344 ON RHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2457	BETWEEN KM STONE NO 65 TO 68 ON NH 344 ON LHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	200	OPEN	СС	35	35	1225	32	12	Bidding	30	5
2458	BETWEEN KM STONE 23 AND 26 ON LHS ON SH 167 TOWARDS DEOBAND	SAHARANPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2459	BETWEEN KM STONE 84 TO 89 LHS WHILE GOING FROM BULANDSHAHR TO ALIGARH ON NH 34	BULANDSHAHR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2460	BETWEEN KM STONE NO 57 TO 62 ON NH 344 ON RHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2461	BETWEEN KM STONE NO 166 AND 170 ON SH-57 ON LHS TOWARDS BEHAT FROM SAHARANPUR	SAHARANPUR	Regular	160	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2462	BETWEEN KM STONE NO 45 TO 55 ON NH 344 ON LHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2463	WITHIN MUNICIPAL LIMITS OF SAHARANPUR ON JANTA ROAD	SAHARANPUR	Regular	160	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2464	FROM AURANGABAD POLICE STATION TO MAHARAJA AGRASEN COLLEGE OF HIGHER EDUCATION ON BULANDSHAHR- SIYANA ROAD SH-65	BULANDSHAHR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2465	BETWEEN KM STONE NO 171 AND 176 ON SH-57 ON RHS TOWARDS BEHAT FROM SAHARANPUR	SAHARANPUR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2466	WITHIN MUNICIPAL LIMITS OF SAHARANPUR IN TRANSPORT NAGAR	SAHARANPUR	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2467	WITHIN MUNICIPAL LIMITS OF SAHARANPUR WITHIN 2 KM OF DEHAT KOTWALI POLICE STATION ON BEHAT ROAD TOWARDS BEHAT	SAHARANPUR	Regular	200	OPEN	CC	20	20	400	32	12	Bidding	30	5
2468	BETWEEN KM STONE 88 TO 94 ON SH 18	BULANDSHAHR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2469	WITHIN MUNICIPAL LIMITS OF SAHARANPUR ON NAWADA ROAD AND ON ROAD CONNECTING SARDAR PATEL MARG TO KHALASI LINE FLYOVER	SAHARANPUR	Regular	180	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2470	WITHIN MUNICIPAL LIMIT OF SAHARANPUR WITHIN 1 KM OF DAYAWATI MODERN INTER COLLEGE ON MALHIPUR ROAD	SAHARANPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2471	WITHIN 4 KM FROM JHAMKA PRATHMIK SCHOOL TOWARDS PAHASU ON SH 63	BULANDSHAHR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2472	BETWEEN KM STONE 121 AND 124 ON NH709B ON LHS TOWARDS NANAUTA	SAHARANPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2473	BETWEEN KM 90 TO 95 LHS WHILE GOING FROM BULANDSHAHR TO ALIGARH ON NH 34	BULANDSHAHR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2474	WITHIN MUNICIPAL LIMITS OF SAHARANPUR ON MANDI SAMITI ROAD	SAHARANPUR	Regular	180	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2475	BETWEEN KM STONE NO 162 AND 165 ON SH-57 ON RHS TOWARDS BEHAT FROM SAHARANPUR	SAHARANPUR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2476	WITHIN MUNICIPAL LIMITS OF SAHARANPUR BETWEEN BSNL BUILDING AND BHAGAT SINGH TIRAHA ON SAHARANPUR TO PAHANSU ROAD	SAHARANPUR	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2477	ON NH-509 (ALIGARH - BHIMPUR - DIBAI) FROM INTERSECTION OF NH-509 AND SH 63 ON NH 509 TO BULANDSHAHR BORDER RHS WHILE MOVING FROM BHIMPUR TO ALIGARH	BULANDSHAHR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2478	BETWEEN KM STONE NO 162 AND 165 ON SH-57 ON LHS TOWARDS BEHAT FROM SAHARANPUR	SAHARANPUR	Regular	130	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2479	BETWEEN KM STONE NO 171 AND 176 ON SH-57 ON LHS TOWARDS BEHAT FROM SAHARANPUR	SAHARANPUR	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2480	BETWEEN SWAMI DAYAL BHATNAGAR LAW COLLEGE, SIKANDRABAD AND ROYAL FUN WORLD WATER PARK, RHS WHILE MOVING FROM GHAZIABAD TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2481	WITHIN 3 KM FROM DIBAI POLICE STATION ON NH 509	BULANDSHAHR	Regular	175	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2482	BETWEEN KM STONE NO 37 TO 43 ON NH 344 ON RHS WHILE MOVING TOWARDS AMBALA	SAHARANPUR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2483	BETWEEN KM STONE NO 166 AND 170 ON SH-57 ON RHS TOWARDS BEHAT FROM SAHARANPUR	SAHARANPUR	Regular	160	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
2484	BETWEEN AMAR SINGH(P.G.) COLLEGE, LAKHAOTI AND POLICE CHOWKI, CHIGRAWATI ON SH 65	BULANDSHAHR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
2485	ON NH-509 (ALIGARH - BHIMPUR - DIBAI) UPTO 5 KM FROM INTERSECTION OF NH- 509 AND SH-18 IN BHIMPUR VILLAGE TOWARDS ALIGARH	BULANDSHAHR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2486	FOWARD AUGUANT FROM R. & EDUCATIONAL SCHOOL, SIKANDRABAD TO BULANDSHAHR DISTRICT BORDER TOWARDS GHAZIABAD LHS WHILE MOVING FROM DELHI TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	165	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

		1		1	1			1	1		L			
2487	BETWEEN SWAMI DAYAL BHATNAGAR LAW COLLEGE, GHAZIABAD AND ROYAL FUN WORLD WATER PARK, LHS WHILE MOVING FROM GHAZIABAD TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2488	FROM MALAKPUR ROAD INTERSECTION ON ANOOPSHAHR-ALIGARH ROAD TO PSPA VIDYA MANDIR ON ANOOPSHAHR-ALIGARH ROAD (SH-148)	BULANDSHAHR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2489	BETWEEN I.P. COLLEGE, BULANDSHAHR TO ST. AERIAY PUBLIC SCHOOL LHS WHILE MOVING FROM DELHI TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2490	BETWEEN KM STONE 31 AND 34 ON LHS WHILE MOVING FROM PAHASU TO CHATTARI ON SH 63	BULANDSHAHR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2491	ON SIKANDRABAD BYPASS RHS WHILE MOVING FROM GHAZIABAD TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2492	BETWEEN I.P. COLLEGE, BULANDSHAHR TO ST. AERIAY PUBLIC SCHOOL RHS WHILE MOVING FROM DELHI TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2493	BETWEEN THANDI PIYAAU TO VILLAGE HAZRATPUR ROAD INTERSECTION ON NH34 RHS WHILE MOVING FROM DELHI TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2494	WITHIN 5 KM FROM SIYANA ADDA IN BULANDSHAHR ON SH 65	BULANDSHAHR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
2495	WITHIN MUNICIPAL LIMITS OF SHIKARPUR ON OLD DIBAI ROAD WITHIN 4 KM OF SHIKARPUR POLICE STATION	BULANDSHAHR	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2496	WITHIN MUNICIPAL LIMITS OF SIKANDRABAD (NOT ON NH / SH)	BULANDSHAHR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2497	BETWEEN ASB INTER COLLEGE, WAIR BADSHAHPUR AND VIDYAGYAN SCHOOL, DULEHRA ON SH100	BULANDSHAHR	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2498	FROM R. K. EDUCATIONAL SCHOOL, SIKANDRABAD TO BULANDSHAHR DISTRICT BORDER TOWARDS GHAZIABAD RHS WHILE MOVING FROM DELHI TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2499	WITHIN MUNICIPAL LIMITS OF NARORA TOWN (NOT ON NH / SH)	BULANDSHAHR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2500	WITHIN MUNICIPAL LIMITS OF BUGRASI ON SIYANA-BUGRASI ROAD	BULANDSHAHR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2501	WITHIN MUNICIPAL LIMITS OF SIYANA (NOT ON SH)	BULANDSHAHR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2502	ON SIKANDRABAD BYPASS LHS WHILE MOVING FROM GHAZIABAD TO BULANDSHAHR ON NH 34	BULANDSHAHR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2503	WITHIN MUNICIPAL LIMITS OF CHHATARI (NOT ON SH)	BULANDSHAHR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2504	WITHIN 3 KM OF THE INTERSECTION OF GULAOTHI - SIKRANDRABAD ROAD AND NH- 334 TOWARDS SIKANDRABAD ON GULAOTHI - SIKANDRABAD ROAD (SH-100)	BULANDSHAHR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2505	BETWEEN ARNIYA POLICE STATION TO BULANDSHAHR BORDER TOWARDS ALIGARH ON NH34	BULANDSHAHR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2506	WITHIN MUNICIPAL LIMITS OF BULANDSHAHR (NOT ON NH/SH)	BULANDSHAHR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2507	ON THDC BYPASS, RHS WHILE GOING FROM BULANDSHAHR TO ALIGARH ON NH-34	BULANDSHAHR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2508	BETWEEN KM STONE 14 AND 19 ON LHS ON NH 709 A MEERUT- GARH ROAD (OLD SH 14)	MEERUT	Regular	180	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
2509	ON NH-509 (ALIGARH - BHIMPUR - DIBAI) FROM INTERSECTION OF NH-509 AND SH 63 ON NH 509 TO BULANDSHAHR BORDER LHS WHILE MOVING FROM BHIMPUR TO	BULANDSHAHR	Regular	150	30111	DC	35	35	1225	32	95	Draw of Lots	15	4
2510	ALIGARH FROM ST.MARY'S CONVENT	BULANDSHAHR	Regular	155	OBC PH OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	SCHOOL,GULAOTHI TO BULANDSHAHR DISTRICT BOUNDARY TOWARDS HAPUR ON NH334													
2511	WITHIN 3 KM FROM CHOLA CHOWKI POLICE STATION ON BULANDSHAHR JHAJHAR ROAD NH 334DD	BULANDSHAHR	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2512	KHURJA BYPASS RIGHT HAND SIDE WHILE MOVING FROM GHAZIABAD TO ALIGARH ON NH 34	BULANDSHAHR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2513	NH 34 FROM KM STONE 9 TO 14 AT RHS FROM MEERUT TO HAPUR ON NH334 (OLD NH 235)	MEERUT	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2514	235) WITHIN MUNICIPAL LIMITS OF DIBAI (NOT ON NH / SH)	BULANDSHAHR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2515	WITHIN 5 KM FROM BHOOR CROSSING TOWARDS HAPUR ON NH334	BULANDSHAHR	Regular	300	OPEN	CC	35	35	1225	32	12	Bidding	30	5
2516		BULANDSHAHR	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2517	WITHIN 1 KM OF DR. AMBEDKAR CHOWK ON SHIVAJI ROAD (EK ROAD) TOWARDS EVES CHAURAHA WITHIN MUNICIPAL LIMITS MEERUT	MEERUT	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2518	BETWEEN SAINT MOMINA SCHOOL, JAINPUR & ST.MARY'S CONVENT SCHOOL,GULAOTHI ON NH 334 ON LHS	BULANDSHAHR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2519	WITHIN MUNICIPAL LIMITS OF JAHANGIRABAD (NOT ON SH)	BULANDSHAHR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2520	FROM KM STONE 23 TO 28 AT RHS ON NH 34 (OLD NH 119)	MEERUT	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2521	FROM L BLOCK TIRAHA SHASTRI NAGAR TO TEJGARHI CHAURAHA ON PVS MALL ROAD ON EITHER SIDE	MEERUT	Regular	160	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2522	BETWEEN KM STONE 7 AND 11 ON NH334 (MEERUT-HAPUR ROAD)	MEERUT	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2523	WITHIN MUNICIPAL LIMITS OF MEERUT FROM TEJGARHI CHAURAHA TO GOKALPUR ON GARH ROAD AT RHS	MEERUT	Regular	175	OPEN CC 1	DC	30	30	900	32	75	Draw of Lots	15	5
		•	•	•	•	•		•		•	•	•		

2524	FROM KM STONE 37 TO 42 AT LHS ON NH	MEERUT	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2525	34 (OLD NH 119) TRANSPORT NAGAR WITHIN MUNICIPAL LIMIT MEERUT	MEERUT	Regular	210	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2526	BETWEEN KM STONE 13 AND 18 ON RHS ON NH 709 A MEERUT GARH ROAD (OLD SH 14)	MEERUT	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2527	MADHAVPURAM WITHIN MUNICIPAL LIMIT	MEERUT	Regular	170	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2528	MEERUT ON CHAUDHARY CHARAN SINGH	MEERUT	Regular	175	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
	UNIVERSITY ROAD BETWEEN COMMISIONARY CHOWK AND JAIL CHUNGI POLICE CHOWKI WITHIN MUNICIPAL LIMITS MEERUT													
2529	ON DIVIDER ROAD, WITHIN MUNICIPAL LIMIT MEERUT	MEERUT	Regular	195	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2530	FROM KM STONE 9 TO 14 AT LHS FROM MEERUT TO HAPUR ON NH334 (OLD NH 235)	MEERUT	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2531	BETWEEN KM STONE NO 78 TO 84 ON SH 18	BULANDSHAHR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
2532	BETWEEN TEJGARHI CHAURAHA AND HAPUR ADDA CIRCLE ON MEERUT-GARH ROAD, WITHIN MUNICIPAL LIMITS MEERUT	MEERUT	Regular	170	OBC CC 1	DC	30	30	900	32	75	Draw of Lots	15	4
2533	FROM HRS CHOWK TO BEGUM BRIDGE , ON DELHI ROAD, WITHIN MUNICIPAL LIMITS MEERUT	MEERUT	Regular	175	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
2534	ON THDC BYPASS, LHS WHILE GOING FROM BULANDSHAHR TO ALIGARH ON NH-34	BULANDSHAHR	Regular	155	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
2535	FROM HRS CHOWK TO SHOPPRIX MALL, ON DELHI ROAD, WITHIN MUNICIPAL LIMITS MEERUT	MEERUT	Regular	185	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2536	BETWEEN KM STONE 26 AND 32 ON RHS ON NH 709 A MEERUT GARH ROAD (OLD SH 14)	MEERUT	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2537	FROM HAPUR ADDA CIRCLE TO L BLOCK TIRAHA ON HAPUR ROAD, WITHIN MUNICIPAL LIMITS MEERUT	MEERUT	Regular	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
2538	WITHIN MUNICIPAL LIMITS OF KITHORE TOWN	MEERUT	Regular	135	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2539	FROM KM STONE 9 TO 14 AT RHS ON NH 34 (OLD NH 119)	MEERUT	Regular	155	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
2540	BETWEEN EVES CHAURAHA AND HAPUR ADDA CIRCLE WITHIN MUNICIPAL LIMITS MEERUT	MEERUT	Regular	160	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
2541	WITHIN MUNICIPAL LIMITS MAWANA BETWEEN JAGAN CINEMA AND BHADRAKALI MARG GATE ON MAWANA-KILA PARIKSHITGARH ROAD	MEERUT	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2542	WITHIN MUNICIPAL LIMIT KILA PARIKSHITGARH	MEERUT	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2543	WITHIN MUNICIPAL LIMITS MAWANA (NOT ON MAWANA - KILA PARIKSHITGARH ROAD)	MEERUT	Regular	125	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
2544	WITHIN 2 KM OF JAIL CHUNGI CROSSING ON MEERUT-KILA PARIKSHIT GARH ROAD, WITHIN MUNICIPAL LIMITS OF MEERUT	MEERUT	Regular	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2545	BETWEEN KM STONE 26 AND 32 ON LHS ON NH 709 A MEERUT GARH ROAD (OLD SH 14)	MEERUT	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
1	Village -Semiya, Not on National Highway and State Highway, Tehsil-Obra	SONBHADRA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
2	Village - Lohari, Not on National Highway and State HighwayTehsil-Ghorawal	SONBHADRA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
3	Village- Duradei , Not on National Highway and State highway, Tehsil Banda	BANDA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
4	Village- Nauriha Uperhar, Not on National Highway and State Highway, Tehsil- Bara	PRAYAGRAJ	Rural	121	SC	CFS	30	30	900	0	0	Draw of lot	0	2
5	Village- Amawa, Not on National Highway and State Highway, Tehsil- Chayal	KAUSHAMBI	Rural	65	SC	CFS	30	30	900	0	0	Draw of lot	0	2
6	Village- Newada, Not on National Highway and State Highway, Tehsil-Chunar	MIRZAPUR	Rural	54	SC	CFS	30	30	900	0	0	Draw of lot	0	2
7	Village- Baraut, Not on National Highway and State Highway,Tehsil - Handia	PRAYAGRAJ	Rural	75	SC	CFS	30	30	900	0	0	Draw of lot	0	2
8	Village - Chaubepur, Not on National Highway and State Highway, Tehsil	SULTANPUR	Rural	90	SC	CFS	30	30	900	0	0	Draw of lot	0	2
9	Jaisinghpur Within 1 KM from main gate of SBI Bank, Mahadeva Bazar on Sohas Mohana road towards Mohana	SIDDHARTH NAGAR	Rural	75	SC	CFS	30	30	900	0	0	Draw of lot	0	2
10	Village- Mahua Bujurg Tappa Hallaur(Rasulpur) ,Tehsil Dumariyaganj ON	SIDDHARTH NAGAR	Rural	80	ST	CFS	30	30	900	0	0	Draw of lot	0	2
11	MISHROLIYA PIRAILA MARG Village Rithuakhore ,Ghagsara-Rituakhore Road, Tehsil Sahjanwa	GORAKHPUR	Rural	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
12	Village Tikar, on Vill Chowk to Nichlaul Road, Tehsil Nichlaul	MAHARAJGANJ	Rural	60	SC	CFS	30	30	900	0	0	Draw of lot	0	2
13	Village Manjhariya, On Pepeganj Seesai Road, Tehsil campierganj	GORAKHPUR	Rural	74	SC	CFS	30	30	900	0	0	Draw of lot	0	2
14	Village Turkwalia, On Sihorwa to Jaswal Road Tehsil Sadar	GORAKHPUR	Rural	72	SC	CFS	30	30	900	0	0	Draw of lot	0	2
15	WITHIN 1KM On Either side of Main gate of MODEL ENGLISH PRIMARY SCHOOL RATANPUR ON JIGNIHWA HORILAPUR ITWA ROAD	SIDDHARTH NAGAR	Rural	60	SC	CFS	30	30	900	0	0	Draw of lot	0	2
16	Within 3 KM of Sikandarpur Post Office Towards Pariyar On Sikandarpur-Pariyar Road, Tehsil Unnao	UNNAO	Rural	61	ST	CFS	30	30	900	0	0	Draw of lot	0	2
17	Village-Karom (On Gahra Chauraha to Shivrajpur Road), Tehsil Maitha	KANPUR DEHAT	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
18	Vill-Jarbau, Tehsil- Jhansi	JHANSI	Rural	77	SC	CFS	30	30	900	0	0	Draw of lot	0	2
19	Village Binaur Pratham on Kisan Nagar - Bidhnu Road, Tehsil Kanpur Sadar	KANPUR NAGAR	Rural	110	SC	CFS	30	30	900	0	0	Draw of lot	0	2
20	Within 2 km from MP border on MDR 30B (Mehroni-Tikamgarh Road)	LALITPUR	Rural	96	SC	CFS	30	30	900	0	0	Draw of lot	0	2
		l	1	1	l	I		I	I	1	1	l		I

21	VILLAGE SADHINAVA, BLOCK	HARDOI	RURAL	85	SC	CFS	30	30	900	0	0	Draw of lot	0	2
22	HARIYAWAN, TEHSIL HARDOI VILLAGE-DADAURA, TEHSIL- RAMNAGAR ,	BARABANKI	RURAL	76	SC	CFS	30	30	900	0	0	Draw of lot	0	2
23	BARABANKI VILLAGE JARAUNA ,BLOCK PIHANI.TEHSIL SHAHABAD	HARDOI	RURAL	84	SC	CFS	30	30	900	0	0	Draw of lot	0	2
24	SHAHABAD VILLAGE - RAMPUR SUDAULI ON PANCHAYAT BHAWAN ROAD. BLOCK -	RAEBARELI	RURAL	54	SC	CFS	30	30	900	0	0	Draw of lot	0	2
25	BACHRAWAN TEHSIL MAHARAJGANJ VILLAGE SAADAT NAGAR BLOCK PIHANI	HARDOI	RURAL	90	SC	CFS	30	30	900	0	0	Draw of lot	0	2
26	TEHSIL SHAHABAD VILL BANKATA NOT ON SH ,TEHSIL -	BAHRAICH	RURAL	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
27	PAYAGPUR VILLAGE- BEGAMPUR , NOT ON NATIONAL	BAHRAICH	RURAL	70	ST	CFS	30	30	900	0	0	Draw of lot	0	2
28	HIGHWAY ,TEHSIL - BAHRAICH VILL KALYANPUR ON KATRA VEERPUR ROAD,	SHRAVASTI	RURAL	75	ST	CFS	30	30	900	0	0	Draw of lot	0	2
29	TEHSIL IKAUNA Village Sanghati on Mughalsarai Sakaldeeha	VARANASI	Rural	100	ST	CFS	30	30	900	0	0	Draw of lot	0	2
481	Road , Tehsil Mughalsarai (PDDU Nagar) BETWEEN KM STONE NO. 12 AND 20 ON	AGRA	Rural	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
481	AGRA - RAJAKHERA ROAD VIA SHAMSABAD	MAINPURI		100	SC	CFS	35	35	1225		0			
482	TOWARDS KISHNI ON MAINPURI - KISHNI ROAD	MAINPURI	Rural	100	SC	UFS	35	35	1225	0	0	Draw of Lots	0	2
483	BETWEEN KM STONE NO. 4 AND 16 ON BHARTHANA - USRAHAR ROAD VIA SAMUDAYIK SWASHTYA KENDRA, TAKHA	ETAWAH	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
484	VILLAGE JAMUNAVATA, TEHSIL GOVERDHAN	MATHURA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
485	VILLAGE LAVEDA ON SEEKRI-MUNDIA ROAD, TEHSIL BAHERI	BAREILLY	Rural	93	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
486	VILLAGE KHANPUR JADID ON MILAK-KEMRI ROAD, TEHSIL MILAK	RAMPUR	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
487	VILLAGE MASWASI, TEHSIL-SWAR	RAMPUR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
488	VILLAGE NAGALIA QASAMGANJ, ON KHOD- TANDA ROAD, TEHSIL TANDA	RAMPUR	Rural	89	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
489	VILLAGE MEHTARPUR KAROR ON BITHIRI- MALHAPUR ROAD TEHSIL FARIDPUR	BAREILLY	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
490	VILLAGE - MAUJIPUR DHARMA ON KIRATPUR-SHADIPUR ROAD,TEHSIL - NAJIBABAD	BIJNOR	Rural	106	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
491	VILLAGE SHAHBAD ON NEHTOR - PEJANIA ROAD, TEHSIL DHAMPUR	BIJNOR	Rural	84	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
492	VILLAGE KAURALI, TEHSIL DHAMPUR	BIJNOR	Rural	84	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
493	BETWEEN KM STONE NO. 4 AND 6 FROM NAJIBABAD TOWARDS BUNDKI	BUNOR	Rural	106	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
494	FROM DHAULANA CHAURAHA TOWARDS MASURI, ON GULAOTI- MASURI ROAD WITHIN HAPUR DISTRICT LIMITS BETWEEN KM 11.12. ON BULANDCHAUR		Rural	110	SC	CES	35	35	1225	0	0	Draw of Lots	0	2
495 496	BETWEEN KM 11-13 ON BULANDSHAHR - SAIDPUR ROAD VILAGE BHAINSI ON GT ROAD, TEHSIL	BULANDSHAHR	Rural Rural	115	sc sc	CFS	35	35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
496	VILAGE BHAINSI ON GT ROAD, TEHSIL KHATAULI VILLAGE KHERI BUCHA, TEHSIL KAIRANA ON	SHAMLI	Rural	80	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
	KAIRANA - TITARWADA ROAD													
30	Village Rampur Bheriyani, Not on National Highway and State Highway, Tehsil Lalganj	PRATAPGARH	Rural	51	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
31	Village Tarapur Khurd, Not on National Highway and State Highway, Tehsil Lalganj	PRATAPGARH	Rural	57	OBC	DC	30	30	900	16	35	Draw of lot	5	3
32	Village Sarayswami, Not on National Highway and State Highway, Tehsil Kunda	PRATAPGARH	Rural	50	SC	CFS	30	30	900	0	0	Draw of lot	0	2
33	Village Jhingur, Not on National Highway and State Highway, Tehsil Kunda	PRATAPGARH	Rural	51	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
34	Village- Shahapur Palasi , Tehsil Akbarpur, on Akbarpur- Amsin Road	AMBEDKAR NAGAR	Rural	53	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
35	Village- Mahiyamau, Not on National Highway and State Highway, Tehsil Kunda	PRATAPGARH	Rural	53	OBC	DC	30	30	900	16	35	Draw of lot	5	3
36	Village Arro, Not on National Highway and State Highway, Tehsil Lalganj	PRATAPGARH	Rural	53	SC	CFS	30	30	900	0	0	Draw of lot	0	2
37	Village Chervadih on Kone-Wyndhamganj road,Tehsil-Obra	SONBHADRA	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
38	Village-Gurwal ,Not on National Highway and State Highway, Tehsil-Ghorawal	SONBHADRA	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
39	Village-Auri, not on National Highway and State Highway , Tehsil-Duddhi	SONBHADRA	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
40	Village -Dhanawal, Not on National Highway and State Highway, Tehsil Ghorawal	SONBHADRA	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
41	Village -Lilasi Kala , Not on National Highway and State Highway, Tehsil-Duddhi	SONBHADRA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
42	Village-Amwar, Not on National Highway and State Highway, Tehsil-Duddhi	SONBHADRA	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
43	Village Shakerdeha, Not on National Highway and State Highway, Tehsil Kunda	PRATAPGARH	Rural	53	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
44	Village- Dharati Dandd, Not on National Highway and State Highway, Tehsil- Duddhi	SONBHADRA	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
45	Within 6 km from UP-Jharkhand border on Kone -Kharaundhi road, Tehsil Obra	SONBHADRA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
46	Village- Vile markundi, Not on National Highway and State Highway, Tehsil Obra	SONBHADRA	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
47	Village- Bharahari, Not on National Highway and State Highway, Tehsil-Obra	SONBHADRA	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
	and state mignividy, rensil-oura													

Image: Non-standing of the standing of the st	5	4
No. Normal Answer And Ans	0	2
Image: Sector	5	3
Image <th< td=""><td>5</td><td>4</td></th<>	5	4
India Instant set set set set set set set set set se	5	4
Interval	5	3
iii <th< td=""><td></td><td></td></th<>		
Image intermediation in the image into a start of the image.Image into a start of the image into	0	2
Interference Index	5	4
111 <th< td=""><td>5</td><td>4</td></th<>	5	4
Indice indice, front, four integralProduct of the integralP	5	3
etake	0	2
endendendendendendendendendendendendendend1signed status signed statusshallowshallowsignedsign	5	4
1.1. Nucle where hence, where hence, where hences Proceeding	5	4
Progene Progene <t< td=""><td>5</td><td>3</td></t<>	5	3
Alt Multiple data medie and seques, trial MAMA Fuel Sec	5	4
I balkarsI balkars <thi balkars<="" th="">I balkarsI balkars</thi>	0	2
Ioade <th< td=""><td></td><td>4</td></th<>		4
60 Nucl. OFFENCE1 SC SD	5	3
67 Vietge-Massel Jurga network protect MADA Aural 156 2C C3 30 90 0 0 Description 68 Vietge-Remargar (He) Instanding MADA Aural 156 06C 0 30 80 160 16 35 Draw of let 69 Vietge-Remargar (He) Instandia In- Minitator (He) Instandia In Status OHTRADOT Aural 91 0FEN 5C 30 30 900 16 35 Draw of let 70 Vietge-Remark (He) Instandia In- Minitator (He) Instantiator (He) Insta	5	4
68 Number hormage Nitro extailer Parama BANDA Rural 156 06C DC 50 50 50 51 55 Draw of let 69 Vilage-frame Dadals on thes Dudals to Test Dudals to	0	2
61 Willight free Docksing on two Docksine (Hommann, Hommann, Hommannn, Hom	5	3
Tehal Manigure Tehal Manigure Tehal Manigure Tela	5	4
7.1Vilage-Semarwar, Not on National Highway and State Highway, Teshil - KarwiCHITRAKOOTRural70OBCDC309001635Draw of lot72Vill-Product, on Latarend to Rajapur road, Teshil MauOHTRAKOOTRural58SCCFS30309001635Draw of lot73Village-Tendar, on Latarend to Rajapur road, Teshil MauBANDARural50OFENDC30309001635Draw of lot74Village-Maralete, on Materico Toran road, Teshil MauriBANDARural71OFENDC30309001635Draw of lot74Village-Maralete, on Materico Toran road, Teshil MauriBANDARural58OFENDC30309001635Draw of lot75Village Maralete, on Materico Toran road, Teshil MauriBANDARural58OFENDC30309001635Draw of lot76Village Matkatwai, Not on National Highway and State Highway, Teshil BandaBANDARural100STCFS30309001635Draw of lot77Village-Kateway, Teshil BandaKAUSHAMBIRural100DevDC30309001635Draw of lot78Village-Kateway, Teshil DaddinKAUSHAMBIRural100DevDev309001635Draw of lot79Village	5	4
IndAnd State Highway, Pethal - KarwiFerr	5	3
Tehal Mau Tehal Mau Tehal Mau Tehal Mau Tenal Sole		2
I eVail AtaraI eVail AtarI eVail Atar<		4
Tekil Baberu Image Mark Image		4
Index		3
and State Highway, Tehsil ObraImage Kadryuar Taa. Adampur Bisouna, Not or Tehsil-SadarRAYAGRAJRural85OPENDC309001635Draw of lot78Village- Kadryuar Mostona Highway Tehsil-SudarRKUSHAMBIRural72OPENDC30309001635Draw of lot79Village- Kadryuar, Not on National Highway Taste Highway, Tehsil-SudarSONBHADRARural100Dec30309001635Draw of lot79Village- Kadryuar, Not on National Highway and State Highway, Tehsil-DuddhSONBHADRARural100Dec30309001635Draw of lot80Between KM Stone No 1 to 3 on Karari to Baigwain RoadKAUSHAMBIRural65SCPHCFS30309001635Draw of lot81Village Sonari Kalan, on Durgapur-AmethiAMETHIRural85OPENDC30309001635Draw of lot82Village Brai, Not on National Highway and State Highway, Tehsil TiloiAMETHIRural85OPENDC30309001635Draw of lot84Village Brai, Not on National Highway and Chesil AmethiAMETHIRural85OPENDC30309001635Draw of lot84Village Brai, Not on National Highway and Chesil AmethicAMETHIRural85OPENDC3030900 <td< td=""><td></td><td>2</td></td<>		2
on National Highway and State Highway, Tehsli-SadarKallSHAMBIRural72OPENDC30309001635Draw of lot78Village-Tanda, Not on National Highway and State Highway, Tehsli-SrathulSNDBHADRARural72OPENDC30309001635Draw of lot79Village-Myorpur, Not on National Highway State Highway, Tehsli-DudhiSNDBHADRARural100OBC PH0C30309001635Draw of lot80Between KM Stone No 1 0 3 on Karari to Baigawan RoadKAUSHAMBIRural65SC PH0C30309001635Draw of lot81Village Sonari kalan, on Durgapur-Amethi Baigawan RoadAMETHIRural65SC PH0C30309001635Draw of lot82Village Brainpuru U Dulhapur, Not on National Highway and State Highway, Tehsli JudhiAMETHIRural610PENDC30309001635Draw of lot83Village-Brainpuru U Dulhapur, Noton National Highway and State Highway, TehsliAMETHIRural610PENDC30309001635Draw of lot84Village-Brainpuru U Dulhapur, NevadaAMETHIRural610PENDC30309001635Draw of lot84Village-Brainpuru U Dulhapur, NevadaAMBEDKARRural77OPENDC3030900		
state Highway, Tehsil- SirathuImageIma		4
and State Highway, Tehsil-Duddhi <th< td=""><td>5</td><td>4</td></th<>	5	4
Image State Algebrank RadeImage State Algebrank Rade	5	3
Road, Teshil AmethiForm	0	2
State Highway, Tehsil TiloiKAUSHAMBIRural85OBCDC309001635Draw of lot83Village-Ibrahimpur U. Dulhapur, Not on National Highway and State Highway, Tehsil to Norpur Kala RoadKAUSHAMBIRural85OBCDC30309001635Draw of lot84Village-Mundehra, Tehsi-Jalalpur, Nevada to Norpur Kala RoadAMBEDKAR NAGARRural77OPENDC30309001635Draw of lot85Within 3 Kilometers from Bhiti Tehsil Gate to word Mehrua, on Bhiti Mehrua RoadAMBEDKAR NAGARRural77OPENDC30309001635Draw of lot86Village Peethapur, Tehsil Akbarpur, on Pahitipur Annaye roadAMBEDKAR NAGARRural77OPENDC30309001635Draw of lot		4
National Highway and State Highway, Tehsil ChayalSchemeNational Highway and State Highway, Tehsil ChayalSchemeS	5	4
84Village-Mundehra, Tehsil-Jalalpur, Nevada to Noorpur Kala RoadAMBEDKAR NAGARRural77OPENDC30309001635Draw of lot85Within 3 Kilometers from Bhiti Tehsil Gate to word Mehrua, on Bhiti Mehrua RoadAMBEDKAR NAGARRural77SCCFS30309001635Draw of lot86Village Peethapur, Tehsil Akbarpur, on Pahitipur Annaye roadAMBEDKAR NAGARRural77OPENDC30309001635Draw of lot	5	3
towards Mehrua, on Bhiti Mehrua Road NAGAR Rural 77 OPEN DC 30 30 900 16 35 Draw of lot	5	4
Pahitipur Annaye road NAGAR	0	2
97 Village Jakhei Datti Tehei Alapur en Neori AMAREDYAR Dural 77 ODC DC 20 20 20 20 20 20 20 20 20 20 20 20 20	5	4
87 Village-Lakhni Patti, Tehsil Alapur, on Neori Ramnagar Road AMBEDKAR Rural 77 OBC DC 30 900 16 35 Draw of lot	5	3
88 Within 5 Kilometers from Akbarpur Chini Mill Gate towards Bhiti, on Mijhaura Bhiti road AMBEDKAR NAGAR Rural 86 OPEN DC 30 900 16 35 Draw of lot	5	4
road road road road road road road road 89 Villge-Amilya, Not on National Highway and State Highway, Tehsil- Karchana PRAYAGRAJ Rural 68 SC CFS 30 90 0 Draw of lot	0	2
90 Village- Lorikpur, Not on National Highway and State Highway, Tchsil: Gauriganj AMETHI Rural 83 OBC DC 30 900 16 35 Draw of lot	5	3
91 Village-Kachara, Not on National Highway and State Highway, Tehsil- Bara PRAYAGRAJ Rural 68 OPEN DC 30 90 16 35 Draw of lot	5	4
92 Village-Muradpur, Not on National Highway and State Highway, Tehsil-Karchana PRAYAGRAJ Rural 58 OPEN CC 1 DC 30 30 900 16 35 Draw of lot	5	4

93	Village- Chiraon, Not on National Highway and State Highway, Tehsil-Koraon	PRAYAGRAJ	Rural	65	OBC	DC	30	30	900	16	35	Draw of lot	5	3
94	Village- Virwal, Not on National Highway and State Highway, Tehsil- Bara	PRAYAGRAJ	Rural	68	SC	CFS	30	30	900	0	0	Draw of lot	0	2
95	Village- Pipri, Not on National Highway and State Highway, Tehsil- Handia	PRAYAGRAJ	Rural	66	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
96	Village- Chatarha Ghuretha, Not on National Highway and State Highway, Tehsil- Bara	PRAYAGRAJ	Rural	68	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
97	Village: Pure Laximan Dei, on Inhauna	AMETHI	Rural	91	OBC	DC	30	30	900	16	35	Draw of lot	5	3
98	Maharajganj Road, Tehsil- Tiloi Village-Saray Khema, On Munshiganj-Amethi Road, Tehsil-Amethi	AMETHI	Rural	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
99	Koad, Tensii-Amethi Village - Pratappur, Not on National Highway and State Highway, Tehsil - Handia	PRAYAGRAJ	Rural	66	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
100	Village Sauna, on jagdishpur Shukul Bazar Road, Tehsil Musafirkhana	AMETHI	Rural	65	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
101	Village-Pathrora , Not on National Highway	MIRZAPUR	Rural	48	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
102	and State Highway, Tehsil-Chunar Village -Roodhauli Adaee, on Surhur Patti	AMBEDKAR	Rural	77	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
103	Tanda Road, Tehsil Jalapur Village- Odi, Not on National Highway and	NAGAR MIRZAPUR	Rural	52	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
104	State Highway, Tehsil- Chunar Village- Dadri Raja, Not on National Highway	MIRZAPUR	Rural	73	OPEN PH	DC	30	30	900	16	35	Draw of lot	5	4
105	and State Highway, Tehsil-Lalganj Village- Kaini, on Manjhanpur Tehsil to	KAUSHAMBI	Rural	65	OBC	DC	30	30	900	16	35	Draw of lot	5	3
106	Dhata Road, Tehsil- Sirathu Village-Rampur Shakteshgarh ,Not on National Highway and State Highway, Tehsil-	MIRZAPUR	Rural	95	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
107	Chunar Village- Sonpur, Not on National Highway	MIRZAPUR	Rural	95	SC	CFS	30	30	900	0	0	Draw of lot	0	2
108	and State Highway, Tehsil- Chunar Village- Vindhyachal Urf Sharifpur, Not on	MIRZAPUR	Rural	96	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
109	National Highway and State Highway, Tehsil- Sadar Village -Patewar, Not on National Highway	MIRZAPUR	Rural	80	OBC	DC	30	30	900	16	35	Draw of lot	5	3
110	and State Highway, Tehsil- Madihan Village- Payagpurramgarhwa, Not on	PRAYAGRAJ	Rural	66	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
	National Highway and State Highway, Tehsil : Meja													
111	Village - Diha Uparhar , Not on National Highway and State Highway, Tehsil - Karchhana	PRAYAGRAJ	Rural	60	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
112	Village - Sarai Ghoordas urf Mahjudawa, Tehsil Phulpur	PRAYAGRAJ	Rural	107	SC	CFS	30	30	900	0	0	Draw of lot	0	2
113	Village- Jamua, Not on National Highway and State Highway, Tehsil Meja	PRAYAGRAJ	Rural	67	OBC	DC	30	30	900	16	35	Draw of lot	5	3
114	Village Kubershah Patti, Not on National Highway and State Highway, Tehsil Lambhua	SULTANPUR	Rural	69	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
115	Village- Sikandra, Not on National Highway and State Highway, Tehsil Phulpur	PRAYAGRAJ	Rural	65	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
116	Village- Balipur Dohiya, Not on National Highway and State Highway, Tehsil Amethi	AMETHI	Rural	61	SC	CFS	30	30	900	0	0	Draw of lot	0	2
117	Village- Hata, Not on National Highway and State Highway, Tehsil Koraon	PRAYAGRAJ	Rural	68	OBC	DC	30	30	900	16	35	Draw of lot	5	3
118	Village Golhanpara, Not on National Highway and State Highway, Tehsil kadipur	SULTANPUR	Rural	90	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
119	Village Belhari, on Barounsa Belhari road, Tehsil Jaisinghpur	SULTANPUR	Rural	143	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
120	Village - Majhgavan, on Surapur to Dostpur road, Tehsil Kadipur	SULTANPUR	Rural	99	OBC	DC	30	30	900	16	35	Draw of lot	5	3
121	Village - Samrathpur, Not on National Highway and State Highway, Tehsil Baldirai	SULTANPUR	Rural	90	SC	CFS	30	30	900	0	Ō	Draw of lot	0	2
122	Village: Vishun pura on Dularpatti Road, Tehsil Deoria	DEORIA	Rural	100	Open	DC	30	30	900	16	35	Draw of lot	5	4
123 124	Village- Itava, on Parsa to Parashrampur Road, Tehsil Harraiya Village- Betauha, on Walterganj-Gaur Road,	BASTI BASTI	Rural Rural	80	Open OBC	DC DC	30 30	30 30	900	16	35	Draw of lot Draw of lot	5	4
124	Village Tharibhar, on Dudahi Gurwalia road	KUSHINAGAR	Rural	95	SC	CFS	30	30	900	0	0	Draw of lot	0	2
126	via Tharibhar, Tehsil Tamkuhiraj Village: Pokhar Bhinda, Pargana	DEORIA	Rural	100	Open	DC	30	30	900	16	35	Draw of lot	5	4
120	Shahjahanpur, from Intersection of Baitalpur Rampurkarkhana road to intersection of Baltikra Hetimpur road via Deshi Deoria, Tehsil Deoria	DEONIA	Kulai	100	Open		30	50	500	10	22	Draw of lot	ſ	4
127	Village- Sarraiya Khas, on Parsa to Parashrampur Road, Tehsil Harraiya	BASTI	Rural	60	Open	DC	30	30	900	16	35	Draw of lot	5	4
128	Vill. Jalalpur Mafi on Jalapur-Shahganj- Kuchera Road, Tehsil Bikapur	AYODHYA	Rural	78	OBC	DC	30	30	900	16	35	Draw of lot	5	3
129	Village Kaithwalia, On Nayi Bazar to Gajpur Road, Tehsil Chauri Chaura	GORAKHPUR	Rural	76	SC	CFS	30	30	900	0	0	Draw of lot	0	2
130	Village Dhanauti Rajdiha on Baltikra Hata Road, Tehsil Deoria	DEORIA	Rural	110	Open	DC	30	30	900	16	35	Draw of lot	5	4
131	Village Kalyanpur on Bansgaon to Khajni Road, Tehsil Bansgaon	GORAKHPUR	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
132	Village Mahdeiya, On Nautanwa Thootibari Road Tehsil Nautanwa	MAHARAJGANJ	Rural	63	Open	DC	30	30	900	16	35	Draw of lot	5	4
133	Village Mahenbangar on Rudrapur to Kaparwaaghat Road Tehsil Barhaj	DEORIA	Rural	110	Open	DC	30	30	900	16	35	Draw of lot	5	4
134	Village Kurmaul urf Sohanpur, On Padrauna Ekwanhi road, Tehsil Padrauna	KUSHINAGAR	Rural	105	SC	CFS	30	30	900	0	0	Draw of lot	0	2
135	Within 5 km from main gate of Amar Shaheed Bhagat Singh Panchayat Sachivalaya Barthha Lala, Towards Salempur, On Salempur to Barthha Lala Road, Tehsil-Salempur	DEORIA	Rural	63	OBC	DC	30	30	900	16	35	Draw of lot	5	3

100		KUCUNACAD	Durrel	76	0	200	20	20	000	10	25	Deventiet		
136	Village Sakarauli, On Pagara DeoRajpur Road Via Sakrauli, Tehsil Hata	KUSHINAGAR	Rural	76	Open	DC	30	30	900	16	35	Draw of lot	5	4
137	Village Kasba Sangrampur, On Khajini- Basngaon Road, Tehsil Khajani	GORAKHPUR	Rural	64	Open	DC	30	30	900	16	35	Draw of lot	5	4
138	Vill Mahuari on Kanchanpur to Baghuchghat road, Tehsil Deoria	DEORIA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
139	Village- Ambarpur, on Walterganj - Gaur Road, Tehsil- Harraiya	BASTI	Rural	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
140	Within 2 km from main gate of Police Station Mayeel, Towards Bhagalpur, On	DEORIA	Rural	96	Open	DC	30	30	900	16	35	Draw of lot	5	4
141	Musaila To Bhagalpur Road, Tehsil Barhaj Village Loanha on Nakaha-Hanumanganj	BASTI	Rural	78	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
142	Road, Tehsil Rudhauli Village Bhelya, On Padrauna Samaur Road,	KUSHINAGAR	Rural	105	OBC	DC	30	30	900	16	35	Draw of lot	5	3
143	Tehsil : Tamkuhiraj Village Pilkhanwa on Mubarakjganj to Deorhi Bazar road Tehsil Sohawal	AYODHYA	Rural	72	SC	CFS	30	30	900	0	0	Draw of lot	0	2
144	Within 2 km from Prathmik Vidalaya KHAKARA BUJURG ON SOHAS LOTAN ROAD	SIDDHARTH NAGAR	Rural	75	Open	DC	30	30	900	16	35	Draw of lot	5	4
145	towards Lotan, TEHSIL-NAUGARH Village- Sajni on Pakdi-Udaipur Road, Tehsil -	SIDDHARTH	Rural	100	Open	DC	30	30	900	16	35	Draw of lot	5	4
146	Naugarh Village Talhi On Mahadewa Chaurah to	NAGAR MAHARAJGANJ	Rural	73	OBC	DC	30	30	900	16	35	Draw of lot	5	3
147	Samardheera Road, Tehsil Pharenda Village Kola, Suchitaganj to Masudha Road,	AYODHYA	Rural	72	SC	CFS	30	30	900	0	0	Draw of lot	0	2
147	Village Khurhuri, On Bohawaar-Nayi Bazar	GORAKHPUR	Rural	80	Open	DC	30	30	900	16	35	Draw of lot	5	4
	Road, Tehsil Chauri Chaura				-									
149	Village Dubauliya, On Lehra Station to Bridgemanganj Road, Tehsil Pharenda	MAHARAJGANJ	Rural	78	Open	DC	30	30	900	16	35	Draw of lot	5	4
150	Village-Karmha On Dhani to Bridgemanganj Road Tehsil- Pharenda	MAHARAJGANJ	Rural	85	OBC	DC	30	30	900	16	35	Draw of lot	5	3
151	Village Chaubepur Gar Abad on Nagar Bazar- Wireless Chauraha Road, Tehsil Basti	BASTI	Rural	75	Open	DC	30	30	900	16	35	Draw of lot	5	4
152	Within 3 km from main gate of Prathmik Vidyalaya Ratasiya, Towards Rampur Buzurg, On Rampur Buzurg to Ratasiya Road, Tehsil- Bhatpar Rani	DEORIA	Rural	56	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
153	Village: Malwawar on Baghuchghat to Pakaha road, Tehsil Deoria	DEORIA	Rural	100	OPEN CC 2	DC	30	30	900	16	35	Draw of lot	5	4
154	Within 3 km from main gate of Prathmik Vidyalaya Shivrajpur, Towards Bhatni, On	DEORIA	Rural	100	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
155	Bhatni to Musahari Road, Tehsil Salempur Village Rauza Dargah, On Urwa Dhuriyapar	GORAKHPUR	Rural	110	Open	DC	30	30	900	16	35	Draw of lot	5	4
156	Marg, Tehsil Gola Village Govind patti, Block Dudahi ,on Godaria to Narhawa Dih road via Govind	KUSHINAGAR	Rural	120	SC	CFS	30	30	900	0	0	Draw of lot	0	2
157	patti ,Tehsil Tamkuhiraj Within 5 km from Main gate of Bansgaon	GORAKHPUR	Rural	110	OBC	DC	30	30	900	16	35	Draw of lot	5	3
	Tehsil Block towards Mahavir Chhapra, On Mahavir Chhapra - Bansgaon Road, Tehsil Bansgaon													
158	Village Imlidih Bujurg, On Khajani-Sikariganj Road, Tehsil Khajani	GORAKHPUR	Rural	110	Open	DC	30	30	900	16	35	Draw of lot	5	4
159	Village - Pipari, Mehadupar -Dharmsingawa road , Tehsil - Mehdawal	SANT KABIR NAGAR	Rural	70	Open	DC	30	30	900	16	35	Draw of lot	5	4
160	VILLAGE-PALTA DEVI,on birdpur to Shohratgarh road via palta devi, TEHSIL- Sohratgarh	SIDDHARTH NAGAR	Rural	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
161	Village Pipra Jatampur, On Kubersthan Dudahi Road via Pipra Jatanpur road, Tehsil	KUSHINAGAR	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
162	Padrauna Between Main Gate of Purva Madhyamik Vidyalaya Ahiraula and Main Gate of Sardar Vallabh Bhai Patel Inter College Karnaipur,	AYODHYA	Rural	70	Open	DC	30	30	900	16	35	Draw of lot	5	4
163	on Jalalpur-Rampur Bhagan-Ahirauli Road Village Kavita, Pachpokhari bazar - Atraura	SANT KABIR	Rural	70	Open	DC	30	30	900	16	35	Draw of lot	5	4
164	Tiraha Road, Tehsil -Khalilabad Within 5 KMs from Main Gate of Primary	NAGAR GORAKHPUR	Rural	66	OBC	DC	30	30	900	16	35	Draw of lot	5	3
	Vidyalaya Chakia towards Pipraich, On Pipraich Bhathat Road Via Bailo, Tehsil Sadar													
165	Within 2 KMs on either sides from Main Gate of Swami Dayanand Inter College Itahiya, On Saraiya Tulsi Dev Pipraich Road, Tehsil Sadar	GORAKHPUR	Rural	110	SC	CFS	30	30	900	0	0	Draw of lot	0	2
166	Vill- Atara, on Walterganj - Gaur Road, Tehsil Bhanpur	BASTI	Rural	70	Open	DC	30	30	900	16	35	Draw of lot	5	4
167	Village Nandapar, On Gorakhpur-Khajani Road, Tehsil Sahjanwa	GORAKHPUR	Rural	110	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
168	Vill-Pipra Daulakadam On Baltikra to Hetimpur Road Tehsil Deoria	DEORIA	Rural	110	OBC	DC	30	30	900	16	35	Draw of lot	5	3
169	Village Jungle Naugawan, on chaf-Narhawa- khaira tola Road via Barawa Mishrauli, Teshil	KUSHINAGAR	Rural	80	SC	CFS	30	30	900	0	0	Draw of lot	0	2
170	Tamkuhiraj Vill- Patkhauli, on Bhanpur to Rudhauli Road, Tehsil- Bhanpur	BASTI	Rural	48	Open	DC	30	30	900	16	35	Draw of lot	5	4
171	Village- Ramdaspur Majhauli, On road Between Ramdaspur Majhauli Chauraha to Primary School Khempur Chandai, Tehsil-	AYODHYA	Rural	95	Open	DC	30	30	900	16	35	Draw of lot	5	4
172	Bikapur Vill- Savreji, On Piparahiya to Nonapar Road,	DEORIA	Rural	50	OBC	DC	30	30	900	16	35	Draw of lot	5	3
173	Tehsil- Salempur Village Khudura , on Bahadurpur,NH 27 link road via vardaani baba mandir, Tehsil Tamkhuraj	KUSHINAGAR	Rural	95	Open	DC	30	30	900	16	35	Draw of lot	5	4
174	Tamkhuraj Vill Ruchapar on Sonughat to Barhaj road Tehsil Barhaj	DEORIA	Rural	82	SC	CFS	30	30	900	0	0	Draw of lot	0	2
175	Village Karmi Patti, on Gopinathpur to Karmi Patti Road, Tehsil- Harraiya	BASTI	Rural	100	Open	DC	30	30	900	16	35	Draw of lot	5	4
176	4 KMs from Saraiya Bazar Chauraha towards Bansthan, On Saraiya Bansthan Road, Tehsil	GORAKHPUR	Rural	72	OBC	DC	30	30	900	16	35	Draw of lot	5	3
177	Sadar Satua Bhar on Rudrapur to Nibahi road via	DEORIA	Rural	115	Open	DC	30	30	900	16	35	Draw of lot	5	4
	Ekala Mishraulia, Tehsil Rudrapur													

PadraunaSC PHCSC PHCC179Village Chaibari on Walterganj-Babhnan Road, Tehsil BastiBASTIRural78DC3030900180Village Laukaha on Jiginiha to Bangadiha Marg, Tehsil PharendaMAHARAJGANJRural95OpenDC3030900181Village Tarkulah, On Bhathat Bansthan Road, Tehsil BadarGORAKHPURRural73OpenDC3030900182Village Rudawalia, On Kasia Tamkuhi Road, Tehsil KasiaKUSHINAGARRural105OBCDC3030900183Village Baikunthpur on Deoria to Madhopur Road Via BaikunthpurDEORIARural75SCCFS3030900184VILLAGE-BHANPUR MARHA ON BADALIYA SOHNA MARG,TEHSIL-DumariyaganjSIDDHARTH NAGARRural75OpenDC3030900185Vill-Bankata Jagdeesh, On Shrirampur toDEORIARural195OpenDC3030900	16 16 16 16 0 16	35 35 35 35	Draw of lot Draw of lot	5	3
180Village Laukaha on Jiginiha to Bangadiha Marg, Tehsil PharendaMAHARAJGANJRural95OpenDC3030900181Village Tarkulaha, On Bhathat Bansthan Road, Tehsil SadarGORAKHPURRural73OpenDC3030900182Village Rudawalia, On Kasia Tamkuhi Road, Tehsil KasiaKUSHINAGARRural105OBCDC3030900183Village Baikunthpur on Deoria to Madhopur Road Via BaikunthpurDEORIARural75SCCFS3030900184VILLAGE-BHANPUR MARHA ON BADALIYA SOHNA MARG,TEHSIL-DumariyaganjSIDDHARTH NAGARRural75OpenDC3030900185Vill- Bankata Jagdeesh, On Shrirampur toDEORIARural195OpenDC3030900	16 16 0	35		5	4
181Village Tarkulaha, On Bhathat Bansthan Road, Tehili SadarGORAKIPURRural73OpenDC3030900182Village Rudawalia, On Kasia Tamkuhi Road, Tehili KasiaKUSHINAGARRural105OBCDC3030900183Village Baikunthpur on Deoria to Madhopur Road Via BaikunthpurDEORIARural75SCCFS3030900184VILLAGE-BHANPUR MARHA ON BADALIYA NAGARSIDDHARTH NAGARRural75OpenDC3030900185Vill- Bankata Jagdeesh, On Shrirampur toDEORIARural195OpenDC3030900	16 0		D (1)		1 .
182Village Rudawalia, On Kasia Tamkuhi Road, Tehsii KasiaKUSHINAGARRural105OBCDC3030900183Village Baikunthpur on Deoria to Madhopur Road Via BaikunthpurDEORIARural75SCCFS3030900184VILLAGE-BHANPUR MARHA ON BADALIYA SOHNA MARG,TEHSIL-DumariyaganjSIDDHARTH 	0	35	Draw of lot	5	4
183 Village Baikunthpur on Deoria to Madhopur Road Via Baikunthpur DEORIA Rural 75 SC CFS 30 30 900 184 VILLAGE-BHANPUR MARHA ON BADALIYA SOHNA MARG,TEHSIL-Dumariyaganj SIDDHARTH NAGAR Rural 75 Open DC 30 30 900 185 Vill- Bankata Jagdeesh, On Shrirampur to DEORIA Rural 195 Open DC 30 30 900			Draw of lot	5	3
184 VILLAGE-BHANPUR MARHA ON BADALIYA SOHNA MARG,TEHSIL-Dumariyaganj SIDDHARTH NAGAR Rural 75 Open DC 30 30 900 185 Vill- Bankata Jagdeesh, On Shrirampur to DEORIA Rural 195 Open DC 30 30 900	16	0	Draw of lot	0	2
185 Vill- Bankata Jagdeesh, On Shrirampur to DEORIA Rural 195 Open DC 30 30 900		35	Draw of lot	5	4
Mairwa Road, Block- Bankata, Tehsil-	16	35	Draw of lot	5	4
Bhatpar Rani GORAKHPUR Rural 64 OBC DC 30 900 186 Within 6KM from Malhanpar chowk towards Bansgaon, on Malhanpar - Bansgaon Road, GORAKHPUR Rural 64 OBC DC 30 900	16	35	Draw of lot	5	3
Tehsil Bansgaon KUSHINAGAR Rural 130 SC CFS 30 90 187 Village Bihar Khurd, On Fazilnagar to Samaur raod, Tehsil Tamkuhiraj KUSHINAGAR Rural 130 SC CFS 30 900	0	0	Draw of lot	0	2
188 Village Penda on Maharajganj-Ashokpur BASTI Rural 78 Open DC 30 30 900 Road, Tehsil Harraiya	16	35	Draw of lot	5	4
189 Village Pakadi on Rautpar to Gola Road, GORAKHPUR Rural 80 Open DC 30 30 900 Tehsil Gola	16	35	Draw of lot	5	4
190 Within 5 km from Musalla Tiraha, Towards DEORIA Rural 96 Open DC 30 30 900 Bhagalpur, On Musalla to Bhagalpur Road, Terhsil Salempur Salempur DEORIA Rural 96 Open DC 30 900	16	35	Draw of lot	5	4
191 Village - Mahuawa Bujurg , Tehsil - Tamkuhraj , on Turpati to Fazilnagar via surva mandir (Turkpati Mahuawa) KUSHINAGAR Rural 95 OBC DC 30 30 900	16	35	Draw of lot	5	3
192 Vill- Waliwan, On Sirsiya Pawar to Malnwa Road, Block- Bankata, Tehsil- Bhatpar Rani DEORIA Rural 104 SC CFS 30 30 900	0	0	Draw of lot	0	2
193 VILLAGE-SIRSIA Tappa karahi ON SHAHPUR SIDDHARTH Rural 55 OPEN CC 1 DC 30 30 900 TO SINGARJOT ROAD,TEHSIL-Dumariyaganj NAGAR	16	35	Draw of lot	5	4
194 Village-Laxmipur Ekdanga, On Partawal Nichlau Road Via Puraina, Tehsil Maharajganj MAHARAJGANJ Rural 65 OBC DC 30 30 900	16	35	Draw of lot	5	3
Implication Impl	16	35	Draw of lot	5	4
196 Within 3 km from main gate of Dr. Ram DEORIA Rural 72 SC CFS 30 30 900 Manohar Lohia Intermediate College Pakadi Babu, Towards Bangara Bazar, On Pakadi Babu to Hata Road, Tehsil- Bhatpar Rani DEORIA Rural 72 SC CFS 30 30 900	0	0	Draw of lot	0	2
197 Village Nadayen on Mahughat-Vishesharganj BASTI Rural 75 Open DC 30 30 900 Road, Tehsil Harraiya	16	35	Draw of lot	5	4
198 Village Saankhi, On Jaswal to Mangru Chauraha Road Tehsil Campierganj GORAKHPUR Rural 84 OBC DC 30 30 900	16	35	Draw of lot	5	3
199 Within 4 km from main gate of Gram DEORIA Rural 72 Open DC 30 30 900 Panchayat Sachivalaya Padari, Towards Hata, On Pakadi Babu to Hata Road, Tehsil- Bhatbar Rani D Anno 200 Annono 200 Anno 200 Anno 200	16	35	Draw of lot	5	4
200 Between Shivrajpur Galla Mandi and Lower Ganga Canal on Shivrajpur-Shivli Road KANPUR NAGAR Rural 110 OPEN DC 30 30 900	16	35	Draw of lot	5	4
201 Village Targaon, (On Gohna -Bichiya Road Road), Tehsil- Unnao UNNAO Rural 55 SC CC 1 CFS 30 900	0	0	Draw of lot	0	2
202 On Patan-Purwa Road Between vili. Dhamni UNNAO Rural 47 OBC CC 1 DC 30 30 900 Kheda (Tehsil Beeghapur) and Village Chandigarhi (Tehsil Purwa) 900	16	35	Draw of lot	5	3
203 Village-Nagwans (On Jakhora-Rajghat Road), LALITPUR Rural 94 OPEN DC 30 30 900 Tehsil-Talbehat	16	35	Draw of lot	5	4
204 Village Garhbai (On Gursarai-Kuretha Road), Tehsil Garuatha JHANSI Rural 53 OPEN PH DC 30 900	16	35	Draw of lot	5	4
205 Within 5 km from Naubasta Ghat on Naubasta Ghat to Chauki Chauraha, TEHSIL KHAGA FATEHPUR Rural 88 SC CFS 30 900	0	0	Draw of lot	0	2
206 Between NH27 overbridge to Pahuj Bridge on Balaji Unnao Road, Tehsil Jhansi JHANSI Rural 203 OBC DC 30 900	16	35	Draw of lot	5	3
207 Between km stone 38 to 58 on Purwa-Sonik UNNAO Rural 61 OPEN DC 30 30 900	16	35	Draw of lot	5	4
208 Village-Kala Pahad (On Lalitpur-Rajghat Road), Tehsil-Lalitpur LALITPUR Rural 93 OBC DC 30 900	16	35	Draw of lot	5	3
209 Village Baman Naiguwan, Tehsil- Mauranipur JHANSI Rural 77 SC CFS 30 30 900	0	0	Draw of lot	0	2
210 Village: Bairi Sawai (Bairi Sawai To Maitha Road), Tehsil Maitha KANPUR DEHAT Rural 100 OPEN DC 30 30 900	16	35	Draw of lot	5	4
211 Village-Leadpur Chhivna (Mangalpur to Asvi Road), Tehsil Sikandara KANPUR DEHAT Rural 100 OPEN DC 30 30 900	16	35	Draw of lot	5	4
212 Between KM Stone 58 to 66 on MDR 52C UNNAO Rural 66 OPEN DC 30 30 900 (On Purw Sonik Road) UNNAO Rural 66 OPEN DC 30 30 900	16	35	Draw of lot	5	4
213 Village-Majhigawa on Dhanuhi khera - Patan Road, Tehsil Beeghapur UNNAO Rural 62 OBC DC 30 900	16	35	Draw of lot	5	3
214 Village Musafa, Tehsil Bindki FATEHPUR Rural 53 SC CFS 30 900 215 0.00000000000000000000000000000000000	0	0	Draw of lot	0	2
215 Between Katera and MP Border on Mahewa JHANSI Rural 115 OPEN DC 30 30 900 - Katera Road, Tehsil Mauranipur	16	35	Draw of lot	5	4
216 Village Bhadwara Tehsil Kulpahar MAHOBA Rural 140 OPEN CC 1 DC 30 30 900	16	35	Draw of lot	5	4
217 Within 4 KM From Husainganj Chauraha to Dalmau on Dalmau Road FATEHPUR Rural 90 OBC DC 30 900	16	35	Draw of lot	5	3
218 Village-Ugarpur (On Talbehat-Babina Road), Tehsil-Talbehat LALITPUR Rural 60 SC CFS 30 30 900	0	0	Draw of lot	0	2
219 Village Ratauli Tehsil Mahoba MAHOBA Rural 150 OPEN DC 30 30 900	16	35	Draw of lot	5	4
220 Village - Marhamtabad on Rura to Shivii KANPUR DEHAT Rural 100 OBC DC 30 30 900	16	35	Draw of lot	5	3
221 Village Mawayea on Bithora road, Tehsil FATEHPUR Rural 85 OPEN DC 30 30 900 Fatehpur Sadar Sadar Sadar Sadar Sadar Sadar Sadar Sadar Sadar	16	35	Draw of lot	5	4
222 Village Kamra Janapur, Tehsil Beeghapur UNNAO Rural 55 OPEN DC 30 30 900	16	35	Draw of lot	5	4

223	Between Pura and Kakwan on Pura-Kakwan	KANPUR NAGAR	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
224	Road, Tehsil Bilhaur Between KM Stone 5 to 10 on Orai-Konch	JALAUN	Rural	106	OBC	DC	30	30	900	16	35	Draw of lot	5	3
225	Road, Tehsil-Orai Village Parawar , Tehsil- Madhogarh	JALAUN	Rural	152	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
226	Village Mailwar, Tehsil- Mauranipur	JHANSI	Rural	90	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
227	Village Basauth on Mahoba - Charkhari Road	MAHOBA	Rural	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	(MDR 15B), Tehsil Charkhari													
228	Village Patara (Not On National Highway/ State Highway), Tehsil Ghatampur	KANPUR NAGAR	Rural	110	OBC	DC	30	30	900	16	35	Draw of lot	5	3
229	Village- Kuiya, from fly over of NH-27 upto 2 KM Towards Village Gora Khurd (on Kuiya to Air road), Tehsil Orai, Outside Municipal Limits of Orai City	JALAUN	Rural	64	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
230	Between Saatmil Tiraha to Husain Ganj Chauraha on Dalmau Road, Tehsil Fatehpur	FATEHPUR	Rural	115	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
231	Sadar Village Kulli, Tehsil Khaga	FATEHPUR	Rural	90	OBC	DC	30	30	900	16	35	Draw of lot	5	3
232	Village-Ichauli, Tehsil Maudaha	HAMIRPUR	Rural	110	SC	CFS	30	30	900	0	0	Draw of lot	0	2
233	Village Garhewa (pargana Ghatampur), On Garhewa To Domanpur Road , Tehsil Beeghapur	UNNAO	Rural	49	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
234	Within two kilometer from MP border on Shri Rawatpura Sarkar-Nadigaon road, Tehsil	JHANSI	Rural	104	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
235	Konch Village Rathauranpura, Tehsil- Madhogarh	JALAUN	Rural	145	OBC	DC	30	30	900	16	35	Draw of lot	5	3
236	On Bihar-Maurawan Road, Between Vill. Rawatpur(Pargana Bihar) & Vill. Dewara,	UNNAO	Rural	51	SC	CFS	30	30	900	0	0	Draw of lot	0	2
237	Tehsil Beeghapur Village Dhagwan, Tehsil Sarila	HAMIRPUR	Rural	116	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
238	Vill- Mailoni, Tehsil- Mauranipur	JHANSI	Rural	77	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
239	Village Bara Hardo on Bara Hardo - Unchagaon road, Tehsil Beeghapur	UNNAO	Rural	55	OBC	DC	30	30	900	16	35	Draw of lot	5	3
240	Village Jaitpur, Tehsil Kulpahar	MAHOBA	Rural	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
241	Village- Sakin, (On Samthar-Pipri kala Road),	JHANSI	Rural	53	SC	CFS	30	30	900	0	0	Draw of lot	0	2
242	Tehsil Moth Village Khama, Tehsil Kulpahar	MAHOBA	Rural	200	OBC	DC	30	30	900	16	35	Draw of lot	5	3
243	Village Atrehati, Tehsil- Madhogarh	JALAUN	Rural	152	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
244	Village Mabai Gird (On Gandhi Nagar-Mabai	JHANSI	Rural	78	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
245	Gird Road), Tehsil Jhansi Village Srinagar on Srinagar Belatal Road	MAHOBA	Rural	130	SC	CFS	30	30	900	0	0	Draw of lot	0	2
246	Tehsil Mahoba Village Kalana, Tehsil-Bindki	FATEHPUR	Rural	90	OBC	DC	30	30	900	16	35	Draw of lot	5	3
247	Village Fattepur Dakshin (On Canal Road),	KANPUR NAGAR	Rural	110	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
248	Tehsil Kanpur Sadar Village-Ikthora, Tehsil-Rath	HAMIRPUR	Rural	110	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
249	Within 2 KM of MP Border on Madhogarh -	JALAUN	Rural	152	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	Ooncha Road, Tehsil- Madhogarh, Tehsil- Madhogarh	1.11.17.0110	0							10	0.5			
250	Village-Gangora (On Lalitpur-Rajghat Road), Tehsil-Lalitpur	LALITPUR	Rural	56	OBC	DC	30	30	900	16	35	Draw of lot	5	3
251	Village-Pathrai (On Saujana-Jagara Road), Tehsil-Mehroni	LALITPUR	Rural	99	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
252	Village Pahra, Tehsil Mahoba	MAHOBA	Rural	110	OPEN CC 2	DC	30	30	900	16	35	Draw of lot	5	4
253	Village-Ranipura on Lalitpur-Rajghat Road, Tehsil-Lalitpur	LALITPUR	Rural	320	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
254	Village- Makarandapur on Makarandapur to Chhataini Road , Tehsil Bhognipur	KANPUR DEHAT	Rural	52	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
255	Village Tilsahari Bujurg, Tehsil Narwal	KANPUR NAGAR	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
256	Village- Murari, Tehsil- Jhansi	JHANSI	Rural	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
257	Village Ghatkotra, Tehsil-Mauranipur	JHANSI	Rural	62	OBC	DC	30	30	900	16	35	Draw of lot	5	3
258	Village Balaura, Gariya Gaon to Naya Gaon Road, Tehsil Jhansi	JHANSI	Rural	66	SC	CFS	30	30	900	0	0	Draw of lot	0	2
259	Village Vachipur, Tehsil-Bilhaur	KANPUR NAGAR	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
260	Village- Makhi ON BIRSINGHPUR ROAD, Tehsil-Hasanganj	UNNAO	Rural	55	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
261	Village Maharaj Nagar on MDR 51B, Tehsil Charkhari	MAHOBA	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
262	Village Sijwaha Tehsil Mahoba	MAHOBA	Rural	130	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
263	Village Lachhiman Khera, Tehsil Narwal	KANPUR NAGAR	Rural	110	SC	CFS	30	30	900	0	0	Draw of lot	0	2
264	Village Tajpur, Tehsil Bilhaur	KANPUR NAGAR	Rural	110	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
265	Between KM Stone 3 TO 5 On Ajanari To Kotra Road, Dist-Jalaun	JALAUN	Rural	101	OBC	DC	30	30	900	16	35	Draw of lot	5	3
266	Village- Tutaikhan (Mungishapur to Pukhrayan Road), Tehsil Bhognipur	KANPUR DEHAT	Rural	100	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
267	Village Bisayakpur (Bisayakpur to Maitha Road), Tehsil Akbarpur	KANPUR DEHAT	Rural	52	SC	CFS	30	30	900	0	0	Draw of lot	0	2
268	Village- Vijayipur (Malasa to Ghar Road) , Tehsil Bhognipur	KANPUR DEHAT	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
269	Between Chandrashekhar Azad Degree College (Jamu, Kanpur Nagar) and Seedhi-	KANPUR NAGAR	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
	Itara Railway Crossing on Bidhnu Road				l					l				

270	Village Surha on Kabrai - Kunheta Road	MAHOBA	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
271	(MDR 52B), Tehsil Mahoba From Village Ragaulia Bujug to Village	МАНОВА	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
272	Lamora on MDR 51B , Tehsil Kulpahad On new Mehroni Bypass (Bypass connecting	LALITPUR	Rural	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	Mehroni to Tikamgarh Road)													
273	Village Talramanna, Tehsil-Jhansi Village Utiyan Tehsil Mahoba	JHANSI MAHOBA	Rural Rural	157	OPEN	DC DC	30 30	30 30	900	16	35	Draw of lot Draw of lot	5	4
274	Village Pura On Babina Sukma Dukma Dam	JHANSI	Rural	72	OPEN	DC	30	30	900	16	35	Draw of lot	5	3
275	Village-Rampurakathwar, Tehsil-Talbehat	LALITPUR	Rural	72	ST	CFS	30	30	900	0	0	Draw of lot	0	2
276	Village Mo.pur Gaunti, Tehsil- Khaga	FATEHPUR	Rural	54	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
277	Village- Basausi (On Shivli To Kalyanpur	KANPUR DEHAT	Rural	70	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
278	Village- Basausi (On Shivii To Kaiyanpur Road), Tehsil Maitha Village Deori Singhpura,Tehsil-Mauranipur	JHANSI	Rural	125	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
280	VILLAGE BIRHAR, TEHSIL NARWAL	KANPUR NAGAR	Rural	125	OBC PH	CFS	30	30	900	0	0	Draw of lot	0	2
280	Village Ninaura on Prithvipur-Nivari Road,	JHANSI	Rural	220	SC PH OPEN	DC	30	30	900	16	35	Draw of lot	5	4
281	Village-Mirchwara on Kailguan Road, Tehsil-	LALITPUR	Rural	75	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
282	Village-Mainwara(On Mainwara-Nanaura	LALITPUR	Rural	75	OBC	DC	30	30	900	16	35	Draw of lot	5	3
	Road), Tehsil- Lalitpur Within 4 kms from Paras Chauraha towards			110	OPEN						35			
284	Baripal on Paras - Baripal Road	KANPUR NAGAR	Rural			DC	30	30	900	16		Draw of lot	5	4
285	Village Dhikauli, Tehsil Jhansi	JHANSI	Rural	77	SC	CFS	30	30	900	0	0	Draw of lot	0	2
286	Within 6 KM from Intersection Point of SH- 21 towards Gohan on Jalaun Gohan road	JALAUN	Rural	66	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
287	Village-Muhara (On Bansi-Jakhora Road), Tehsil-Talbehat	LALITPUR	Rural	61	OBC	DC	30	30	900	16	35	Draw of lot	5	3
288	Village Banrasi, Tehsil-Fatehpur Sadar	FATEHPUR	Rural	51	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
289	Within 3 KM from MP Border on Madawara- Girar Road, Tehsil-Madawara	LALITPUR	Rural	135	SC	CFS	30	30	900	0	0	Draw of lot	0	2
290	On Auras-Sandila Road , within 7 Km of Auras Police Station towards Sandila	UNNAO	Rural	55	OBC	DC	30	30	900	16	35	Draw of lot	5	3
291	Village Murari, On Jhansi Baidora Road, Tehsil- Jhansi	JHANSI	Rural	77	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
292	Village Shahpahadi Tehsil Mahoba	MAHOBA	Rural	131	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
293	Village-Natthikhera (On Talbehat-Babina Road),Tehsil-Talbehat	LALITPUR	Rural	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
294	Within 2 km from Gram Panchayat Sachivalaya, Mainwar towards Sojna on	LALITPUR	Rural	99	SC	CFS	30	30	900	0	0	Draw of lot	0	2
295	Sojna-Jagara Raod, Tehsil Mehroni Village- Imiliya, Tehsil- Maudaha, on MDR	HAMIRPUR	Rural	116	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
296	10B Village-Gulenda on Talbehat-Rajghat Road,	LALITPUR	Rural	94	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
297	Tehsil- Talbehat Within 2 KM from Intersection NH-27 on	JALAUN	Rural	53	OBC	DC	30	30	900	16	35	Draw of lot	5	3
298	Atta to Akbarpur Road Village Semramanapur, Tehsil Khaga	FATEHPUR	Rural	53	SC	CFS	30	30	900	0	0	Draw of lot	0	2
299	Village- Pathrehta,tehsil- Kalpi, on Kadaura	JALAUN	Rural	128	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
300	to Jalalpur Road Village Uldan, Tehsil- Mauranipur	JHANSI	Rural	115	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
301	Village Kumhdoura Maaf Tehsil Mahoba	MAHOBA	Rural	147	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
302	From Junction point of NH339 and MDR 51B	MAHOBA	Rural	100	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
303	to Juction point of MDR 51B and NH34 (old NH 86) on MDR 51B, Tehsil Mahoba Village Rajauni Tehsil Kulpahar	МАНОВА	Rural	130	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
303	Village-Dailwara (On Lalitpur-Dailwara	LALITPUR	Rural	85	OPEN PH	DC	30	30	900	16	35	Draw of lot	5	4
304	Village- Parsau, BLOCK-BAKSHI KA TALAB,	LUCKNOW	RURAL	52	OBC	DC	30	30	900	16	35	Draw of lot	5	3
	TEHSIL-BAKSHI KA TALAB													
306	VILLAGE SAINTIAPUR, BLOCK SANDI, TEHSIL BILGRAM	HARDOI	RURAL	95	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
307	VILLAGE BISHUNAPUR, TEHSIL BALRAMPUR ON GONDA BAHRAICH BYPASS	BALRAMPUR	RURAL	75	SC	CFS	30	30	900	0	0	Draw of lot	0	2
308	VILLAGE-KARORA, BLOCK-MOHANLALGANJ, TEHSIL- MOHANLALGANJ	LUCKNOW	RURAL	65	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
309	VILLAGE CHANDPUR FARIDPUR, TEHSIL MAHMUDABAD	SITAPUR	RURAL	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
310	BETWEEN STONE NO. 12 AND 19 ON MDR- 23C(SIDHAULI BISWAN ROAD)	SITAPUR	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
311	VILL-HARDHAURPUR, TEHSIL-BAKSHI KA TALAAB, DISTT-LUCKNOW	LUCKNOW	RURAL	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
312	VILL- KODARI, TEHSIL-BALRAMPUR ON KODARI TO HARIHARGANJ ROAD	BALRAMPUR	RURAL	80	SC	CFS	30	30	900	0	0	Draw of lot	0	2
313	VILLAGE URDAULI ON URDAULI TO	SITAPUR	RURAL	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
314	BAMHORA ROAD , BLOCK MAHOLI VILLAGE SHAHPUR TEHSIL BISWAN	SITAPUR	RURAL	63	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
315	VILLAGE- SHIVPUR BAIRAGI , TEHSIL	BAHRAICH	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
316	VIELAGE SHIVLON BANGGI, TENSIE PAYAGPUR VILL- CHIVERHA ON PARASPUR DURJANPUR	GONDA	RURAL	80	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	(PD) BANDHA ROAD, TEHSIL- TARABGANJ													

317	VILLAGE BANAR, TEHSIL FATEHPUR, DISTT.	BARABANKI	RURAL	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
318	BARABANKI ON ASTI ROAD NOT WITHIN BKT NAGAR	LUCKNOW	RURAL	110	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
319	PANCHAYAT LIMIT VILLAGE- MIRAK NAGAR ON NAGRAM	LUCKNOW	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
320	ROAD, TEHSIL MOHANLALGANJ VILLAGE RASEURA, BLOCK KHAIRABAD,	SITAPUR	RURAL	57	OBC	DC	30	30	900	16	35	Draw of lot	5	3
321	TEHSIL SITAPUR WITHIN 3 KMS OF BHEJHA CHOURAHA ON	HARDOI	RURAL	100	SC	CFS	30	30	900	0	0	Draw of lot	0	2
322	ANANGPUR ROAD VILLAGE- PINDSAWA , TEHSIL-FATEHPUR,	BARABANKI	RURAL	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
323	VILLAGE - HINDSAWA , TENSIE FATERI ON, BARABANKI VILLAGE- SURYAPUR, BLOCK- BANI KODAR,	BARABANKI	RURAL	60	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
525	TEHSIL- RAM SANEHI GHAT ON DEVIGANJ SUBEHA ROAD	DAINADAINKI	NONAL	00	OFEN	DC	50	30	300	10	22		2	4
324	VILL-KHARAULI MUSTAKIL BLOCK AND TEHSIL UNCHAHAR	RAEBARELI	RURAL	50	OBC	DC	30	30	900	16	35	Draw of lot	5	3
325	VILLAGE BAITAURA ON DEEH - FURSATGANJ ROAD, TEHSIL - SALON	RAEBARELI	RURAL	90	SC	CFS	30	30	900	0	0	Draw of lot	0	2
326	VILLAGE ALLIPUR, TEHSIL MANKAPUR	GONDA	RURAL	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
327	VILLAGE SIMAUR BLOCK PIHANI TEHSIL SHAHABAD	HARDOI	RURAL	95	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
328	VILLAGE - SARAURA KALAN , BLOCK KASMANDA ON SIDHAULI -BHITHAULI ROAD	SITAPUR	RURAL	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
329	WITHIN 13 KMS FROM REUSA MOD CHOURAHA ON TAMBORE REUSA	SITAPUR	RURAL	95	SC	CFS	30	30	900	0	0	Draw of lot	0	2
330	MAHMUDABAD ROAD(MDR 79C) VILL:MUSPIPARI, TEHSIL: BAKSHI KA TALAAB, DISTT-LUCKNOW	LUCKNOW	RURAL	90	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
331	VILLAGE SHYAMDASPUR ON PAINTEPUR-	SITAPUR	RURAL	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
332	BELHARA ROAD , TEHSIL MAHMUDABAD VILLAGE AMTARA,BLOCK-	HARDOI	RURAL	95	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
333	BHARKHANI,TEHSIL SHAHABAD VILLAGE-SHAHPUR ITAI, TEHSIL-UTRAULA	BALRAMPUR	RURAL	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
334	VILLAGE RAJA MAU ON ROAD CONNECTING	RAEBARELI	RURAL	90	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	SAIDPUR BEHTA TO SHEKHPUR SAMAUDA , TEHSIL – MAHARAJGANJ													
335	VILL- KOTIYA CHITRA, SUCHI TO KHARAULI ROAD, BLOCK AND TEHSIL UNCHAHAR	RAEBARELI	RURAL	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
336	BETWEEN KALLI CHAURAHA AND LALITA DEVI TIRAHA ON KALLI NEEMSAR LINK	SITAPUR	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
337	ROAD, TEHSIL MISRIKH VILLAGE - KANTA, ON CHHATOH TO GANDHI NAGAR ROAD , BLOCK - CHHATOHTEHSIL -	RAEBARELI	RURAL	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
338	SALON WITHIN 3 KM FROM MEHSI TEHSIL OFFICE (ON EITHER SIDE) ON RAMPURWA SHIVPUR	BAHRAICH	RURAL	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
339	IMAMGANJ NANPARA MARG VILL- RAMPUR GRINT, TEHSIL- UTRAULA(ON DHUSWA TO SADULLANAGR ROAD)	BALRAMPUR	RURAL	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
340	VILLAGE NEKPUR NEWADA, BLOCK BILGRAM, TEHSIL BILGRAM	HARDOI	RURAL	95	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
341	VILLAGE- BANGAWAN ON BISWAN SADARPUR GURAICHA ROAD, BLOCK-	SITAPUR	RURAL	72	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
342	MEHMUDABAD, TEHSIL: MEHMUDABAD WITHIN 3 KM FROM MASKANWA RAILWAY CROSSING TOWARDS SIKANDARPUR ON	GONDA	RURAL	80	OBC	DC	30	30	900	16	35	Draw of lot	5	3
343	MASKANWA TO CHAURI BAZAR ROAD, TEHSIL - MANKAPUR VILLAGE JAITAPUR, TEHSIL MEHSI	BAHRAICH	RURAL	70		CFS	30	30	000			Down of lot	0	
	VILLAGE SHRIMAU PASHCHIM BLOCK SANDI				SC				900	0	0	Draw of lot	0	2
344	TEHSIL SAWAYAJPUR	HARDOI	RURAL	110	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
345	VILLAGE PARSHADEHRIA , TEHSIL BHINGA	SHRAVASTI	RURAL	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
346	VILLAGE- BHITAURA LAKHAN ON SIDDHAUR JAIDPUR ROAD, TEHSIL HAIDERGARH	BARABANKI	RURAL	80	OBC	DC	30	30	900	16	35	Draw of lot	5	3
347	VILLAGE KATAHA , TEHSIL MEHSI	BAHRAICH	RURAL	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
348	VILLAGE KATAHA MAPHI , TEHSIL GONDA	GONDA	RURAL	75	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
349	VILLAGE - GHANCHABIKAPUR, ON DHAURHARA GHAT TIRAHA TO PD BANDHA ROAD, TEHSIL - TARABGANJ	GONDA	RURAL	75	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
350	WITHIN 5 KM ON EITHER SIDE FROM MAIN GATE OF AMBALIKA INSTITUTE OF TECHNOLOGY ON DEHWA TO MAURAWAN	LUCKNOW	RURAL	106	OBC	DC	30	30	900	16	35	Draw of lot	5	3
351	ROAD VILL GAURA, BLOCK MOHANLALGANJ	LUCKNOW	RURAL	60	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
352	WIHTHIN 2KMS FROM BABAGANJ TIRAHA ON KUMHARAWAN TO BABAGANJ ROAD	BARABANKI	RURAL	65	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
353	VILLAGE DINGURAPUR TEHSIL LAHARPUR	SITAPUR	RURAL	100	OPEN CC 2	DC	30	30	900	16	35	Draw of lot	5	4
354	VILLAGE MATIYAMAU ,BLOCK MADHOGANJ,TEHSIL BILGRAM	HARDOI	RURAL	95	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
355	VILL-KAKRABAD ON MALL-JEHTA ROAD, TEHSIL-LUCKNOW	LUCKNOW	RURAL	95	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
356	VILLAGE-RAMPUR, ON WAZEERGANJ TO TIKRI ROAD, TEHSIL-TARABGANJ	GONDA	RURAL	75	SC	CFS	30	30	900	0	0	Draw of lot	0	2
357	VILLAGE - MAU, ON MAHARJGANJ INHAUNA ROAD , TEHSIL MAHARAJGANJ	RAEBARELI	RURAL	54	OBC	DC	30	30	900	16	35	Draw of lot	5	3
358	VILL- OSAH , ON SHIVGARH TO MAHARAJGANJ ROAD, BLOCK - SHIVGARH ,	RAEBARELI	RURAL	60	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
359	TEHSIL - MAHARAJGANJ VILLAGE RALPUR MU., BLOCK SARENI,	RAEBARELI	RURAL	52	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
360	TEHSIL LALGANJ VILL-AMWA, TEHSIL-BALRAMPUR	BALRAMPUR	RURAL	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3

361	VILLAGE - MIJHAURA, ON BALPUR TO PARASPUR ROAD, TEHSIL COLONELGANJ	GONDA	RURAL	75	SC	CFS	30	30	900	0	0	Draw of lot	0	2
362	BETWEEN STONE NO. 2 AND 15 ON	SITAPUR	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
363	KHAIRABAD-KASRAILA-LAHARPUR ROAD BETWEEN STONE NO. 40 AND 51 ON TAMBORE REUSA MAHMUDABAD	SITAPUR	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
364	ROAD(MDR 79C) VILLAGE- DHAMA PUR, TEHSIL - SIRAULI GAUSPUR,BARABANKI	BARABANKI	RURAL	76	OBC	DC	30	30	900	16	35	Draw of lot	5	3
365	VILLAGE- CHAKSAR, BLOCK-HARAKH, TEHSIL-	BARABANKI	RURAL	95	SC	CFS	30	30	900	0	0	Draw of lot	0	2
366	NAWABGANJ VILL: KAKORI, TEHSIL:LUCKNOW	LUCKNOW	RURAL	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
367	VILLAGE GURDHAPA ON HARGAON DATELI PIPERJHALA ROAD , TEHSIL SITAPUR	SITAPUR	RURAL	70	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
368	VILL PATIJHIYA ,TEHSIL BHINGA	SHRAVASTI	RURAL	72	OBC	DC	30	30	900	16	35	Draw of lot	5	3
369	VILLAGE - MACHAUCHI, BLOCK - HARAKH, TEHSIL- NAWABGANJ, ON KOTHI TO	BARABANKI	RURAL	85	SC	CFS	30	30	900	0	0	Draw of lot	0	2
370	JAIDPUR ROAD VILL-DUBAHAN, BLOCK AND TEHSIL SALON	RAEBARELI	RURAL	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
371	VILL-PATHAK KHEDA, BLOCK SARENI, TEHSIL LALGANJ	RAEBARELI	RURAL	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
372	BETWEEN MDR 103C AND NH-31 INTERSECTION TO SEMRI CHAURAHA ON MDR 103C (SEMRI RAEBARELI PARSADEPUR BARA NANAUTI MARG)	RAEBARELI	RURAL	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
373	VILLAGE KUKUR BHUKVA, TEHSIL- TULSIPUR	BALRAMPUR	RURAL	70	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
374	VILLAGE -TIKNIYAMAU, BLOCK- GOSAIGANJ, TEHSIL- MOHANLALGANJ	BARABANKI	RURAL	70	SC	CFS	30	30	900	0	0	Draw of lot	0	2
375	VILLAGE - RAHWAN ON ROAD CONNECTING HARCHANDPUR TO GURUBUXGANJ TEHSIL SADAR DISTRICT RAE BARELY	RAEBARELI	RURAL	60	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
376	VILL-BELATEKAI, KUCHARIYA TO VISHWANATHGANJ ROAD, BLOCK RAHI TELEU PAEPAPELI SADAP	RAEBARELI	RURAL	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
377	TEHSIL RAEBARELI SADAR WITHIN 6 KM FROM GOMTI RIVER BRIDGE ON SUBEHA DEVIGANJ ROAD TOWARDS DEVIGANJ (NOT IN WML)	BARABANKI	RURAL	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
378	WITHIN 5 KMS FROM SEMRI CHAURAHA ON HARIHARPUR RANI - IKAUNA ROAD	SHRAVASTI	RURAL	80		CFS	30	30	900	0	0	Draw of lot	0	2
379	VILLAGE-DUTTNAGAR, ON DHEMUA GHAT MARG, TEHSIL-TARABGANJ	GONDA	RURAL	80	SC PH	DC	30	30	900	16	35	Draw of lot	5	3
380	VILLAGE PURA BAHADUR,BLOCK TANDIYAWAN,TEHSIL HARDOI	HARDOI	RURAL	95	OBC PH OPEN	DC	30	30	900	16	35	Draw of lot	5	4
381	VILL- KANDHARPUR, DALMAU TO JAGATPUR ROAD,BLOCK AND TEHSIL DALMAU	RAEBARELI	RURAL	54	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
382	VILLAGE AGASAND , TEHSIL FATHEPUR DISTRICT BARABANKI	BARABANKI	RURAL	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
383	VILLAGE-MALAULI, BLOCK- GOSAIGANJ, TEHSIL- MOHANLALGANJ	LUCKNOW	RURAL	85	SC	CFS	30	30	900	0	0	Draw of lot	0	2
384	VILL-GULRA, TEHSIL-BHINGA	SHRAVASTI	RURAL	58	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
385	VILLAGE - HARIHARPUR, BLOCK TADIYAWAN, TEHSIL HARDOI	HARDOI	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
386	WITHIN 6 KM FROM MALL TIRAHA ON MALL BHARAWAN ROAD	LUCKNOW	RURAL	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
387	VILLAGE- BARAUNA, BLOCK- SAROJNI NAGAR, TEHSIL SAROJNI NAGAR	LUCKNOW	RURAL	85	SC	CFS	30	30	900	0	0	Draw of lot	0	2
388	WITHIN 2 KM EITHER SIDE OF MAIN GATE OF YASHMAY VILLA CLUB & RESORT ON	GONDA	RURAL	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
389	GONDA-UTRAULA ROAD VILLAGE- GURH (NOT ON NH), TEHSIL-	BAHRAICH	RURAL	70	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
390	MIHINPURWA- MOTIPUR DISTRICT : BAHRAICH WITHIN 4 KM FROM BABA FAKKARDAS	BALRAMPUR	RURAL	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
391	CHAURAHA TOWARDS GONDA ON UTRAULA TO GONDA ROAD VILLAGE- ATARI, BLOCK- MAL, TEHSIL-	LUCKNOW	RURAL	121	OBC	DC	30	30	900	16	35	Draw of lot	5	3
391	VILLAGE- ATARI, BLOCK- MAL, TEHSIL- MALIHABAD Village Sofipur on Nizamabad To Tahbarpur	AZAMGARH	RURAL	73	SC	CFS	30	30	900	0	0	Draw of lot	0	3
393	Road, Tehsil Nizamabad Village Dharauli, Tehsil Chandauli On	CHANDAULI	Rural	185	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
393	viliage unarauli, i ensil Chandauli Un chandauli Dharauli Road Vill-Kuddupur On Sirkoni to Rasaina road,	JAUNPUR	Rural	103	OPEN CC 1 OBC	DC	30	30	900	16	35	Draw of lot	5	3
395	Tehsil- Sadar Between Km stone 14 and 17 on Mehnagar	AZAMGARH	Rural	58	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
396	to Azamgarh Marg on MDR 171 E Within 4 Km from junction of Phoolpur-	AZAMGARH	Rural	79	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	Martinganj Road and Saraimeer-Didarganj Road													
397	Village Khajuri dhanejpatti,on Aitrauliya to Ahiraula Road,Tehsil Budhanpur	AZAMGARH	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
398	Vill-Khudauli On Khetasarai to Khutahan road,Tehsil- Shahganj	JAUNPUR	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
399	Within 6 Kms from main gate of Shri Hari Shankar Ji PG College towards Sathiaon on Jahanaganj-Sathiaon Road	AZAMGARH	Rural	100	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
400	Between Bhanwarnath Mandir to main gate of Saraswati Balika Inter College on Bhawarnath to tahabrpur Road	AZAMGARH	Rural	67	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
401	Village Barooli on Ghosi road, Tehsil Belthara Road	BALLIA	Rural	84	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
402	Village Banarhi ,on Nagra Ballia Marg, Tehsil Ballia Sadar	BALLIA	Rural	67	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
403	Vill- Kalwari On Sikrara to Baraipar road,Tehsil- Sadar, Distt- Jaunpur	JAUNPUR	Rural	57	OPEN	DC	30	30	900	16	35	Draw of lot	5	4

404	Village Pakri ,on road connecting Alawalpur	BALLIA	Rural	80	OPEN PH	DC	30	30	900	16	35	Draw of lot	5	4
405	to NH31 , Tehsil Ballia Sadar Village Dattipur, on Babhnauti to Mamhar	BHADOHI	Rural	60	SC	CFS	30	30	900	0	0	Draw of lot	0	2
406	Road via Dattipur, Tehsil Aurai Village- Kauriya Dehati On Kauriya to	JAUNPUR	Rural	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
407	Jamuniya road, Tehsil- Shahganj Village Kaulapur, on Kaulrapur-Semradh	BHADOHI	Rural	70	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
408	Road, Tehsil Gyanpur Village- Bibipur, On Kaboolpur to Nayapura	JAUNPUR	Rural	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
409	ghat road, Tehsil- Sadar, Distt- Jaunpur Village Chak Kishundas, on Keshavpur	BHADOHI	Rural	54	SC	CFS	30	30	900	0	0	Draw of lot	0	2
410	Sarpataha-Mondh Road via Chak Kishundas, Tehsil Gyanpur	JAUNPUR	Rural	101	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
	Village- Pandey Patti,On Jafrabad market to Sewainala road, Tehsil- Sadar, Distt- Jaunpur													
411	Upto 08 kms from Nagra Chauk on Ghosi Road towards Ghosi (MDR 150 E)	BALLIA	Rural	84	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
412	Village Umarwar on Modaila to Thanagaddi road, Tehsil- Kerakat	JAUNPUR	Rural	53	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
413	Village Chak Kharawan, Tehsil Pindra	VARANASI	Rural	56	OBC	DC	30	30	900	16	35	Draw of lot	5	3
414	Village Anantpur on Rani ki sarai to Nizamabad Road,Tehsil Nizamabad	AZAMGARH	Rural	167	SC	CFS	30	30	900	0	0	Draw of lot	0	2
415	Village NadwaKhas from Mohammadabad Gohana to Ghosi Road, Tehsil- Ghosi	MAU	Rural	108	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
416	Within 3 KM From Main Gate of Police Station ,Garwar , towars Piyaria , On Garwar- chilkahar Road	BALLIA	Rural	110	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
417	Village Kadirpur on Rasoolpur to Sarai meer Road,Tehsil Nizamabad	AZAMGARH	Rural	56	OBC	DC	30	30	900	16	35	Draw of lot	5	3
418	SARAIYA PRATHAM ON VARANASI TO BELA ROAD, TEHSIL SADAR	VARANASI	Rural	49	SC	CFS	30	30	900	0	0	Draw of lot	0	2
419	Village Bori Bojh, on Durgaganj-Handiya Road via Bori Bojh, Tehsil Bhadohi	BHADOHI	Rural	67	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
420	Within 5KM from Maharajganaj Market towards Parsipur, on Maharajgang-Parsipur	BHADOHI	Rural	88	OBC	DC	30	30	900	16	35	Draw of lot	5	3
421	Road, Tehsil Aurai Village Mahjuda, on Suriyawa to Gyanpur	BHADOHI	Rural	67	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
422	Road, Tehsil Bhadohi Village- Rajepur (Kajgaon) On Sirkoni to Rasaina road, Tehsil- Sadar	JAUNPUR	Rural	112	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
423	Village Kotwari on Kotwari-Rasra Road, Tehsil- Rasra	BALLIA	Rural	73	SC	CFS	30	30	900	0	0	Draw of lot	0	2
424	Between km stone 20 and 24 ,While moving from Khutahan to Jaunpur road via Malhini.	JAUNPUR	Rural	97	OBC	DC	30	30	900	16	35	Draw of lot	5	3
425	Within 3km from intersection of MDR 94E with Old NH29 on MDR 94E from Ghosi to	MAU	Rural	116	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
426	Mohammadabad Road Village Masona, on Jiyanpur to Azmatgarh	AZAMGARH	Rural	72	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
427	Road, Tehsil - Sagri Village Bhat, on Mondh-Road to Jaunpur	BHADOHI	Rural	64	SC	CFS	30	30	900	0	0	Draw of lot	0	2
428	Road via Bhat, Tehsil Bhadohi Village Mohammadpur on Mohammadpur-	AZAMGARH	Rural	167	OBC	DC	30	30	900	16	35	Draw of lot	5	3
429	Fariha Road, Tehsil - Nizamabad Village Maryadpur, Madhuban to Belthara	MAU	Rural	60	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
430	Road, Tehsil Madhuban Between KM stone 8 and 10 on Lalganj to	AZAMGARH	Rural	103	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
431	Tarwa road, Tehsil- Lalganj Village Sherwa on Budhanpur to Atraith	AZAMGARH	Rural	54	OBC	DC	30	30	900	16	35	Draw of lot	5	3
432	Road, Tehsil Budhanpur Village Ishopur on Sidhauna Mehnajpur	GHAZIPUR	Rural	58	SC	CFS	30	30	900	0	0	Draw of lot	0	2
433	Marg, Tehsil Saidpur Village Sarai Chatrashah, on Gyanpur-	BHADOHI	Rural	54	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
434	Sarpataha-Mondh Road, Tehasil Bhadohi Village Udhopur, on Gyanpur-Suriyawan	BHADOHI	Rural	61	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
435	Road via udhopur, Tehsil Gyanpur Village Balupur on Sikanderpur Balupur	BALLIA	Rural	75	OBC	DC	30	30	900	16	35	Draw of lot	5	3
436	Road, Tehsil Sikanderpur Village Mardanpur, on Chirayakot-	MAU	Rural	111	sc	CFS	30	30	900	0	0	Draw of lot	0	2
	Mohammadabad Gohana road, Tehsil- Mohammadabad Gohana Within 3 Kms from Gambhirpur chowk											Draw of lat		
437	towards Martinganj (On Gambhirpur- Martinganj Road)	AZAMGARH	Rural	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
438	WITHIN 5 KM FROM RAJATALAB RAILWAY CROSSING TOWARDS JAKKHINI ON RAJATALAB JAKKHINI ROAD	VARANASI	Rural	53	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
439	Village Gopipur, on Kasturipur to Alamganj Road via Gopipur, Tehsil Bhadohi	BHADOHI	Rural	75	OBC	DC	30	30	900	16	35	Draw of lot	5	3
440	Within 4 kms from Manduri Tiraha towards Tahabarpur on Tahbarpur-Manduri Road	AZAMGARH	Rural	167	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
441	Village Betabar on Tajpur Manjha to Dharni road, Tehsil- Zamania	GHAZIPUR	Rural	92	SC	CFS	30	30	900	0	0	Draw of lot	0	2
442	Village Chakmano Urf Dargah ,from Dohrighat to Madhuban Road, Tehsil - Madhuban	MAU	Rural	50	OBC	DC	30	30	900	16	35	Draw of lot	5	3
443	Madhuban Within 4 Kms from Nandaon Mod towards	AZAMGARH	Rural	82	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
	Martinganj on Saraimeer-Gambhirpur-					DC	30	30	900	16	35	Draw of lot	5	4
444	Martinganj on Saraimeer-Gambhirpur- Martinganj Road Village Danupur Patti Purab, on Durgaganj-	BHADOHI	Rural	83	OPEN	DC	30	50	500				-	۱ I
444 445	Martingani on Saraimeer-Gambhirpur- Martingani Road Village Danupur Patti Purab, on Durgaganj- Gyanpur Road, Tehsil Bhadohi Villege Sarai between Baluaghat bridge and	BHADOHI CHANDAULI	Rural Rural	83 80	OPEN SC	CFS	30	30	900	0	0	Draw of lot	0	2
	Martinganj no Saraimeer-Gambhirpur- Martinganj Road Village Danupur Patti Purab, on Durgaganj- Gyanpur Road, Tehsil Bhadohi Villege Sarai between Baluaghat bridge and Chahniya VILLAGE-MILKICHAK ON MOHANSARAI TO													2
445	Martinganj on Saraimeer-Gambhirpur- Martinganj Road Village Danupur Patti Purab, on Durgaganj- Gyanpur Road, Tehsil Bhadohi Villege Sarai between Baluaghat bridge and Chahniya	CHANDAULI	Rural	80	SC	CFS	30	30	900	0	0	Draw of lot	0	

448	On Jafrabad bypass bypassing Jafrabad	JAUNPUR	Rural	107	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
449	Market, Tehsil- Sadar Village Palahipatti on Bhojubeer Sindhora	VARANASI	Rural	82	SC	CFS	30	30	900	0	0	Draw of lot	0	2
	Road, Tehsil Sadar													
450	Village Padya on Chandauli Baburi Road ,Teshil Chandauli	CHANDAULI	Rural	100	OBC	DC	30	30	900	16	35	Draw of lot	5	3
451	Village Karimuddinipur on Mohammadabad- Chitbaragaon Road, Tehsil Mohammadabad	GHAZIPUR	Rural	58	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
452	Within 2 km from Khutahan Chauraha,While moving from Khutahan to Jaunpur road via Malhini.	JAUNPUR	Rural	103	OPEN CC 2	DC	30	30	900	16	35	Draw of lot	5	4
453	Village Jathi On Garkhara Sindhora Marg, Tehsil Pindra	VARANASI	Rural	82	OBC CC 1	DC	30	30	900	16	35	Draw of lot	5	3
454	Village Niyardiha , Tehsil Sadar	VARANASI	Rural	67	SC CC 1	CFS	30	30	900	0	0	Draw of lot	0	2
455	Village Dhadhachawar on Bhatkol to Kopaganj Road, Tehsil Maunathbhanjan	MAU	Rural	48	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
456	Within 5 km from Main Gate of Mother Modern School, Kacchikla towards Bhatkol on Kopaganj-Bhatkol road	MAU	Rural	48	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
457	Between KM Stone 7 and 12 on Rampur to Barsathi road via Nigoh Bazar, Tehsil- Madiyahun	JAUNPUR	Rural	66	OBC	DC	30	30	900	16	35	Draw of lot	5	3
458	Vill-Ahiroparshurampur On Nauli to Kalapur Road, Tehsil- Shahganj	JAUNPUR	Rural	79	SC	CFS	30	30	900	0	0	Draw of lot	0	2
459	Village Paharipur on Gosalajpur Road, Tehsil- Mohamadabad	GHAZIPUR	Rural	92	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
460	Villege sikri on Chandauli Baburi Road,Tahsil Chandauli	CHANDAULI	Rural	46	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
461	Within 2 Km from Maingate of little pearls modern school towards Ballia on Mohamadabad- Chitbaragaon road	GHAZIPUR	Rural	70	OBC	DC	30	30	900	16	35	Draw of lot	5	3
462	Village - Walidpur, on Nadwasarai Mohammadabad Road, Tehsil - Mohammadabad Gohana	MAU	Rural	116	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
463	Within 2 km from Baraipar Chauraha, While moving from Baraipar to Sikrara road	JAUNPUR	Rural	89	SC	CFS	30	30	900	0	0	Draw of lot	0	2
464	Village Ashrafpur, on Deurpur Road while moving from Maharajganj to Deurpur via Husepur Ramjiyawan , Tehsil- Sagri	AZAMGARH	Rural	52	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
465	Husepur Ramjiyawan , Tehsil- Sagri Village Keshopur Sarpataha, on Durgaganj- Gyanpur Road, Tehsil Gyanpur	BHADOHI	Rural	72	OBC	DC	30	30	900	16	35	Draw of lot	5	3
466	Village Barebhoj on Rasra Jam Salempur marg, Tehsil Rasra	BALLIA	Rural	70	OPEN CC 1	DC	30	30	900	16	35	Draw of lot	5	4
467	Village Mansurpur, Tehsil Ballia Sadar , on Road Connecting NH31 and Nagra Ballia Marg (150E)	BALLIA	Rural	67	SC	CFS	30	30	900	0	0	Draw of lot	0	2
468	Wirkin 2 km from Main Gate of Sacred Heart School, Noniyapur towards Chiraiyakot on Mohammadabad to Chirayakot road, Tehsil - Mohammadabad Gohna	MAU	Rural	111	OBC	DC	30	30	900	16	35	Draw of lot	5	3
469	Village Vikapur ,Tehsil Sadar	VARANASI	Rural	99	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
470	Village Pisaur ,Tehsil : Sadar,	VARANASI	Rural	98	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
471	Village Chak Shahmaruf, On Fatehpur Mandao to Ibrahim Patti Road, Tehsil Madhuban	MAU	Rural	60	OBC	DC	30	30	900	16	35	Draw of lot	5	3
472	Village Khadra on Baithauli to Hafizpur Road, Tehsil - Sadar	AZAMGARH	Rural	53	SC	CFS	30	30	900	0	0	Draw of lot	0	2
473	Village Harahua on Panchkoshi road, Tehsil Pindra	VARANASI	Rural	80	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
474	Village Rampur Thana on Kathiraon Bazaar Road , Tehsil Pindra	VARANASI	Rural	99	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
475	Within 3 KM From Main Gate of Police Station Chitbara Gaon Towards Mohammdabad , on Mohammadabad - Chitbara Gaon Road	BALLIA	Rural	56	OBC	DC	30	30	900	16	35	Draw of lot	5	3
476	Village Tenduli, on Mirzahadipura to Chiraiyyakot Road, Tehsil - Mohammadabad Gohna	MAU	Rural	119	ST	CFS	30	30	900	0	0	Draw of lot	0	2
477	Gohna Vill- Dakhan On Gaurabadshahpur to Muftiganj road, Tehsil- Sadar	JAUNPUR	Rural	105	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
478	Within 2 KM From Intersection of NH31 and Kotwa Narayanpur Road, on Kotwa	BALLIA	Rural	50	OPEN	DC	30	30	900	16	35	Draw of lot	5	4
479	Narayanpur Road, Tehsil Ballia Sadar Village Sukhamdutt Nagar from Azmatgarh to Amila Road, Tehsil Sagri	AZAMGARH	Rural	73		DC	30	30	900	16	35	Draw of lot	5	3
480	Village Janari on Beyasi- Ballia Ganga Road ,	BALLIA	Rural	116	OBC PH	CFS	30	30	900	0	0	Draw of lot	0	2
498	Tehsil Ballia Sadar BETWEEN RAIBA AND ACHNERA ON BICHPURI - ACHNERA ROAD	AGRA	Rural	120	SC PH OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
499	BETWEEN KM STONE NO. 1 AND 4 ON KHERAGARH - BASAI NAWAB ROAD	AGRA	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
500	VILLAGE MAHUA KHERA, TEHSIL AGRA	AGRA	Rural	140	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
501	VILLAGE JAUNAI, TEHSIL SADAR	MATHURA	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
502	BETWEEN KM STONE NO. 4 AND 8 ON PINAHAT - BHADRAULI ROAD	AGRA	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
503	VILLAGE SANPHER, TEHSIL AJITMAL	AURAIYA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
504	BETWEEN KM STONE NO. 5 AND 10 ON LHS WHILE MOVING FROM DEENG TO MATHURA ON GOVERDHAN BYEPASS ROAD	MATHURA	Rural	150	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
505	WITHIN 4 KM FROM KM STONE NO. 8 TOWARDS JAITPUR KALAN ON JAITPUR	AGRA	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
506	KALAN-NADGAWAN ROAD BETWEEN KM STONE NO. 1 AND 5 ON ARNAUTA - PINAHAT ROAD	AGRA	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
507	BETWEEN KM STONE NO. 6 AND 9 ON SAKEET - AKBARPUR OUNCHHA ROAD	ETAH	Rural	95	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
508	BETWEEN KM STONE NO. 54 AND 58 ON	AGRA	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	PINAHAT-TASOND ROAD						<u> </u>							

509	VILLAGE RAMAPUR JASU, TEHSIL KAIMGANJ	FARRUKHABAD	Rural	90	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
510	BETWEEN KM STONE NO. 8 AND 12 ON	ETAH	Rural	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
511	ETAH - KASGANJ ROAD VILLAGE GHIROR KHAS, TEHSIL GHIROR	MAINPURI	Rural	95	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
512	BETWEEN FATEHPUR SIKRI AND RAJASTHAN	AGRA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
510	BORDER ON FATEHPUR SIKRI - RUPWAS ROAD				00511			05	1005	- 10	05		-	
513	VILLAGE KAUTHRA, TEHSIL GOVERDHAN	MATHURA	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
514	BETWEEN KM STONE NO. 6 AND 12 ON KARHAL - GHIROR ROAD	MAINPURI	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
515	VILLAGE CHAPTA, TEHSIL AJITMAL	AURAIYA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
516	VILLAGE SONAI ,TEHSIL KURAWALI	MAINPURI	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
517	WITHIN 3 KM FROM RAJASTHAN BORDER ON NANDGAON-KAMA ROAD	MATHURA	Rural	180	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
518	VILLAGE BALIPUR, TEHSIL KURAWALI	MAINPURI	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
519	WITHIN 3 KM FROM KM STONE NO. 7 TOWARDS SHAMSABAD FROM AGRA TO RAJAKHERA ROAD VIA SHAMSABAD	AGRA	Rural	130	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
520	VILLAGE KHURSI , TEHSIL CHHATA	MATHURA	Rural	105	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
521	ON SUNWARA BYPASS ROAD LHS FROM UDI TO MANIKPUR MOD	ETAWAH	Rural	190	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
522	BETWEEN KM STONE NO. 0 AND 3 ON ETAH - AMAPUR ROAD	ETAH	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
523	BETWEEN KM STONE NO. 3 AND 5 ON MAINPURI – SIRSAGANJ ROAD	MAINPURI	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
524	VILLAGE AVAVAR ON DIBIYAPUR - SAHAYAL ROAD TEHSIL BIDHUNA	AURAIYA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
525	WITHIN 4 KM FROM JYOTI TIRAHA TOWARDS OUNCHHA ON JYOTI TIRAHA TO OUNCHHA ROAD	MAINPURI	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
526	VILLAGE BAHLOLPUR TEHSIL ETAH	ETAH	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
527	VILLAGE - CHIRAWAR, TEHSIL BHONGAON	MAINPURI	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
528	VILLAGE - VINDVA KHURD, TEHSIL CHAKARNAGAR	ETAWAH	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
529	BETWEEN KM STONE NO. 7 AND 11 ON MOHAMDABAD - SARAI AGHAT ROAD	FARRUKHABAD	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
530	WITHIN 2 KM FROM MIRHAICHI POLICE CHOWKI MAIN GATE TOWARDS MAREHRA TOWN	ETAH	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
531	VILLAGE GARHWANA ON NEVILGANJ - BAHARPUR ROAD TEHSIL BIDHUNA	AURAIYA	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
532	WITHIN 2 KM FROM KAKRAU KOTHI CHAURAHA TOWARDS JALESAR ON FIROZABAD JALESAR ROAD	FIROZABAD	Rural	90	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
533	BETWEEN KM STONE NO. 17 AND 20 ON ETAH - KASGANJ ROAD	ETAH	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
534	BETWEEN KM STONE NO. 2 AND 5 ON ETAH - MAREHRA ROAD	ETAH	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
535	VILLAGE GHASARA ON GHASARA - ACHALDA ROAD TEHSIL BIDHUNA	AURAIYA	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
536	BETWEEN KM STONE NO. 1 AND 10 ON CHIBRAMAU -VISHNUGARH ROAD	KANNAUJ	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
537	WITHIN 3 KM FROM DAYAL GARDEN TOWARDS SARAI AGHAT ON ALIGANJ SANKISA BASANTPUR ROAD	ETAH	Rural	105	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
538	BETWEEN KM STONE NO. 25 AND 30 ON RHS ON AGRA - RAJAKHERA ROAD VIA SHAMSABAD	AGRA	Rural	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
539	VILLAGE UNCHA ON PHAPHUD - MURADGANJ ROAD TEHSIL AJITMAL	AURAIYA	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
540	BETWEEN KM STONE NO. 1 AND 4 FROM NEW GURSAHAIGANJ BYPASS TO JALESAR CHAURAHA VIA BALIDADPUR VILLAGE	KANNAUJ	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
541	BETWEEN KM STONE NO. 40 AND 45 ON ON MDR 45W GANJDUDWARA - SAHAWAR	KANSHI RAM NAGAR	Rural	90	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
542	ROAD BETWEEN NAVEEN GALLA MANDI AND RAJASTHAN BORDER ON ACHNERA -	AGRA	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
543	BHARATPUR ROAD WITHIN 3 KM FROM PRIMARY HEALTH CENTRE ANANDPUR JARKHI TOWARDS SH31	FIROZABAD	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
544	BETWEEN KM STONE NO. 16 AND 20 ON KASGANJ - SAHAWAR ROAD	KANSHI RAM NAGAR	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
545	BETWEEN KM STONE NO. 14 AND 16 ON MIRAHICHI - MARTHARA MARG	ETAH	Rural	105	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
546	WITHIN 2 KM FROM RAJASTHAN BORDER ON MATHURA -DEENG MARG	MATHURA	Rural	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
547	VILLAGE JARAULI KALAN , TEHSIL TUNDLA	FIROZABAD	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
548	VILLAGE PEEHARPUR, TEHSIL JASWANTNAGAR	ETAWAH	Rural	105	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
549	VILLAGE BHARGAIN MASHRAQ , TEHSIL PATIYALI	KANSHI RAM NAGAR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
550	WITHIN 2 KM FROM RAJASTHAN BORDER ON SONKH-KUMHER ROAD	MATHURA	Rural	180	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
551	WITHIN 2 KM FROM KOSMA TIRAHA TOWARDS SHAKRAULI ON ARABGARH -	ETAH	Rural	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
552	FIROZABAD ROAD VILLAGE KURAWALI , TEHSIL GHIROR	MAINPURI	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	,													

553	WITHIN 5 KM FROM GORAHA TIRAHA,	KANSHI RAM	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
554	KASGANJ ON NEW KASGANJ BYPASS ROAD BETWEEN KM STONE NO. 10 AND 18 ON	NAGAR	Rural	132	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
555	CHHATIKARA RADHAKUND ROAD BETWEEN KM STONE NO. 6 AND 8 ON	ETAH	Rural	105	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	ALIGANJ - KURAWALI ROAD													
556 557	VILLAGE TANAURANURPUR MUSTAKIL, TEHSIL AGRA VILLAGE LAUHARRA ON SASNI - IGLAS ROAD,	AGRA HATHRAS	Rural Rural	90	OBC	DC DC	35	35	1225 1225	16	35	Draw of Lots Draw of Lots	5	3
558	VILLAGE LAONANNA ON SASHI FIGLAS KOAD, TEHSIL SASNI VILLAGE JASRANA , TEHSIL SASNI	HATHRAS	Rural	90	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
559	VILLAGE BHARSEN TEHSIL AURAIYA	AURAIYA	Rural	95	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
560	WITHIN 3KM FROM ALIGANJ CHAURAHA	ETAH	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
561	TOWARDS SAKEET ON ETAH- SAKEET ROAD	KANSHI RAM	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
562	VILLAGE KAUMRI, TEHSIL SASNI	NAGAR	Rural	95	OPEN	DC	35	35	1225	16	35		5	4
563	BETWEEN KM STONE NO. 14 AND 18	FARRUKHABAD	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots Draw of Lots	5	4
564	FARRUKHABAD - CHIBRAMAU			100		CFS								
565	VILLAGE BANSHI, TEHSIL BIDHUNA	AURAIYA	Rural Rural	90	SC OPEN	DC	35	35	1225 1225	0	0 35	Draw of Lots Draw of Lots	0	2
566	SIKANDRARAO VILLAGE DHANAULI, TEHSIL SADABAD	HATHRAS	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
567	BETWEEN POLICE CHAUKI HASERAN AND	KANNAUJ	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	PRIMARY SCHOOL KATHAR HASERAN ON HASERAN - BIDHUNA ROAD													
568	BETWEEN KM STONE NO. 49 AND 52 ON MDR 45W SAHAWAR - SORON ROAD	KANSHI RAM NAGAR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
569	WITHIN KM STONE 9 AND 13 ON KASGANJ SAHAWAR ROAD	KANSHI RAM NAGAR	Rural	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
570	BETWEEN KM STONE NO.25 AND 27 ON MAINPURI - SIRSAGANJ ROAD	MAINPURI	Rural	100	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
571	WITHIN 4 KM FROM PATIYALI TIRAHA IN SIDHPURA ON SIDHPURA - PATIYALI ROAD	KANSHI RAM NAGAR	Rural	90	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
572	VILLAGE LADPUR ON HATHRAS-JALESAR ROAD,TEHSIL HATHRAS	HATHRAS	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
573	BETWEEN KM STONE NO. 17 AND 22 ON RADHAKUND BYEPASS ROAD	MATHURA	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
574	VILLAGE BANJARIA ON BAHERI-BANJARIA ROAD , TEHSIL BAHERI	BAREILLY	Rural	77	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
575	VILLAGE NAGARIA KALYANPUR ON MEERGANJ-HALDIKALAN ROAD , TEHSIL	BAREILLY	Rural	88	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
576	MEERGANJ VILLAGE MANHERA ON RITHORA- BHOJIPURA ROAD, TEHSIL BAREILLY	BAREILLY	Rural	77	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
577	VILLAGE KALYANPUR JIWAN SAHAI ON NAWABGANJ TO MATKAPUR ROAD, TEHSIL	BAREILLY	Rural	65	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
578	NAWABGANJ VILLAGE HASANPUR ON FARIDPUR- DATAGANJ ROAD TEHSIL FARIDPUR	BAREILLY	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
579	VILLAGE NARAFARIDAPUR ON SHAHI TO DHAURA TANDA ROAD, TEHSIL MEERGANJ	BAREILLY	Rural	87	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
580	BETWEEN BAREILLY AIRPORT AND MASUMI FARM HOUSE ON PILIBHIT ROAD	BAREILLY	Rural	200	OPEN	CC	20	20	400	16	6	Bidding	10	4
581	VILLAGE QAZIAPURA ON SAHORA- RAS DANDIA ROAD , TEHSIL MILAK	RAMPUR	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
582	VILLAGE PIPARTHARA ON BHAGWANTAPUR- KHUDAGANJ ROAD , TEHSIL FARIDPUR	BAREILLY	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
583	ON DOHRA ROAD OUTSIDE MUNICIPAL	BAREILLY	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
584	LIMIT OF BAREILLY (NOT ON NH)	BAREILLY	Rural	80	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
585	UTTAM NAGAR ROAD, TEHSIL BAHERI VILLAGE DARKA ON AONLA-BADAUN ROAD,	BAREILLY	Rural	65	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
586	TEHSIL AONLA VILLAGE GAJRAULA, ON CHAUSAR PADIAYA	PILIBHIT	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
587	TO DHAKIA RANJEET ROAD, TEHSIL BISALPUR VILLAGE CHAK SARAKTHAL ON	RAMPUR	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
588	MORADABAD-TANDA -DARIYAL ROAD,TEHSIL TANDA VILLAGE DHAKKA NAGLIYA, TEHSIL TANDA	RAMPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
589	VILLAGE BHANWARKA ON SAWAI BADAGAON-RAS DANDIA ROAD, TEHSIL	RAMPUR	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
590	MILAK VILLAGE BAMNA ON MURSAINA-MILAK	RAMPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
591	KHANAM ROAD, TEHSIL SWAR VILLAGE NABADIYA GHANESH,TEHSIL	PILIBHIT	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
592	KALINAGAR VILLAGE UMARSIA ON BUKHARA-FARIDPUR	BAREILLY	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
593	ROAD,TEHSIL BAREILLY VILLAGE KAVARKHAS, TEHSIL- BAHERI	BAREILLY	Rural	65	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
594	VILLAGE LONGPUR TAHAR ON FARIDPUR-	BAREILLY	Rural	65	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
595	BUKHARA ROAD, TEHSIL-FARIDPUR VILLAGE CHAUKHANDI ON SWAR-DARIYAL-	RAMPUR	Rural	70		CFS	35	35	1225	0	0	Draw of Lots	0	2
596	KASHIPUR ROAD, TEHSIL TANDA	RAMPUR	Rural	89	SC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
597	MORADABAD-BAJPUR ROAD, TEHSIN ON WITHIN 2 KM FROM KESHLATA	BAREILLY	Rural	120	OBC PH OPEN	DC		35	1225			Draw of Lots		
597	WITHIN 2 KM FROM KESHLATA INTERNATIONAL SCHOOL BAREILLY TOWARDS BISALPUR CHAURAHA	BAREILLY	Kuraí	120	UPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
								•	•					

598	WITHIN 5 KM FROM INVERTIS UNIVERSITY	BAREILLY	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
599	TOWARDS SATELLITE BUS STAND	RAMPUR	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
600	VILLAGE LAAH, TEHSIL PURANPUR	PILIBHIT	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
601	VILLAGE PAHALU PATTI ON FARIDPUR-	BAREILLY	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
602	BHUTA ROAD, TEHSIL FARIDPUR VILLAGE TODARPUR SAHRAI, ON MAJHOLA	PILIBHIT	Rural	65	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	TO AMARIA ROAD, TEHSIL AMARIA													
603	VILLAGE BHITAURA NAUGAWAN URF FATEHGANJ, TEHSIL- MEERGANJ	BAREILLY	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
604	VILLAGE SIMRA KESHOPUR ON FARIDPUR- BISALPUR ROAD,TEHSIL FARIDPUR	BAREILLY	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
605	VILLAGE METHI NAWADIA ON NAWABGANJ- BARKHERA ROAD, TEHSIL-NAWABGANJ	BAREILLY	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
606	VILLAGE KARELI, TEHSIL BISALPUR	PILIBHIT	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
607	VILLAGE MIYANPUR , ON MOHAMMADI- MIYANPUR LINK MARG, TEHSIL	LAKHIMPUR KHERI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
608	MOHAMMADI VILLAGE ARJUNPUR ON FARIDPUR-BISALPUR ROAD, TEHSIL FARIDPUR	BAREILLY	Rural	65	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
609	VILLAGE MAGDAPUR, ON BASTAULI - SARAIYA BILIUM ROAD, TEHSIL GOLA	LAKHIMPUR KHERI	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
610	VILLAGE LAIKHERA, TEHSIL-NAWABGANJ	BAREILLY	Rural	60	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
611	VILLAGE PARAWAHA VUDDINPUR ON DEVCHARA-ALIGANJ ROAD, TEHSIL AONLA	BAREILLY	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
612	VILLAGE SARAURA BANGAR, ON AZIZGANJ	SHAHJAHANPUR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
613	TO CHAUHANAPUR ROAD, TEHSIL SADAR VILLAGE DEORIYA, TEHSIL POWAYAN	SHAHJAHANPUR	Rural	68	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
614	VILLAGE NAGLA MAGHA, ON KATRA TO	SHAHJAHANPUR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
615	MAKRANDAPUR ROAD, TEHSIL TILHAR VILLAGE PAREWA VAISHYA, ON PAREWA	PILIBHIT	Rural	65	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
616	VAISHYA TO SIRSI ROAD, TEHSIL AMARIA VILLAGE MADNAPUR ON MADNAPUR-	SHAHJAHANPUR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
617	KANTH ROAD, TEHSIL-SADAR VILLAGE SINGARPUR ON LAKHIMPUR	LAKHIMPUR	Rural	68	OPEN	DC	35	35	1225	16	35		5	4
	BYPASS ROAD, TEHSIL LAKHIMPUR KHERI	KHERI										Draw of Lots		
618	VILLAGE SONDHA, ON SONDHA TO DURJANPUR KALAN ROAD, TEHSIL PURANPUR	PILIBHIT	Rural	60	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
619	VILLAGE BHOJDANDI ON NANAKPURI- TANDA ROAD, TEHSIL BAHERI	BAREILLY	Rural	82	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
620	VILLAGE JAMDARI ON SISAIYA CHAURAHA TO DURGAPUR ROAD, TEHSIL DHAURAHARA	LAKHIMPUR KHERI	Rural	68	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
621	VILLAGE GANGAPUR JADID, TEHSIL MILAK	RAMPUR	Rural	62	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
622	VILLAGE DEL KHERA, ON KHUDAGANJ TO NIGOHI ROAD, TEHSIL TILHAR	SHAHJAHANPUR	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
623	VILLAGE MAQSUDPUR, ON BARWAR CHAURAHA TO HANNPASIGAWAN ROAD,	LAKHIMPUR KHERI	Rural	73	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
624	TEHSIL MOHAMMADI BETWEEN POLICE THANA MAJHOLA TO MORADABAD DEVELOPMENT AUTHORITY	MORADABAD	Rural	220	OPEN	CC	20	20	400	16	6	Bidding	10	4
	OFFICE ON MORADABAD DELHI ROAD													
625	VILLAGE MAANPUR DATTRAM MU. ON THAKURDWARA ALIGANJ ROAD, TEHSIL THAKURDWARA	MORADABAD	Rural	105	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
626	BETWEEN KM STONE 12 & 15 ON BILARI SIRSEE ROAD,TEHSIL SAMBHAL	SAMBHAL	Rural	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
627	BETWEEN RAMGANGA BRIDGE AND RAILWAY OVERBRIDGE (HOTEL CLARKS INN)	MORADABAD	Rural	180	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
628	ON RAMPUR ROAD TRANSPORT NAGAR (TRANSPORT NAGAR YOJNA PHASE I)	ALIGARH	Rural	250	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
629	VILLAGE MUBARAKPUR HARDAS, TEHSIL	BIJNOR	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
630	NAJIBABAD VILLAGE NIRYABALI ON SAID NAGLI - CHANDANPUR KHADAR LINK ROAD.TEHSIL-	AMROHA	Rural	102	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
631	HASANPUR VILLAGE PALI, TESHIL SAMBHAL	SAMBHAL	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
632	VILLAGE KADARCHOWK ON KADARCHOWK TO GANJDURWARA ROAD TEHSIL BUDAUN	BUDAUN	Rural	102	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
633	VILLAGE UGHAINI ON KAKRALA-BUDAUN	BUDAUN	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
634	ROAD, TEHSIL BUDAUN VILLAGE NARAULI ON SAMBHAL	SAMBHAL	Rural	84	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
635	CHANDAUSI ROAD, TEHSIL CHANDAUSI VILLAGE MOHIUDDINPUR ON MANDAWAR	BIJNOR	Rural	108	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
636	BALAWALI ROAD, TESHSIL BIJNOR VILLAGE- FAIZIPUR KASBA ON CHANDPUR	BIJNOR	Rural	108	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
637	VILLAGE FALLI OT RADDA ON CLANDFOR PHEENA ROAD, TEHSIL -CHANDPUR VILLAGE GADHMALPUR ON NAJIBABAD -	BIJNOR	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	RAIPUR ROAD, TEHSIL NAJIBABAD													
638	BETWEEN KM STONE 10 TO 13 ON DINGARPUR PAKHBARA ROAD	MORADABAD	Rural	144	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
639	VILLAGE HARAURA ON BILARI HARAURA SEONDARA ROAD, TEHSIL-BILARI	MORADABAD	Rural	108	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
640	VILLAGE ABBUSAEEDPUR ON MANDAWAR BALAWALI ROAD, TEHSIL BIJNOR	BIJNOR	Rural	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
641	VILLAGE BHAWALPUR WASLI ON JOYA DHAKKA ROAD, TEHSIL SAMBHAL	SAMBHAL	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
		l	l					I	I			l		

642	VILLAGE - MAHMOODPURMILAK ON NEHTOR-SHADIPUR ROAD, TEHSIL- DHAMPUR	BIJNOR	Rural	102	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
643	FROM KASIMPUR TIRAHA TO UPPER GANGA CANAL ON KASIMPUR ROAD	ALIGARH	Rural	102	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
644	VILLAGE BHINAULI ON GOPI VIJAYGARH ROAD, TEHSIL KOL	ALIGARH	Rural	108	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
645	VILLAGE CHAK ALHADIPUR ON RING ROAD AMROHA, TEHSIL NAUGAWAN SADAT	AMROHA	Rural	102	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
646	VILLAGE NAVIGANJ, MIYAUN TO HAZRATPUR ROAD, TEHSIL- DATAGANJ	BUDAUN	Rural	102	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
647	VILLAGE SAIF KHAN SARAI ON SAMBHAL CHANDAUSI BYPASS ROAD, TEHSIL SAMBHAL	SAMBHAL	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
648	VILLAGE LOHGARH, TEHSIL ATROLI	ALIGARH	Rural	102	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
649	VILLAGE DOLPURI VAMANIA MU. ON DALPATPUR-KASHIPUR ROAD, TEHSIL MORADABAD	MORADABAD	Rural	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
650	VILLAGE KHADAUA ON ATRUALI PALI HARDOI ROAD ,TEHSIL ATROLI	ALIGARH	Rural	108	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
651	WITHIN 3 KM ON EITHER SIDE FROM CH. BASANT SINGH YADAV INTER COLLEGE ON SIRSAWA GAUR BAJPUR ROAD	MORADABAD	Rural	140	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
652	BETWEEN KM STONE 1 & 3 ON HASANPUR ATRASI ROAD	AMROHA	Rural	102	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
653	VILLAGE VYAULI, ON BILSI - WAZIRGANJ ROAD, TEHSIL- BISAULI	BUDAUN	Rural	108	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
654	VILLAGE KAITHAL ON CHANDAUSI ISLAMNAGAR LINK ROAD, TEHSIL CHANDAUSI	SAMBHAL	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
655	VILLAGE -RAIBHANWALA ON BADIGARH TO KALAGARH ROAD , TEHSIL- DHAMPUR	BUNOR	Rural	106	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
656	VILLAGE BHILAVALI ON PANETHI - GANGIRI ROAD, TEHSIL KOL	ALIGARH	Rural	102	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
657	VILLAGE DAUPUR ON SOMNA - PAHASU ROAD, TEHSIL GABHANA	ALIGARH	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
658	VILLAGE SIRSA ON GAWAN HASANPUR ROAD , TEHSIL GUNNAUR	SAMBHAL	Rural	102	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
659	VILLAGE REETH, TEHSIL CHANDAUSI	SAMBHAL	Rural	84	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
660	VILLAGE DARIYAPUR KHADAR ON DAYAWALI ZERO POINT LINK ROAD, TEHSIL-HASANPUR	AMROHA	Rural	102	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
661	BETWEEN KM STONE 14 & 16 ON DINGARPUR PAKBARA ROAD	MORADABAD	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
662	VILLAGE DIDORA ON SHAHPOOR TIGARI - SIKANDARPUR ROAD, TEHSIL- MORADABAD	MORADABAD	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
663	VILLAGE ASADPUR ON JUNAWAI ASADPUR NARORA BARRAGE ROAD TEHSIL GUNNAUR	SAMBHAL	Rural	84	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
664	VILLAGE NOORPUR PINAUNI, SAHASHWAN TO ISLAMNAGAR ROAD, TEHSIL- BILSI	BUDAUN	Rural	90	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
665	VILLAGE NAHETA ON NAHETA PATRAUWA CHANDAUSI ROAD, TEHSIL CHANDAUSI	SAMBHAL	Rural	84	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
666	VILLAGE JIJAUDA DANDA ON BABRALA TO ANOOPSAHAR ROAD, TEHSIL GUNNAUR	SAMBHAL	Rural	84	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
667	VILLAGE CHAKARPUR MEMRI ON SHAKAPUR PATHAKPUR ROAD, TEHSIL CHANDAUSI	SAMBHAL	Rural	96	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
668	VILLAGE TADA, TEHSIL SAMBHAL	SAMBHAL	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
669	VILLAGE KARANPUR ON DALPATPUR- KASHIPUR ROAD, TEHSIL MORADABAD	MORADABAD	Rural	100	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
670	VILLAGE SATTI KHERA, TEHSIL - MORADABAD	MORADABAD	Rural	110	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
671	WITHIN 2 KM FROM SIRSWAN DORAHA POLICE CHOWKI TOWARDS TANDA ON SIRSAWA GAUR BAJPUR ROAD	MORADABAD	Rural	102	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
672	VILLAGE GOT ON MORADABAD GOT ROAD, TEHSIL MORADABAD	MORADABAD	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
673	WITHIN 2 KMS FROM AGWANPUR CHAURAHA (SERUWA CHAURAHA) TOWARDS HAKIMPUR ON AGWANPUR PAKBARA ROAD	MORADABAD	Rural	140	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
674	VILLAGE THIRIYA DAN, TEHSIL MORADABAD	MORADABAD	Rural	85	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
675	BETWEEN VILLAGE SAIDPUR AND BB NAGAR ON SAIDPUR - BB NAGAR ROAD, TEHSIL SIYANA	BULANDSHAHR	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
676	BETWEEN KM STONE 8 AND 10 ON GANDEVAR TO HATHNIKUND ROAD, TEHSIL BEHAT	SAHARANPUR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
677	WITHIN 2 KM FROM 220 KV VIDYUT UPKENDRA (BADHAI KALAN) ON ROHANA CHARTHAWAL ROAD	MUZAFFARNAGAR	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
678	FROM BANTHALA FLYOVER UNDERPASS TOWARDS DHIKOLI, ON BANTHALA-DHIKOLI ROAD WITHIN GHAZIABAD DIST BORDER	GHAZIABAD	Rural	120	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
679	WITHIN 2 KM FROM KNOWLEDGE ACADEMY NOJAL ON NOJAL TO THANABHAWAN ROAD	SHAMLI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
680	BETWEEN KM STONE 40 TO 48 ON BINAULI SARDHANA ROAD	BAGHPAT	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
681	WITHIN 2 KM FROM POLICECHOWKI SIKRI, ON BASERA TO BHOKARKHEDI ROAD	MUZAFFARNAGAR	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
682	TOWARDS BHOKARHEDI ON MURADNAGAR-RAWLI-SURANA ROAD, BETWEEN RAWLI KALAN POLICE CHOWKI AND SURANA POWER HOUSE	GHAZIABAD	Rural	120	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
683	VILLAGE: GAGSONA , TEHSIL: MAWANA	MEERUT	Rural	60	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
684	WITHIN 3 KM FROM NE3 UNDERPASS, BHOJPUR TOWARDS MODINAGAR ON	GHAZIABAD	Rural	100	SC	CFS	35	35	1225	Ō	0	Draw of Lots	0	2
	HAPUR-MODINAGAR ROAD													

685	VILLAGE KHUSHALIPUR TEHSIL BEHAT	SAHARANPUR	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
686	BETWEEN KM 4 -6 ON LONI - DHIKOLI ROAD	BAGHPAT	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
687	WITHIN 2 KM OF SUN BRIGHT PUBLIC	BAGHPAT	Rural	95	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
688	SCHOOL TOWARDS VILLAGE GANGNAULI BETWEEN KM STONE 6 AND 11 ON MDR	SAHARANPUR	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
000	147W OUTSIDE MUNICIPAL LIMITS OF SAHARANPUR	Standard	narai	100		50	55	55	1115	10	5	5141 61 200	1	5
689	BETWEEN BHOJPUR NE3 UNDERPASS AND PILKHUA ON PILKHUA BHOJPUR ROAD	GHAZIABAD	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
690	BETWEEN KM STONE 16 TO 18 ON HAARAA -BHUNI ROAD	MEERUT	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
691	WITHIN 3 KM OF NATIONAL PUBLIC SCHOOL KAILI TOWARDS SALAWA	BAGHPAT	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
692	BETWEEN KM STONE 55 AND 61 ON MDR 147W	SAHARANPUR	Rural	80	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
693	WITHIN 2KM FROM NEW MANDI KAIRANA ON KAIRANA JHINJHANA ROAD	SHAMLI	Rural	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
694	BETWEEN KHR INTERCOLLEGE, KHAMPUR AND SUNSHINE COLLEGE OF HOMEOPATHIC IN PHARMACY ON LUHARI ROAD	BAGHPAT	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
695	WITHIN 2 KM OF POLICE CHOWKI KHIWAI HARRA MORE TOWARDS SARDHANA ON BINAULI SARDHANA ROAD	MEERUT	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
696	BETWEEN NH9 INTERSECTION, PILKHUA AND DHAULANA CHAURAHA ON PILKHUA DHAULANA ROAD	HAPUR	Rural	110	OBC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
697	VILLAGE POOTHI TEHSIL MAWANA	MEERUT	Rural	60	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
698	VILLAGE MITHEPUR TEHSIL SARDHANA ON MITHEPUR SOFIPUR ROAD	MEERUT	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
699	BETWEEN BRIJGHAT POLICE CHOWKI AND BAHADURGARH CHAURAHA, ON BRIJGHAT- PALWADA-BAHADURGARH ROAD	HAPUR	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
700	VILLAGE SARGATHAL MUSTAKAM TEHSIL RAMPUR MANIHARAN ON SAHARANPUR TO	SAHARANPUR	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
701	BADGAON ROAD WITHIN 3 KM FROM UPPCL OFFICE, KILHAUDA TOWARDS MODINAGAR ON	GHAZIABAD	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
702	HAPUR-MODINAGAR ROAD VILLAGE BERKHEDI HINDU, TEHSIL NAKUR ON MDR 147W	SAHARANPUR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
703	FROM TEELA MOD LONI TO SARNA MURADNAGAR ON PIPELINE ROAD	GHAZIABAD	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
704	BETWEEN KM STONE 5 AND 7 ON DEOBAND RANKHANDI ROAD	SAHARANPUR	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
705	BETWEEN NH-9 INTERSECTION AND MADINA MASIID, KUSALIYA, ON DASNA- KUSALIYA ROAD	HAPUR	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
706	ROM CHAPRAWAT TO UPPER GANGA CANAL ON CHAPRAWAT SIKANDRABAD ROAD, TEHSIL BULANDSHAHR	BULANDSHAHR	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
707	BETWEEN KM STONE 49 TO 51 ON MDR 147W	SAHARANPUR	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
708	BETWEEN WISDOM WOOD PUBLIC SCHOOL DHANAURA AND RAM RICHPAL INTER COLLEGE ON DHANAURA-WAJHEELPUR ROAD	HAPUR	Rural	130	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
709	UPTO 2 KM FROM KANYA POORV MADHYAMIK AIVAM PRATHMIK VIDHYALAYA, BHABHISA NO.1, TEHSIL KAIRANA ON KANDHLA BUDHANA MARG	SHAMLI	Rural	120	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
710	TOWARDS KANDHLA WITHIN 1 KM OF HARI INTERNATIONAL SCHOOL GATE ON SAHARANPUR TO GAGALEHRI ROAD OUTSIDE MUNICIPAL	SAHARANPUR	Rural	120	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
711	LIMITS OF SAHARANPUR Between KM Stone 5 and 7 on Pahasu to Somna Road, Tehsil Khurja	BULANDSHAHR	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
712	WITHIN 1 KM OF MANDI SAMITI SHAHPUR MAIN GATE ON BUDHANA- MUZAFFARNAGAR ROAD	MUZAFFARNAGAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
713	VILLAGE NEWADA, TEHSIL SADAR	MUZAFFARNAGAR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
714	VILLAGE BADHA, ON KHURJA-SHIKARPUR ROAD, TEHSIL KHURJA	BULANDSHAHR	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
715	VILLAGE: ULDHAN, TEHSIL: SADAR	MEERUT	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
716	VILLAGE LADPUR, TEHSIL KHATAULI ON KHATAULI-JANSATH ROAD	MUZAFFARNAGAR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
717	VILLAGE KERATPUR ON PAHASU DANPUR ROAD, TEHSIL SHIKARPUR	BULANDSHAHR	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
718	BETWEEN KM STONE 15 TO 17 ON KHURJA JEWAR ROAD, TEHSIL KHURJA	BULANDSHAHR	Rural	75	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
719	WITHIN 5KMS OF HARSOLI POLICE CHECKPOST ON BUDHANA- MUZAFFARNAGAR ROAD	MUZAFFARNAGAR	Rural	100	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
720	VILLAGE BIJAULI , TEHSIL SADAR	MEERUT	Rural	60	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
721	WITHIN 5 KM FROM UNION BANK OF INDIA, GHATAYAN BRANCH ON BAHSUMA-	MUZAFFARNAGAR	Rural	60	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
722	KHATAULI ROAD VILLAGE KAMALPUR ON GANGA CANAL ROAD, TEHSIL SIYANA	BULANDSHAHR	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
723	VILLAGE KUCHESAR, ON KUCHESAR SIYANA ROAD TEHSIL SIYANA	BULANDSHAHR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
724	VILLAGE MAVI, TEHSIL: MAWANA	MEERUT	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
725	VILLAGE BEHSUMA, TEHSIL MAWANA (NOT ON NH)	MEERUT	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

726	Within 1 km from Jindal Factory Junction towards dhibarasi on Jindal-Dhibarasi Road, Dist Ghaziabad	GHAZIABAD	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
727	BETWEEN KM STONE 14 TO 16 ON SIYANA BUGRASI ROAD MDR 50W	BULANDSHAHR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
728	VILLAGE BABUPUR TEHSIL DEOBAND	SAHARANPUR	Rural	85	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
729	VILLAGE: LATEEFPUR, TEHSIL: MAWANA	MEERUT	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
730	VILLAGE SHAHJAHANPUR, TEHSIL MAWANA	MEERUT	Rural	60	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (<u>www.iocl.com</u> / <u>www.petrolpumpdealerchayan.in</u>) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by **27/09/2023**.

Type of RO	Type of Site	Category	Applicat ion fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address: -

Address / Contact No.	For locations falling in Districts
Divisional Retail Sales Head, Allahabad Divisional Office, 5thFloor, Indira Bhawan Civil Lines, Allahabad - 211 001 (UP) Contact No - 0532-4028088	Ambedkar Nagar, Amethi, Banda, Chitrakoot, Kaushambi, Mirzapur, Pratapgarh, Prayagraj, Sonbhadra, Sultanpur

Divisional Retail Sales Head, Gorakhpur Divisional Office, Indian Oil Corporation Limited, Chandrakanta Bhawan, New Buddha Nagar, Deoria Bypass, Taramandal Road, Gorakhpur – 273016 Contact no. – 0551-2324060	Gorakhpur, Basti, Deoria, Maharajganj, Ayodhya, Sant Kabir Nagar, Siddharth Nagar, Kushinagar
Divisional Retail Sales Head, Kanpur Divisional Office, Indian Oil Corporation Limited, Kalpi Road, Panki, Kanpur – 208020, Contact No. – 0512 - 2979990	Fatehpur, Hamirpur, Jalaun, Jhansi, Kanpur Nagar, Kanpur Dehat, Lalitpur, Mahoba, Unnao.
Divisional Retail Sales Head, Lucknow Divisional Office, Indian Oil Bhavan, Pickup Building Road, (Near FCI Building), Vibhuti Khand, Gomti Nagar Lucknow – 226010, Contact No. – 0522-4101336	Bahraich, Balrampur, Barabanki, Gonda, Hardoi, Lucknow, Raebareli, Shravasti, Sitapur.
Divisional Retail Sales Head, Varanasi Divisional Office, Indian Oil Corporation Limited, NH-31 Babatpur Road, P.O. Harahua, Varanasi - 221105 Contact No. – 0542 – 2623441 ,2623442	Azamgarh, Ballia, Chandauli, Ghazipur, Jaunpur, Mau, Bhadohi, Varanasi.
Divisional Retail Sales Head, Agra Divisional Office, Indian Oil Corporation Limited, 65/2 Sanjay Place, Agra-282 002 U.P., Contact Number- 0562- 2521875.	Agra, Auraiya, Etah, Etawah, Farrukhabad, Firozabad, Hathras, Kanshi Ram Nagar, Kannauj, Mainpuri, Mathura.
Divisional Retail Sales Head, Bareilly Divisional Office, Indian Oil Corporation Limited, 35-A, Kamla Nehru Marg, Civil Lines, Bareilly,- 243 001 U.P., Contact Number 0581-2511530.	Bareilly, Lakhimpur Kheri, Pilibhit, Rampur, Shahajahanpur.
Divisional Retail Sales Head, Moradabad Divisional Office, Indian Oil Corporation Limited, Behind Khwaja Filing Station, Indian Oil Petrol Pump, Near Hotel Holiday Regency, NH-09, Pakbara, Moradabad- 244 102, U.P., Contact Number 9412235341.	Aligarh, Amroha, Budaun, Bijnor, Moradabad, Sambhal.
Divisional Retail Sales Head, Noida Divisional Office, Indian Oil Corporation Limited, OIDB Bhawan, C Block, 1st Floor, Sector 73, Gautam Budh Nagar-201 307, U.P., Contact Number-0120-2593663.	Baghpat, Bulandshahr, Gautam Budh Nagar, Ghaziabad, Hapur, Meerut, Muzaffarnagar, Saharanpur, Shamli.